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	��� ���B��� /�6FA�"� ���	/,�� �/C���
0�  �	

����7��C
E�!���>�� Non-collinear Points!���6	-	' @
1�)$����7��
	���G1�(Intersection of two lines)��
��0 
��" R�A�1�B����������A ��B��	�
��������A�1�B��" R��6=��"�%��/�A���������$�R

A�=�A�1�B�����'���A��������:���" R	����o
��A �����`�������0 
�"b�������� l
(i) A ��B = ������$�R�A�1�B����	+/"
�"�%��/�A����������79
p
(ii) A ��B � ������$�R�A�1�B����	�����	�%'	�"�%��/�A��������9
 �
"����
�.�U?
	��
,����:���" R����0�'�����������"���:�������
3=��
5��	������ �

���	��L1�1�L2���0 
��
����
���"����
� �����`������;��K�$���
���0 
�"b�������
�
 l
(i) L1 ��L2 =  ������$�R���
��6=���	+/"
�"�%��/��
,���������
,��SPoint of IntersectionT

���F �����`������"���:�����H10���
	� Non-intersecting lines!�	������ �
(ii) L1 ��L2 � ������$�R���
��6=��"�%��/��
,���������
,����
 �������"�%��/��" R��


���`������L1�1�L2����	�%'	�"�%��/�
,����
���"b��	
 q
������<$����"�I��.��/�	�
�'���J8	��$-���0 
�"����-�����
���&���A<�����<8$�PA����-Q��

��0����
�� �� ?0�	-.�����2	���4�<��������.��	�-�I���	������-�F���	������	1/��	����	�
��	-	'"��	6	������	1����6	-	' @!

���	1��:�1
1�)$���;������7��
	��'�	9E���G1���>���6��	���J� @� ��	.������	�/���K���

�	�18��G1���A��/	6L���M	���K�����#	$�'��	�����>�����G1���A� @!
 Two distinct lines can not have more than one point in common!
1<����L1�1�L2����0 
����	R�"�����
� �
��	�	������L1�1�L2�����.� 
������%'	�����
,�����F �
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���	�������	�������/-�AN
 
�"�-�����7 �
���L1�1�L2������
	�R�����0 
�����
,����
�
 ���"���0 
�P�1�Q���A �

��0 
����	R��
,��P�1�Q��;��0��	���������.� 
��"����
�� PQ
←→

���"H
� ��SJ8	��$-�!�2T

���L1 = PQ
←→

�=�L2 S���$�R�L1�1�L2,� PQ
←→

V�����
������79
T
����������"b���	��/��<���
��L1�1�L2���0 
����	R�"����
������$�R�L1 � L2 �
��/������/����b�����������
���0�'���AN
 
��
�-���� �

�   L1�1�L2����	�%'	�����
,����
����"b� �S����/
�T
�A�����A����- 
������/�����A7���	�����N
�����=�.�	��.�������	�����J�	
/������

 Principle of reductio ad absurdum!�	������ ����
��.� 
��AN
	���
������
����
���������
�"b����
"H
�
��"h�
8����A����������
��	���������AN
 
�"�-��� ����N
�K�	�*-��
�
	
����/����"b��=��"K������������=�.���
'��	���
�� �

���7�(Plane)����.� 
��0 �����g�����
�8��*���g���&�/8.������'���	��� �����g�
�	r�s���5 �/����
���"�����"8�
��%��/���
�� ��*-��
�
���������
5�����
"���9��$N�"���
�	+/"
��
j
$C�"8����6�������I�����7 ������"8���8���������
#�������
��
5���	����� ��"���
"Z[������������b
	�J8	��$-���A�
�l

?0�	-.��:3������7���>��	/,����$����$ @
���	��A, B, C��.� 
��"�������'����
,� ��"���������P��
����A ��J8	��$-������=8

A, B, C��
,�.�U?
	�P��" R���.� 
���.� 
��A����� ����
�	��	��������
����N����	+/"
���	-��6���
�-N�	�
���
���l

A, B, C��
,��P�"������S���P�"����A���T���"H
��
P�"����A, B, C��;��0���"H
���P�"����A, B, C��
,�	��%��/�	���
 �
��"�#���	-���	�������$���A�
�!�A � P,  B � P,  C � P���	-.�U?
	����-��	+/"
���	��

&O.����$��
5���	���������F �
?0�	-.��:�4����#	$�'����7����A�N���/��#	$���/C���
0���>���	'�'�=��-��8���

��/��#	$���/C���
0���>�����1)��#	$�'��	������7����B�� @
$�O�0����.� 
��"�������")
-��
,�����"H
�
����<8$�J8	��$-���:�������/
�����0���
� �

��/��������
�
�.� 
���2	��
8��
,�����"H
�
�J8	���	��.�� �
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���7��/	���������.� 
��"��������	�/��"�'����'�������	+/"
��
�
�.� 
���2	��
8
�
,��"���-���	����� �

A, B, C��	�"���"H����	+/"
��
��� 
���2	��
8��
,������������"��� 
	��PABC "���Q
S���BAC, CAB�"���T�����
����
��	�
�� �

J8	��$-���;����"����
��1�"���������0 
����A7�*-��
�
	���
5=��������0��������
��A�
�!�A��=��
,�����:���" R �����������0���	����" R��;����	+/"
�"t	$���
�	
q���
���
�
������	A7���
"H
�
�����
�!���	������<8$�J8	��$-���*/��U?
� �

?0�	-.�:5� '�����7�B�1�)$���;������>����9	�������E�	���7��
	��I����7������B�� @

�9�-�l���
�A�1�B��  P-�"�������0 
����'	R��
,�����9
�������J8	��$-������=8� AB
←→

P"��������"H
������$�R�"����
� 
��"�#��
,��P-"��������"H
� ����
�	��	��������" R�!
��3������
''����
���l� AB

←→ ��P�����$�R� AB
←→ ��P-"�����A��" R��� �

1�)���>�����B�1���	P���7��
	����	Q���=
�	���$��������R�.��
��"t	$����K�$��&�/8����
3�R���.��������5���	����0�
 ���V�����	�����"Z[��

*-��
�
���.��/�	����0�'���J8	��$- 
������	�0�� �
?0�	-.��:�6� ������?0�	-.�!� Ruler Postulate / Axiom!
�.� 
��"�������'����
,����U?��.�U?
	��.� 
���.� 
���/W/��'	���#��")
-��"��"t�N�

����	���
,���6=��;"H��K����	������ ���K���	���-�����	�
�������.� 
��"����
��1���#��")
-�
�" R��;������
��	�"t	$�"�C
�	�
����
������������

(i)���7��
	������4�/S�4�/S���>���	)F�4�/S�4�/S��	Q���=
�	���4�/S�4�/S��	Q���=
�	��	)F
4�/S�4�/S���>��/�����������	���	P

(ii)���7��
	������B��-���8������>��1T
��1���	"����	/,��6��R;I��	Q���=
�	
1T
���A�������	/� ��U�	�E���A�!��6���	/��6�@

$0�	��S1T�A�1�B��

,���6=��;"H��K���	��AB ��6����"K5
��	��������AB�"�����
����A�1
B�"��"t�N���#��")
-��6=����	����a�1�b������J8	��-$������=8�AB= Ia –bI���$��R�a –b��
��������� �����/������BC����AB = Ia –bI = Ib –aI = BA��� ����"�
��
�A�1�B��
,��6=���

��
������9
������AB = 0��� ��

S2T�A����N�J8	��$- 
�1932��"
����������
	8=�./
�D���.���*4�*�������5����	�&�	�
�'���
��.���	�����0�
�"����
���	�")D���
�8������������	���.�U
��J8	��$-���%'�����-�����
	
���=�.���07������"����
����.� 
���
j$
C�������.��/�	���1��������A�
��\�R��"�
%���SrulerT
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"����-�����:
���.� 
��"�
�.�� �����	��*-��
�
	�"����
����K���������07��8�5
���"����-��
����A�=��
.���"8���8���������
#�������
�%�
��A ���K����"Z[8=�A����N�J8	��$-�����=�.
�����"�%��/�_��\�R�"����-���	�
��A ���.� 
���\�R���)&�:
��%�����-�����	�
�������.� 
�
"����
����
,����:���
���5
��������&
$���������
�5
��
��	���l

S5
���1.2T
�&�
	��.��")
-��"����-����;��
,����:��5
��
��	����0����
���A����N���	
�=��������

�K������	��
j
$C��		�S�����"u
�
 ������
�
�
 ������"�
��
�	
�
T��-�����	�
��	�"����
��
�
,����:��5
�� �	���'����;��
���
���"����
����07��
����
����		��-�������07�J8	��$-�!�6����/
	������F �

�����	�
����
�� l �����&6���������/8����su����� ��S�"R���.��T
�����&6�����5���0���>?su����� ��SAU?�*������.��T

�����	Q/�	�
���l �����&6���������/8��K����A��5���0���
 q
����	����-�����
	��").�
�"�C
���������07��
����
�����
����07��K������	��
j
$C��		

�-�����	����� �
S3)��	�"��������"H
���
����
���"����
����07��K������	��
j
$C��		��-������	��

����	��-�����
	����&-	�����	������������7 ����.	�����
�J8	��$-���"
�����������=�.���07
��
���
�
$�&3����K������.� 
���
j
$C��		��-�������07��������;����� ����/����������.� 
�
�
j
$C��		�5=��	�
���A����.����6��
����A�
 �

�K������	��
I
$C��		�.��/�	�
��;�������.� 
��"����
��1���#��")
-���" R��;��
J8	��$-����a
$��"t	$�S�
,���.� 
	��")
-���.� 
������")
-���.� 
	���
,���.� 
�p����$�R��	��	
"t	$T��
�
���A��=����
�K�/�	�
���
�� ����
	������B���>����V�6S$�����E�	��	Q���=
�	$���
��>����B	/	,���6	-	' @

�K������		�"H
���
'�"H���:��
�K�/���	�
=������0������"H���:�"
������
�����������K���
���
�<
$����� ��A����/ 
����
 ���K�$��a
$��5
�����S 8	��!�2T�P�1�Q���"H���:����	����–2
1�5��� ���������
��
%'�I��������.� 
���
,���"H���:�x�	��x+2������
�<
$��	�
��������P
1�Q���"H���:����	����0�1�7���� �������A�=��`�����PQ = 7�S���7��		T��� �

P              Q
–6       –5      – 4    –3       –2     –1       0        1       2        3       4        5       6
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�K����"Z[8=�����R�J8	��$-��*-��
�
�1��8*./
���;����	�"t	$��"�� ��������;���
��#��")
-���" R���%�$�.�U?
	�"����
����
,����:��%�$��K������
���
�����0��� �����
.����%'	
�.�"���������07����<�.�	� Betweenness!�"t	$��������*-��
�
	������%�BC���������&-	 �
1.3����<�.�	�(Betweenness!��

�=2	������/	$���;������>��A, B���C�-1�
(i)�'����7��
	������B	/���A���
(ii) AB + BC = AC�6�'P
�����B�	��A�1�C���S	
Z��C�1�A��T��;�<8$��
,��	������ �
�
,���=������	�����"H�	��"��:�
	���3����A - B - C�	
Z��C - B - A���������
���� �
�;�<
$��	����%���	�
��<$������A��	����.� 
�")D���
�K�/�	�
�� �

��
	
3� Segment or Line segment!��

�=2	���1�)$���;������>��A, B�'�=����	/,�����<0.���>��	/,����$����AB ��	�BA
��
	
3����6	-	' @

�" R���3����A����N�")D�	��������
��������
'����
���l

AB  = {A,  B} 	 {P:A–P –B }
A�1�B����;�<8$��
,����:�����
�
%'��K���P��
,�	���
����0���S5
���1.4T

������S5
���1.4T ���S5
���1.5T
"K������/��8���AB ��" R��")D���
�K�
�����0�
 �

AB �	��A�1�B��6����/���������
	
3Q����PA�1�B����=�-	�����
	
3Q��;�	������ �
")D��������BC��������AB �1�BA��A�=��.� 
����
�
X�� 9
 �

�A�����AB��� AB
←→ P���	.���AB���
	
3"�AB���7��
	��'���=����$ @�A��
"H�5
��

1.5���AB	��J�v����������� AB
←→ ����)&�������!�����0���	�������
���0�
 ������"�BC���

AB ���"�#��
,��� AB
←→ �����"H
� �

��
	
3����	A��>��(End-points of a line segment)��A���B����AB�����	A��>����6	-	' @

A B C

A BA P B

S5
���1.3T

�� �� �
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��
	
3���1CW.��(Length of a line segment)�����	A��>��1T
����B�1���	�����
	
3�
�1CW.����6	-	' @

��/��AB����2s$-�w�AB��� �
��X��������0����X���

S5
���1.6)�S	T�AB
→ S5
���1.6T�S
T�BA

→

A��
"H�5
���S	T�1�S
T������0 
��&L
����&
$�����0�
 ���"���0 
���A�
�AB
→ ����AB��&L
���)

BA
→ ����BA��&L
 �

���	+/"
��.� 
��5
��	���`-�	�
������P�&L
Q��*-��
�
	�")D���
�K�/�	�
�� �
5
���1.6�S	T�	���`-	����������.� 
���)&���A�
�AB���
�
X�����'��������
����	��
,�

��
�
�������AB �������F ���"��
��.� 
���
,��P��� ��P����
���������"H
�����0�
�����B�
,� 

A�1�P����;�<8$��
,�����0������
p����$�R�A - B - P �

AB �1�AB �����������'���P���
�"�#��
,�	����0�5
�� 
�.V
�����0�
 �����	��AB���X����	
��,����AB

→ ���
	-	' @

��/���" R���3����AB��&L
��")D����A�
�lAB
→ �w�AB 	�{P : A - B - P}

�"�
��
�BA
→ �w�AB 	�{Q : B - A - Q} �����BA�	�{Q : B - A - Q}

S5
���1.6�S
T���
 ������	���AB  = BA�����$�R�A�=����$��.� 
� �T�AB
→ �1�BA

→ ��")D���
����BC��������AB

→ �BA
→ �wAB �p����$�R�AB���X����BA���X����G1�Y�AB���
	
3 @

1�&�����S1T��&L
��")D��������BC���������
��"H�5
����

AP AB AQ AR
→ → → →

, , , ���"�#��.� 
���&L
���F��
����
�������� 9
 �

(2) AB � AB
→ ��� AB

←→ p��"�
��
�BA��BA
→

� BA
←→

AB, AB
→ "� AB

←→ ���	.���AB� ��
	
3"�AB���X�� ��AB���7��
	�'����Q��6�GA�
��>��	/,����$�P��	���AB��#	$�'�9/	�E���	Q���=
�	�-	6	��6�G��A���B���>�����B�1���	 @

A P B Q R

A B

P

A B

P

� � � �

S5
���1.7T
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(4)���X����0Z.��>�� Vertex!���A�	��AB
→ ���&83$�
,��	������ �

�"�
��
�BA
→ ���&83$�
,��B��� ��&83$�
,�	�����-��
,��(Initial Point) �;�	������ �

�-�����
	���3����AB
→ ��&L
	��A��
,�����:
��1�B��
,���;��0��
#����&L
Q��;�	������ �

(5)�����0����X��(Opposite rays)

���	��A - O-B, ����$�R�O, A�1�B����	��;�<8$��
,� �

���`�����OA
→ �1�OB

→ �	���
��8���&L
�	������ �

��/������BC����OA
→ �1�OB

→ ��
��8���&L
������OA
→ �	�OB

→ �w� AB
←→

���$�R�OA��&L
�1�OB��&L
��")���.�AB�"����
���� �
(6)�'���
0����/C���
0���X��(Collinear and noncollinear rays)��

S5
���1.9)�S	T �������S5
���1.9)�S
T
�-�F�������X��'��/�[�.&���
	���=������Z"����	/,��'���
0��	���7��C
E����X�

Collinear rays���6	-	' @�5
���1.9� S	T���� AB
→ �� BC

→ �� CA
→ �� BA

→ ����
�L�"����
����)&
���0�'������������	��
8��&L
�� 9
 �������5
���1.9�S
T����AB

→ ��AC
→ ��DF

→ ���2	��
8��&L
�� 9
 �
1.4����B	/	,�(Co-ordinates)��M\������������
	�/0
������

�K�$���	�����0�
�!��K����"t	8$=�����R�J8	��$-��������#��")
-���" R�R�1��	�"����
��
�
,�����:��;����.� 
���	!�	�"t	$�"H��
�����p����$�R�"����
�������-	��
,���	��
I
$C���#�
")
-��"��"t�N�����1��
���
����
,���
���
�����#��")
-��"��"t�N����9
 ���#	$�'���>���6��R;I
�	Q���=
�	����I���>����B	/	,���6	-	' @

����R�J8	��$-�1��;�<
$����")D�	����%���	�
�"H���:�"t	$����	��.�U?
����-����
���
�
��� �����<8$���	��	�����/����".�U?
	���-�����	���
� ����-.�U?
	��"�
�&3�����/���V-	��
�9��$N�����7 �

(1)����	��A, B�1�C�"����
��L�A��
"H��
��� 
��
,��1��"���:��"H���:����	����a, b�1
c���A ����
�A - B - C����$�R�B, A�1�C��
,���6=���;�<8$�����������a < b < c�	
Z��c < b < a���� �

A O B

A B C
L

B

A

C

D

F

A B C C B A
L L

S5
���1.8T

S5
���1.10)
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(2)��	�"����
��A����O���)�P����	+/"
���0 
����	R��
,�������S5
���1.11) ����
A���N�"H���:��I�
�S���$�R�"����
��1���#��")
-���" R��;����	!�	�"t	$T��
��$5���6����O
��"H���:	��&K���1�P���"H���:	��%���'	���0���
�� ���������
�N-O-P�������������-�(1)
�����=8�N ��"H���:�W/��'	���� �����	����%���	�
�")
-���
����(Number line)��
,����:�
"H���:��
a
$����� ��OP

→ ������"H
��"�#��
,���"H���:�%���'	�1�ON
→ ������"H
��"�#��
,���"H���:

W/��'	���� �

(3) L�"����
��A����P��	��
,����)��a��	�%���'	���#��")
-�������L�A�����	��
�������0 
��
,����
�
��������P�V�����K����a��� �

P���"H���:�p������AN��
,��6=��;����.� 
	�
"H���:�p+a�1���- 
��"H���:�p – a���� �
(4)��B	/	,��	�������X������
	
3�����]��=2	��
���	��C - A - B���)�AB "����
����A�1�B���"H���:����	����x �1�y��� �
��
�x < y�����������c���"H��:�x����"�������S��-�!�1T

��/� AB
→ �w�{P �� AB

←→ l�P���"H���:�
�x}�

AC
→ �w�{P �� AB

←→ l�P���"H���:���x}�

AB  = {P �� AB
←→ l�x���P ��"H���:���y}�

(5)���
	
3��,/����	1��(Segment - construction Theorem)��
r��	�%���'	���#��")
-��1�A, B���0 
����	R��
,������

AB
→ �A�����	���������.� 
���
,��C��
a$=�	����0����
��
����
	
��AC�w�r���� �

S*-��
�
	�����/�1��:����A����N�A����-��������-�����	����� �T
��
	
3������>���(Mid point of a line-segment) �

�=2	���AB������M�'����>����AM = MB��6���M����AB�������>����6	-	'�@

�	���
�
X���.� 
��������;�
,����� ��S�
�*�����/�	�
��	���5C��	�T��M, AB ����;�
,�

������AM = MB = 12 AB

C A B

R P Q

S5
���1.12)

p–a p p+a

x y

S5
���1.13)

�

�

A

C

B

S5
���1.14)

A M B
S5
���1.15)

x
x y+

2  y

N O P

S5
���1.11)
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AB
←→ �A����A�1�B���"H���:����	����x�1�y������AB ����;�
,���"H���:�x y+

2 ���� ��
���S����&L
�1�"����
����;�
,����
�	
�q S�
�*�����/�	�T

SA��
"H���&�	�����;���	��� 
	
��5
9�	��1���Q�����
��"H�A<� 
��>��������5
9�%���
"���
5��
��1���*
$�������T

�<�����;�
,���"H
�
�"�$������9�
,��A�����
�$��	������&L
���.� 
����������9�
,�����������	�
��������-�
,�����&83$�
,��	������- 
��������"����
�������+����9�
,���������S	��/�"��V���
�U?���#��")
-�����"��V����"�����#��")
-������
�	
�
����F �T���
�	��/����&L
�1���
����;�
,�
"b������7��

�A��������	��A���N�"H���:��
�$�5���6��������� AB
←→ �A��
"H�A�1�B���"H���:	�����	���

W/��'	�1�%���'	����������/��A�1�B����;�<$8����
��	��
,��O���
��������"H���:�&K������

S���R��J8	��$-T������O�	������� AB
←→ ���;�
,��	�
������7��	��/� AB

←→ ���	+/"
����9�
,�����F��
��������`�����O�	�� ��A��.� 
���
�&3���������
5
��	������1������ ��A�
� ���7��>��
 Origin!@����
3=����%'	�	���"H���:�*-��
�
���*�/
���

A����N���d�.� 
���-��"����
����
,��1���#��")
-���" R��;"H��
����N�"��x"-���	 
�
	����

SiT�"����
���")
-��
,���
&
C���S	��/���#��")
-���" R��"8�T
SiiT��������-�1����9�
,���
�8����S	��/�"��V�����U�1�"��V����"�����#��")
-������
�	
�
����F��T
SiiiT�"����
���	��
��4
����-� 
̂�Scontinuum�!��>������P	u
�-���RQTp���$��R������
��4
��

��������
�-�^p�	��/���0 
���#��")
-���;�����#��")
-���U����A�	
�
����F�p�&K�-"H��������:
SgapT����F�!��	���Ai���./
���������;=��	�
���

�/��07/0�:�1 ( a)

 �!���4	#
1.�����
���

'�����.�U
	���")D��
�8��1�")D��
&
C�S������")D����
T���.�U
	��5
������

��
�
X���;�
,���"H���:���K�����"����
����&L
����
�
X��"�����
,���

A O B
S5
���1.16)
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2. �
���


����&�.�U?
	��")`
^�A<��������	� �
�������S	T��.� 
��"����
�����	��� 
��
,������q

S
T��.� 
����
�
X����	��� 
��
,������q
S.T��.� 
����
�
X����	��� 
�����9�
,��1��	��� 
��;�
,������q
SsT��.� 
���&L
�1��������
��8���&L
��")���.���	Q/�.V
������q
SyT��.� 
���&L
�1��������
��8���&L
���������	��� 
��
,������q
S5T��
��� 
����	R�"����
����B�	����
��&
����	��� 
��
,��������	�
���q
S�T�5���� 
����	R�"����
����B�	����
��&
����	��� 
��
,��������	�
���q
S*T�5���� 
����	R��
,���;����	+/"
��
��� 
��	��
8����0���'�����"���:��6�����	��� 


"����
���
I$��
�����0����






 
 
 
��q
3. &K�-"H����K�/�	�����<���
�A - B - C

(i) AB 	�AC
→ �w�mmmmm (ii) BA

→
	�BC

→ w�mmmmm (iii) AB 	�BCw�mmmmm

(iv) AB
→ 	�AC

→ w�mmmmm (v) AB
→ ���BA

→ w�mmmmm (vi) AC ��BCw�mmmmm

(vii) BA
→ ��BC

→ w�mmmmm (viii)    AC – BC  w�mmmmm (ix) AC – AB w�mmmmm
4. L�"����
��A��
"H�A�1�B��
,��6=��"H���:����	����–3�1�5������AB��	���q

5. AB
←→ �A��
"H�A�1�B���"H���:����	����–16�1�20������AB ����;�
,���"H���:��	���q

��&��!�4�1�5���07�"K5��
��&��!�4������
��	����������
	
�	�����0���9���PA�1�B��
,��6=��"H���:����	����–3�1�5

�����AB��	���qQ
�������&� 
��"��%���	�
���"b��	
�q
��&6$"H�5
�� 
	����
��

� OA
←→ �A����A���"H���:�–3�1� OB

←→ �A����B��
" H ���:� 5� �� � �� ����� �� �`� ���
AB=I–3–5I = 8����0���
�����F���	��/�	Q/�q����R�
J8	��$- 
� ��A�����>� ���K���� �
a$=���07� ��A7� "K���
���=�.�	�������������	����	��
I
$C�"����
�����
�K�
� S5
���1.17)

A

    5        B

(–3) O
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"H���:���07�����*-����<�5
������A�1�B���"H���:����	����–3�1�5�������;�A�=�"H���:���0 

�
����
���"����
��OA

←→ �1� OB
←→ �A�����
a
$�����0�
�����/�����`��������R��J8	��$-��"K�������*-

����7��
��&��- 5���07�����K��"K5�������*-�����
�
X���;�
,���
a$=��"K����;��	��
j
$C�"����
�

A�����
a
$��"H���:���
���`8���"�-��� �������"z����%'	��
5���"H���:�*-��
�
���	���
���

 
!���4	#
6.��
��"H���&��.�U
	���"t�N�"�#��
,���	��
8�� 9
��

S	T�A,B�1�C���"H���:����	����–11, 4�1�2��������	A7��
,� 
���-���0 
���;�<$8�q
S
T�PQ = 8, QR = 5 �1�RP = 3�������P, Q�1�R��;����	A7��
,� 
���-��6=���;�<$8�q
S.T�A���"H���:�–3, A - C - B, BC = 2�1�C���"H���:�–4�������B���"H���:�1�AB��	��q
SsT�A�1�B���"H���:����	����–11�1�21�������AB ����;�
,���"H���:��	���1�A�V��������

�K�����	���q
SyT�A���"H���:�–5�1�AB ����;�
,���"H���:�O������B���"H���:��	���q

7. A, L�"����
��A��
"H��	��
,����)�A���"H���:�5��� ����A�V����2��		��K�����
&
C
�	��� 
��
,��L�A������"H
������1��"���:��"H���:��	�������q

8. �
���


����.�U?
	��A����/���;������o�� �

��
�
X���;�
,����
��8���&L
���
,����:��;"H��K������;�<
$�� �

1.5���	������	�:����	�� Angle and Angle-measure!

��"t	$��������5���	�
����K�$��� �����*-��
�
����0 
� .����6�Ka$� ��-�"t	$���*�/
��
���&-	����������A�
���<7���$��������7��
	���	�T.���

�<7���$�� Convex Set!��

�=2	��'����$��S����-���8����1�)$����>��A���B��	)F�-1��AB��S�6�'"������S����'�
�<7���$����6	-	'�@��1	6������
	
3"���X�"���7��
	�:�'�	�/����Q��<7���$��@

J8	��$-�!�5������=8�"�����;��	�A<���" R��
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	�.*���g��!�"������
,�����:����0��
������	���.� 
��" R��5
�����
����0�
l

����:��;���S	T�S
T1SyT������&
$��5
����;"H�����	+/"
���0 
��
,���6�����
a
$����
�
X
5
����;�����
��0�
�����/���"���5
��������<��" R�.�U
	�A<��� 9
���������	���S.T�1�SsT���
���&
$��5
�����07�����*-�����7�����/���"���0 
��" R�A<�����9
��

�.� 
���" R�A<������7�!���������/�	�
�����07����	���"�
��" R��9��$N����
���0 
��
,�
��
�0��	���U
�������
	
��"���:��")���*	���
�
X��" R��;���"tKa$��K�����
�������'���
��
�	��/����	��
,���
&
C��" R�1�&K��" R��;�A<��" R�����
�.��/�	�������

�A����1�)$���<7��$����G1�'���<7��$�"��	����=�-	#��<7��$��/��6	)�	���@
?0�	-.��7 -�����7�:���4	�/�?0�	-.�� Plane-SeparationPostulate!��
���	��L�"����
� 
�P�"��������"H
����"�������A7��
,��.�U
	���
�"����
���

���7�9
���"���:����0 
��" R�H1�1�H2�����
�N�	����0���
��p�����

SiT�H1�1�H2�����-	��.� 
���.� 
��A<���" R�������)
SiiT���0 
����	R��
,��A�1�B����	����H1�1�H2������
���
��������AB �L "����
�	������	�
���
�A����A����N�J8	��$-�����������/�	����0����
�����H1�1�H2����-	��.� 
���.� 
�

�/&K�-��" R�1��"������/���8����$��R��	+/"
��.� 
���
,��A�=�H1�1�H2������
����
�����
7��
S�	�����&6$"H�5
�����
'����=z��	�
���
������N
�K�	�����/���V-���
"���9��$N�����7��T

��7��
	��	�T.��"����!��
��*��J8	��$-��6�����
a
$��H1�1�H2��" R���0 
	��"����
��L��
�.� 
���.� 
����&6$�	���������A�1�B��
,����"H
���'�����&6$�6=	�����	����L���A-���&6$�1�B-���&6$
	��������

��/�
�!�'����7��
	���	�T.1T
��<7"�����/�������G10���$���$A��@�"����
��
A�=���&6$	���^.���7� Half Planes!�	����������.� 
��"����
���6�����
a
$���I$"������0 
	�
"����
����
��8����&6$���;�	���������"����
�	�������6�����
a
$���I$"�����6=��9	�� edge!
	��������

S	T �����������S
T S.T SsT SyT
S5
���1.18)

H1

H2

L

A

B
S5
���1.19)

- . –. - . –. . –. - .
- . –. - . –. . –. - .
- . –. . –. . –. - .

- . –. - .

- . –. - . –. . –. - .
- . –. - . –. . –. - .
- . –. . –. . –. - .

- . –. - .

- .
- . –. - .

- . . . –. - .
- . –. - .

- . –. - . –. . –. - .
- . –. - . . .–. . –. - .
- . –. . –. . –. - .- .

- . –. - .  - . –. - . –. . –. - .- . –.

- .- .
- . –. - .

- . . . –. - .
- . –. - .

- . –. - . –. . –. - .
- . –. - . . .–. . –. - .
- . –. . –. . –. - .- .

- . –. . –. - .
- . –. . –. . –. - .- .
- . –. –. . –. - .- . –.

- . –. . –. - .
- . –. . –. . –. - .- .

- . –. –. . –. - .- . –.
- .- .- .- . –. - .

- . . . –. - .- . –. - .
- . –. - . –. . –. - .

- . –. - . . .–. . –. - .
- . –. . –. . –. - .- .
- . – –. . –. - .- . –.

- . – –. . –.  . –.
- . – –. . –

-.- .
- .. - .
- .–. - .
- . –. - .

- . –. - . –. - .
- . –. - . . .–. - .
- . –. . –. .. - .- .

 - .  - . –. - . –. . –. - .-

-.- .
- .. - .
- .–. - .
- . –. - .

- . –. - . –. - .
- . –. - . . .–. - .
- . –. . –. .. - .- .

 - .  - . –. - . –. . –. -

- .- .- .- . –. - .
- . . . –. - .- . –. - .
- . –. - . –. . –. - .

- . –. - . . .–. . –. - .
- . –. . –. . –. - .- .
- . – –. . –. - .- . –.

- . – –. . –.  . –.
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���7�:���4	�/�?0�	-.���	9	�������������
	�/0
������
S1T�L�"����
��P�"��������"H



�������J8	��$-�!7�����
��/�J�K��"��� 
��
��� 


�/&K�-���/���8�1�A<���" R�L, H1�1�H2�����
�N��������$��R�P = L 	�H1 	�H2

S2T�A�=��I$"����H1�1�H2��/&K�-��" R����0�'����������	+/"
��I$"����A��
"H��.� 
�
�
,�	��L�A��
"H�����	+/"
��
,��"��")���.�	�
�"����
� 
���:��	����0����
�����������
/��
J�K�����
���
�����������.� 
��"���"H�����	+/"
��
,���;��0��")
-�"����
����"H
������/�
"����!��
��*��J8	��$-����
/���J�K��"����
����
�"�����;��
��4
�����������
�-�^
ScontinuumT��� p����$�R�"�������;��	+/"
���:�SgapT����F��
������S3T��
����N��
��� 
���-�"����!��
��*��J8	��$-��"����-������
���
�������

SiT����	���	�"����A��
"H�L�"����
��AN�"����
AB���
�
X	��C��
,��������	������
�C��
,� 
�A�1�B
�
,��6=�V�������	R�����������A�1�B��
,��6=�L����
��8�
��&6$�����"H
���������S5
���1.20���
T

SiiT����	��L�"����
��1�AB ��	�"��������"H
����AB ����.� 
�����9�
,��B��L�A���
��"H
��1���-����9�
,��A��L����������"H
���������B - C  - A�	
Z��B - A - C�������C �
,��L��
A -���&6$����
7���"H
����������S5
���1.21���
T

SiiiT�A�1�B��
,��L����
��8����&6$����B�1�C��
,��L��
�
��8����&6$�����"H
�������A�1�C��
,��6=�L���"���&6$��
��"H
�����������S5
���1.22���
T

A����N���-�.�U
	�*-��
�
���f 
��N�A�"H�������07���-9�.����6�Ka$������<$8�")D��1�����/��
�.�U
	���-�����	���
���

��	����=2	�����/	$���;������>��A, B���C�-1��'����7��
	������B���/6��A�"�����
BA
→ ��BC

→ ���=�-	#���ABC���	����6	-	'����I���	�����ABC���,��1T	�	����	����	-	'@

�" R���
��3�����������
'����
���l��ABC = BA
→

��BC
→

�Q��N���	���6�G���	9	����	1���>������&�1�)$���/C���
0���X����=�-	#�@

L

A

B
S5
���1.20)

C

LB

A
C

LB

A

C

S5
���1.21T
�

�

� S5
���1.22T

A
C

B

L

A

B C
S5
���1.23T



[ 17 ]

�A����S1T�A, B�1�C��
��� 
���2	��
8��
,�� �����/��J8	��$-!4������=8��������	��
j
$C
"��������"H
�������	��ABC�"����	�����������/���ABC��;���
�"��������"H
���

S2T�B�	���ABC ��&83$�
,��(Vertex) BA
→ �1�BC

→ �	���ABC��������(Side) 	��������
��	����A�1.�����6��1.��

BC
←→ ���A-���&6$� AB

←→ ���C-���&6$�����	���ABC����A�1.�� interior!�	��������
�ABC����9��$&����'�������-	��
,�	���ABC����AN�B���>�� interior Point!�	�������

�<�5
�����P,��ABC ���.� 
���9"H��
,���� �����
��
��")
-��
,�	����0��	�/���9��$&�.V
��
�9��$&�����'����
,����:�� ��0�.V
���" R	�� �	�/���6��1.�� exterior!�	��������

��
��$&����'����
,�	���	�/���6�N�B���>�� exterior point!�	��������

�<�5
�����Q, �ABC����.� 
����
_"H��
,���
A<���" R��")D��1�"�����
��*��J8	��$-��6�����
����N
��-�.�U
	����
���
������l
 1!��	�/���9��$&��	�A<���" Rp�������	�/������������
��$&�A<���" R�����7��
 2!��.� 
���	�/���������9��$&�1���
��$&�!���
��
��� 
���B���/�4�8��" R�p���$��R

����:��;����	+/"
���0 
��" R��;���"�%��/��
,�����
7��

 3!�P, ��ABC���	��9_"H��
,�������B 	����U
�BP
→ ��

�����-�"�#��
,���ABC����9"H����� ���"�
��

     A�1�C����;�<$8�����	+/"
��
,���;��ABC����9_"H������
 4!������H10����	1�� Cross-bar theorem!

P, ��ABC����	��9_"H��
,�������BP
→ ��AC �	������	�
���

���<$8���N
��K�	�����/����:�����
�A����-�����=�.�	���
����BP��&L
�	
��
�AC
��
�
X	������	�
�
��������5
�����A��k
�	�
����
����A����- 
����N
��K�	�����/���V-���
"���
�9��$N�����7��

��	�������	�� Measure of an Angle!��
?0�	-.�:8������	$	�_��?0�	-.�� Protractor Postulate!
���������	���6�'��/�[�.&�9/	�E���	Q���=
�	��=�;I���'6	����=�;I���	�������	�

��6	-	'�@��ABC�����
��/	��m�ABC��K���"K5
��	��������)������
����N�"<$������	����

A

B CS5
���1.24T

P

A

B C
S5
���1.25T

P�
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SiT�0 < m�ABC < 180

(ii) 0 < 
�< 180 ����� BC
←→ �������	+/"
���&6$����	��

�������.� 
���&L
� BQ
←→ ���"H
�������
�m�QBC = 
������

S
�!��' ��"�%��/�_��	�/���
��/���07��-����������T
SiiiT��ABC����9��$&���P�����	+/"
��	��
,�������m�ABC = m�ABP + m�PBC

�����S��
�J8	��$-��"<$��K�/�	�
��	�/���
��/��
a$=�	�
�����'����v����A��=	������ �	{�
	��������T

1�&�������� �	{��J8	��$-��
1.�SiT�0 < 
�< 180 ���07��k��	�/����	��U
.�8����	�����������
���ABC ������x����

��S0 <  x< 180T��������������
��m�ABC = x0

SiiT�0 < 
�< ��S��0��	����
��=�")
-��1��������"�������3.1415, 22
7
�0�-��
T

���`������k��	�/���	����U
���R�����	�������������	����	�/����"�%��/�_�./
�����<6
	
�����5����������������-����������

SiiiT�0 < ��< 200��6����`���	���	�����#��*���	����6	-	'�@
2m�A����N��9�-������=8

����*�
	/��Y�180�*�#�0�Y�200��#�*��@��"����	�/�������		��;���U
.�8��		�"�%��/
���&-	�����07�������������-����������

10 = 60' (60 �
�
 R) 1' = 60'' (�"�	X)

3a�1�)$����	�������	����	/��6��"����	/,����.�����	����6	-	'�@
m�ABC = m�PQR�������ABC�1��PQR�"�$"�����9
�1
���	��"��:�
	�A��=����ABC ���PQR���
������
���	$	�_��?0�	-.���	9	�������������
	�/0
������

1.� ��
� A� 1� D, BC
←→ � �� "���& 6 $" H 
�� � 
, � � 1

m�ABC > m�DBC�����������D, �ABC����9_"H��
,�����
��������
��8��AN
��;�"�-����$��R�A�1�D, � BC

←→ ��"���&6$"H
�
1�m�ABD > m�DBC�������BD

→ ��ABC���9��$&����
#��
�����

A

B C
S5
���1.26T

PQ

A

B CS5
���1.27T

D

1
2
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2.���	����1T�
3���(Angle Bisector) :

���� �	{��J8	��$-�1�A����N���-�S1T�����������
���
����������ABC����9��$&����
#��

�.� 
��������&L
�BD
→ ���
�
������
	
�m�DBC = 1

2 m�ABC��� ���BD
→ 	���ABC���"��6

X	

SbisectorT�	��������

�<�5
�����BD
→ ���ABC���"��6

X	�1�m�ABD = m�DBC��� ��

��4�/S����	����	��(Types of Angles) :

1.���
��/��������	�/�.�U
	��
�
���	������
�N����.� 
���	�/����
��/�l
900���������6����	6	�����bX��	�"�900��6���	/��6�������	����900�����9E���6��

�B�7��	����6	-	'�@
2.��/������������������	��(Complementary and Supplementary Angles)�l
SiT���0 
��	�/����
��/��"�C
�900�������"���:����B������K�	��	�/�SComplementary

anglesT�	��������
SiiT���0 
��	�/����
��/��"�C
�1800�������"���:����B����
�K�	��	�/�SSupplementary

anglesT�	��������
3.��/�S6�����	�� Adjacent angles!��
1�)$����	����#	$�'��	9	����	6������	��1T
���/��	6��1�)$���	9	����	6�������0�

�	�T.�����Q;���6��"����	/,���/S�6������	����6	-	'�@��<�5
������AOB 1�AOC, ��PSQ
1 �QSR "��
�
��� 9
����`-�	��������0�"��
�
���	�/���9��$&��/���8��

 ��V/	����.���"����
�����&6$�	���	�����0�'����������AB ��1�AB
→ �����:��A�=���&6$

����
��8����&6$�	�
��� AB
←→ ���A�=���&6$	���
7���o����T

"�%��/��������
��8����&6$����
#���������6=	��"��
�
���	�/����:���6�N�B��	6�� exterior
Sides!�	�������

A

B CS5
���1.28T

D

A

O C

S5
���1.29T
B

Q

S R

P

2
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4.����0����	�� Vertically Opposite angles!��
�.� 
���	�/�������6=���
��8���&L
����:��6����.V
���	�/	��AN��	�/�����8���	�/

	���������<�5
������AOC�1��BOD���B�����8��� 9
��
����	���R��.������	$���=2	��
��K���M� Mutually perpendicular!���
	�����X���
1�)$����K�����G10���
	�1T	�	��;&���6��E�	�V	����	�
�������8�����#	$�'���	������	���6�����
	1T
����K���M��6��A��@

AB
←→ �1� CD

←→ ���B���Z�!����	��"�:���6���� AB
←→ ��� CD

←→ ���
������

AB
←→ ��� CD

←→
��A B

→ ���C D
→

��$��R� AB
←→ �1� CD

←→ ���B���Z������ A B
→ �1�C D

→

��B���Z���������-�������7��
��
	
3����1T�
3���M����#	$�'���
	
3������>���1)��,�����'6	�������M

�6��E�	���7��
	�����
	
3����1T�
3���M� Perpendicular bisector!���6	-	'�@

5
����� ED
←→ ��AB ����"��6

X	��Z��

��C�-l�SiT�AB���
�
X����
��Z�	�
������$���A�

                  AB�"����
�����
��Z��
��������SiiT�")D�����=8�"��	�/����0�������B���Z��

1.6��������������0����	���R�.������
	�/0
�����
����������	���M\0
�����
 a!��#	$�'���X����0Z.��>���/��'����
	������B��

�6����-�F�1�)$���/S�6�����	����E/S�6��A�"����	�/���K�
�������P���.	������	/,������	�����&��1800���$�@

 b!�����0�������1�)$���/S�6�����	����K���������
�6��"����	/,��6�N�B��	6��1T
���K������0����X���$A�@

A����N���-	�������������	1�� Supplementary Theorem!�	������������������/
��V-���
"���9��$N�����7�����N
��K�	�����/��������������-��������������<$8�A����-������/
��
���-�A������%��
���

A

O

C

D BS5
���1.30T

O

B

A

C D

S5
���1.31T

C

D

E

A B

S5
���1.32T

D

C BA

S5
���1.33T
m�ACD + m�BCD = 1800
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���	1��:�2
1�)$����7��
	���K�����G1�������E/S��6��E�	����0����	���	/,������	����	/@
 If two lines intersect, then the measures of the vertically opposite angles

formed thereby,are equal!

1<�� AB
←→ ��1� CD

←→ ���B�	��O��
,��������	�9
��
��	�	����m�AOD = m�BOC, m�AOC = m�BOD

���	���O A
→ ���&83$�
,��O, CD

←→ �A������"H
���
��m�AOC + m�AOD = 1800 �S��
�K�	�A����-T

OC
→ ���&83$�
,��O, AB

←→ �A������"H
���
��m�AOC + m�BOC = 1800�S��
�K�	�A����-T
��/��m�AOC + m�AOD = m�AOC + m�BOC
��m�AOD = �m�BOC
�"�
��
�����/�	����0����
���m�AOC = �m�BOD������S����/
�T

�/��07/0�:�1(b)

 �!���4	#
1. �����
���

'����.�U
	��")D����
��

�	�/���9��$&��"��
�
���	�/�����8���	�/����
�K�	��	�/������K�	��	�/��
2.      �
�����&�.�U?
	��A<���
� �
          (i) ��.� 
���	�/���	��� 
����������q���(ii)��.� 
���	�/���	��� 
�&83$�
,������q

(iii)��	�/���9��$&����	��� 
��
,������q�(iv)��	�/�1�������9��$&���������	��� 
��
,������q
3. �
������
����0�'������
	�����	A7�.�U
	�A<���" R��&$���l

(i)���
�
X��(ii)��&L
���(iii)���
����(iv)��	�/���(v)��	�/���9��$&���(vi)�"����
(vii)��	�/����
��$&

4. �
��� 
�"����
����B�	�����	���'�����	�5
����:��	� ����'���5
��	����

����8�
�	�/����U?��.�U?
	����
 �

5. ��0 
�"����
����B�	���.� 
���
,��������	���'����5
�� 
���:��	� ����'���5
����
"��
�
����
�K�	��	�/���U?�.�U?
	����
 �

A

O

D

C BS5
���1.34T
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6. XY "����
����
��8����&6$���M 1�N��
,�	��5
�� �	� ���:
��"����
���N-��&6$���C�
,�
��)�M-��&6$���B�
,��5
�� �	� ��5
�����;�����&�$������BM 1�NC ��
�
X�6=�"����
��
�
��8����&6$�����
�� �

7. �
�����&�.�U?
	��A<���
� �����&-	�"H���5
����:��	� �
    (i)�x��
,�� AB

←→ �A������"H
��������1�A - O - B������m�XOA + m�XOB ��	���q
(ii)� AB

←→ �1� CD
←→ �������
,��O�������AOC�����8���	�/��	A7 
�q

(iii)�C, �AOB����9"H��
,���m�AOC  = x�1�m�AOB = y������m�BOC��	���q
SivT���0 
�"����
����B�	������	���A�'�����A�'����	�/�.�U
	��;�����
��.� 
���	�/�

��
��/�300�������������������8���	�/����
�K�	��	�/����
��/��	�������q

 
!���4	#
8.       (i)�m�ABC= x �1��ABC������K�	��	�/����
��/�2x0������x�������U
.�8�����	�&�	� �

SiiT��.� 
���	�/����
��/���������
�K�	��	�/����
��/����0.�/���180��%'	�����
�	�/ 
����
��/��	����
a$=�	���

SiiiT��.� 
���	�/����
��/����������
�K�	��	�/����
��/���	��d��)&�������	�/ 
�
��
��/�"H
��	���

SivT���0 
�"��
�
����
�K�	��	�/����
��/���������4:5�������	�/�6=����
��/��
a$=�	��
SvT��.� 
���	�/����
��/����������
�K�	��	�/����
��/�V����200�	�R��������	�/ 
�

��
��/��
a$=�	���
SviT���0 
�"��
�
����
�K�	��	�/����
��/���9��300�������	�/�6=����
��/�"H
��	���
SviiT��.� 
���	�/����
��/�����������K�	��	�/���
��/���	��d��)&��������	�/ 
�

��
��/��
a$=�	���
9. úˇÁ∑ß◊ ̀ ˇÁÜˇ˜SÎ›ÁLˇ AúÎˇ”ÊÔ¿ˇ  x  ¿ˇ ∑Êúˇ ÔLˇÔÜˇ Ô‹ˇØˇ ◊Á¿ˇ Lˇ¿ˇ >

10. íˇàˇ ̀ Á̌Ü ˜̌Ô¿ˇ AB
↔  H CD

↔  ”¿ˇ¡ˇÔ¿ˇQÊí ¥̌fl ®¿ˇÿ¿ˇLÎ̌
O  Ø Á̌¢Î̌ Ô¿ˇ Ôdíˇ Lˇ¿ˇû Á̌ > m�COE = 900 Ô‹ˇÔ‡ˇ
x, y H z ¿ˇ ∑Êúˇ úˇÁÇˇˆfl Lˇ¿ˇ >

C

O BA

3x0

2x0

(�	�)

R QP

(x–4)0

(�
�)

(3x+8)0

S

Q

O NM
(�.�)

D

O
BA x02x0

S5
���1.35T

S5
���1.36T

z0
y0

C E

P

(x+20)0 (x+10)0
(2x–30)0
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11. íˇàˇ ̀ ˇÁÜˇ˜Ô¿ˇ PQ
↔

 H RS
↔

 �6=������
,�� O 1�m�POC= 750 �����
a, b ��)�c �������
a$=�	��

 #!���4	#
12. ����/�	��������0 
����8���	�/��"��6

X	��	�"����
��A��
"H���0 
��
��8���&L
���� �
13. ����/�	��������0 
�"��
�
����
�K�	��	�/��"��6

X	��&L
�6=���B�����
��Z �
14. ��&6$"H�5
������AOE���)��EOB ��0 
�"��
�
����
�K�/��	�/

1�OC
→

,��AOE	�� "��6

X�	�� ��m�COD = 900 ����

�&�$������OD
→

, �EOB���"��6

X	���� �

15. AB
↔  H CD

↔  ®¿ˇÿ¿ˇLÎ̌   O  ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇûˇÁ > �AOC  ¿ˇ

”∑í ¥̌ÁQÉLˇ OX
→ > ®˜∑Ê~ Lˇ¿ˇ Ôæ XO

↔  ÔLˇÊ~ BOD  LÎˇ ”∑íˇ¥ÁQÉ LˇÔ¿ˇ >

16. OA OB OC
→ → →

, ,  �	�"��������"H
���&L
 ���	/"
��&L
���-��&L
���0 
��6����.V
���	�/�
�9��$&����
#�������7 ������/�	������m�AOB + m�BOC + m�COA = 3600

17. ��&6$"H�5
�����OE
→ , �AOB ��"��6

X	��&L
 �

OF
→ , OE

→  ���
��8���&L
������
�&�$�����m�BOF =  m�AOF

1.7�����	A����7��
	� Parallel Lines!
�=2	��'�����7������B���1�)$���;������7��
	�-1����K�����G1�����/�	A�"�����

���	/,����	A����7��
	���6	-	'�@�1�)$����	A����7��
	������B�����X����M	���
	
3��
�����	A����6	-	'�@

L1�1�L2���
��6=���
�"��9�����9
������"�:����L1II L2���
������
")D�����=8�L1II L2������L2II L1������
?0�	-.��:�9 : ��	A��?0�	-.�� Parallel Postulate!��
�#	$�'���7��
	���6�N�B�'����>�����1)��	6	�������	A���6��E�	����7��	��

�#	$�'���7��
	����B���@

Q

O
SR

7504b

S5
���1.37T

2c a

P

C

E

O B
S5
���1.38T

DC

A

B

O EF

S5
���1.39T A

b
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�A�������&6$"H�5
�����"��9��J8	��$-	��"�*���A��k

	�
���� ��L1��� ��
_"H�P��
,�� �;��0������"����
�
��"H
����"�"����;���L2��U����A��	+/"
 
�L1�"��"��9�
����7�

��a1�a���"��9��J8	��$-�*-��
�
�&�G����.� 
����
�.����6�Ka$�J8	��$-���"����A�����:
�
"�
�.��	��"����
����	�������$� ����
�.��/�	�
� ��A7�*-��
�
������5���	�����������	�
0A	c
U8=�*-��
�
�	�����������.���	�����0�
�"����
���
,�����:���" R�����/���������-��-
���	� ��	��� ��$� �;� "b�� �� �"� "��� ��$	�� ��0� �
�
��� ��	��� �/0A	c
U8=� *-��
�
� SNon-
Euclidean GeometriesT��;�"�C
����0�
������������=�.����	�&��;=�����
����<����
"���
	����������"���*-��
�
���"��9��J8	��$-�.��/8=�����7��

���<$8�A����-�"��9��J8	��$-�A������%��
���
���	1��:�3

'�����7������B�������K��D	����;�����-�F�������7��
	��/��'����7��
	��6
��	A�"����	�/���K����	A��@

 Distinct coplanar lines parallel to a given line are parallel to one another!

1<��L1. L2�1�L3��	�"��������"H

�����	R�"����
���
L2 II L1  , L3 II L1

��	�	�����L2 II  L3

���	������	��L2�1�L3 �"��9�����9
��
���"�������B�	������	�
��������	��L2 �1�L3 �������
,��P���L1 II L2���0�'�����L1

1�L2��/���8����/��P, L1�����
_"H��
,���
L1�����
_"H��
,���P��;���0���0 
����	R���
��L2�1�L3���L1"��"��9��������"��9��J8	��$-

�����=8������"b���
��/��L2 II  L3 S����/
�T

1.8 ���	A����7��
	������	/,���G1��(Parallel Lines and their transversals)��
�#	$�'���7��
	�1�)��	����	c9E����	A����
	����G1������	6	����R;I���	A�

��
	��	/,���G1�� transversal!���6	-	'�@

L3

L4

L2

S5
���1.40T
L1

L1

L2

L3

S5
���1.41T

P

P
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��0 
�"��9����
�	���.� 
�����	����	������A7���V�.� 
��	�/�"�C
�������"���:�����U�
���U��	�
���0��	������������
��	������������!��	�9���	�/�Salternate anglesT��1�����K�
�	�/�Scorrresponding anglesT����<�5
�����")��N��	�/����:���9��$&�.�U
	�1����8���$-9
")
-��6����5
��
��	����0�
����	�9��1�����K���������	�/����U��.�U
	������l

�	�9���	�/�SAlternate anglesT
SiT��AGH�1��GHD�S�9��$&�3�1�6T
SiiT��BGH�1��GHC�S�9��$&�4�1�5T

����K���	�/�SCorresponding anglesT
(i) �EGB �1��GHD�S�9��$&�2�1�6T��������(ii) �DHF �1��BGH�S�9��$&�8�1�4T
(iii) �EGA �1��GHC�S�9��$&�1�1�5T�������(iv) �CHF �1��AGH�S�9��$&�7�1�3T

�AN�B���	�� Interior Angles!����6�N�B���	�� Exterior angles!
�<5
�����3,4,5�1�6��6����5
��
���9��$&��
&
C��	�/.�U?
	���9_"H��	�/�	������ 1���&
C

�	�/���:����
_"H��	�/�	������ �����$�R��AGH, �BGH, �GHC�1��GHD���A�9
��9_"H��	�/
1���-�5��
�.� 
��	�/���
_"H�� 9
 �

����Z�1�&����� AB
←→ �1� CD

←→ �"��9�������0�'����;��"���:�����	� EF
←→ ��6����"�C


��A�'�����V�.� 
��	�/	��A����N������	�9�������K�������9_"H�1���
_"H����������
�
	����� �

��0 
�"�����
������	�"Z[8=
���	��	�D���-��
3=�l
����:1���1�)$����	A����7��
	����#	$�'

��G1��1T	�	��;&���6��E�	
(i)��-��8����'�	A����	���-	*+	�������	������&�6��A�"
���$�R��<�5
�����m�AGH = m�GHD�1�m�BGH = m�GHC

(ii)��-��8�����/�������	���-	*+	�������	������&�6��A�"����$�R��<�5
����
m�EGB = m�GHD, m�DHF = m�BGH, m�EGA = m�GHC�1�m�CHF = m�AGH

(iii)��-�F��AN�B���	�1T
���A�1.���G1���'���	�T.������B��"����	�/���K�
�������"����$�R�m�AGH + m�CHG = 1800�1�m�BGH + m�DHG = 1800��� �

E

F

GA B

C DH

1 2

3 4

5 6

7 8

S5
���1.42T

E

F

GA B

C DH

S5
���1.43T
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A����N���-���
��8��AN
��;�"�-��� ��������
������
��.�� �

����:�2�����0 
�"����
��1��"���:���.� 
�����	��6����"�C
���A�'��

(i)����	+/"
��	�9���	�/����U?����
�"���
��/��
&
C����9


	
Z���(ii)����	+/"
�����K���	�/����U?����
�"���
��/��
&
C����9


	
Z��(iii)���A7��9_"H��	�/�6=���9��$&����	���	���&6$�����"H
����"�������
���B�
��
�K�	����9
p������"t�N���
��6=�"��9��� 9
 �

�<�5
��	���`-�	� �

A����N���-������=8�

(i) m�AGH = m�GHD

�	
Z��m�BGH = m�GHC �� AB
←→

�II CD
←→

(ii)�m�EGB = m�GHD ���m�DHF = m�BGH����m�EGA = m�GHC

���m�CHF = m�AGH �� AB
←→

�II CD
←→

(iii )�m�AGH + m�CHG = 1800 	
Z��m�BGH + m�DHG = 1800 �� AB
←→

�II CD
←→

A����N���-��6=������/�	�
������-��
���K�$���������<$������07� �.� 
��J8	��$-
"Z[�����������.������� �

�/����� ��	�� ?0�	-.�� �

'�����7������B���1�)$�� ��7��
	��� '�� �G1��1�)$�� ��>���� �G1���"�-1�
1�)$���/�������	�������	����	/�6�'"��������7��
	�1�)$����	A���6�� @�'6	�
����0�� �I�� ��� ��� @� �	6	� �6�G�:

���	1�� : 4

1�)$����	A����7��
	���'���G1���G1���"��-���8����1�)$���/�������	��
����	�� ��	/� 6�' @

��
� AN
 
� ���� ��	{�!J8	��$-�� ����K�� �	�/!J�	��$-� 1� "��9�!J8	��$-� "����-�������/
�
���0���
� �� �V���� ����/� �
����A� ���F �

E

F

GA B

C DH

S5
���1.44T
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���	1�� : 5

1�)$�� ��	A�� ��7��
	��� '�� �G1�� �G1���� ������� �-	*+	� '�	A�� ��	��
����	�� ��	/� 6�' @

(If a transversal intersects two parallel lines, then each pair of alternate
angles are of equal measure.)

1<� �� L1 II L2 ��) L3 �"����� ���	 �
�1 1 �3, �2 1 �4 ��0� ���U?�� �	�9��	�/� � 9
 �

��	�	��� : m�1 = m�3 ��) m�2 = m�4

���	�� �� �3� �
��� �2 �� "��
�
�� ��
�K�	� �	�/	�
�5� �6���� 5
��
�� 	����A �

L1 II L2� ����� m�5 = m�1� S����K��	�/T
	
9� m�5 = m�3� S���8��	�/T
� m�1 = m�3

�"�
��
� ����/� 	����0����� ���� ��-���U?�� �	�9�� �	�/�� ��
��/� "���
���$�R� m�2 = m�4� S����/
�T

���	1�� :� 6

'�� ���7��� �E�	� 1�)$�� ��7��
	��� '�� �G1�� 1�)$�� ��>���� �G1���"� -1�
1�)$�� '�	A�� ��	��� ����	�� ��	/� 6�'"� ����� ��7��
	� 1�)$�� ��	A� @

(If a transversal intersects two coplanar lines and a pair of alternate angles
are of equal measure then those two straight lines are parallel.)

1<� �� �	� "������ �'��� L1� 1� L2� ��0 
� "����
�� L3� �6���� ���	���� P� 1� Q� �
,���
���
�� ���0�9
 �� �1� 1� �2� �	���U?�� �	�9��	�/� ��)� m�1 = m�2 �

��	�	��� �� L1 II L2

���	�� �� �2� �� ���8�� �	�/	�� 3� �6���� ���
�� 	����A �
5
��� 1.46� ��� m�2 = m�3� S���8�� �	�/T
m�2 = m�1� S�<T� �� m�3 = m�1

	
9�� ������ ����K��	�/ �
� L1 II L2 S����K��	�/!J8	��$-T S����/
�T

P L1

L2

Q

3
5

4

2

1

S5
���1.45T
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P L1

L2

2
3

Q 1

S5
���1.46T
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���	1�� :� 7

1�)$�� ��	A�� ��7��
	��� '�� �G1�� �G1���"� �G1��� '��	�T.�B� �AN�B
��	�1T
�� � ����	��� ��&�� 1800 @

(If a transversal intersects two parallel lines, then the sum of the  measures
of two interior angles on the same side of the transversal is 1800.)
1<� �� L1 II L2� ��)� L3� ���	� L1� 1� L2� 	�� ���	���

P� 1� Q� �
,���� ���	�� �
L3� ���	�� �	� ��&6$"H� �9_"H�	�/��2, �1� ��)� ��-��&6$"H� �9_"H� �	�/� �4, �3 �

��	�	��� �� m�1 + m�2 = 1800� ��)� m�3 + m�4 = 1800

�4� �� ���8�� �	�/	�� 5� �6���� ���
�� 	����A �
���	�� �� S5
��� 1.47� ��T� m�2 + m�5 = 1800

� � � � � � � � � � � � � � � � � � S"��
�
�� ��
�K�	T
L1 II L2 ����� m�5 = m�1� S����K�� �	�/T
� m�2 + m�1 = 1800

�"�
��
� ����/� 	����0����� ���� m�3+m�4=1800 S����/
�T
���	1�� :� 8

'�� ���7��� �E�	� 1�)$�� ��7��
	��� '�� �G1�� 1�)$�� ��>���� �G1���"� -1�
�G1��� '�� �	�T.�B� �AN�B� ��	�1T
�� ����	��� ��&�� 1800 6�'"� ����� ��7��
	1T

��	A� @

(If a transversal intersects two coplanar lines and the sum of the  measures
of a pair of interior angles on the same side of it, is 1800  then two  lines are parallel.)
1<� �� �	� "������ �'��� L1� 1� L2� "����
��6=	�� L3� ���	� ���	���� P� 1� Q� �
,���
���� 	���
 �

L3� ���	�� �	��&6$"H� �	���U?�� �9_"H� �	�/�6=� �1� ��)� �2 �
m�1 + m�2 = 1800

��	�	��� �� L1 II L2

���	�� �� S5
��� 1.48� ��T� m�2 + m�3 = 1800

S"��
�
�� ��
�K�	� �	�/T
m�2 + m�1 = 1800� S�<T
ml� m�2 + m�3 = m�2 + m�1 � m�3 = m�1;
	
9��� ������ ����K��	�/ �� � L1� II L2 S����K�� �	�/� J8	��$-T� � � S����/
�T

P L1

L2

  4    2
5

3 1

Q

S5
���1.47T

L3

P L1

L2

      2
3

Q 1

S5
���1.48T

L3
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�/��07/0�:�1(c)

 �!���4	#
1. �
���

'���AN
.�U?
	�V
	R�������R���
�l

(a)�L1II L21�L2II L3�����L1II L3

(b)�L1 � L21�L2 �� L3�����L1 �� L3

(c)�L1 = L2������L1II L2 �S"K5���: L1= L2 �����$���A�
�L1�1�L2��
���	���
�� �
�����"��9��"����
��")D���-�����	�T

(d)���0 
�"��9��"����
���	�"��������"H
� �
(e)��ABC 1��DEF��;��� AB

←→
�II ED

←→ �1� BC
←→

�II EF
←→ ������m�ABC = m�DEF���� �

2. ��&6$"H�5
���1.49����L1 II L2�1�L3��"���:�
���	 ������
,����A�'���	�/.�U?
	�1, 2, 3 ........8
")
-���6����5
��
� ��m�3 = 650���������-
�	�/.�U?
	����
��/�"H
��	� �

3. ��&6$"H�5
���1.50����L1 II L2���)�L3 II L4�5
����
�
���

'���	�/.�U?
	����
��/�"H
��	�
�&K�-"H��.�U?
	�
�K�/�	� �
�	�/.�U?
	����
��/�"H
��	�
�&K�-"H��.�U?
	���K�/�	� �
m�x =                       ,  m�z =
m�p =                       ,  m�q =
m�r =                       ,  m�s =

4. ��&6$"H�5
���1.51����L1 II L2 ��5
��	���-������	�

a, b, c, d �6����5
��
���	�/.�U?
	����
��/�"H
��	� �

5. ��&6$"H�5
���1.52 ���AB II�CD���)�AD II�BC ���5
����
x,y,z�������"H
��	� �

S5
���1.49)

S5
���1.50)

S5
���1.51)

S5
���1.52)

L3

L1

L2

1 2
3 4

5 6
7 8

L1

L2

L3

L4

600
r    x

s

z
p   q

d

L2

L1

a

c
b
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>>

>>

> >

A D
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S5
���1.57)

6. ��&6$"H�5
���1.53 ���PQ II�RS��� RS
←→ �	�� BN

←→ �C��
,���
����	�� ��5
�����x�1�y�������"H
��	� �

7. 5
���1.54��������-	�5
�����0���U?��"��9����
��6����.V
����)�����-	�5
�������0 

�	�/����
��/�")�	�����&�$��0�
 �
(i)�5
���1.54 (a)����x�1�y��;���"Z[�"H
��	� �
SiiT�5
���1.54�SbT����a�1�b��;���"Z[�"H
��	� �

S5
���1.54)

 
!���4	#
8. (i) ���&6$"H�5
���1.55����m�ABC = 740��m�EDC  = 380

m�BCD = 360������/	������DE
→

 II�BA
→

   (ii) ���&6$"H�5
���1.55����m�ABC = 600��m�EDC  = 380

��)�DE
→

 II�BA
→ �������&�$������m�BCD = 220�

9. (i) ��&6$"H�5
���1.56�����ACD���"��6

X	�CE
→

AB �"��"��9�����������/�	������m�A=m�B

   (ii) ��&6$"H�5
���1.56����CE
→

II AB ,�m�ECD=700���)
m�A=500 �������&�$������m�ACB = 600�

10. ��&6$"H�5
���1.57����L1 II L2 1�L1, L2 �����	�L3

    (i) m�2 = 2m�1��������1�1��2�����
��/�"H
��	� �
   (ii) m�2 = 3m�1��������1�1��2�����
��/�"H
��	� �
  (iii) m�1 : m�2 = 2 : 3��������1�1��2�����
��/�"H
�

	� �

S5
���1.53)

S5
���1.55)

S5
���1.56)

740

380
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y0
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B C
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550 1300
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11. ��&6$"H�5
���1.58� ���L1 II L2 ��L3� ���	�L1� 1�L2

"����
��6=	�����	����A�1�C��
,�������	�� �
�BAC���"��6

X	�1��ACD���"��6

X	���B�	�
O��
,�������	�9
 ���&�$������m�AOC = 900

12.(i) ��&6$"H�5
���1.59���� AB
←→

�II CD
←→ ��m�OAB = 1350,

m�OCD = 1450 ������AOC�����
��/�"H
��	� �

    (ii) ��&6$"H�5
����� XB
←→

�II YD
←→ ��m�XAO = 600, m�YCO

= 700 ������&�$������m�AOC = 1300

 #!���4	#
13. �.� 
��"����
����-���0 
�"��9��"����
�	�����	�������/�	�����

SiT����	+/"
��	�9���	�/���0 
���9_"��6

X	�6=���B��"��9� �
SiiT����	+/"
�����K���	�/���0 
���9_"��6

X	�6=���B��"��9� �

14. �ABC���m�B = m�C��BC �"��"��9��	�
��:
��"����
��AB�1�AC�	�����	���
�P�1�Q��
,��������	����&�$������m�APQ = m�AQP �

15. �.� 
���	�/����0�������-��	��	�/����0�����"��"��9������������/�	�������	�/�6=
"���
��/��
&
C������
�K�	����� �

16. �.� 
��"����
����0 
�"��9��"����
�	������	�
��"�'�;����	+/"
��.� 
�����
��Z
����������/�	������������- 
����
��;��Z���� �

1.9 ���4������	��'�=�'6	���6�N�B���	��(Angles of a triangle and its exterior angles):
���	1��:�9

�#	$�'����4������/���	�������	�����&��1800 @
 The sum of the measures of the three angles of a triangle is 1800!

1<���ABC��	+/"
��.� 
���
���* �
��	�	�����m�A + m�B + m�C = 1800

S5
���1.58)

S5
���1.59)

O
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C D

�

x x

y y �

L3

L1

L2

O

B

A �

B

C
�

D

1350

1450

X A B

Y C D

O

600

700



[ 32 ]

�,/���A��
,���;���0� DE
←→ ��:��	������
	


DE
←→

II BC
←→ ���)�D - A - E (A, D�1�E����;�<8$�
,�T

��)�D��
,�� AC
←→ ���B���&6$�����"H
����� �

���	�����:�������=8�B, �DAC����9��$&�����"H
� �
m�DAB + m�BAC = m�DAC

����S���� ��	{��!�J8	��$-T�mmmm�SiT
AC
→
���&83$�
,��A,�DE

→ �A������"H
� �
m�DAC + m�CAE = 1800�S"��
�
����
�K�	��	�/T�mmmmmmSiiT
SiT�1�SiiT�����
�
����m�DAB + m�BAC + m�CAE = 1800mmmmmmSiiiT
DE
←→

II BC
←→ �1�AB��"���:�����	 �

m�DAB = m�ABC �����S�	�9�T mmmmmmSivT
�"�
��
� DE

←→
II BC

←→ �1�AC ��"���:�����	 �
��m�CAE = m�ACB�S�	�9�T mmmmmmSvT
(iii), (iv)�1�(v)�����
�
����m�ABC + m�BAC + m�ACB = 1800

���$�R��ABC�����m�A + m�B + m�C = 1800 S����/
�T
���"
I�9�l�1.��.� 
��"��	�/8��
���*��"K`L�	�/�6=���B������K�	 �
���"
I�9�l�2.��.� 
���
���*����.� 
	����%'	�"��	�/����"HK��	�/���
���
�����F �
���"
I�9�l�3.��	�A<��5����$*��5��
�	�/����
��/��"�C
�3600 �

�C���&�/8��������������8`��K�	�����/���;�������"
I�9�l�3���"�-���A���R%'
	�
"��
�
 ����"��������N
�K�	�����/ 
	��*�/
�� �

1<�� ABCD �	�5����$* �
��	�	�����m�ABC + m�BCD + m�ADC + m�BAD = 3600

�,/���ABCD�5����$*��BD�	a$��:��	� �
�ADB����m�ABD + m�BDA + m�BAD = 1800�........(i)
�"�
��
��CBD��� m�CBD + m�BDC + m�BCD = 1800 .......(ii)
(i) 1 (ii) �� (m�ABD + m�CBD) + m�BCD +

(m�BDC + m�BDA) + m�BAD  = 1800|�1800  ........(iii)
ABCD�5����$*�A<�����0�'�����B, �ADC���9��$&���1�D, �ABC���9��$&�����"H
� �
m�ABD + m�CBD = m�ABC 1
m�BDA + m�BDC = m�ADC �S���� ��	{��!�J8	��$-T�mmmmmmmmmSivT
(iii)�1�(iv)�����
�
����m�ABC + m�BCD + m�ADC + m�BAD

= 1800 + 1800 = 3600 S����/
�T

S5
���1.60)

S5
���1.61)
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���4�����6�N�B��	�� Exterior angle of a triangle!
�K�$��������������
��*����
_"H�	�/�")�	$���*�/
� ����"���	������	�0�� �

�=2	������4�����AN�B��	����/S�6������������	�������4�����6�N�B���	����6	-	' @
��&6$"H�5
�����CB

→ ����
��8���&L
�CP
→ �������ACB��

�	�"��
�
����
�K�	��ACP��
�
��� �
�"�
��
�CA

→ ����
��8���&L
�CQ
→ �������ACB�����-

�	�"��
�
���
�K�	��BCQ��
�
��� �
BP
→ �1�AQ

→ �������
,��C�������ACP�1��BCQ��	����U?�����8�
�	�/ ��������"�6=����
��/�"��� �
")D�����=8��ABC���&83$�
,��C����"�C
���A�'�����
_"H��	�/�6=��ACP�1��BCQ �
�`-	���ABC����PCQ��	���
_"H��	�/�����7 �
�ABC����B�1��C�	��A�V�����'�����
_"H��	�/���9"H��K��<8$��	�/�SRemote interior
anglesT�	������ ���"�
��
��C�1��A�	��B�V�����'�����
_"H��	�/���9_"H��K��<8$��	�/
��)��A�1��B�	��C�V�����'�����
_"H��	�/���9_"H��K��<8$��	�/�	������ �
�
���*���.� 
���
,����A�'�����
_"H��	�/����
��/���)�������9_"H��K��<8$��	�/�6=�
��
��/��;����'���")�	$	���������8`��K�	�����/���;����*�/
"��
� ���<$�����
��
��N
�K�	�����/	�����;���	� �

���	1��:�10
���4������8����'���6�N�B���	�������	��'6	���A�B�1���<0.���	�1T
������	��
��&���6���	/ @
 The measure of the exterior angle of a triangle is equal to the sum of the
measures of its remote interior angles.!

1<�� �ABC� C��
,������
_"H�	�/��ACD �
������9_"H��K��<8$��	�/�6=��A���)��B

��	�	�����m�ACD = m�A + m�B
���	�����ABC���

m�A + m�B + m�C = 1800��SA����-�!�9T
	
9��m�C + m�ACD = 1800�S"��
�
����
�K�	T
��m�A + m�B + m�C = m�C + m�ACD

� m�A + m�B = m�ACD
���$�R�m�ACD = m�A + m�B S����/
�T

S5
���1.62)
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�/���^	A���1
���4������8�����6�N�B���	�������	�"�'6	����������AN�B���	������	��D	����;6<� @
A����-�!�10�������/�����
_"H�m�ACD = m�A + m�B
��/��m�ACD, m�A�1�m�B�����-	�V�������<��

�/���^	A���2
���4�����6�N�B���	��	/,������	�����&��3600 @

��ABC����	�/
	��
,��A, B, C�V�������	����AC
→
��BA

→ �1�CB
→ ����
��8���&L
��:��	�
��

�6����A�'�����
_"H��	�/��=����
��/�"�C
�3600������
�����/�	�
���
�� �
m�ACD = m�A + m�B,

m�BAE = m�B + m�C 1
m�CBF = m�A + m�C �
��m�ACD + m�BAE + m�CBF
= 2 (m�A + m�B + m�C)

= 2 x 1800 = 3600 S����/
�T

�/��07/0�:�1(d)
 �!���4	#

1. �
���AN
.�U?
	��;�� ���R�AN
���
���PXQ�5
�����)�V
	R�AN
���
���P�Q��5
����
� �
SaT �	+/"
��
���*����0 
��	�/����
��/�"�C
����8=��	�/����
��/�"��"�����������
��* 


"��	�/8 �
SbT �	+/"
��
���*����0 
��	�/����
��/�"�C
����8=��	�/����
��/�V�������<���������
���* 


"K̀ L�	�/8 �
ScT �
���*���.� 
����
_"H��	�/����
��/�������9_"H��K��<8$��	�/�6=����
��/��"�C
�"�

"��� �
SdT �.� 
���
���*�����
��&
����.� 
��"HK��	�/���
���
� �
SeT �
���*���
�
�	�/����
��/��"�C
�"�$���1800 �
(f) �.� 
��"��	�/8��
���*��"K`L�	�/�6=���B�����
�K�	 �
(g) �
���*����
_"H�	�/�"�$����	�"HK��	�/ �
(h) �
���*����
_"H�	�/����
��/����������-	��9"H��K��<8$��	�/����
��/�V�������<� ��

S5
���1.64)
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2. &K�-"H����K�/�	� �
(a) �.� 
��"��	�/8��
���*��"K`L�	�/�6=��;����.� 
	����
��/�300���������- 
����
��/

mmmmmmm �
(b) �
���*���.� 
����
_"H�	�/����
��/�1300 ��������	��9_"H��K��<8$��	�/����
��/�750

��������-��9_"H��K��<8$��	�/����
��/�!!!!!!! �
(c) �ABC����m�A = 550���)�m�B = 750�������C�����
��/�!!!!!!! �
(d) �	+/"
���
��*���	�/���:����
��/��"�C
�!!!!!!! �
(e) ��ABC����m�A = 900���m�B = 2 m�C �����C�����
��/�!!!!!! �
(f) ��ABC�����AB = AC , m�A = 600 ������m�B w�!!!!!!!
(g) �.� 
���
���*��&83$�	�/����
��/�1200���)���-���0�	�/����
��/�"��������������-	

"����	�/����
��/�!!!!!! �
(h) ��ABC ���AB = AC, m�B = 300�������A�����
��/�!!!!!!!! �
3. �
������
����0�'�������-	�5
�����PxQ�5
��
���	�/����
��/�"H
��	� �

 
!���4	#
4. ��ABC����9_"H��	��
,��O ���&�$�����

m�BOC = m�BAC + m�ABO + m�ACO

5. ��&6$"H�5
������&�$������a0 + b0 = x0 +y0 �

S5
���1.65)

S5
���1.66)

S5
���1.67)

700 1300

x

(i) (ii) (iii)

1250

500

x

1250450

600 x

700

560

300

500

450800

1260

1320
x

<<x

>>
x

(iv) (v) (vi) (vii)
A

O

B C

D

C

A B

y0

b0 x0
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6. ��ABC������A���"��6

X	�AD, BC �	�
D��
,�������	�� �
�&�$�����m�ABC + m�ACE = 2m�ADC

7. ��ABC����m�B = 900� ��BD �AC ������/�	�����
m�ABD = m�ACB���)�m�BAD = m�DBC �

8. �ABC� ��� DE � II� BC �� m�ABC = 600� ��)
m�DEC = 1350��������A�����
��/�"H
��	� �

 #!���4	#
9. ����/	�������	+/"
��
���*������-	����U?��	�/����
��/��"�C
�����8=�	�/����
��/

V�������<���������
���* 
�"K`L�	�/8 �
10. �ABC����m�ABC = m�ACB, �BAC���"��6

X	�BC �	��D��
,��������	�� ������/

	����AD, BC ����
��Z �
11. �ABC�����B ���9_"��6

X	���)�C �
,����A�'��

��
_"H�	�/��"��6

X	�������
,��E�����������/
	������m�BEC = 1

2  m�A� �

12. �ABC�����ABC�1��ACB ���9_"��6

X	�6=���B�	��O��
,��������	��������/�	�
����m�BOC = 900 + 1

2  m�A �
13. �ABC�����B�1��C�����
_"��6

X	�6=���B�	��O��
,��������	��������/�	���

m�BOC = 90 0 }�1
2  m�A �

14. ��&6$"H�5
�����PS, �P���"��6

X	���)�PT �QR� �
����/�	������m�TPS = 1

2 (m�Q – m�R)

15. �ABC����BC����;�
,��Q���)�BQ = AQ�����������/�	�������BAC�"��	�/ �
16. �ABC���O��	��9"H��
,� ����
�m�OAB = m�OCA����������/�	�����

m�AOC + m�BAC = 1800�

S5
���1.68)
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��������	 
���

��
�����������	 ���������
(CONGRUENCE OF TRIANGLE)

2.1 ����
������ (Introduction) :

íÎˇBsÁ FLˇ ®˜LˇÊ¿ˇ føÊ∑ÁÜˇÁLˇ `ˇÁÜˇ˜ ∑ö¿Îˇ ÔSÊsÁLˇ¿ˇ AØˇÁLˇ¡ˇ úˇLˇ‡ˇ  (trace-copy)  LÎ̌  ÔúˇB Aúˇø
D®Ô¿ˇ ®LˇÊBÔ‡ˇ æí Á̌ Ô”‹ Á̌ ` Á̌Ü ˜̌ í ¥̌fl ∑öÔ¿ˇ ®ÌÇ ˆ̌Ô∑¡ˇúˇ ”Û®L ˆ̌ AdÁ ÔØˇÊ‡ Á̌ LÎ̌ ‹ˇÊæÊF<> F®¿ Á̌ ◊Ô¡ˇ ` Á̌Ü ˜̌í ¥̌fl
”Ø ˆ̌”∑ (equal in all respects) ‹ÎˇAûˇÁ<> F‹ˇÁ ”Û®LˇˆLÎˇ � '� '�  ”ÛÔLˇÜˇ íˇ¥Ê¿ˇÊ ”Ì`ˇÁÜˇ Lˇ¿ˇÊæÊF<> F‹ˇÁ
∑Á¡ˇÁæÊDêèØˇÊ AÛ… íˇ¥flLÎˇ ®¿ˇÿ¿ˇ AúÎˇ¿Ìˇ® A]ˇˇ LÎˇ‹ˇÊæÊF<> ”Øˇˆ”∑ A]ˇíˇ¥fl ∑ö¿Îˇ ®˜ÔÜˇøLˇ¿ˇ æíˇÁ ÔLˇÚ~”Á
∑Ê® êÊF ÔÜˇÔØˇ Ô”‹ˇÁ ∑Ê® íˇ¥fl "”∑Êúˇ' ‹ÎˇAûˇÁ FØˇÛ F‹ˇÊLÎˇ ”∑Êúˇ `ˇÁ‹ˇß "=' íˇ¥Ê¿ˇÊ ”Ì`ˇÁÜˇ Lˇ¿ˇÊæÊF<>
(1)  íÎˇBsÁ Ô¿ˇQÊQÉ¿ˇ ”Øˇˆ”∑ÜˇÊ (Congruence of two segments) :

������	 ������ ��	 ���!"�#	 �����	 �$��%�&
��$��	 ������ 	 ����	 ������	 
�'���()

AêÊˆÜ˙ˇ AB  H CD  íÎˇBsÁ Ô¿ˇQÊQÉ Ôæ®¿ˇÁLˇÁ AB = CD<> ÔÜˇÔØˇ AB  H CD  ”Ø ˆ̌”∑ Asû Á̌<>
”ÛÔLˇÜˇÔ¿ˇ F‹ˇÊLÎˇ AB  � CD  ¿ÌˇÔ® Ô‡ˇQÊæÊF<>
(2)  íÎˇBsÁ ÔLˇÊ~¿ˇ ”Øˇˆ”∑ÜˇÊ
    (Congruence of two angles) :

������	 �������	 �������	 �����	 �$��%�
��$��	 ���������	 ������	 $��
'��()
AêÊˆÜ˙ˇ �ABC H �DEF íÎˇBsÁ ÔLˇÊ~ Ôæ®¿ˇÁLˇÁ m�ABC = m�DEF ��ÔÜˇÔØˇ �ABC H �DEF

”Øˇˆ”∑ AsûˇÁ<> F‹ˇÊLÎˇ ˇ”ÛÔLˇÜˇÔ¿ˇ �ABC � �DEF ¿ÌˇÔ® ®˜LˇÊ… Lˇ¿ˇÊæÊF<>

A

B

C D

>

> >

>A

B C

D

E F

�������� 2.1)

�������� 2.2)
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2.2  íÎˇBsÁ Üˇ˜ÁμÎˇf¿ˇ ”Øˇˆ”∑ÜˇÊ :
ÔSÊsÁF Üˇ˜ÁμÎˇf¿ˇ ÜˇÁúˇÁsÁ ØˇÊ‹Îˇ H ÜˇÁúˇÁsÁ ÔLˇÊ~ AêÊˆÜ˙ˇ dAsÁ Ô∑Ú¡ˇÁLˇ AÛ… AdÁ<> ÔÜˇ~Î íÎˇBsÁ Üˇ˜ÁμÎˇf¿ˇ

”Øˇˆ”∑ÜˇÊ F‹ˇÁ dAsÁ AÛ…¿ˇ ”Øˇˆ”∑ÜˇÊ D®Ô¿ˇ úˇÁμˇˆ¿ˇ…Í¡ˇ<> íÎˇBsÁ Üˇ˜ÁμˇÎf ∑öÔ¿ˇ ÔSÊsÁLˇ¿ˇ ÜˇÁúˇÁØˇÊ‹Îˇ
AúˇøsÁ¿ˇ ÜˇÁúˇÁ ØˇÊ‹Îˇ ”‹ˇÁÜˇ ”Øˇˆ”∑ Ô‹ˇÔ‡ˇ FØˇÛ ”Øˇˆ”∑ ØˇÊ‹ÎˇSÎ›ÁLˇ¿ˇ ØˇÁ®¿ˇÍÜˇ ÔLˇÊ~ ∑Êúˇ ”Øˇˆ”∑
Ô‹ˇÔ‡ˇ Üˇ˜ÁμÎˇf íˇ¥flLÎˇ ”Øˇˆ”∑ Üˇ˜ÁμÎˇf LÎˇ‹ˇÊæÊF<>

®Ê…¥◊ `ˇÁÜˇ˜Ô¿ˇ �ABC H �DEF ∑öÔ¿ˇ -

AB  � DE ,  BC  � EF ,   CA  � FD

 FØˇÛ �A � �D, �B � �E,   �C � �F

ÔÜˇ~Î � ABC H � DEF ”Øˇˆ”∑<> ”ÛÔLˇÜˇÔ¿ˇ F‹ˇÁ ”Øˇˆ”∑ÜˇÊLÎˇ � ABC ��� DEF ¿ÌˇÔ® Ô‡ˇQÊæÊF<>
AúÎˇ¿Ìˇ® ÔLˇÚ~ÁLˇ ØˇÁ¢Îˇ ∑ÊúˇZˇ¿ˇ Lˇ˜∑ ¿ˇ‰Ê Lˇ¿ˇÁ ”Øˇˆ”∑ÔLˇÊ~LÎˇ ®˜LˇÊ… Lˇ¿ˇÊæÊF<>

íÎˇBsÁ ”Øˇˆ”∑ Üˇ˜ÁμÎˇf ∑öÔ¿ˇ ”Øˇˆ”∑ ØˇÊ‹Îˇ SÎ›ÁLˇ¿ˇ ”ºÎQÍúˇ ÔLˇÊ~LÎˇ AúÎˇ¿Ìˇ® ÔLˇÊ~ H ”Øˇˆ”∑
ÔLˇÊ~ SÎ›ÁLˇ¿ˇ ”ºÎQÍúˇ ØˇÊ‹ÎˇLÎˇ AúÎˇ¿Ìˇ® ØˇÊ‹Îˇ LÎˇ‹ˇÊæÊF<>

������� 2.3Ô¿ˇ A,B,C æêÊLˇ˜Ô∑ D, E, F ØˇÁ¢Îˇ	
����
� AúÎˇ¿Ìˇ® ����� <> AB BC CA, , ØˇÊ‹Î̌ 	
����
�
æêÊLˇ˜Ô∑ DE EF FD, ,  AúÎˇ¿Ìˇ® ØˇÊ‹Îˇ FØˇÛ �A, �B H �C ¿ˇ æêÊLˇ˜Ô∑ �D, �E H �F AúÎ̌ ¿Ì̌ ®
ÔLˇÊ~ AsûˇÁ<>

FvˇÊÔ¿ˇ DÔ‡ˇ‚Q ÔæÊSø Ôæ íÎˇBsÁ Üˇ˜ÁμÎˇf ”Øˇˆ”∑ Ô‹ˇÔ‡ˇ Ô”‹ˇÁ Üˇ˜ÁμÎˇf íˇ¥fl¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ Ô‹ˇØˇ;
LˇÁûÎˇ, æíˇÁ íÎˇBsÁ Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ Ô‹ˇÊBêÊF ÔÜˇÔØˇ Üˇ˜ÁμÎˇf íˇ¥fl ”Øˇˆ”∑ úˇ Ô‹ˇÊB®Ê¿ˇûˇÁ<> Ô‰Üˇ˜≠ˇ¡ˇ
”∫§ˇÍfl D®®Êíˇø ®fiÁØˇÊ ®Ô¿ˇ F‹ˇÊ ØÎˇlÁ®Ê¿ˇÁØˇ< >

������	 ��
�������	 ���������	 ���*	 ���#�����	 �+��	 ,
®ÌÔØˇÊˆNˇ AÊÔ‡ˇÊ`ˇúˇÊ¿Î̌  ÿŒ Ôæ íÎ̌ BsÁ Ü ˜̌ÁμÎ̌ f¿ˇ ”Ø ˆ̌”∑ÜˇÊ¿ˇ Aêˆ ÔSÊsÁLˇ¿ˇ Ü Á̌ú Á̌ØˇÊ‹Î̌  H Ü Á̌ú Á̌ÔLˇÊ~ ”‹ Á̌Üˇ

æêÊLˇ˜Ô∑ AúˇøsÁ¿ˇ AúÎˇ¿Ìˇ® ØˇÊ‹Îˇ H ÔLˇÊ~ SÎ›ÁLˇ¿ˇ ”Øˇˆ”∑ÜˇÊ � LˇÁûÎˇ ÔSÊsÁF Üˇ˜ÁμÎˇf¿ˇ ÜˇÁúˇÁ ØˇÊ‹Îˇ vˇÊ¿Îˇ ÜˇÁúˇÁ
ÔLˇÊ~LÎ̌  ®ıêLˇ μˇÊÔØˇ Ø Á̌̀ ˇÊ¿ˇ Lˇ¿ Á̌ØˇÊ ”ªØˇ úÎ̌ Ô‹ Ù̌<>ÔSÊsÁF Ü ˜̌μÎ̌ f¿ˇ Ü Á̌ú Á̌ØˇÊ‹Î̌ LÎ̌  Aúˇø Ü ˜̌ÁμÎ̌ f¿ˇ AúÎ̌ ¿Ì̌ ® Ü Á̌ú Á̌ØˇÊ‹Î̌
”‹ˇÁÜˇ ∑Á¡ˇÊB ÔíˇÔ‡ˇ ”Û®ıNˇ ÔLˇÊ~ SÎ›ÁLˇ AÊÔ® AÊÔ® ∑Á¡ˇÁæÊûˇÁ<> ÔÜˇ~Î ÔLˇØˇ¡ˇ ÜˇÁúˇÁ ØˇÊ‹ÎˇLÎˇ ∑Á¡ˇÊB ∑ö
ÜˇÁ˜μÎˇf íˇ¥fl ”Øˇˆ”∑ ÔØˇÊ‡ˇÁ Lˇ‹ˇÁÔ‹ˇØˇ<>

Aúˇø FLˇ ®¿ˇÁ◊ÁÜˇÁÔ¿ˇ ÔSÊsÁF Üˇ˜ÁμÎˇf¿ˇ íÎˇBsÁ ØˇÊ‹Îˇ H Ô”‹ˇÁ ØˇÊ‹Îˇíˇ¥fl¿ˇ AûˇSˆÜˇ ÔLˇÊ~LÎˇ Aúˇø FLˇ
Üˇ˜ÁμÎˇf¿ˇ æêÊLˇ˜Ô∑ ”Øˇˆ”∑ Ô‹ˇÊBêèØˇÊ íÎˇBØˇÊ‹Îˇ< FØˇÛ AûˇSˆÜˇ ÔLˇÊ~ ”‹ˇÁÜˇ ∑Á¡ˇÊBØˇÊ ÔØˇÔ¡ˇ ÔíˇQèØˇÊ Ôæ
Üˇ˜ÁμÎˇf íˇ¥fl¿ˇ ÜıˇÜˇÍfl ØˇÊ‹Îˇ íÎˇBsÁ AÊÔ® AÊÔ® ∑Á¡ˇÁæÊAÊûˇÁ<> AêÊˆÜ˙ˇ Üˇ˜ÁμÎˇf íˇ¥fl ”Øˇˆ”∑ Ô‹ˇÊBæÊAÊûˇÁ<> ®ÌØˇˆ¿Îˇ
Sı‹ˇÍÜˇ ”¥ÍLˇÊæˆø SÎ›ÁLˇ¿ˇ ”‹ˇÊflÜˇÊÔ¿ˇ F‹ˇÁ ÜˇêøLÎˇ ®˜∑Ê~ Lˇ¿ˇÁØˇÊ ”ªØˇ Ô‹ˇD úˇêèØˇÊ¿Îˇ F‹ˇÊLÎˇ FLˇ ”¥ÍLˇÊæ-̂
¿Ì̌ Ô® S˜‹ˇ~ Lˇ¿ˇÊæÊBdÁ<> ÜˇÜ˙̌  ”‹ Á̌Üˇ F‹ Á̌ ”¥ÍLˇÊæˆø ”Ê‹ˇÊæøÔ¿ˇ ”Ø ˆ̌”∑ÜˇÊ ”∫§ˇÍfl AúˇøÊúˇø D®®Êíˇø SÎ›ÁLÎ̌
®˜∑Ê~ Lˇ¿ˇÊæÊBdÁ<>

xxxxx
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�������� 2.3)
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”¥ÍLˇÊæˆø -10 : ���-����-���	 .���$��-�����-���$��/	 ������0�#
������	��
�����	�����	�1�������	�������$��	2	
'�1���	�����	03���
��	
��#	��
�������	�������$��

2	 
'�1���	 �����	 �$�	 �����	 �$��%�	 ��
�����	 ����	 ������()
(If two sides and the included angle of a triangle are respectively congruent

with two sides and the included angle of another triangle, then the triangles are
congruent.)
DíˇÊ‹ˇ¿ˇ~ ��
��� : � ABC H � DEF ∑öÔ¿ˇ

AB  � DE , BC  � EF

FØˇÛ �B �� �E Ô‹ˇÔ‡ˇ � ABC � � DEF

F‹ˇÊLÎˇ ØˇÊ‹Îˇ-ÔLˇÊ~-ØˇÊ‹Îˇ (ØˇÊ-ÔLˇÊ-ØˇÊ) ”¥ÍLˇÊæˆø (Side-Angle-Side or S-A-S axiom) LÎˇ‹ˇÊæÊF<>
D®®Êíˇø - 11

�1���4	 ��
�������	 ������	 ���$��	 ������	 �$��%�	 ��$��	 ���$��	 ������	 �5�����	 �����	 ����
������()

(If two sides of a triangle are congruent then their opposite angles are also

congruent.)
íˇàˇ : � ABC Ô¿   AB = AC

®˜Ê∑Ê~ø : m�ABC = m�ACB

AZˇúˇ : �BAC ¿ˇ ”∑íˇ¥ÁQÉLˇ, BC  LÎˇ D ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿Îˇ<>
®˜∑Ê~ : � ABD H � ACD ∑öÔ¿ˇ

AB = AC (íˇàˇ)
� AD  ”ÊôÊ¿ˇ~ ØˇÊ‹Îˇ

m�BAD  = m�CAD (AZˇúˇ)
�� � ABD � � ACD (ØˇÊ-ÔLˇÊ-ØˇÊ ”¥ÍLˇÊæˆø)
�� �ABD � �ACD �� �ABC � �ACB (����/
�)

AúÎˇ”ÁïÊûˇ-1 : FLˇ ”∑ØˇÊ‹Îˇ Üˇ˜ÁμÎˇf¿ˇ ÔLˇÊ~Üˇ˜fl¿ˇ ®¿ˇÁ∑Ê~ ”∑Êúˇ<>

AúÎˇ”ÁïÊûˇ -2: � ABC Ô¿ˇ AB = AC Ô‹ˇÔ‡ˇ �A ¿ˇ ”∑íˇ¥ÁQÉLˇ BC ¿ˇ ”∑íˇ¥ÁQÉLˇ ‡ˇ∫ Ô‹ˇØˇ<>

E F

D

{

○

○

○

○
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�������� 2.4)
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D®®Êíˇø - 12 (ÔLˇÊ-ØˇÊ-ÔLˇÊ ���������)

	 �1���4	 ��
�������	 ���������	 2	 
'�1���	 ���$��	 03���
��	 
��#	 4��	 ��
�������	 ���������
2	 
'�1���	 ���$��	 �$�	 ������	 �$��%�	 ��
�����	 ����	 ������(	 )

(If two angles and the included side of a triangle are respectively congruent to two

angles and the included side of another, the triangles are congruent)
íˇàˇ : � ABC H � DEF ∑öÔ¿ˇ �A �� �D,  �B �� �E FØˇÛ  AB = DE

®˜Ê∑Ê~ø : � ABC � � DEF

AZˇúˇ : EF  D®Ô¿ˇ F®¿ˇÁ FLˇ ØˇÁ¢Îˇ G úˇÁA,
Ôæ®¿ˇÁLˇÁ BC = EG Ô‹ˇØˇ< >
DG  AZˇúˇ Lˇ¿ˇ<>

®˜∑Ê~ : � ABC H � DEG ∑öÔ¿ˇ

AB  � DE    (íˇàˇ)
� BC  � EG    (AZˇúˇ)

�B �� �E    (íˇàˇ)
�� � ABC � � DEG.............. (1) (ØˇÊ-ÔLˇÊ-ØˇÊ ”¥ÍLˇÊæˆø)
�� �BAC �� �EDG   (AúÎˇ¿Ìˇ® ÔLˇÊ~)
LˇÁûÎˇ �BAC �� �EDF (íˇàˇ)
�� �EDG �� �EDF

�� G = F AêÊˆÜ˙ˇ  G H F AμˇÁù .............. (2)

�� (1) H (2)  �� � ABC �� �DEF   (®˜∑Ê~ÁÜˇ)
���6��
6,� ������
�� E-F-G ��� ���
�� E-G-F �������� ��	
�� ������ �
��� ����� �
�'���#	,������������ ��!�� ABC "�� DEF 	#�
���$
��%�
��������%�
��"��&�	+�����$
��'

��
���� &(
%���	����)��
�� �����%�
�� "�����
���� ��
���*� ���� �����	� ������� ���	+� ������� ��%�

�� �
��,�����
-��!�(
' �

(a)� �A �� � �D, � �B �� � �E,   AB  � DE

(b)� �A �� � �D�� �B �� � �E,  AC  � DF
(a)� �A �� � �D�� �B �� � �E,    BC  � EF

���)� �	.� �
��,����� '���� ������� ��%�

�� ����� �

E F

D

G

{
�������� 2.6)
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�
��,����� (a)�
�� ���� ��!���/
�� �����	��

�� ��	
�� -��
��)� 12 �
�� ����
&
�0� �� �
��,����� (b)

"� (c) '%�� ��%�

�
� �
AúÎˇ”ÁïÊûˇ : .����-����-���	 ���������/

�1���4	 ��
�������	 ���������	 2	 �0	 ���7���	 �1���4	 ���$��	 03���
��	 
��#	 4��	 ��
�������
����	 �����	 2	 
����8��	 ���$��	 �$�	 ������	 �$��%�	 ��
����	 ����	 ������(	 )

(Two triangles are congruent if two angles and any side of one are respectively
congruent to two angles and the corresponding side of the other.)

íˇàˇ : �� ABC H �� DEF Üˇ˜ÁμÎˇf íˇ¥fl ∑öÔ¿ˇ
� � �A �� �D, �B �� �E FØˇÛ BC = EF

®˜∑Ê~ø : � ABC �� �� DEF

®˜∑Ê~ :  � Üˇ˜ÁμÎˇf¿ˇ ÜˇÁúˇÁ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ 1800

�� m�A + m�B + m�C = 1800  = m�D + m�E + m�F

L Á̌ûÎ̌  ��1�
���&
/2 m�A = m�D H m�B = m�E

�� m�C =  m�F

Øˇàˇˆ∑Êúˇ � ABC H � DEF ∑öÔ¿ˇ
m�B  = m�E (íˇàˇ)

� m�C  = m�F (®˜∑Ê~ÁÜˇ)
BC = EF (íˇàˇ)

�� � ABC � � DEF (ÔLˇÊ-ØˇÊ-ÔLˇÊ ”Ø ˆ̌”∑ÜˇÊ) (®˜∑Ê~ÁÜˇ)

D®®Êíˇø - 13

�1���4	��
�������	������	�����	������	�$��%�	����������	�5�����	���$������	��	������()
  (If two angles of a triangle are congruent, then their opposite sides are also congruent.)

íˇàˇ : � ABC Ô¿ˇ m�B = m�C

®˜Ê∑Ê~ø : AB = AC

AZˇúˇ : �A ¿ˇ ”∑íˇ¥ÁQÉLˇ BC  LÎˇ D ØˇÁ¢ÎˇÔ¿ˇ ÔdíˇLˇ¿Îˇ<>
®˜∑Ê~ : � ABD H � ACD ∑öÔ¿ˇ

m�ABD = m�ACD (íˇàˇ)
� m�BAD = m�CAD (AZˇúˇ)

AD   ”ÊôÊ¿ˇ~ ØˇÊ‹Îˇ

{
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D

�������� 2.7)
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�� � ABD � � ACD  (ÔLˇÊ-ÔLˇÊ-ØˇÊ ”Øˇˆ”∑ÜˇÊ)
�� � AB = AC  �� � AC = AB (®̃∑Ê~ÁÜˇ)

D®®Êíˇø - 14

.���-���-���	 ���������/
�1���4	��
�������	���������$��	
��#	4��	��
�������	���������$��	�$�	������	�$��%�	��
���������	������ )

If three sides of a triangle are congruent to those of another triangle the triangles
are congruent.

íˇàˇ : �ABC H � �DEF ∑öÔ¿ˇ AB  � DE ,

BC  � EF  H AC  � DF

®˜Ê∑Ê~ø : � ABC �� � DEF


����	 , 	���%�
�� �ABC �
�� BC �3���1�	� ���45�)� ���6�7� ��
��� �

BC  � EF  ���1�8
EF 
�� �&-9� �
6���
�� D �0��
��
��

�� ����
�2��� �
6���
�� �FER� ������ %�
�
�&�
��%���� m�CBA = m�FER

� '��:� →
ER� -�
��,� ���;��� G ����� �&�
��%��� E-G-R� "� AB = EG ����� �� DG � "� GF� ������ %�
� �

�
���	 , � ABC "� � GEF ���/�
�� AB  � GE � ������8

m�CBA = m�FEG ������8� '��:� BC  � EF � ���1�8
�� � ABC � � GEF ���
<�%�
<��
� ��2%�
&�)8
�� � m�EGF = m�BAC '��:� GF = AC

�� GF = DF (� AC = DF).......... (i)

����=�� AB = GE �� GE = DE (� AB = DE) ........ (ii)

(i) 
��� �
���
� m�FDG = m�FGD ...... (iii)

'��:� (ii) 
��� �
���
� m�EDG = m�EGD ........ (iv)

E F

D

�������� 2.9)
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D

�������� 2.10)
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(iii) "� (iv) �� m�FDG + m�EDG = m�FGD + m�EGD

�� m�EDF = m�EGF � m�EGF = m�EDF........ (v)

��1��	
��� �GEF� '��:� �DEF ���/�
�
GF = DF ...... (i) 
��
GE = DE ....... (ii) 
��
'��:� m�EGF = m�EDF.....(v)� 
��
�� �� GEF � �DEF ���
<�%�
<��
� ��2%�
&�)8
%������ �����
��� ��	
����� �� ABC � �GEF �� �� ABC � �DEF ���	
����8

�->��-��
��)
� ��	
�� ��25��'��:� %�?�7� ���
�(@��

��� '��

����	
���
�2A
� ����� ������ ���;� �%���B�
'��

�� ���/
$� %�
��� ��6+
�� �	
C
��� %�
�
&��� �8

D®®Êíˇø - 15

.�-��-���	 ���������/
�1���4	 ��������	 ��
�������	 ��9��	 2	 
��#	 4��	 ���$��	 03���
��	 
��#	 4��	 ��������

��
�������	 ��9��	 2	 4��	 ���$��	 �$�	 ������	 �$��%�&	 ��
�����	 ������	 ������	 )
(Two right-angled triangles are congruent if the hypotenuse and one side of one

triangle are respectively congruent to the hypotenuse and one side of the other.)
íˇàˇ : � ABC H � DEF ∑öÔ¿ˇ

m�B = m�E = 900

AC  LˇÇˇˆ � DF  LˇÇˇˆ FØˇÛ AB  � DE

®˜Ê∑Ê~ø : � ABC �� � DEF

AZˇúˇ : FE
→  D®Ô¿ˇ FLˇ ØˇÁ¢Îˇ  G úˇÁA Ôæ®¿ˇÁLˇÁ  G-E-F FØˇÛ  BC = EG  Ô‹ˇØˇ<>
DG  AZˇúˇ Lˇ¿ˇ<>

®˜∑Ê~ : m�DEF + m�DEG = 1800   [ �”ùÁ‹ˇÁÜˇ ®¿ˇÁ®Ì¿ˇLˇ ÔLˇÊ~ ]

�  m�DEF = 900 � � �� m�DEG =  900

� ABC H � DEG ∑öÔ¿ˇ
AB  = DE  (íˇàˇ)

� BC  = EG  (AZˇúˇ)
m�ABC = 900  = m�DEG

○ ○ ○ ○ ○

○

○

○

○

○

○

○
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B
C

�������� 2.11)
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�� �� ABC �� � DEG (ØˇÊ-ÔLˇÊ-ØˇÊ ”¥ÍLˇÊæˆø)
��  AC = DG  H m�ACB = m�DGE ................... (i)

®Îúˇ ˇ � AC = DG  ��  DG  = DF

��  m�DGE = m�DFE ................... (ii)

(i)  H  (ii) ��  m�ACB = m�DFE

 �  �� ABC H �� DEF ∑öÔ¿ˇ
m�ACB = m�DFE (®˜∑Ê~ÁÜˇ)

� m�ABC = m�DEF (íˇàˇ)
AC  = DF  (íˇàˇ)

�� �� ABC �� � DEF ��%�
<�%�
<��
� �����	��
8� (®˜∑Ê~ÁÜˇ)

AúÎˇ…Í¡ˇúˇÍ - 2 (a)
 (L )ˇ ØˇÁμˇÊS

1.  vˇÁL˙ˇ Dàˇ¿ˇsÁ ØˇÊdÁ Ô‡ˇQ<>
(i) �� ABC H �� PQR ”Øˇˆ”∑ Ô‹ˇÔØˇ æíˇÁ ˇ-
   (a) AB = PQ, AC = QR,  m�B = m�Q  (b) AB = PQ, AC = QR,  m�A = m�R

   (c) AB = PQ, AC = PR,  m�A = m�P  (d) AB = PQ, AC = QR,  m�A = m�Q

(ii) �� ABC H �� DEF ”Øˇˆ”∑ Ô‹ˇÔØˇ æíˇÁ -
   (a) m�A = m�D,  m�B = m�F, AB = DF, (b) m�A = m�D, m�B = m�F, AB = DE

   (c) m�A = m�D,  m�B = m�F,  BC=DE,  (d) m�A = m�D, m�B = m�F, AC = DF

(iii) �� ABC H �� DEF íÎˇBsÁ ”Øˇˆ”∑ Üˇ˜ÁμÎˇfÔ¿ˇ m�A = m�D H  AB = DE Ô‹ˇÔ‡ˇ úˇÁ∑ß◊ ÔLˇDÙ
”àˇˆsÁ ”Üˇø úÎˇÔ‹ˇÙ ?

(a) BC = EF (b) m�ACB = m�DFE

(c) AC = DF (d) m�ABC = m�DFE

(iv)  �� ABC H �� PQR ”Øˇˆ”∑ Ô‹ˇÔ‡ˇ úˇÁ∑ß◊ ÔLˇDÙ DNˇÁsÁ ”Üˇø Ô‹ˇØˇ ?
(a) AB = PQ,  BC = QR,  m�C = m�R (b) BC = PQ,  CA = QR,  m�A = m�P

(c) AB = PQ,  m�A = m�Q, m�C = m�P  (d) AB = PQ,  m�A = m�P, m�B = m�Q

{
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(v)  ®Ê…¥ˆ◊ `ˇÁÜˇ˜ AúÎˇ”ÊÔ¿ˇ m�BAD : m�ADB Ô‹ˇDdÁ -
(a) 2:1 (b) 3:1

(c) 1:2 (d) 1:3

2.  úˇÁ∑ß◊ ÔLˇDÙ ÔLˇDÙ ”àˇˆÔ¿ˇ �� ABC H �� PQR ”Ø ˆ̌”∑ Ô‹ˇÔØˇ ?
(i) AB = PQ,  BC = QR,  m�C = m�R
(ii) AB = PQ,  m�A = m�P,  m�B = m�Q
(iii) BC = PQ,  CA= QR,  m�A = m�P
(iv) m�P = m�B = 900, PQ = AB,   PR = BC

(v) PQ = AB,  PR = AC, A H P ØˇÁ¢Îˇ vˇÊÔ¿ˇ AZˇÁÜˇ Øˇ‹ˇÁ◊ ÔLˇÊ~ íˇ¥fl ”Øˇˆ”∑< >
(vi) AB = PQ,  m�A = m�Q,   m�C = m�R

(Q) ØˇÁμˇÊS
3. (i) ÔSÊsÁF ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf¿ˇ …ÍÃˆÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ 1000 Ô‹ˇÔ‡ˇ F‹ˇÊ ®˜ÔÜˇøLˇ μÌˇ∑Á ”Û‡ˇSß ÔLˇÊ~¿ˇ

®¿ˇÁ∑Ê~ ÔLˇÔÜˇ ?
  (ii) ÔSÊsÁF ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf¿ˇ ®˜ÔÜˇøLˇ μÌˇ∑Á ”Û‡ˇSß ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ 450 Ô‹ˇÔ‡ˇ F‹ˇÊ¿ˇ …ÍÃˆÔLˇÊ~¿ˇ

®¿ˇÁ∑Ê~ ÔLˇÔÜˇ ?
4. ��ABCÔ¿ˇ AC¿ˇ �	����DE%����F�AB%���D ���;���
���0���%�
��(@�������6
����&��AB = BD+DC

5. íˇ…ÊˆA Ôæ, ”∑ØˇÊ‹Îˇ Üˇ˜ÁμÎˇf¿ˇ ®˜ÔÜˇøLˇ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ 600<>
6. (i) ®˜∑Ê~ Lˇ¿ˇ Ôæ, ÔLˇÚ~”Á Üˇ˜ÁμÎˇf¿ˇ íÎˇBsÁ …ÍÃˆ ØˇÁ¢ÎˇÔ¿ˇ AZˇÁÜˇ Øˇ‹ˇÁG◊ ÔLˇÊ~ íˇ¥fl ”Øˇˆ”∑ Ô‹ˇÔ‡ˇ

Üˇ˜ÁμÎˇfsÁ ”∑íˇ¥ÁØˇÊ‹Îˇ< >
  (ii) �� ABCÔ¿ˇ AB = AC �������� B� "� C ���;���
�� ������� �����G,� �%�
����/� �����	 �
7. �� ABCÔ¿ˇ m�A = 720  FØˇÛ m�B = 2m�C  Ô‹ˇÔ‡ˇ ®˜∑Ê~ Lˇ¿ˇ Ôæ, Üˇ˜ÁμÎˇfsÁ ”∑íˇ¥ÁØˇÊ‹Îˇ<>
8. ®Ê…¥ˆ◊ `ˇÁÜˇ˜Ô¿ˇ AB = AC FØˇÛ BO = CO

®˜∑Ê~ Lˇ¿ˇ Ôæ �ABO � �ACO  >
9. ®Ê…¥ˆ◊ `ˇÁÜˇ˜ 2.14Ô¿ˇ AB = AC

m�CAD = 1600,   m�BCE = 400

®˜∑Ê~ Lˇ¿ˇ Ôæ  BE = BC  >
10. � ABC  Ô¿ˇ AB = AC H AD BC⊥ <>

®˜∑Ê~ Lˇ¿ˇÔæ BD = DC  H m�BAD = m�CAD  >
11. �
6��,� ������� 2.15�
�� AB = PQ, BC= QR

'��:� m�ABX = m�PQY

��6
��� �&�� � ABC �� � PQR >

A

B D
C

�������� 2.12)

A

CB

O

C

B EAD

�������� 2.13)

�������� 2.14)

CB

A

X
�������� 2.15)

RQ

P

Y

400

1600
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12. �
6��,� �������
�� AB  H CD �
�D
DE���/� �
�H
�%��� O ���;���
�
�	����DE� %�
��(@����� ��6
��� �&�� AD II BC  >

13. ABCD ����� ���!�
�� AC � %�I��� �A� %��� �C �	����DE� %�
��(@����
��6
��� �&�� AB = AD� '��:� CB = CD �

14. � ABC �
��A ���;��
��� BC ������ ������� ��F� BC � %��� �	����DE� %�
��(@����� ��6
��� �&�� ���� ��!��
�	������
��� �

15. �
6��,� ������� 2.17�
�� ��1�� �0��� m�BAD = m�BCE

'��:� AB = BC �� ��6
��� �&�� AD = CE �
16. �
6��,� ������� 2.18�
�� O, � PQ 
�� 	#���;�� �� PA '��:

QB�� AB � -��
�� ��F �� ��6
��� �&� AP = BQ �

���� ���	�
�
17. � ABC Ô¿ˇ AB = AC > ��	
�� %�
�� �&�� B "� C ���;��J�

��� '��

�� ����
�2��� ��
���	
����

������ ������� ��F���/� �����	 �
18. � ABC Ô¿ˇ AB = AC > �B "��C 
�� �	����DE%����/��
�H
�%���O� ���;���
�� �0��� %�
��(@����

��	
�� %�
�� �&�� BO = CO '��:� AO
→

, � �A 
�� �	����DE%� �

19. � ABC Ô¿ˇ �B �	�%�
� �� AC� %�I��
�� 	#���;���� D� ������� ��6
��� �&�� BD = 
1
2 AC �

20. �%�K���� ���� ��!
�� -L���
���/� �	
��� �������� ��	
�� %�
�� �&�� ���� ��!��� �	��
��� �
21. ���� ��!
���$
��'��%�
�
���	����DE%��'��

���M�D2�����
���%����	����DE�%�
��(@�������6
����&�

���� ��!����	������
��� �
22. � ABC H � DEF Ô¿ˇ X H Y æêÊLˇ˜Ô∑ BC  H EF  ¿ˇ ∑ö ØˇÁ¢Îˇ<> AB = DF, BC = EF

H AX = DY  Ô‹ˇÔ‡ˇ ®˜∑Ê~ Lˇ¿ˇ Ôæ, � ABC � � DEF

23. � ABC �
�� AB = AC >  X H Y æêÊLˇ˜Ô∑ AB  H AC  ¿ˇ -�
��,� ������� ���;��� �&�
��%��
AX = AY ®˜∑Ê~ Lˇ¿ˇ Ôæ,  CX = BY �

24. �
6��,� ������� 2.19 �
�� AB = CD H AC = BD �
��	
�� %�
�� �&�� AO = DO� "� BO = CO �

25. � ABC �
�� AB= AC � �ABC�"��ACB �%�
�
���	����DE%����/��
�H
�%���O ���;���
���0��
%�
��(@���� ��6
��� �&�� �OBC �	������
��� �

26. � ABC �
�� AB� "� AC� -��
�� &(
%���	� D "� E '�
��� ������� ���;��� �&�
��%��� AD =AE
'��:� DB = EC� �� ��6
��� �&�� DE II� BC �

A D

BC

O

�������� 2.16)

�������� 2.17)

�������� 2.18)

B

E D

A C
A

P O Q

B

A
O

C

D B

�������� 2.19)
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○

○

○

○

○

○

○

○

○

○

A

D

B C

2.3 Üˇ˜ÁμÎˇfÔ¿ˇ LˇÁdÁ A”∑ÊúˇÜˇÊ ”∫§ˇ (Some Inequality Relations in a triangle):
���� ��!
�� ��
���� "� �%�
�	
����� 	#�
�� N�����	��
� �FO�P� �:%��
��2/� -��
��)� &(
� Q� &���

���� ��!
���������
���������	�����������������'��

���M�D2����%�
����/�	#������	�'��:�'��

������
�2��
%�(��������������R����
���
���
����
�%�
���

���0 ��'���������R����
������ ��!
��%��0���%�
��"���
�����FO�2/
��	
����
� �:�%���
�� �
���
����
� %�
����
 �

D®®Êíˇø - 16

 �1���4	��
�������	4��	���$����	���!"�#	4$����	
��#	4��	���$����	���!"�#:�����	�;�$�+���	�$��%�
�;�$�+���	���!"�#	���<�=	���$����	�5�����	�������	�������	>���
����	���!"�#	���<�=	���$����	�5�����
�������	 �������	 :�����	 �;�$�+���()

(If two sides of a triangle have unequal lengths, then the angle opposite the side
with greater length has greater measure than that of the angle opposite the side with
smaller length.)
íˇàˇ : � ABC Ô¿ˇ AC > AB

®˜Ê∑Ê~ø : m�ABC  > m�ACB

AZˇúˇ : AC  D®Ô¿ˇ D FLˇ ØˇÁ¢Îˇ úˇÁA Ôæ®¿ˇÁLˇÁ A-D-C

S'��:<< AD = AB <> BD  AZˇúˇ Lˇ¿ˇ<>
®˜∑Ê~ : � ABD Ô¿ˇ  AB= AD  (AZˇúˇ)

�� �ABD � �ADB ..................... (1)

LˇÁûÎˇ � BDCÔ¿ˇ �ADB Øˇ‹ˇÁ@◊ ÔLˇÊ~ H �ACB AûˇG◊ íÌˇ¿ˇØˇàˇÍˆ ÔLˇÊ~<>
�� m�ADB  > m�ACB .................  (2)

�� (1)  H  (2)  AúÎˇ”ÊÔ¿ˇ m�ABD > m�ACB

L Á̌ûÎ̌  m�ABD + m�DBC = m�ABC  [ � D, �ABC ¿ˇ AûˇG◊ ØˇÁ¢Îˇ ]

[ � A H D, BC
←→ ¿ˇ '%��
6���
�� ���,���� '��:� D H C, AB

←→¿ˇ '%��
6���
�� ���,���� ]

��  m�ABC  >  m�ACB  (®˜∑Ê~ÁÜˇ)
AúÎˇ”ÁïÊûˇ : ÔSÊsÁF Üˇ˜ÁμÎˇf¿ˇ Øıˇ‹ˇàˇ∑ ���45�)� ���6�7 ØˇÊ‹Îˇ¿ˇ ”ºÎQÍúˇ ÔLˇÊ~ Øıˇ‹ˇàˇ∑ �
��	
�� ���6�7< >

D®®Êíˇø - 17

�1���4	 ��
�������	 �1���4	 �������	 �������	 
��#	 4��	 �������	 �������	 :�����	 �;�$�+���
�$��%�	 �;�$�+���	 �������	 ���<�=	 �������	 �5�����	 ���$����	 ���!"�#&	 >���
����	 �������	 ���<�=
�������	 �5�����	 ���$����	 ���!"�#	 :�����	 �;�$�+���()

 (If one angle of a triangle has greater measure than another, the side opposite to
the greateer measure has greater length than the other.)

�������� 2.20)
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A

B C

íˇàˇ : � ABCÔ¿ˇ m�ABC  >  m�ACB

®˜Ê∑Ê~ø : AC > AB

®˜∑Ê~ : AC  H  AB  íÎˇBsÁ ØˇÊ÷Øˇ ”ÛQøÊ Ô‹ˇÜÎˇ -
AC = AB, AC < AB FØˇÛ AC > AB ∑ö¿Îˇ ÔLˇØˇ¡ˇ ÔSÊsÁF ”ªØˇ< >

æíˇÁ AC  = AB  ‹ÎˇF, ÔÜˇÔØˇ m�ABC = m�ACB Ô‹ˇØˇ  > (A����-!11)
æíˇÁ AC  < AB  ‹ÎˇF, ÔÜˇÔØˇ m�ABC < m�ACB Ô‹ˇØˇ  >
LˇÁûÎˇ íˇàˇ AdÁ Ôæ m�ABC  > m�ACB

� D®Ô¿ˇÊNˇ íÎˇBsÁ ®¿ˇÁ◊ÁÜˇÁ A”ªØˇ< >
� AC > AB (®̃∑Ê~ÁÜˇ)

AúÎˇ”ÁïÊûˇ : �1���4	 ��
�������	 �;�$�+��	 �������	 ���<�=	 �������	 �5�����	 ���$��	 �;�$�+��	 ���!"�#
���<�= )
�'���#	,��������-��
��)����
���2%�
&�)8�	#�
�������)%�
���1�����
�
����T
��������	
���������
��	
������ �
�H
�� ����
�2��� -��
��)� ���
� ��2%�
&�)8� %����
&
' �

������� �
�H
�� ����
�2��� %�(��	�B�%�� -��
��)%��� N&���� '��:� �%���B�� &���P� '���� DE� ��
%�)
�
���/
$� ���

�
� ��%�
6� %�
�
&
��
�
� �

D®®Êíˇø - 18

 ��
�������	 �0	 ���7���	 ����	 ���$����	 ���!"�#��	 ��=�	 �;�����	 ���$����	 ���!"�#:�����	 �;�$�+���()
(The sum of the lengths of any two sides of a triangle is greater than the length

of the third side)

íˇàˇ : ABC FLˇ Üˇ˜ÁμÎˇf<>
®˜∑Ê~ø : (i) AB + AC > BC, (ii) AB + BC > AC

'��:� (iii) AC + BC > AB

AZˇúˇ :  BA
→  D®Ô¿ˇ  D  ØˇÁ¢Îˇ úˇÁA Ôæ®¿ˇÁLˇÁ

B-A-D  FØˇÛ AD =AC Ô‹ˇØˇ<> CD  AZˇúˇ Lˇ¿ˇ< >

®˜∑Ê~ : � B H D ¿ˇ ∑öØˇàˇÍˆ FLˇ ØˇÁ¢Îˇ A ���
�(@��

��� '��
� m�BCD� 
�� ���G,� ���;�� �

[� A " D ���;�����/ BC
←→ 
��'%���
6���
�����,����" A " B ���;�����/� CD

←→ 
��'%���
6���
�����,���]
�� m�BCD = m�ACB + m�ACD �� m�BCD  > m�ACD

AZˇú ÊúÎˇæÊflÍ AC = AD �� m�ADC = m�ACD

�������� 2.21)
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�������� 2.22)
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�� m�BCD > m�ADC AêÊˆÜ˙ˇ m�BCD  >  m�BDC

��  BD > BC

��  AB + AD > BC ��  AB + AC > BC ..................... (i)  (®˜∑Ê~ÁÜˇ)
 Ô”‹ˇÁ®¿ˇÁ ®˜∑Ê~ Lˇ¿ˇÊæÊB®ÊÔ¿ˇ Ôæ
(ii) AB + BC > AC H  (iii) AC + BC > AB   (®˜∑Ê~ÁÜˇ)

D®®Êíˇø - 19

 �1���4	���?��������	��$��@A	4��	���B�����	���?����������	���B��	������	�$����	�0�1	�����
�0���	 1�C�4	 ������ 	
����	 �����0�������	 ��������	 �����	 %�D	 �$��3E���	 ������ ��
���!"�#	 >���
���()

(Of all segments drawn by joining the points of a line to an external point, the
segment perpendicular to the line has the shortest length)

íˇàˇ : L ”¿ˇ¡ˇÔ¿ˇQÊ¿ˇ Øˇ‹ˇÁG◊ FLˇ ØˇÁ¢Îˇ< P  >
®˜Ê∑Ê~ø : P LÎˇ  L 
�� ���;��	
����� ���� �&
$� %�
��� ������� �
�D
DE	
����� 	#�
�� L� ������ ��F
���-(@��
� �
�D
DE
�� ���45�)� A������	 �

����	 , P vˇÊ¿Î L ®˜ÜˇÁ AZˇÁÜˇ ‡ˇ∫¿ˇ ®ÊíˇØˇÁ¢Îˇ  ˇQ ���-� "� L -��
�� R ���)� '%�� ���;��

���- �� PQ  H PR  AZˇúˇ Lˇ¿ˇÊæÊD >
®˜∑Ê~ : � PQR Ô¿ˇ m�PQR = 900 [� PQ  � L].

�� m�PRQ < 900 �(
��U�� �PRQ '%�� ��AV�%�
�
�� m�PRQ  < � m�PQR �� � PQ  < � PR (D®®Êíˇø-17 íˇ¥Ê¿ˇÊ)

�� ��1�� �
�D
DE� ������ '��

�� �����G,� '%�� ���;��
��� ������� ��F� ���-(@��
� �
�D
DE
�� ���45�)
A������	 � ���	
����8

P

Q R

L

�������� 2.23)

AúÎˇ…Í¡ˇúˇÍ - 2(b)

 (L ) ˇØˇÁμˇÊS
1. ���	+� ��6+$�W�%�
�-1�
�� ���� �
  (a) ��ABC �
��m�A = 400, m�B = 750 ������������ ��!
���3���1�	�'��:�A������	����45�)����6�7

��
���	
��� ,�
�� %�
� �
  (b) ��ABC �
��m�A = 1100, m�B = 200 ������������ ��!
���%�-9���
������A������	����45�)����6�7 X
  (c) �� ABC �
�� m�B = 900 �������� ���� ��!
�� �%�-9� ��
������ ��3��1�	� ���45�)� ���6�7� X
  (d) �� ABC �
�� m�A = m�B +m�C �������� ���� ��!
�� �3���1�	� ���45�)� ���6�7� ��
���� �%�-9��X
  (e) �� ABC �
�� m�A = 400� m�B = 500 �� ��
���$�W�%�
�� ���45�)
�� -Y��%��	�
�� �!
�� ���D �
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2. 6���),
��� ��
��� %�
� �
(a) ���� ��!
�� ����� ��
���
�� ���45�)
�� �	7��� '��

�� ��3��2/� ��
���
�� ���45�)J�

��� ZZZZZZZ�
(b) ���� ��!
�� ����� ��
���
�� ���45�)
�� ���
��� '��

�� �3���2/� ��
���
�� ���45�)J�

��� ZZZZZZZZZ �
(c) ���� ��!
�� -L���
� ���/
�� �	7��� '��

�� �
���2	
J�

��ZZZZZZZZZ �
(d) ���� ��!
�� �
���2	
�� '��

�� 	#	
���/
�� �	7�J�

��� ZZZZZZZZZ �
(e) ���� ��!
��62[�����;��
��� ��	�����������������F
�����45�)��'��

�����)��������
���	
����
�����45�)J�

���ZZZZZZ �

���� ���	�
�
3. �
6��,� �������
�� m�CBD > m�BCE� �������

��6
��� �&�� AB > AC

4. �
6��,� �������
�� PQ = PR

��6
��� �&�� PS > PQ

5. �
6��,� �������
�� AD, �A
�� �	����DE%�� ������� ��6
��� �&�
(i) AB > BD (ii) AC  > CD

6. �
6��,� �������
�� PR > PQ '��:� PS, �P 
�� �	����DE%� �
��6
��� �&�� x > y

7. �
6��,� �������
�� PQ > PR,�
→
QS� '��:� →

RS

&(
%���	� �Q� "� �R 
�� �	����DE%� �
��6
��� �&�� � SQ > SR

8. ��6
��� �&� �	�%�
�2� ���� ��!
�� %�I��� ���� ��!
�� �3���1�	� ���45�)� ���6�7� ��
��� �

A

B C

D E

S R

P

Q

D
B C

A

S R

P

Q

R

P

Q

S

�������� 2.24)

�������� 2.25)

�������� 2.26)

�������� 2.27)

�������� 2.28)

x0y0
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�� �� ���	�
�
9. PQRS ����� ���!�
�� PS� "� QR� &(
%���	� ����� ���!
�� �3���1�	� '��:� A������	� ���45�)� ���6�7

��
��� �� ��	
�� %�
�� �&�� (i) m�PQR > m�PSR (ii)  m�QRS > m�SPQ� '��:
  (iii)  m�P + m�S < m�Q + m�R

10. �� ABC
�� AD, BE '��:� CF -L���
� ���/ �� ��	
�� %�
�� �&�
(i) AB + AC > 2AD   (ii) AB + BC + AC > AD + BE + CF

11. �� ABC
�� AD �� BE� '��:� CF� 	#	
���/ �� ��	
�� %�
�� �&�
(i) AB + AC > 2AD   (ii) AB + AC + BC > AD + BE + CF

12. �� ABC
�� O '%�� ���G,� ���;��� ������� ��	
�� %�
�� �&�
(i) BO + CO < AB + AC   (ii) AO + BO + CO < AB + AC + BC� '��:

(iii) AO + BO + CO > 
1
2 (AB+AC+BC)

13. �
6��,� �������
�� �� ABC
�� AB > AC '��:� AD = AC

��	
�� %�
�� �&�� (i) m�ACD = 1
2 (m�B + m�C)

  (ii) m�BCD = 1
2 (m�C – m�B)

14. ABCD ����� ���!�
�� ��	
�� %�
�� �&�
(i) AB + BC + CD > AD    (ii) AB + BC + CD + AD  > AC + BD
(iii) AB + BC + CD + AD > 2AC

15. �� ABC�
�� AC  > AB '��:� AD� ���� ��!
�� 	#	
� �������� ��	
�� %�
�� �&�
m�BAD > m�CAD

16. ABCD ����� ���!
��O '%�� ���G,� ���;��� �%�I�����/
�� �0�����;���  ��\8� �������� ��	
�� %�
�� �&�
� (i)� 2(OA+ OB + OC + OD) > AB + BC + CD + AD

 (ii)� OA + OB + OC + OD > AC + BD

17. �
6��,� �������
� m�PAX = m�QAY ������
��6
��� �&�� PA+AQ < PB + BQ �

18. �
6��,� �������
� AB = AC ������
��6
��� �&�� AF > AE

A

B

CD

�������� 2.29)
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Q

�������� 2.30)

A

B D

F

C

E

�������� 2.31)
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�������� �	
�

`ˇÜÎ̌ μÎ̌ ˆf
(QUADRILATERAL)

3.1. † D®L ˜̌∑~ÁLˇÊ   (Introduction) :

 ®ÌØˇˆ Ô…˜~ÍÔ¿ˇ ÜÎˇÔ∑ `ˇÜÎˇμÎˇˆf ”‹ˇ ®¿ˇÁ`ˇÁÜˇ Ô‹ˇØˇÊ ”‹ˇ ÔLˇÔÜˇLˇ ØˇÁÔ…Ã ô¿ˇ~Ô¿ˇ `ˇÜÎˇμÎˇˆf æêÊ,
”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜, ¿ˇ∫”, AÊflÜˇ`ˇÁÜˇ˜ H ØˇSˆ`ˇÁÜˇ˜ ”‹ˇ ∑ö ®¿ˇÁ`ˇÁÜˇ Ô‹ˇÊBd > D®Ô¿ˇÊNˇ ØˇÁÔ…Ã ô¿ˇ~¿ˇ `ˇÁÜˇ˜
”∫§ˇÍfl ô∑ˆ SÎ›ÁLˇ¿ˇ ”ÜˇøÜˇÊ ®¿ˇÍ‰Ê ∑Ì¡ˇLˇ ®˜∑Ê~ ∑Êö∑Ô¿ˇ Lˇ¿ˇÊæÊB��‡ˇÊ >

����� ô∑ˆ SÎ›ÁLˇ¿ˇ æÎNˇÁ ∑Ì¡ˇLˇ ®˜∑Ê~ 	�
����� F‹ˇÁ AöÊfl¿ˇ DÔî…ø > Fêè ”‹ˇ Øˇ‹ÎˇμÎˇf  (polygon)

”∫§ˇÔ¿ˇ LˇÁdÁ AÊÔ‡ˇÊ`ˇúˇÊ 
�� ����� ����
�� ����� �	�� ����� �

3.2  `ˇÜÎˇμÎˇˆf H Dàˇ¡ˇ `ˇÜÎˇμÎˇˆf  (Quadrilateral and convex quadrilateral) :

 ”ÛjÊ : ∑ÔúˇLˇ¿ˇ ”∑Üˇ¡ˇ ���
�� AØˇ◊ÁÜˇ `ˇÊÔ¿ˇÊsÁ ØˇÁ¢Îˇ A,B,C �� D ∑ö¿Îˇ

(i) ��ÔLˇÚ~”Á ÜˇÁÔúˇÊsÁ ØˇÁ¢Îˇ FLˇ ”¿ˇ¡ˇÔ¿ˇQÊÔ¿ˇ AØˇ◊ÁÜˇ úÎˇ‹ˇûˇÁ ;

(ii) AB , BC , CD � � DA  �
������ ��
������ ��� ����!"�� ���#�$#�� ����� �	�%&��� ���!"��
�
�'(�� 	�
�"� ��� ���)�;� *������ +��
���,�-�� �
������ (�.�
��� ,/��#�� ��-0� AB � BC  � CD  � DA	"�
ABCD +�#"�1�2"3 	"�������� �

`ˇÁÜˇ˜  3.1(a)  H  (b)  ®˜ÔÜˇøLˇÔ¿ˇ  ABCD  ÔSÊsÁF Ô‡ˇQÊFÙ `ˇÜÎˇμÎˇˆf > `ˇÁÜˇ˜  3.1(c)Ô¿ˇ AB

H CD  ®¿ˇÿ¿ˇLÎˇ Ô”∑ÊúˇZˇ ®˜ÊûˇØˇÁ¢Îˇ ØˇøÜˇÍÜˇ Aúˇø ÔSÊsÁF ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ÎˇêèØˇÊ¿Îˇ  ABCD  `ˇÜÎ̌ μÎ̌ ˆf

A
B

CD

A

D
C

B

A C

BD

A

B D
C

(a) (b)
(` Á̌Ü ˜̌  3.1)

(c) (d)
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úÎˇÔ‹ˇÙ > `ˇÁÜˇ˜ 4.1(d)Ô¿ˇ  B, C, D  FLˇ ”¿ˇ¡ˇÔ¿ˇQÊÔ¿ˇ AØˇ◊ÁÜˇ Ô‹ˇÊBêèØˇÊ¿Îˇ  ABCD LÎ̌  `ˇÜÎ̌ μÎ̌ ˆf LÎ̌ ‹ˇÊæÁØˇ
úˇÊ‹ Ë̌ >

AB , BC , CD  H DA LÎ̌   ABCD  `ˇÜÎˇμÎˇˆf¿ˇ ØˇÊ‹Îˇ  (side) FØˇÛ �BAD, �ABC, �BCD,

�CDA LÎˇ F‹ˇÊ¿ˇ ÔLˇÊ~ (Angle) LÎˇ‹ˇÊæÊF > A, B, C, D LÎˇ `ˇÜÎˇμÎˇˆf¿ˇ …ÍÃˆØˇÁ¢Îˇ  (Vertex)  LÎˇ‹ˇÊæÊF >
`ˇÜÎˇμÎˇˆf¿ˇ ÔæDÙ íÎˇBsÁ ØˇÊ‹Îˇ¿ˇ FLˇ ”ÊôÊ¿ˇ~ ®˜Êûˇ ØˇÁ¢Îˇ êÊF Ô” íˇ¥flLÎˇ ��
��
�� (adjacent) ��
���

ØˇÊ ÔLˇÚ~”Á ”ÊôÊ¿ˇ~ ®˜Êûˇ Ø Á̌¢Î̌  úˇêèØˇÊ ØˇÊ‹Î̌ í ¥̌flLÎ̌  ��
������� (Opposite) ��
����LÎ̌ ‹ˇÊæÊF > `ˇÜÎ̌ μÎ̌ ˆf¿ˇ ÔSÊsÁF
ØˇÊ‹Îˇ¿ˇ íÎˇBsÁ ®˜Êûˇ ØˇÁ¢ÎˇLÎˇ ����
��������H Lˇ˜∑ÁLˇ …ÍÃˆÔ¿ˇ êèØˇÊ ÔLˇÊ~íˇ¥flLÎˇ ����
������
� LÎˇ‹ˇÊæÊF > ÔæDÙ
…ÍÃˆíˇ¥fl Lˇ˜∑ÁLˇ …ÍÃˆ úÎˇ‹ˇûˇÁ Ô”íˇ¥flLÎˇ ØˇÁ®¿ˇÍÜˇ …ÍÃˆ LÎˇ‹ˇÊæÊF > ØˇÁ®¿ˇÍÜˇ …ÍÃˆ ØˇÁ¢ÎˇÔ¿ˇ êèØˇÊ ÔLˇÊ~íˇ¥flLÎˇ
ØˇÁ®¿ˇÍÜˇ ÔLˇÊ~ LÎˇ‹ˇÊæÊF >

` Á̌Ü ˜̌  3.1(a)Ô¿ˇ AB   H BC  ”ù‹ˇÁÜˇ ØˇÊ‹Îˇ  FØˇÛ AB  H CD  Ø Á̌®¿ˇÍÜˇ ØˇÊ‹Î̌ ;

�A , �B  Lˇ˜∑ÁLˇ ÔLˇÊ~ H �A, �C  ØˇÁ®¿ˇÍÜˇ ÔLˇÊ~; A H  B  Lˇ˜∑ÁLˇ …ÍÃˆ FØˇÛ
A H C  ØˇÁ®¿ˇÍÜˇ …ÍÃˆ >

Ø Á̌®¿ˇÍÜˇ …ÍÃˆ Ø Á̌¢Î̌ ∑ÊúˇZÎ̌  ÔæÊS Lˇ¿Î̌ êèØˇÊ Ô¿ˇQÊQÉí ¥̌flLÎ̌  `ˇÜÎ̌ μÎ̌ ˆf¿ˇ LˇÇ ˆ̌ (diagonal)  LÎ̌ ‹ˇÊæÊF >

`ˇÁÜˇ˜  3.1 (a) Ô¿ˇ AC  H BD , ABCD  `ˇÜÎˇμÎˇˆf¿ˇ íÎˇB LˇÇˇˆ >
‡ˇ‰ø Lˇ¿ˇ Ôæ, `ˇÜÎˇμÎˇˆf¿ˇ …ÍÃˆ ØˇÁ¢Îˇ∑ÊúˇZˇ ∑öÔ¿ˇ FLˇ Lˇ˜∑Êúˇ¥flÜˇÊ  (Order)  ¿ˇ‹ˇÁdÁ > Lˇ˜∑Êúˇ¥flÜˇÊ¿ˇ

®¿ Á̌Øˇà ˆ̌úˇ úˇLˇ¿ Á̌  ABCD  ®¿ Á̌ØˇÔà ˆ̌  BCDA  ØˇÊ  CDAB  ØˇÊ  DABC  `ˇÜÎˇμÎˇˆf Ô‡ˇQÊæÊB®ÊÔ¿ˇ >
Lˇ˜∑Êúˇ¥flÜˇÊÔ¿ˇ ®¿ˇÁØˇàˇˆúˇ LˇÔ‡ˇ `ˇÜÎˇμÎˇˆf SvˇÁÜˇ Ô‹ˇÊB ®ÊÔ¿ˇ úˇÊ‹ˇË >

`ˇÁÜˇ˜  3.1(a)Ô¿ˇ LˇÇˇˆíˇ¥fl ®¿ˇÿ¿ˇLÎˇ Ôdíˇ Lˇ¿ÎˇdûˇÁ, LˇÁûÎˇ `ˇÁÜˇ˜  3.1(b)  Ô¿ˇ Ôdíˇ Lˇ¿ÎˇúˇÊ‹ˇÊûˇÁ > ØˇÁÔ…Ã
®˜LˇÊ¿ˇ¿ˇ `ˇÜÎˇμÎˇˆf SÎ›ÁLˇ¿ˇ LˇÇˇˆíˇ¥fl ®¿ˇÿ¿ˇLÎˇ ”ØÎˇÔØˇÔ¡ˇ Ôdíˇ Lˇ¿ˇûˇÁ > F‹ˇÁ ®˜LˇÊ¿ˇ `ˇÜÎˇμÎˇˆf¿ˇ ”ÛjÊ úˇÁ∑ßÔ¿ˇ
í Á̌AÊS‡ˇÊ >

”ÛjÊ : æíˇÁ FLˇ `ˇÜÎˇμÎˇˆf¿ˇ ���������
 ØˇÊ‹Îˇ F‹ˇÊ¿ˇ ØˇÁ®¿ˇÍÜˇ ØˇÊ‹Îˇíˇ¥Ê¿ˇÊ úˇÁÇˇÈÜˇ ”¿ˇ¡ˇÔ¿ˇQÊLÎˇ
Ôdíˇ úˇLˇÔ¿ˇ, ÜˇÊÔ‹ˇÔ‡ˇ F‹ˇÊLÎˇ FLˇ Dàˇ¡ˇ `ˇÜÎˇμÎˇˆf  (Convex Quadrilateral)  LÎˇ‹ˇÊæÊF >

���2#0� ABCD �	�� �4�5�� `ˇÜÎˇμÎˇˆf ����)�6

 (i) A H B  ØˇÁ¢Îˇíˇ¥fl CD
↔  ¿ˇ FLˇ ®Ê…¥ˆÔ¿ˇ

 (ii) B H C  ØˇÁ¢Îˇíˇ¥fl DA
↔  ¿ˇ FLˇ ®Ê…¥ˆÔ¿ˇ

 (iii) C H D  ØˇÁ¢Îˇíˇ¥fl AB
↔  ¿ˇ FLˇ ®Ê…¥ˆÔ¿ˇ  FØˇÛ

 (iv) D H  A  ØˇÁ¢Îˇíˇ¥fl BC
↔  FLˇ ®Ê…¥ˆÔ¿ˇ AØˇ◊ÁÜˇ Ô‹ˇ���� ������	� �

`ˇÁÜˇ˜  3.1 (a) �
��ABCD FLˇ Dàˇ¡ˇ `ˇÜÎˇμÎˇˆf 
�#�� `ˇÁÜˇ˜ 3.1 (b) �
��������+�#"�1"�23-���4�5��+�#"�21"�3

�"����7 �� 	��
�&6� ����
�� BC
↔ 6� AD� ����"�	"�� �'(�� 	�
���� �

(` Á̌Ü ˜̌  3.2)

A

D

B

C
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3.3 :  Øˇ‹Î̌ μÎ̌ f (Polygon) :

”ÛjÊ : ∑ÔúˇLˇ¿ˇ P1,  P2 ..... Pn FLˇ ”∑Üˇ¡ˇÔ¿ˇ AØˇ◊ÁÜˇ ÔLˇÔÜˇLˇ ØˇÁ¢Îˇ ( n � 3 ) FØˇÛ F∑ÊúˇZˇ
∑ö¿Îˇ ÔLˇÚ~”Á ÜˇÁÔúˇÊsÁ ØˇÁ¢Îˇ FLˇ Ô¿ˇQÍfl úÎˇ‹ˇûˇÁ > P P1 2 , P P2 3 .... P Pn n−1 , P Pn 1  Ô”∑ÊúˇZˇ ®˜Êûˇ ØˇÁ¢Îˇ
ØˇøÜˇÍÜˇ Aúˇø ÔLˇÚ~”Á ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ÎˇúˇêèÔ‡ˇ F‹ˇÁ  n  ”ÛQøLˇ Ô¿ˇQÊQÉ íˇ¥Ê¿ˇÊ SvˇÁÜˇ Ô”s˙
P P1 2 � �� P P2 3 � �� ....  � �� P Pn n−1  �� P Pn 1 � LÎˇ P1  P2 ..... Pn Øˇ‹ÎˇμÎˇf LÎˇ‹ˇÊæÊF >

P P1 2 ,  P P2 3 .... P Pn 1 Øˇ‹Î̌ μÎ̌ f¿ˇ ØˇÊ‹Î̌  FØˇÛ P1,  P2 ..... Pn Øˇ‹Î̌ μÎ̌ f¿ˇ …ÍÃˆØ Á̌¢Î̌  Asû Á̌ >  n  ”ÛQøLˇ
ØˇÊ‹Î̌  Ø Á̌…ÁŒ FLˇ Øˇ‹Î̌ μÎ̌ fÔ¿ˇ  n  ”ÛQøLˇ Aû@◊ ÔLˇÊ~ êÊF >
Dàˇ¡ˇ Øˇ‹ÎˇμÎˇf (Convex Polygon) :

P1  P2 P3 ..... Pn Øˇ‹ÎˇμÎˇf¿ˇ ®˜ÔÜˇøLˇ ØˇÊ‹Îˇ íˇ¥Ê¿ˇÊ úˇÁÇˇÈÜˇ Ô¿ˇQÊ¿ˇ FLˇ ®Ê…¥ˆÔ¿ˇ æíˇÁ Øˇ‹ÎˇμÎˇf¿ˇ Aúˇø
”∑÷ …ÍÃˆ AØˇ◊Êúˇ Lˇ¿ˇûˇÁ ÔÜˇÔØˇ Øˇ‹ÎˇμÎˇfsÁLÎˇ ������ ����� ��! (Convex Polygon) LÎˇ‹ˇÊæÊF >
”ÎÃ∑ Øˇ‹ÎˇμÎˇf (Regular Polygon) :

���"� ����� ��!��� ��#� ��
������ �$�%&�'� ��
(�� )��*� ��#� ���
���� ���
�
�� ��
(�+
�����
� ����� ��!���� ����� ����� ��!� �����
�
) ,

Øˇ‹ÎˇμÎˇf¿ˇ ØˇÊ‹Îˇ ”ÛQøÊ D®Ô¿ˇ Øˇ‹ÎˇμÎˇf¿ˇ úˇÊ∑Lˇ¿ˇ~ úˇÁμˇˆ¿ˇ LˇÔ¿ˇ >
Øˇ‹ÎˇμÎˇf ∑öÔ¿ˇ ”ØˇÊˆôèLˇ Ô∑Ú¡ˇÁLˇ Ô‹ˇDdÁ Üˇ˜ÁμÎˇf æÊ‹ˇÊ¿ˇ ØˇÊ‹Îˇ ”ÛQøÊ  3.

ØˇÊ‹Î̌ ”ÛQøÊ Øˇ‹ÎˇμÎˇf¿ˇ úˇÊ∑
  3 Üˇ˜ÁμÎˇf   (Triangle)

  4 `ˇÜÎ̌ μÎ̌ ˆf  (Quadrilateral)

  5 ®oμÎ̌ f  (Pentagon)

  6 Ã›μÎ̌ f  (Hexagon)

 Ô”‹ˇÁ®¿ˇÁ ØˇÊ‹Îˇ ”ÛQøÊ  7, 8, 9  FØˇÛ  10  ®ÊBÙ Øˇ‹ÎˇμÎˇfLÎˇ æêÊLˇ˜Ô∑ Heptagon (”©μÎ̌ f),
Octagon  (AŒμÎ̌ f), nonagon  (úˇAμÎˇf) � Decagon (íˇ…μÎˇf) LÎˇ‹ˇÊæÊF > AÊÔ∑ ”ÊôÊ¿ˇ~Üˇ@
`ˇÜÎˇμÎˇˆf, ®oμÌˇf, Ã›μÌˇf.... BÜˇøÊíˇÁLÎˇ ÔúˇB Øˇ‹ÎˇμÎˇf �8	�2�
�� ���)��+����� 	�
����� �

‡ˇ‰ø Lˇ¿ˇ ÔSÊsÁF Üˇ˜ÁμÎˇf¿ˇ ØˇÊ‹ÎˇSÎ›ÁLˇ¿ˇ ÔíˇWˆø ®¿ˇÿ¿ˇ ”∑Êúˇ � ÔLˇÊ~SÎ›ÁLˇ¿ˇ ®¿ˇÁ∑Ê~ ”∑Êúˇ;
LˇÁûÎˇ Øˇ‹ÎˇμÎˇf ◊¡ˇÔ¿ˇ úÎˇÔ‹ˇÙ > ÔÜˇ~Î Üˇ˜ÁμÎˇf, Øˇ‹ÎˇμÎˇf ®¿ˇÁØˇÊ¿ˇ¿ˇ FLˇ ”íˇ”ø úÎˇÔ‹ˇÙ > F ”ØÎˇ ”Ôâ "ÜˇÁúˇÁ'LÎˇ
"Øˇ‹Îˇ' μˇÊØˇÔ¿ˇ S˜‹ˇ~ Lˇ¿ˇÊæÊBêèØˇÊ¿Îˇ FØˇÛ Øˇ‹ÎˇμÎˇf¿ˇ Øˇ‹ˇÁ@◊ FØˇÛ Aûˇ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”ÌÜˇ˜ ”∑Ì‹ˇ
Üˇ˜ÁμÎˇf ®ÊBÙ ®˜æÎfø Ô‹ˇÊBêèØˇÊ¿Îˇ, ÜˇÁ˜μÎˇfLÎˇ ÔØˇÔ¡ˇ ÔØˇÔ¡ˇ Øˇ‹ÎˇμÎˇf ®¿ˇÁØˇÊ¿ˇÔ¿ˇ AûˇμÎˇˆNˇ Lˇ¿ˇÊæÊF >
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`ˇÜÎ̌ ˆμÎ̌ f Ã›μÎˇf®oμÎˇfÜˇ˜ÁμÎˇf

`ˇÜÎ̌ ˆμÎ̌ f Ã›μÎˇf®oμÎˇfÜˇ˜ÁμÎˇf

3.4 (A)  Øˇ‹ÎˇμÎˇf¿ˇ Aûˇ@◊ ÔLˇÊ~ ∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ (Sum of the measures of

the interior angles of a polygon) :

Üˇ˜ÁμÎˇf¿ˇ Aûˇ@◊ ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ =  1800

`ˇÜÎˇμÎˇˆfsÁ íÎˇBÔSÊsÁ Üˇ˜ÁμÎˇfÔ¿ˇ ®¿ˇÁ~Üˇ 	�
����9��
���� �
ÔÜˇ~Î `ˇÜÎˇμÎˇˆf¿ˇ Aûˇ@◊ ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ = 2 x 1800 = (4 –2) x 1800

®oμÎˇfsÁ ÜˇÁúˇÁÔSÊsÁ Üˇ˜ÁμÎˇfÔ¿ˇ ®¿ˇÁ~Üˇ ‹ÎˇF ÔÜˇ~Î F‹ˇÊ¿ˇ Aûˇ@◊ ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ
=  3 x 1800 = (5 –2) x 1800

Ô”‹ˇÁ®¿ˇÁ Ã›μÎˇfÔ‰Üˇ˜ Ô‰Üˇ˜Ô¿ˇ Aûˇ@◊ ÔLˇÊ~ ∑ÊúˇZˇ¿ˇ ”∑ŒÁ= 4 x 1800 = (6 –2) x 1800

 n- μÎˇfLÎˇ (n � 3) (n – 2) ”ÛQøLˇ Üˇ˜ÁμÎˇfÔ¿ˇ ®¿ˇÁ~Üˇ Lˇ¿ˇÁÔ‹ˇØˇ &>&&
ÔÜˇ~Î F‹ˇÊ¿ˇ Aûˇ@◊ ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~ ”∑ŒÁ = (n–2) x 1800 =  (n–2)  x 2 ”∑ÔLˇÊ~

=  (2n–4) ”∑ÔLˇÊ~
n �*-'�� ØˇÊ‹Îˇ ØˇÁ…ÁŒ (n � 3) Øˇ‹ÎˇμÎˇf¿ˇ Aûˇ@◊ ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ
(2n–4) ”∑ÔLˇÊ~ >

(B)  Øˇ‹ÎˇμÎˇf¿ˇ Øˇ‹ˇÁ@◊ ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ  (Sum of the measures of
the exterior angles of a polygon) :

 Øˇ‹ÎˇμÎˇf¿ˇ ®˜ÔÜˇøLˇ …ÍÃˆ  (Vertex) Ô¿ˇ ÔSÊsÁF Ô‡ˇQÊFÙ Øˇ‹ˇÁ@◊ ÔLˇÊ~ ”ıŒÁ ‹ÎˇF > :� �;<
�	��&
�����
�� �,�-��� �)����7� �=����#�� �
���>
�	�� �	��&	"�� ���+��
�	"�� ���9?

(` Á̌Ü ˜̌  3.3)

(` Á̌Ü ˜̌  3.4)
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‡ˇ‰ø Lˇ¿ˇ ®˜ÔÜˇøLˇ  n  μÌ̌ f (n � 3) ØˇÁ…ÁŒ Øˇ‹ÎˇμÎˇf¿ˇ Øˇ‹ˇÁ@◊ ÔLˇÊ~ ”ÛQøÊ n (`ˇÁÜˇ˜ 3.4 L Î̌̌
AúÎ̌ öÊúˇ Lˇ¿ˇ)

®˜ÔÜˇøLˇ …ÍÃˆÔ¿ˇ Øˇ‹ˇÁ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ + Aûˇ@◊ˇ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~  = 1800 = 2 ”∑ÔLˇÊ~
ÔSÊsÁF  n  μÎˇf ØˇÁ…ÁŒ Øˇ‹ÎˇμÎˇf¿ˇ Øˇ‹ˇÁ@◊ ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ

 = n x 2  ”∑ÔLˇÊ~ – n  ”ÛQøLˇ Aûˇ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ
 = n x 2  ”∑ÔLˇÊ~ –  (2n – 4)  ”∑ÔLˇÊ~
=  4  ”∑ÔLˇÊ~ = 3600

 FvˇÊÔ¿ˇ ‡ˇ‰øLˇ¿ˇ Øˇ‹ˇÁ@◊ ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ Øˇ‹ÎˇμÎˇf¿ˇ ØˇÊ‹Îˇ”ÛQøÊ¿ˇ úˇÁ¿ˇÔ®‰
(indepedent of the sides of the polygon) AÔs >

∑Ôúˇ¿ˇQ : ®˜ÔÜˇøLˇ Øˇ‹ÎˇμÎˇf¿ˇ Øˇ‹ˇÁ@◊ ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~ ”∑ŒÁ  3600

 D®Ô¿ˇÊNˇ AÊÔ‡ˇÊ`ˇúˇÊ ®¿ˇÁÔ®˜‰ÍÔ¿ˇ AÊÔ∑ ”ÎÃ∑ Øˇ‹ÎˇμÎˇf¿ˇ Aûˇ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ FØˇÛ Øˇ‹ˇÁ@◊
ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ ◊Á¿ˇ Lˇ¿ˇÁ®Ê¿ˇÁØˇÊ >

ÜÎ̌ Ô∑∑ÊÔúˇ fÊ~Ád ÔæDÙ Øˇ‹Î̌ μÎ̌ f¿ˇ ”∑÷ ØˇÊ‹Î̌ ¿ˇ Ôí ̌Ŵø ®¿ˇÿ¿ˇ ”∑Êúˇ Ô‹ˇØˇÊ ”ÛÔS ”ÛÔS ”∑÷ ÔLˇÊ~¿ˇ
®¿ Á̌∑Ê~ ∑ö ®¿ˇÿ¿ˇ ”∑Êúˇ ÜˇÊ‹ˇÊLÎ̌   ������� ��!� ��
� ����� ����� .�! (Regular Polygon) LÎ̌ ‹ˇÊæÊF >

F~Î  n  ØˇÊ‹Îˇ ØˇÁ…ÁŒ ”ÎÃ∑ Øˇ‹ÎˇμÎˇf¿ˇ ®˜ÔÜˇøLˇ Aûˇ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ = ( 2 4n
n
− )  ”∑ÔLˇÊ~

FØˇÛ  n  ØˇÊ‹Îˇ ØˇÁ…ÁŒ ”ÎÃ∑ Øˇ‹ÎˇμÎˇf¿ˇ ®˜ÔÜˇøLˇ Øˇ‹ˇÁ◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~  = 3600

n

∑Ôúˇ¿ˇQ : n  ØˇÊ‹Îˇ ØˇÁ…ÁŒ ”ÎÃ∑ Øˇ‹ÎˇμÎˇf¿ˇ <FLˇ Aûˇ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~  = 
2n 4

n
−  ”∑ÔLˇÊ~

FØˇÛ FLˇ Øˇ‹ˇÁ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~  = 
360

n

0

���
@�
����(�4����
�&$�
���	��#��,�-�����"�1"�3
������� �;<��������;<��	��&
�������
��
�&
�
�
A�� �� ���"�1"�3-�� �"B
� ����9���)�� ���#��	�� �	��&
������ �
��
�&� (������9'� �

���"�1"�3 � �;<� �	��&
����� �����;<��	��&
�����
� � � ���"�1"�3� �"B
� ����9���)�
�
��
�&
�� �
A� �
��
�&
�� �
A� ���#��	� � �;< �	��&
� �
��
�&

#���1"�3 � 2� �
�	��& 4� �
�	��& 600

+�#"�21"�3 � 4� �
�	��& 4� �
�	��& 900

�C1"�3 � 6� �
�	��& 4� �
�	��& 1080

BD1"�3 � 8� �
�	��& 4� �
�	��& 1200
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DíˇÊ‹ˇ¿ˇ~ - 1 :
ÔSÊsÁF ”ÎÃ∑ Øˇ‹ÎˇμÎˇf¿ˇ ®˜ÔÜˇøLˇ Aûˇ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~  1400  Ô‹ˇÔ‡ˇ, Øˇ‹ÎˇμÎˇf¿ˇ ØˇÊ‹Îˇ ”ÛQøÊ

◊Á¿ˇ Lˇ¿ˇ >
 ”∑ÊôÊúˇ : ∑ÔúˇLˇ¿ˇ Øˇ‹ÎˇμÎˇf¿ˇ ØˇÊ‹Îˇ”ÛQøÊ  n

� n  �E��	� ØˇÊ‹Îˇ ØˇÁ…ÁŒ ”ÎÃ∑ Øˇ‹ÎˇμÎˇf¿ˇ ®˜ÔÜˇøLˇ Aûˇ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ = 2 4n
n
−   ”∑ÔLˇÊ~

®˜…ßÊúÎ̌ ”ÊÔ¿ˇ 2 4n
n
− x 900 = 1400  � (2n – 4) 90 = n x 140

� 2n x 90 – 4x 90  = 140n �  180n – 360 = 140n
�  180n – 140n = 360 �  40n = 360 � n = 9

�  ”ÎÃ∑Øˇ‹ÎˇμÎˇf¿ˇ ØˇÊ‹Îˇ ”ÛQøÊ  9 >
DíˇÊ‹ˇ¿ˇ~ -  2 :

 ÔSÊsÁF Øˇ‹ÎˇμÎˇf¿ˇ Aûˇ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ, F‹ˇÊ¿ˇ Øˇ‹ˇÁ@◊ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ¿ˇ
ÜˇÁúˇÁ SÎ~ Ô‹ˇÔ‡ˇ, Øˇ‹ÎˇμÎˇf¿ˇ ØˇÊ‹Îˇ”ÛQøÊ ◊Á¿ˇ Lˇ¿ˇ >
”∑ÊôÊúˇ : ∑ÔúˇLˇ¿ˇ Øˇ‹ÎˇμÎˇf¿ˇ ØˇÊ‹Îˇ”ÛQøÊ  n

�  n  ØˇÊ‹Îˇ ØˇÁ…ÁŒ Øˇ‹ÎˇμÎˇf¿ˇ Aûˇ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ  = (2n – 4) x 900

 FØˇÛ Øˇ‹ˇÁ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ   = 3600

 ®˜…ßÊúÎˇ”ÊÔ¿ˇ,  (2n – 4) x 900 = 3 x 3600� 180n – 360 = 1080

� 180n = 1440  �  n = 1440
180  = 8, �   Øˇ‹ÎˇμÎˇf¿ˇ ØˇÊ‹Îˇ”ÛQøÊ 8 >

DíˇÊ‹ˇ¿ˇ~ -  3 :

�,�-��� �"B
� ���"�1"�3
�� � �;<� �	��&
�� �
��
�&� 1440 �� �F�� ���"�1"�3
�� ("�9,"&� �E��	�
����"�� �����A� �"B
� ���"�1"�3
�� � �;<� �	��&
�� �
��
�&� <�
�� 	�
� �
”∑ÊôÊúˇ : �"B
� ���"�1"�3
�� � �;<� �	��&
�� �
��
�&� 1440 �

�  ���"�1"�3
�� �����;< ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ = 1800 – 1440 = 360

�  Øˇ‹ÎˇμÎˇf¿ˇ ØˇÊ‹Îˇ”ÛQøÊ =
360
36

0

0  = 10

�>�#���� �"B
� ���"�1"�3
�� ����"��E���� = 2 x 10 = 20

�� ���"�1"�3
�� �����;< ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ = 
360

20

0

= 180

� ���"�1"�3
�� � �;<� �	��&
�� �
��
�& = 1800 – 150 = 1620 >
 AúÎˇ…Í¡ˇúˇÍ - 3 (a)

���� ���	

1.  …Ìúˇø◊Êúˇ ®Ì¿ˇ~ Lˇ¿ˇ >

 (i)  ÔSÊsÁF Dàˇ¡ˇ `ˇÜÎˇμÎˇˆf¿ˇ ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ ---- >
 (ii)  ÔSÊsÁF ®oμˇÎf¿ˇ Aûˇ@◊ ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ---- >

  (iii)  ÔSÊsÁF AŒμÎˇf¿ˇ Øˇ‹ˇÁ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ ---- >
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(iv)  ÔSÊsÁF ”ÎÃ∑ Ã›μÎˇf¿ˇ ®˜ÔÜˇøLˇ Aûˇ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ ---- >
(v)  ÔSÊsÁF ”ÎÃ∑ Øˇ‹ Î̌μÎ̌ f¿ˇ Øˇ‹ Á̌@◊ ÔLˇÊ~¿ˇ ®¿ Á̌∑Ê~ 450  Ô‹ˇÔ‡ˇ Øˇ‹Î̌ μÎ̌ f¿ˇ ØˇÊ‹Î̌ ”ÛQøÊ --->
(vi)  ÔSÊsÁF ”ÎÃ∑ Øˇ‹Î̌ μÎ̌f¿  ̌ ®̃ÔÜˇøL  ̌ Aûˇ@◊ ÔL Ê̌~¿  ̌ ®¿ Á̌∑Ê~ 1500 Ô‹ˇÔ‡ˇ, Øˇ‹Î̌ μÎ̌f¿  ̌ Ø Ê̌‹Î̌”ÛQøÊ--- >
(vii) ÔSÊsÁF ”ÎÃ∑ Øˇ‹ÎˇμÎˇf¿ˇ ®˜ÔÜˇøLˇ Aûˇ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ  14400  Ô‹ˇÔ‡ˇ,

  Øˇ‹ÎˇμÎˇf¿ˇ ØˇÊ‹Îˇ”ÛQøÊ---- >
(viii) ÔSÊsÁF ”ÎÃ∑ Øˇ‹Î̌ μÎ̌ f¿ˇ ØˇÊ‹ Î̌”ÛQøÊ 9 Ô‹ˇÔ‡ˇ, F‹ˇÊ¿ˇ ���#��	�� �����;<� �	��&
�� �
��
�&GGGG �
(ix) n �E��	� ����"� �����A� �,�-��� ”ÎÃ∑ Øˇ‹Î̌ μÎ̌ f¿ˇ ���#��	�� � �;<� �	��&
�� �
��
�&� GGG�
(x) n �E��	�� ����"� �����A� �,�-��� ”ÎÃ∑ Øˇ‹Î̌ μÎ̌ f¿ˇ ���#��	�� �����;<� �	��&
�� �
��
�&� GGGG �

���� ���	

2. (i) ÔSÊsÁF `ˇÜÎˇμÎˇˆf¿ˇ ÔLˇÊ~∑ÊúˇZˇ¿ˇ AúÎˇ®ÊÜˇ  2:3:4:6  Ô‹ˇÔ‡ˇ, Ô”∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~ ◊Á¿ˇ Lˇ¿ˇ >

(ii) FLˇ ”Ê∑Êûˇ¿ Á̌Lˇ ` Á̌Ü ˜̌¿ˇ íÎ̌ B ����� ÔLˇÊ~ ∑ö¿Î̌  ÔSÊsÁLˇ¿ˇ ®¿ Á̌∑Ê~ ����
���
��
�&
� 3
2 SÎ~ Ô‹ˇÔ‡ˇ

   ÔLˇÊ~SÎ›ÁLˇ¿ˇ ®¿ˇÁ∑Ê~ ◊Á¿ˇ Lˇ¿ˇ >
(iii) ÔSÊsÁF ®oμÎ̌ f¿ˇ ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ Á̌∑Ê~¿ˇ AúÎ̌ ®ÊÜˇ  2:3:4:5:6  Ô‹ˇÔ‡ˇ Øı̌ ‹ˇàˇ∑ ÔLˇÊ~¿ˇ ®¿ Á̌∑Ê~

◊Á¿ˇ Lˇ¿ˇ >
(iv) ÔSÊsÁF Dàˇ¡ˇ `ˇÜÎˇμÎˇˆf¿ˇ íÎˇBsÁ ÔLˇÊ~ ”∑ÔLˇÊ~ FØˇÛ Aúˇø ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~ ®˜ÔÜˇøLˇ

1200  Ô‹ˇÔ‡ˇ, Øˇ‹ÎˇμÎˇf¿ˇ ØˇÊ‹Îˇ ”ÛQøÊ ◊Á¿ˇ Lˇ¿ˇ >
(v)  ÔSÊsÁF ®oμÎˇf¿ˇ ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~  x0, (x–10)0, (x–20)0, (2x–40)0, (2x–90)0  Ô‹ˇÔ‡ˇ

'x'  ¿ˇ ∑Êúˇ ◊Á¿ˇ Lˇ¿ˇ >
(vi)  ÔSÊsÁF AŒμÎˇf¿ˇ Aûˇ@◊ ÔLˇÊ~ ∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~¿ˇ ”∑ŒÁ FØˇÛ Øˇ‹ˇÁ@◊ ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~

”∑ŒÁ ◊Á¿ˇ Lˇ¿ˇ >
(vii) ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜¿ˇ íÎˇB ����� ÔLˇÊ~íˇ¥fl¿ˇ ®¿ˇÁ∑Ê~¿ˇ AúÎˇ®ÊÜˇ 2:3 Ô‹ˇÔ‡ˇ, ”Ê∑�ûˇ¿ Á̌Lˇ

`ˇÁÜˇ˜¿ˇ AúˇøÔLˇÊ~ ∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~ ◊Á¿ˇ Lˇ¿ˇ >
�
�� ���	


3. íˇ…ÊˆA Ôæ, ÔSÊsÁF ”ÎÃ∑ ®oμÎˇf¿ˇ ÔSÊsÁF Aûˇ@◊ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ F‹ˇÊ¿ˇ ®˜ÔÜˇøLˇ Øˇ‹ˇÁ@◊
ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~¿ˇ ÜˇÁúˇÁSÎ~ >

4. ABCDE  ÔSÊsÁF ”ÎÃ∑ ®oμÎˇf Ô‹ˇÔ‡ˇ, Üˇ˜ÁμÎˇf 	BED  ¿ˇ ®˜ÔÜˇøLˇ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ ◊Á¿ˇ Lˇ¿ˇ >
5. ÔSÊsÁF ”ÎÃ∑ Øˇ‹ÎˇμÎˇf¿ˇ ®˜ÔÜˇøLˇ Aûˇ@◊ FØˇÛ Øˇ‹ˇÁ@◊ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~¿ˇ AúÎˇ®ÊÜˇ  5:1 Ô‹ˇÔ‡ˇ,

Øˇ‹ÎˇμÎˇf¿ˇ ØˇÊ‹Îˇ”ÛQøÊ ◊Á¿ˇ Lˇ¿ˇ >
6. n �E��	� ØˇÊ‹Î̌  Ø Á̌…ÁŒ FLˇ ”ÎÃ∑ Øˇ‹Î̌ μÎ̌ f¿ˇ Øˇ‹ Á̌@◊ ÔLˇÊ~¿ˇ ®¿ Á̌∑Ê~ H (n+2) �E��	�� ØˇÊ‹Î̌  Ø Á̌…ÁŒ

FLˇ ”ÎÃ∑ Øˇ‹Î̌ μÎ̌ f¿ˇ Øˇ‹ Á̌@◊ ÔLˇÊ~¿ˇ ®¿ Á̌∑Ê~ ∑öÔ¿ˇ Aûˇ
�ˇ90 Ô‹ˇÔ‡ˇ6 Øˇ‹Î̌ μÎ̌ f¿ˇ ØˇÊ‹Î̌ ”ÛQøÊ ◊Á¿ˇ Lˇ¿ˇ >
7. ÔSÊsÁF ”ÎÃ∑ Øˇ‹Î̌ μÎ̌ f¿ˇ FLˇ Aûˇ@◊ ÔLˇÊ~¿ˇ ®¿ Á̌∑Ê~ 1200 Ô‹ˇÔ‡ˇ, Øˇ‹Î̌ μÎ̌ f¿ˇ ØˇÊ‹Î̌ ”ÛQøÊ ◊Á¿ˇ Lˇ¿ˇ >
8. (n–1) �E��	�� ���E� (n+2)� �E��	�� �"B
� ���"�1"�3
�� �����;<� �	��&(�.�
�� � �
�� 60 ����)�6

(���2�� ��6� 'n'� 
�� 
���� 13 ����� �
9. �,�-��� �C1"�3
�� �,�-��� � �;<� �	��&
�� �
��
�&� 1400 �� ����� �	��&,"D�	�
�� �
��
�&
�

��"���#�� 1:2:3:4� ����)�� (���2�� ��6� �H���4�
� �	��&
�� �
��
�&� 1600� �
10. ABCDE �,�-��� �"B
� �C1"�3
�� AD6� �CDE	"�� ("�91��,� 	�
"����)�6

(���2�� ��6� m�ADE : m�ADC = 1 : 2 � �
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3.5 ��������� ��
���� /���� ���!� 0
+�#"�1"�23
������
�$#������"����D��
��
���������
� �
�&
���4�2���"����$�+�#"�1"�23�
"��#�;�("�9
1��,�
�� ���1�F�6� ��� I� (1)� -����3��
06� (2)� ��
� �
��	�� +��#�� �

1. 1�
�
!
��2�0����"�/���� ���!�����������)�����
3
���
���������
������
4������
��
����1�
�
!
��2
(Trapezium)������
�
) ,�+��#���3.5(a) �
��ABCD +�#"�1"�23
��AD BCII ���#"��ABCD�+�#"�1"�23-�
�	�� -����3��
0 �� �� �J#���
�� AB� �� DC� (�.�� ��
� �
� �
-����3��
0
�� ("�9� �
� �
�� ����"�� 
���4�2$� (>�
�#��	"�� -����3��
0
�� �K�#��� (Height)� 	"������� �
+��#��� 3.5(a) �
�� ABCD� -����3��
0
�� �K�#��� PQ �

2. �
�
4���
��� /�
���
���"� /���� ���!��� $��5��
3
� ��
������� ��
���� ��
4���� ��
��
� )��� �
�
4���
��� /�
���
(Parallelogram) ,
+��#���3.5(b) �
��ABCD +�#"�1"�23
������
�$#������"�� AB CDII ����E�AD BCII ���F��+�#"�1"�23	"�
��
� �
��	�� +��#��� 	"������� �
+��#��� 3.5(b)�
�� ������ ��
� �
��	�� +��#���
�� ����
�$#�� ����"�� AD� �� BC � 
���4�2$� (>�
�#��� AM
���E� AB� �� CD � 
���4�$2� (>�
�#���CN ��ABCD ��
� �
��	�+��#��
�� BC � ������ AD� ����"�	"�
1>�
�� �����,�)�� AM 	"�� �K�#��� 
>���� �������� �� ������
��� AB� ������ DC� 1>�
�� ����)�
��
� �
��	�� +��#��
�� �K�#��� CN � �"�� �

(` Á̌Ü ˜̌  3.5)

(i) � � ��
���/�
���� 0����"�/���� ���!��������'������
�������
�
��
��
� )��� �
���� /�
���� (Rectangle) �� ��,	"�� ��
�&
	�
������� ��� ���#��	�� �	��&� �
�	��&� ����)�� ����
�$#�
����"�
���� �
� �
�� ������ �� �#�&"� ���#�� +��#��� �	�� �.#�L
��	��
�
����
� �
��	��+��#��6������
�����#��	���	��&
���
��
�&
900���+��#���3.6 �
���	�����#�+��#���ABCD ��(��M#������9'� �

(` Á̌Ü ˜̌  3.6)

(ii) � � ��6�2� 0� ���"� /���� ���!��� ��
����
(�7�� �$�%&�'� ��
(�
��
��
�)�����6� ��(Rhombus) ����,	"����
�&�	�
������
�������"�
�����
���(�NO2���
��������)�������
�$#������"�
���

(` Á̌Ü ˜̌  3.7)

A P D

B
M Q R

C

A D

N

B C
M

A D

B C

(a) (b)
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�� �
� �
�� ������ �� �#�&"� 
�P�0� 
�� �,�-��� �.#�L� ��	��
�
�� ��
� �
��	�� +��#��6� �����
�
����"�
�����
�� �(�NO2�� �
��� �� +��#��� 3.7 �
�� ABCD �	�� 
�P�0 �

(iii) � ��8�/�
���� 0� ���"� /���� ���!��� ��
����
(�7���� �$�%&�'� ��
(�� 9
�����'������
�������
�
��900���
��
�)�����8�/�
����(Square) �
�&"� ��,2+��#��� �	�� �
�	��&� �����A� 
�P�0� ��- �� +��#��� 3.8 �
�
ABCD �	����,2+��#�� �
���
�� ���)��+��#�� +�#"�1"�23
�����
�� ��	��
��1�(�	"�� ���
@� +��-2�
�(���2��9'�6� �(��G

� � � � � � � +�#"�1"�23� :+��
��� ����"�� �����A?

� � � � � ��
� �
��	�� +��#�� -����3��
0
������������������:�1������D������
�$#������"���
� �
�? ��������:�	���5���	�����D������
�$#������"���
� �
�?

� � � :����"�
�����
�� �(�NO2�� �
���?� � :�	��&
����� �
�	��&?

� � � � � � 
�P�0 ���#�+��#��
:�	��&
��� :����"�
�����
�
�
�	��&? �(�NO2�� �
���?

��,2+��#��

(` Á̌Ü ˜̌  3.8)

3.6  ÔLˇÔÜˇLˇ D®®Êíˇø :
ÔSÊsÁF `ˇÜÎ̌ μÎ̌ ˆf ÔæDÙ Ø Á̌Lˇ≈ˇ ”à ˆ̌Ô¿ˇ FLˇ ”Ê∑Êûˇ¿ Á̌Lˇ ` Á̌Ü ˜̌ ØˇÊ ¿ˇ∫” ØˇÊ AÊflÜˇ` Á̌Ü ˜̌ Ô‹ˇÊB®ÊÔ¿ˇ,

Ô”®¿ˇÁ ÔLˇÔÜˇLˇ ØˇÁLˇ≈ˇ ”àˇˆ úˇÁ∑ß‡ˇÁQèÜˇ D®®Êíˇø ∑ÊúˇZˇÔ¿ˇ íˇÁAÊæÊBdÁ >

D®®Êíˇø - 20

�8
1
)� /���� ���!��� $��51
� ��
������� ��
���� ������� 9� ��
4���� ����:�� /���� ���!1
� )��
�
�
4���
��� /�
��� , (If two opposite sides of a quadrilateral are congruent and parallel, the
quadrilateral is a parallelogram.)

íˇàˇ :  ABCD  `ˇÜÎˇμÎˇˆfÔ¿ˇ  AB  
 CD  FØˇÛ AB ll CD

®˜Ê∑Ê~ø : ABCD  FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ AêÊˆÜ˙ˇ AD ll BC

AZˇúˇ : LˇÇˇˆ BD  AZˇúˇ Lˇ¿ˇ >
®˜∑Ê~ : 	 ABD  H 	 BDC Ô¿ˇ

AB  
 CD  (íˇàˇ)
� BD  ”ÊôÊ¿ˇ~ ØˇÊ‹Îˇ

FØˇÛ �ABD 
 �BDC  (FLˇÊûˇ¿ˇ ÔLˇÊ~)
{

A B

CD
(` Á̌Ü ˜̌  3.9)
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{
B

CD

A

� 	� ABD 
 	� BCD  (ØˇÊ-ÔLˇÊ-ØˇÊ ”¥ÍLˇÊæˆø)
�� m�ADB = m�DBC  (”Øˇˆ”∑ Üˇ˜ÁμÎˇf¿ˇ AúÎˇ¿Ìˇ® ÔLˇÊ~) 	�� "�� �
����� �	�� �
�
� AD ll BC

� ABCD  FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ >  (®˜∑Ê~ÁÜˇ)

D®®Êíˇø - 21

�
�
4���
��� /�
������ ��
������� ��
����
�(�� ������ ,
 (The opposite sides of a parallelogram are congruent.)

íˇàˇ :  ABCD  FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜, AêÊˆÜ˙ˇ
 AB ll CD  FØˇÛ AD ll BC

®˜Ê∑Ê~ø : AB 
 CD  FØˇÛ AD 
 BC

AZˇúˇ : LˇÇ ˆ̌ BD  AZˇúˇ Lˇ¿ˇ >
®˜∑Ê~ : 	 ABD  H 	 BCD  Ô¿ˇ

�ABD 
 �BDC  (FLˇÊûˇ¿ˇÔLˇÊ~)
� �ADB 
 �DBC  (FLˇÊûˇ¿ˇÔLˇÊ~)

FØˇÛ BD  ”ÊôÊ¿ˇ~ ØˇÊ‹Îˇ
�� � 	 ABD 
� 	BDC  (ÔLˇÊ-ØˇÊ-ÔLˇÊ D®®Êíˇø)
� AB = CD  FØˇÛ  AD = BC

� AB 
 CD  FØˇÛ AD 
 BC  (®˜∑Ê~ÁÜˇ)

D®®Êíˇø - 22

ÔSÊsÁF `ˇÜÎˇμÎˇˆf¿ˇ ØˇÁ®¿ˇÍÜˇ ØˇÊ‹Îˇ∑Êúˇ ”Øˇˆ”∑ Ô‹ˇÔ‡ˇ F‹ˇÊ FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ >
(A quadrilateral is a parallelogram if both pairs of its opposite sides are congruent.)

íˇàˇ :  ABCD  `ˇÜÎˇμÎˇˆfÔ¿ˇ AB  
 CD ,   AD 
 BC

®˜∑Ê~ø :  ABCD  FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜, AêÊˆÜ˙ˇ  AB ll CD H AD ll BC

AZˇúˇ : LˇÇ ˆ̌ BD  AZˇúˇ Lˇ¿ˇ >
®˜∑Ê~ : 	� ABD  H 	 BDC Ô¿ˇ

AB  
 CD    (íˇàˇ)
� AD 
 BC (íˇàˇ)

FØˇÛ BD  ”ÊôÊ¿ˇ~ ØˇÊ‹Îˇ

(` Á̌Ü ˜̌  3.10)

{
B

CD

A

(` Á̌Ü ˜̌  3.11)
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�� 	 ABD 
 	� BDC  (ØˇÊ-ØˇÊ-ØˇÊ D®®Êíˇø)
� m�ABD = m�BDC  FØˇÛ  m�ADB = m�CBD  (”Øˇˆ”∑ Üˇ˜ÁμÎˇf¿ˇ AúÎˇ¿Ìˇ® ÔLˇÊ~)

�� AB  ll CD  FØˇÛ AD ll BC

=  ABCD  FLˇ ”Ê∑Êûˇ¿ Á̌Lˇ ` Á̌Ü ˜̌ > (®˜∑Ê~ÁÜˇ)

D®®Êíˇø - 23
”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜¿ˇ ØˇÁ®¿ˇÍÜˇ ÔLˇÊ~∑ÊÔúˇ ”Øˇˆ”∑ >
 (The opposite angles of a parallelogram are congruent.)

íˇàˇ :  ABCD  FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ > AêÊˆÜ˙ˇ AB  ll CD  FØˇÛ AD ll BC

®˜∑Ê~ø : �A 
 �C, �B 
 �D

AZˇúˇ : LˇÇ ˆ̌ BD  AZˇúˇ Lˇ¿ˇ >
®˜∑Ê~ : 	ABD  H 	BDC  ∑öÔ¿ˇ

m�ABD = m�BDC [�� AB  ll CD ]

� m�ADB = m�CBD   [�� AD ll BC ]

BD  ”ÊôÊ¿ˇ~ ØˇÊ‹Îˇ >
� 	� ABD 
 	BDC  (ÔLˇÊ-ØˇÊ-ÔLˇÊ D®®Êíˇø)
� m�A = m�C � �A 
� �C

 Ô”‹ˇÁ®¿ˇÁ 	� ABC  H 	� ADC  ÔúˇB ®˜∑Ê~ Lˇ¿ˇÊæÊB®ÊÔ¿ˇ Ôæ,
 m�B = m�D � �B 
� �D  (®˜∑Ê~ÁÜˇ)

D®®Êíˇø - 24
ÔSÊsÁF `ˇÜÎˇμÎˇˆf¿ˇ ØˇÁ®¿ˇÍÜˇ ÔLˇÊ~∑Êúˇ ”Øˇˆ”∑ Ô‹ˇÔ‡ˇ F‹ˇÊ FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ >
 (A quadrilateral whose opposite angles are congruent, is a parallelogram.)

íˇàˇ : `ˇÜÎˇμÎˇˆf  ABCD  Ô¿ˇ �A 
� �C  H �B 
 �D

®˜Ê∑Ê~ø :  ABCD  FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ >

®˜∑Ê~ :  ABCD  FLˇ Dàˇ¡ˇ `ˇÜÎˇμÎˇˆf >
� m�A + m�B + m�C + m�D = 3600

 ®Îúˇ ˇ :  m�A = m�C  FØˇÛ  m�B= m�D  (íˇàˇ)

� m�A + m�B = m�C + m�D = 360
2

0
 =1800

B

CD

A

{ (` Á̌Ü ˜̌  3.12)

B

CD

A

(` Á̌Ü ˜̌  3.13)
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{

C

A

D
O

B

� AD ll BC ........... (i)

®Îúˇ ˇ  m�A + m�D = m�B + m�C = 360
2

0
 =1800

�� AB ll CD .......... (ii)

(i) H (ii) ¿Î̌  ®ÊBØˇÊ ABCD FLˇ ”Ê∑Êûˇ¿ Á̌Lˇ ` Á̌Ü ˜̌ > (®˜∑Ê~ÁÜˇ)
D®®Êíˇø - 25

)��� �
�
4���
��� /�
������ ��;��$�<�� ���=������ ��$�<
->� ����4��
 ,
 (Diagonals of a parallelogram bisect each other.)

íˇàˇ :   ABCD  ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜¿ˇ LˇÇˇˆíˇ¥fl AC  H  BD  ®¿ˇÿ¿ˇLÎ̌  O ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇûˇÁ >

®˜Ê∑Ê~ø : AO = CO  FØˇÛ   BO = DO

®˜∑Ê~ : 	 AOB  H � 	� COD Ô¿ˇ

AB  
 CD

� � ABO 
 � ODC (FLˇÊûˇ¿ˇ ÔLˇÊ~)
FØˇÛ � BAO 
� � � OCD (FLˇÊûˇ¿ˇ ÔLˇÊ~)

� 	� AOB 
 	� COD (ÔLˇÊ-ØˇÊ-ÔLˇÊ D®®Êíˇø)
�� � AO � CO FØˇÛ  BO �� � DO (AúÎ̌ ¿Ì̌ ® ØˇÊ‹Î̌ ) (®˜∑Ê~ÁÜˇ)

D®®Êíˇø - 26
ÔæDÙ `ˇÜÎˇμˇˆÎf¿ˇ LˇÇˇˆíˇ¥fl ®¿ˇÿ¿ˇLÎˇ ”∑íˇ¥ÁQÉ Lˇ¿ˇûˇÁ ÜˇÊ‹ˇÊ FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ >
(A quardrilateral whose diagonals bisect each other is a parallelogram.)

íˇàˇ : ABCD `ˇÜÎˇμÎˇˆf¿ˇ LˇÇˇˆ AC  H BD  ¿ˇ ÔdíˇØˇÁ¢Îˇ O; AO = CO FØˇÛ BO = DO

®˜Ê∑Ê~ø :  ABCD FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ > AêÊˆÜ˙ˇ AB  ll CD  FØˇÛ AD ll BC

®˜∑Ê~ :     	� AOB  H 	 COD Ô¿ˇ

AO = CO (íˇàˇ)
� BO = DO (íˇàˇ)

m�AOB = m�COD (®˜ÜˇÍ® ÔLˇÊ~)
�� 	 AOB 
 	� COD (ØˇÊ-ÔLˇÊ-ØˇÊ ”¥ÍLˇÊæˆø)
� m�ABO = m�ODC (”Øˇˆ”∑ Üˇ˜ÁμÎˇf¿ˇ AúÎˇ¿Ìˇ® ÔLˇÊ~)
�� AB  ll DC

Ô”‹ˇÁ®¿ˇÁ 	 AOD FØˇÛ  	 BOC  ÔúˇB ®˜∑Ê~ Lˇ¿ˇÊæÊB®ÊÔ¿ˇ Ôæ, AD  ll BC

 �� � ABCD  FLˇ ”Ê∑Êûˇ¿ Á̌Lˇ ` Á̌Ü ˜̌ > (®˜∑Ê~ÁÜˇ)

{

C

A

D
O

B

(`ˇÁÜˇ˜ 3.14)

(` Á̌Ü ˜̌  3.15)
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D®®Êíˇø - 27
AÊflÜˇ`ˇÁÜˇ˜¿ˇ LˇÇˇˆíˇ¥fl ”Øˇˆ”∑ >  (The diagonals of a rectangle are congruent.)

íˇàˇ : ABCD <FLˇ AÊflÜˇ `ˇÁÜˇ˜  H AC , BD   F‹ˇÊ¿ˇ LˇÇˇˆ >

®˜Ê∑Ê~ø : AC  
 BD

®˜∑Ê~ : 	 ADC  H  	 BDC  ∑öÔ¿ˇ

AD 
 BC

� �ADC 
� �BCD    (”∑ÔLˇÊ~)
     FØˇÛ DC  ”ÊôÊ¿ˇ~ ØˇÊ‹Îˇ >

� �� � 	� ADC 
 	� BDC (ØˇÊ-ÔLˇÊ-ØˇÊ ”¥ÍLˇÊæˆø)
�� AC  
 BD (®̃∑Ê~ÁÜˇ)

D®®Êíˇø - 28

���"� �
�
4���
��� /�
������ ��;��$�<�� ������� ��
��
� )��� �
���/�
��� ,
(If the diagonals of a parrallelogram are congruent, it is a rectangle.)

íˇàˇ : ABCD <”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜Ô¿ˇ LˇÇˇˆ AC  
 BD  LˇÇˇˆ   >

®˜Ê∑Ê~ø : ABCD <FLˇ AÊflÜˇ`ˇÁÜˇ˜ AêÊˆÜ˙ˇ �A, �B, �C, �D ®˜ÔÜˇøLˇ ”∑ÔLˇÊ~ >

®˜∑Ê~ : 	 ADC  H  	 BDC  ∑öÔ¿ˇ

AD 
 BC

� AC  
 BD (íˇàˇ)
FØˇÛ DC  ”ÊôÊ¿ˇ~ ØˇÊ‹Îˇ >

� �� � 	� ADC 
 	� BDC (ØˇÊ-ÔLˇÊ-ØˇÊ D®®Êíˇø)
�� m�ADC �� m�BCD (”Øˇˆ”∑ Üˇ˜ÁμÎˇf¿ˇ AúÎˇ¿Ìˇ® ÔLˇÊ~ Ô‹ˇÜÎˇ)
®Îúˇ ˇ, AD II BC (”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜¿ˇ ØˇÁ®¿ˇÍÜˇ ØˇÊ‹Îˇ Ô‹ˇÜÎˇ)
�� m�ADC �� m�BCD  = 1800

�� � m�ADC = m�BCD  = 900

Ô”‹ˇÁ®¿ˇÁ  ®˜∑Ê~ Lˇ¿ˇÊæÊB ®Ê¿ˇÁØˇ Ôæ  m�DAB = m�ABC  = 900

�� � ABCD FLˇ AÊflÜˇ ` Á̌Ü ˜̌  > (®˜∑Ê~ÁÜˇ)

{
A

D

B

C

O

{
A

D

B

C

O

(` Á̌Ü ˜̌  3.16)

(` Á̌Ü ˜̌  3.17)
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D®®Êíˇø - 29
�8
1
)� ��6�2��� ��;��$�<�� ���=��� ����
� :�6 ,
(The diagonals of a rhombus are perpendicular to each other.)

íˇàˇ : ABCD <ÔSÊsÁF ¿ˇ∫” FØˇÛ AC 
 BD  F‹ˇÊ¿ˇ íÎˇB LˇÇˇˆ  >

®˜Ê∑Ê~ø : AC  � BD

®˜∑Ê~ : ∑ÔúˇLˇ¿ˇ AC  H BD   ®¿ˇÿ¿ˇLÎˇ O ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇûˇÁ  >

	 AOD  H  	 DOC Ô¿
AO  = CO

� AD = DC      [�� ABCD ÔSÊsÁF ¿ˇ∫”]

ˇ FØˇÛ DO  ”ÊôÊ¿ˇ~ ØˇÊ‹Îˇ
�� � 	 AOD 
  	 DOC (ØˇÊ-ØˇÊ-ØˇÊ D®®Êíˇø)

� m�AOD = m�DOC

 LˇÁûÎˇ  m�AOD + m�DOC = 1800

� �� � m�AOD = m�DOC = 900

 AêÊˆÜ˙ˇ  AC  � BD  > (®̃∑Ê~ÁÜˇ)
AúÎ̌ ”ÁïÊûˇ - 1 :  FLˇ ”Ê∑Êûˇ¿ Á̌Lˇ ` Á̌Ü ˜̌¿ˇ LˇÇ ˆ̌í ¥̌fl ”Ø ˆ̌”∑ H ®¿ˇÿ¿ˇ ®˜Ü Á̌ ‡ˇ∫ Ô‹ˇÔ‡ˇ F‹ˇÊ FLˇ ØˇSˆ̀ Á̌Ü ˜̌ >
AúÎˇ”ÁïÊûˇ -2 :  ÔSÊsÁF ØˇSˆ`ˇÁÜˇ˜¿ˇ LˇÇˇˆíˇ¥fl ”Øˇˆ”∑ H ®¿ˇÿ¿ˇ ®˜ÜˇÁ ‡ˇ∫ >
AúÎˇ”ÁïÊûˇ -3 :  ÔæDÙ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜¿ˇ LˇÇˇˆíˇ¥fl ®¿ˇÿ¿ˇ ®˜ÜˇÁ ‡ˇ∫,ÜˇÊ‹ˇÊ FLˇ ¿ˇ∫” >

{
A

O

D C

B

(` Á̌Ü ˜̌  3.18)

AúÎˇ…Í¡ˇúˇÍ¸ 3 (b)
(Lˇ) ØˇÁμˇÊS

1. úˇÁ∑ß‡ˇÁQÁÜˇ DNˇÁSÎ›ÁLˇ μÎˇ‡˙ˇ LˇÁ vˇÁL˙ˇ Ô‡ˇQ<>
(a) `ˇÜÎˇμÎˇˆf¿ˇ `ˇÊÔ¿ˇÊsÁ ØˇÊ‹Îˇ ”Øˇˆ”∑ Ô‹ˇÔ‡ˇ, ÜˇÊ‹ˇÊ FLˇ ØˇSˆ`ˇÁÜˇ˜<>
(b) ®˜ÔÜˇøLˇ ¿ˇ∫” FLˇ ”Ê∑Êûˇ¿ˇÁLˇ`ˇÁÜˇ˜<>
(c) ®˜ÔÜˇøLˇ ”Ê∑Êûˇ¿ˇÁLˇ`ˇÁÜˇ˜ FLˇ ¿ˇ∫”˙<>
(d) ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜¿ˇ íÎˇB ”ùÁ‹ˇÁÜˇ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø ”∑Êúˇ Ô‹ˇÔ‡ˇ, ÜˇÊ‹ˇÊ FLˇ ¿ˇ∫”˙<>
(e) ¿ˇ∫”˙¿ˇ LˇÇˇˆíˇ¥fl ”Øˇˆ”∑<>
(f) ÔSÊsÁF AÊflÜˇ`ˇÁÜˇ˜¿ˇ  LˇÇˇˆíˇ¥fl ®¿ˇÿ¿ˇLÎˇ ”∑íˇ¥ÁQÉ Lˇ¿ˇûˇÁ<>
(g) ÔSÊsÁF ¿ˇ∫”˙¿ˇ ÔSÊsÁF ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ 900 Ô‹ˇÔ‡ˇ, ÜˇÊ‹ˇÊ FLˇ ØˇSˆ`ˇÁÜˇ˜<>
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(h) ÔSÊsÁF ØˇSˆ`ˇÁÜˇ˜¿ˇ LˇÇˇˆíˇ¥fl ®¿ˇÿ¿ˇLÎˇ ”∑ÔLˇÊ~Ô¿ˇ ”∑íˇ¥ÁQÉ Lˇ¿ˇûˇÁ<>
(i) æíˇÁ FLˇ `ˇÜÎˇμÎˇˆf¿ˇ LˇÇˇˆíˇ¥fl ®¿ˇÿ¿ˇ ®˜ÜˇÁ ‡ˇ∫ ‹ÎˇAûˇÁ, ÔÜˇÔØˇ `ˇÜÎˇμÎˇˆfsÁ FLˇ ØˇSˆ`ˇÁÜˇ˜<>
(j) ®˜ÔÜˇøLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ FLˇ s˜Ê®ÁfÁfl∑˙<>
(k) ®˜ÔÜˇøLˇ ØˇSˆ`ˇÁÜˇ˜ FLˇ AÊflÜˇ `ˇÁÜˇ˜<>
(l) ¿ˇ∫” FLˇ ØˇSˆ`ˇÁÜˇ˜<>

2. úˇÁ∑ß`ˇÁÜˇ˜SÎ›ÁLÎˇ ÔíˇQè "x"¿ˇ ∑Ì‡ˇø ◊Á¿ˇ Lˇ¿ˇ<>

3. …Ìúˇø◊Êúˇ ®Ì¿ˇ~ Lˇ¿ˇ<>
(a) ---- ¿ˇ LˇÇˇˆíˇ¥fl ”Øˇˆ”∑ FØˇÛ ®¿ˇÿ¿ˇ ®˜ÜˇÁ ‡ˇ∫<>
(b) ABCD  `ˇÜÎˇˆμÎˇfÔ¿ˇ �A H �B ®¿ˇÿ¿ˇ ®¿ˇÁ®Ì¿ˇLˇ Ô‹ˇÔ‡ˇ, `ˇÜÎˇμÎˇˆfsÁ ----<>
(c) ÔSÊsÁF ¿ˇ∫”¿ˇ LˇÇˇˆíˇ¥fl ”Øˇˆ”∑ Ô‹ˇÔ‡ˇ ¿ˇ∫”sÁ ---<>
(d) ABCD `ˇÜÎˇμÎˇˆf¿ˇ AB = CD, AB >> CD Ô‹ˇÔ‡ˇ `ˇÜÎˇμÎˇˆfsÁ ----<>
(e) ABCD `ˇÜÎ̌ μÎ̌ f̂¿ˇ AB = BC FØˇÛ AC = BD FØˇÛ�B FLˇ ”∑ÔLˇÊ~ Ô‹ˇÔ‡ˇ `ˇÜÎ̌ μÎ̌ f̂sÁ -->
(f) ÔSÊsÁF ¿ˇ∫”˙¿ˇ ÔSÊsF ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ 900 Ô‹ˇÔ‡ˇ, ¿ˇ∫”˙sÁ ----<>
(g) ABCD `ˇÜÎˇμÎˇˆf¿ˇ AC H BD LˇÇˇˆíˇ¥fl ®¿ˇÿ¿ˇLÎˇ ”∑íˇ¥ÁQÉ Lˇ¿ˇûˇÁ FØˇÛ m�A = 900 Ô‹ˇÔ‡ˇ,

`ˇÜÎˇμÎˇˆfsÁ ----<>
(h) ABCD `ˇÜÎˇμÎˇˆf¿ˇ AC H BD LˇÇˇˆíˇ¥fl ®¿ˇÿ¿ˇLÎˇ ”∑íˇ¥ÁQÉ Lˇ¿ˇûˇÁ FØˇÛ AC 
 BD Ô‹ˇÔ‡ˇ,

`ˇÜÎˇμÎˇˆfsÁ ----<>
(Q)  ØˇÁμˇÊS

4.(i) ABCD ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜Ô¿ˇ m�B= (x+300) H m�C=(2x–600) Ô‹ˇÔ‡ˇ m�A ÔLˇÔÜˇ<?
 (ii) ABCD FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜<> �A H �B ¿ˇ ”∑íˇ¥ÁQÉLˇíˇ¥fl ®¿ˇÿ¿ˇLÎˇ P ØˇÁ¢ÎˇÔ¿ˇ ÔdíˇLˇ¿ˇûˇÁ<>

�APB¿ˇ ®¿ˇÁ∑Ê~ ÔLˇÔÜˇ<?
 (iii) ÔSÊsÁF ¿ˇ∫”¿ˇ ‰Îíˇ˜Üˇ¿ˇ LˇÇˇˆ¿ˇ ÔíˇWˆø FLˇˇ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø ”‹ˇ ”∑Êúˇ Ô‹ˇÔ‡ˇ, ¿ˇ∫”¿ˇ

Øıˇ‹ˇàˇ¿ˇ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ ÔLˇÔÜˇ<?
 (iv) ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜¿ˇ íÎˇBsÁ Lˇ˜∑ÁLˇ …ÍÃˆÔ¿ˇ Dåù ÔLˇÊ~∑ÊúˇZˇ¿ˇ ®¿ˇÁ∑Ê~¿ˇ AúÎˇ®ÊÜˇ 2 : 3

Ô‹ˇÔ‡ˇ, Øıˇ‹ˇàˇ¿ˇ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ ÔLˇÔÜˇ<?
  (v) ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜¿ˇ ÔSÊsÁF ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ F‹ˇÊ¿ˇ FLˇ ”ùÁ‹ˇÁÜˇ ÔLˇÊ~¿ˇ 4

5 Ô‹ˇÔ‡ˇ, ”ùÁ‹ˇÁÜˇ
ÔLˇÊ~íˇ¥fl¿ˇ ®¿ˇÁ∑Ê~ ◊Á¿ˇ Lˇ¿ˇ<>

A B

CD

A

D C

B

D

A B

C

A

C

B

D

”Ê∑Êûˇ¿ Á̌Lˇ ` Á̌Ü ˜̌ ¿ˇ∫” AÊflÜˇ ` Á̌Ü ˜̌ ØˇSˆ ` Á̌Ü ˜̌

x 0

750 600

x0

1200 x 0
x 0

850

320

(` Á̌Ü ˜̌  3.19)
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5.(i) ABCD FLˇ Dàˇ¡ˇ `ˇÜÎˇμÎˇˆf<> FêèÔ¿ˇ �B, �C, �D ¿ˇ ®¿ˇÁ∑Ê~ æêÊLˇ˜Ô∑ �A ¿ˇ ®¿ˇÁ∑Ê~¿ˇ
íÎˇBSÎ~, ÜˇÁúˇÁSÎ~, `ˇÊ¿ˇÁSÎ~ Ô‹ˇÔ‡ˇ, íˇ…ÊˆA Ôæ, F‹ˇÊ FLˇ s˜Ê®ÁfÁfl∑˙<>

 (ii) ABCD `ˇÜÎˇμÎˇˆfÔ¿ˇ †�A H �B ¿ˇ ”∑í ¥̌ÁQÉLˇ ®¿ˇÿ¿ˇLÎ̌  O ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇûˇÁ FØˇÛ  �AOB

FLˇ ”∑ÔLˇÊ~ Ô‹ˇÔ‡ˇ, ®˜∑Ê~Lˇ¿ˇ Ôæ, ABCD FLˇ s˜Ê®fÁfl∑˙<>
 (iii) ABCD `ˇÜÎ̌ μÎ̌ ˆfÔ¿ˇ �ADC FLˇ ”∑ÔLˇÊ~, m�BAC = m�ACB  = 450 FØˇÛ AD = DC Ô‹ˇÔ‡ˇ,

®˜∑Ê~Lˇ¿ˇ Ôæ, F‹ˇÊ FLˇ ØˇSˆ`ˇÁÜˇ˜< >
 (iv) ABCD `ˇÜÎˇμÎˇˆfÔ¿ˇ AD = BC = 3 Ô”.∑Á, AB = 8 Ô”∑Á<> AB D®Ô¿ˇ E H F íÎˇBsÁ ØˇÁ¢Îˇ<>

Ôæ®¿ˇÁLˇÁ A-E-F FØˇÛ EF = 2 Ô”∑Á<> m�BCF = m�BFC = m�AED = m�ADE = 450

Ô‹ˇÔ‡ˇ ®˜∑Ê~ Lˇ¿ˇ Ôæ, ABCD FLˇ AÊflÜˇ`ˇÁÜˇ˜<>
 (v) ABCD FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜<> æíˇÁ AB = 2AD FØˇÛ P, CD ¿ˇ ∑öØˇÁ¢Îˇ ‹ÎˇF, ÔÜˇÔØˇ íˇ…ÊˆA Ôæ,

�APB = 900

6. ABCD `ˇÜÎˇμÎˇˆf Ô¿ˇ m�ABD = m�BDC FØˇÛ m�ADB = m�CBD Ô‹ˇÔ‡ˇ, ®˜∑Ê~Lˇ¿ˇ Ôæ,
F‹ˇÊ FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ FØˇÛ 	ABC 
 	 ADC

(S) ØˇÁμˇÊS
7. ABCD `ˇÜÎˇμÎˇˆfÔ¿ˇ BC >> AD <> AC H BD æêÊLˇ˜Ô∑ �BAD H �CDA LÎˇ ”∑íˇ¥ÁQÉ Lˇ¿ÎˇêèÔ‡ˇ

®˜∑Ê~Lˇ¿ˇ Ôæ, AB = BC = CD

8. ABCD ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ > �A H �C ¿ˇ ”∑íˇ¥ÁÉLˇ æêÊLˇ˜Ô∑ 
→
AP H 

→
CQ <> F∑ÊÔúˇ æíˇÁ BC

H AD LÎˇ æêÊLˇ˜Ô∑ P H Q ØˇÁ¢ÎˇÔ¿ˇ ÔdíˇLˇ¿ˇûˇÁ, ®˜∑Ê~ Lˇ¿ˇÔæ, APCQ FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜<>
9. ABCD ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜Ô¿ˇ M H N æêÊLˇ˜Ô∑ DC H AB ¿ˇ ∑öØˇÁ¢Îˇ<> ®˜∑Ê~ Lˇ¿ˇÔæ,

(i) MCBN ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜,
(ii) DMBN ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ FØˇÛ
(iii) DB H MN ®¿ˇÿ¿ˇLÎ̌  ”∑í ¥̌ÁQÉ Lˇ¿ˇû Á̌<>

10. ABCD ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜Ô¿ˇ AC H BD LˇÇ ˆ̌í ¥̌fl ®¿ˇÿ¿ˇLÎ̌  O ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇûˇÁ<> DO ¿ˇ ∑öØˇÁ¢Îˇ
X H BO ¿ˇ ∑öØˇÁ¢Îˇ Y Ô‹ˇÔ‡ˇ, ®˜∑Ê~ Lˇ¿ˇÔæ, AXCY ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜<>

11. ABCD ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜<> AC D®Ô¿ˇ K, L íÎˇBsÁ ØˇÁ¢Îˇ Ôæ®¿ˇÁLˇÁ AK = CL, ®˜∑Ê~Lˇ¿ˇÔæ,
DKBL FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜<>

12. ABCD ÔSÊsÁF ”Ê∑ûˇ¿ˇÁLˇ `ˇÁÜˇ˜<> BD D®Ô¿ˇ P H Q íÎˇBsÁ ØˇÁ¢Îˇ Ôæ®¿ˇÁLˇÁ AP >> CQ <> ®˜∑Ê~Lˇ¿ˇ
Ôæ, DP = BQ FØˇÛ APCQ FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜< >

13. ABCD ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜Ô¿ˇ DK �� AC , BL �� AC FØˇÛ K H L æêÊLˇ˜Ô∑ ‡ˇ∫íˇ¥fl¿ˇ ®ÊíˇØˇÁ¢Îˇ<>
®˜∑Ê~ Lˇ¿ˇ Ôæ, DKBL FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜<>

4
5
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14. ABCD FLˇ ”Ê∑Êûˇ¿ˇÁLˇ`ˇÁÜˇ˜ > AD D®Ô¿ˇ P FLˇ ØˇÁ¢Îˇ Ôæ®¿ˇÁLˇÁ DC = DP, CP
→

H BA
→

®¿ˇÿ¿ˇLÎ̌
Q ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ÎˇêèÔ‡ˇ, ®˜∑Ê~ Lˇ¿ˇ Ôæ,
(i) AQ = AP (ii) BC = BQ (iii) AD = CD + AQ

15. ABCD ”Ê∑Êûˇ¿ˇÁLˇ`ˇÁÜˇ˜Ô¿ˇ DC ØˇÊ‹Îˇ D®Ô¿ˇ X FLˇ ØˇÁ¢Îˇ Ôæ®¿ˇÁLˇÁ AD = AX <> ®˜∑Ê~Lˇ¿ˇ Ôæ,
m�XAB = m�ABC FØˇÛ AC = BX

16. ®˜∑Ê~ Lˇ¿ˇ Ôæ, ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜¿ˇ ÔLˇÊ~∑ÊúˇZˇ¿ˇ ”∑íˇ¥ÁQÉLˇ Ô¿ˇQÊ∑ÊúˇZˇ íˇ¥Ê¿ˇÊ SvˇÁÜˇ `ˇÜÎˇμÎˇˆfsÁ
FLˇ AÊflÜˇ`ˇÁÜˇ˜<>

17. ®˜∑Ê~ Lˇ¿ˇ Ôæ, ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜¿ˇ LˇÇˇˆíˇ¥fl¿ˇ ÔdíˇØˇÁ¢Îˇ ∑ôøÔíˇB AZˇÁÜˇ H ”Ê∑Êûˇ¿ˇÁLˇ
`ˇÁÜˇ˜¿ˇ ØˇÊ‹Îˇ∑ÊúˇZˇ íˇ¥Ê¿ˇÊ ”Í∑ÊØˇï Ô¿ˇQÊQÉ LˇÇˇˆ∑ÊúˇZˇ ÔdíˇØˇÁ¢ÎˇvˇÊÔ¿ˇ ”∑íˇ¥ÁQÉÁÜˇ ‹ÎˇF<>

18. ®Ê…¥ˆ◊ `ˇÁÜˇ˜ 3.20 Ô¿ˇ RP AB RQ BCII II,

FØˇÛ PQ ACII Ô‹ˇÔ‡ˇ,

íˇ…ÊˆA Ôæ, BC = 1
2  QR

R C P

BA

Q (`ˇÁÜˇ˜  3.20)
3.7. ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ FØˇÛ ÜˇÁ˜μÎˇf (Parallel lines and Triangles) :

AÊÔ‡ˇÊ`ˇÁÜˇ ”∑÷ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ ”∫§ˇÍfl D®®Êíˇø¿ˇ ”‹ˇÊflÜˇÊÔ¿ˇ AÊÔ∑ ÜˇÁ˜μÎˇf ”∫§ˇÍfl
ÔLˇÔÜˇSÎ›ÁF D®ÊÔíˇfl D®®Êíˇø¿ˇ AÊÔ‡ˇÊ`ˇúˇÊ FvˇÊÔ¿ˇ Lˇ¿ˇÁØˇÊ<> F‹ˇÁ D®®Êíˇø SÎ›ÁLÎˇ ®Ô¿ˇ AúˇøÊúˇø `ˇÁÜˇ˜
SÎ›ÁLˇÔ¿ˇ ®˜ÔflÊS Lˇ¿ˇÁ ØˇÁμˇÁù føÊ∑ÁÜˇÁLˇ Üˇêø¿ˇ AØˇÜˇÊ¿ˇ~Ê Lˇ¿ˇÁ ®Ê¿ˇÁØˇÊ<> F‹ˇÁ  D®®Êíˇø SÎ›ÁLˇ AÊÔ‡ˇÊ`ˇÁÜˇ
D®®Êíˇø SÎ›ÁLˇ¿ˇ ®˜ÔflÊSÔ¿ˇ ‹ˇË ®˜∑Ê~ÁÜˇ Ô‹ˇÊBdÁ< >

D®®Êíˇø - 30

�8
1
)� ���
 ��!��� )��� ��
������ �	��
?������ �(�'� )��� ��
���� ���� ��
4�����  �
���� �7�
��
��������-
� �������� ��
������� ��$�<
->� ����� ,

 (In a triangle, a line drawn through the mid-point of one side parallel to another
side, bisects the third side)

íˇàˇ : 	 ABC Ô¿ˇ AB  ¿ˇ ∑öØˇÁ¢Îˇ  D  FØˇÛ DG
↔  II BC

®˜Ê∑Ê~ø : DG
↔  H AC  ¿ˇ ÔdíˇØˇÁ¢Îˇ  E,  AC ¿ˇ ∑öØˇÁ¢Îˇ ����� >

AZˇúˇ :  E ∑ö ÔíˇB AB  ”‹ˇ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ BC LÎ̌  F Ø Á̌¢Î̌ Ô¿ˇ Ôdíˇ Lˇ¿Î̌ >
®˜∑Ê~ : �� DE  II BF (íˇàˇ) H EF  II BD (AZˇúˇ)

� � � BDEF  FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ >
� � � � BD = EF  � AD = EF (� AD = BD)

A

CB F

D
E

G

(`ˇÁÜˇ˜  3.21)
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	� ADE  H 	 EFC Ô¿ˇ
AD = EF (®ÌØˇˆ¿Îˇ ®˜∑Ê~ÁÜˇ)

� m�ADE = m�EFC (AúÎˇ¿Ìˇ® ÔLˇÊ~)
FØˇÛ  m�AED = m�ECF (AúÎˇ¿Ìˇ® ÔLˇÊ~)

�� 	 ADE 
 	� EFC (ÔLˇÊ-ÔLˇÊ-ØˇÊ D®®Êíˇø)
�� AE = EC  (AúÎˇ¿Ìˇ® ØˇÊ‹Îˇ) � AC ¿ˇ ∑öØˇÁ¢Îˇ  E   (®˜∑Ê~ÁÜˇ)

∑ûˇØˇø -  1  (úˇÁ∑ß AÊÔ‡ˇÊ`ˇúˇÊ …Á‰Lˇ ÜˇêÊ fÁjÊ”Î dÊÜˇ˜dÊÜˇ˜ÍZˇ ‡ˇÊSÁ DîÁŒ >)

D®Ô¿ˇÊNˇ D®®Êíˇø¿ˇ ®˜Ê∑Ê~øÔ¿ˇ DG
↔ , AC ØˇÊ‹ÎˇLÎˇ Ôdíˇ Lˇ¿ˇÁØˇ ÔØˇÊ‡ˇÁ `ˇÁÜˇ˜ÊZˇúˇ fúˇÁÜˇ ôÊ¿ˇ~Ê¿Îˇ

ô¿ˇÁúˇÁAÊæÊBdÁ > ∑ÊÜˇ˜ ®ÌØˇˆ¿Îˇ ®fiÁêèØˇÊ ”¥ÍLˇÊæˆø H D®®Êíˇø ∑ÊúˇZˇ¿ˇ ”Ê‹ˇÊæøÔ¿ˇ ®˜∑Ê~ Lˇ¿ˇÊæÊB®ÊÔ¿

Ôæ DG
→ , AC  ØˇÊ‹ÎˇLÎˇ Ôdíˇ LˇÔ¿ˇ (®˜∑Ê~ ÔíˇQ)

®˜∑Ê~ :  A H B,  DG
↔ ¿ˇ ØˇÁ®¿ˇÍÜˇ ®Ê…¥ˆÔ¿ˇ AØˇ◊ÁÜˇ >  (� A–D–B)

FØˇÛ  B H C, DG
↔  ¿ˇ FLˇ ®Ê…¥ˆÔ¿ˇ AØˇ◊ÁÜˇ > (� BC  II DG

↔
)

� A H C, DG
↔  ¿ˇ ØˇÁ®¿ˇÍÜˇ ®Ê…¥ˆÔ¿ˇ AØˇ◊ÁÜˇ >

�� DG
↔ , AC  LÎˇ Ôdíˇ LˇÔ¿ˇ >

D®®Êíˇø - 31

�8
1
)� ���
 ��!��� ��� ������
� $��5��
������ �	��
?������ ��
8� �����@A��
� ���-
->� �������
��
���� ���� ��
4���� 9� )��
��� �B�C�$�%&�'� ��
�
D ,

 (The segment joining the midpoints of two sides of a triangle is parallel to the third
side and its length is half of that of the third side.)

íˇàˇ : 	 ABC Ô¿ˇ D  H  E  æêÊLˇ˜Ô∑ AB  H AC  ¿ˇ ∑öØˇÁ¢Îˇ >
®˜Ê∑Ê~ø : (i) DE  II  BC  FØˇÛ  (ii) DE = 

1
2  BC

®˜∑Ê~ : (i)  ∑ÔúˇLˇ¿ˇ  D  ØˇÁ¢Îˇ ∑ö ÔíˇB AZˇÁÜˇ; BC

      ®˜ÜˇÁ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ, AC  LÎˇ  G  ØˇÁ¢ÎˇÔ¿ˇ ÔdíˇLˇÔ¿ˇ >
�� AC ¿ˇ ∑öØˇÁ¢Îˇ  G

� G = E � G H E    ØˇÁ¢Îˇíˇ¥fl FLˇ FØˇÛ AμˇÁù >
∑ÊÜˇ˜ DG  II  BC (ô¿ˇÁúˇÁAÊæÊBdÁ) �� DE  II  BC

(ii) ∑ÔúˇLˇ¿ˇ E Ø Á̌¢Î̌  ∑öÔíˇB AZ Á̌Üˇ AB ®̃Ü Á̌ ”Ê∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊQÉ BC  LÎ̌  F Ø Á̌¢Î̌ Ô¿ˇ Ôdíˇ LˇÔ¿ˇ >
�� BC  ¿ˇ ∑öØˇÁ¢Îˇ  F  �� BF = CF = 

1
2  BC

{

A

CB F

G
D E

(` Á̌Ü ˜̌  3.22)
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l

m

n

P

Q

l

m

n

P

Q

 ®Îúˇ ˇ,  BDEF  FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ (� DE  II  BC  FØˇÛ EF  II AB )
��  DE = BF ��  DE = 

1
2  BC   (®˜∑Ê~ÁÜˇ)

3.8 ÔdíˇÊÛ…  (Intercepts) :

”ÛjÊ :  FLˇ ”∑Üˇ¡ˇÔ¿ˇ AØˇ◊ÁÜˇ l H m íÎˇBsÁ ”¿ˇ¡ˇ Ô¿ˇQÊ >   æíˇÁ FLˇ ÔdíˇLˇ n, ”¿ˇ¡ˇÔ¿ˇQÊ
íˇ¥flLÎˇ P H Q íÎˇBsÁ ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ LˇÔ¿ˇ, ÔÜˇÔØˇ PQ LÎˇ ÔdíˇLˇ ¿ˇ FLˇ ÔdíˇÊÛ… ØˇÊ ÔdíˇÁÜˇ AÛ…
LÎˇ‹ˇÊæÊF > íˇàˇ `ˇÁÜˇ˜ íˇ¥flLÎˇ AúÎˇöÊúˇ Lˇ¿ˇ >

�(����	���
#�5��
��("�9�����#��#���Q�	���
�5��
����:�
�R
���
� �
��	��P���
� �
���������9���
��
� ��?	"�� �,�-��� �'(�	�� ("�9� ���� #��#���Q�	�� ���!"��
�� �'(�� 	��
�6� �#����� �'(�	�
�� �'(��#��E�
(Intercepts)� 
�� ��� �� ���
@� +��#��
"�� ����� �"RA �

®˜ÔÜˇøLˇ Ô‰Üˇ˜Ô¿ˇ PQ FØˇÛ QR ÔdíˇÁÜˇÊÛ… (intercepts) Asû Á̌<>

sÍLˇÊ: (1) ®˜ÔÜˇøLˇ Ô‰Üˇ˜Ô¿ˇ ÔdíˇÁÜˇÊÛ… ØˇÊ ÔdíˇÊÛ… ¿ˇ ÔíˇWˆø ”∑Êúˇ ØˇÊ A”∑Êúˇ Ô‹ˇÊB®Ê¿ˇûˇÁ<>
(2) FvˇÊÔ¿ˇ ‡ˇ‰ø Lˇ¿ˇÁØˇÊ¿ˇ LˇêÊ Ôæ, ÔdíˇLˇ¿ˇ ÔdíˇÊÛ… ∑Êúˇ, ÔdíˇÁÜˇ ”¿ˇ¡ˇÔ¿ˇQÊ∑ÊúˇZˇ íˇ¥Ê¿ˇÊ

Dåù Ô‹ˇÊBêÊF<>
D®®Êíˇø - 32

���
(�
���
������
EFA�����
4������������-
�����G$�������@A��
�)����G$�������G$�
����*�8�3
��
�����������:�+��(�'����������
��G$�������G$�
����(���.����*��8�3
����	������������� ,

 (If three or more parallel lines have congruent intercepts on any transversal, they
have congruent intercepts on any other transversal.)

 (D®®Êíˇø sÁ ÜˇÁÔúˇÊsÁ ”¿ˇ¡ˇÔ¿ˇQÊ ®ÊBÙ ®˜∑Ê~ LˇÔ‡ˇ æÔêŒ >)

(` Á̌Ü ˜̌  3.23)
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íˇàˇ : ∑ÔúˇLˇ¿ˇ L1 II L2 II L3 ; T1 ÔdíˇLˇ L1, L2, L3 LÎˇ æêÊLˇ˜Ô∑  A, B, CÔ¿ˇ Ôdíˇ LˇÔ¿ˇ
FØˇÛ AB  
� BC  AêÊˆÜ˙̌  AB = BC > L1, L2, L3 LÎˇ Aúˇø FLˇ ÔdíˇLˇ T2 æêÊLˇ˜Ô∑
D, E, F  Ô¿ˇ Ôdíˇ LˇÔ¿ˇ >

®˜Ê∑Ê~ø : T2 ¿ˇ ÔdíˇÁÜˇ AÛ… íˇ¥fl ”Øˇˆ”∑ AêÊˆÜ˙ˇ  DE = EF

AZˇúˇ :  E  ØˇÁ¢Îˇ ∑ö ÔíˇB T1 ”‹ˇÁÜˇ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ  L1 H L3  LÎ̌  P H Q Ô¿ˇ Ôdíˇ Lˇ¿Îˇ >

®˜∑Ê~ : L1 II L2 (íˇàˇ) H T1 II PE
↔ (AZˇúˇ)

� APEB  FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ � AB = PE

 Ô”‹ Á̌®¿ Á̌  BC = EQ � PE =EQ (� AB=BC (íˇàˇ))
	 DPE  H 	 EFQ Ô¿ˇ

 m�DEP = m�FEQ  (®˜ÜˇÍ®ÔLˇÊ~)
�  m�DPE = m�EQF  (�	�� �
�� �	��&)

 FØˇÛ   PE = EQ  (®ÌØˇˆ¿Îˇ ®˜∑Ê~ÁÜˇ)
�� 	 DPE 
 	 EFQ  (ÔLˇÊ-ØˇÊ-ÔLˇÊ D®®Êíˇø)

� DE = EF �� � DE  
� EF

AêÊˆÜ˙ˇ T2 ¿ˇ ÔdíˇÁÜˇ AÛ…íˇ¥fl ”Øˇˆ”∑ > (®˜∑Ê~ÁÜˇ)
$��D��'0 D®Ô¿ˇÊNˇ D®®Êíˇø- 32 ¿ˇ ”‹ˇÊflÜˇÊÔ¿ˇ D®®Êíˇø- 30 ""ÔSÊsÁF ÜˇÁ˜μÎˇf¿ˇ FLˇ ØˇÊ‹ÎˇÔ¿ˇ

∑öØˇÁ¢Îˇ¿Îˇ Aúˇø FLˇ ØˇÊ‹Îˇ ”‹ˇ ”∑Êûˇ¿ˇ μˇÊÔØˇ AZˇÁÜˇ ”¿ˇ¡ˇÔ¿ˇQÊ, ÜıˇÜˇÍfl ØˇÊ‹ÎˇLÎˇ ”∑íˇ¥ÁQÉ LˇÔ¿ˇ<>''

�� ��
�& ”ªØˇ >

íˇàˇ: D, AB ¿ˇ ∑öØˇÁ¢Îˇ FØˇÛ DE >> BC <>
®˜Ê∑Ê~ø: E, AC ¿ˇ ∑öØˇÁ¢Îˇ<>
AZˇúˇ: A ØˇÁ¢Îˇ ∑öÔíˇB, BC ”‹ˇ ”∑Êûˇ¿ˇ Lˇ¿ˇÁ

XY
↔ ”¿ˇ¡ˇÔ¿ˇQÊ AZˇúˇ Lˇ¿ˇ<>

®˜∑Ê~: XY
↔

>> DE >> BC   ;

AB H AC , ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊíˇ¥flLÎˇ æêÊLˇ˜Ô∑, A, D, B FØˇÛ A, E, C Ô¿ˇ ÔdíˇLˇÔ¿ˇ<>
AB ÔdíˇLˇ¿ˇ ÔdíˇÁÜˇÊÛ… (intercepts) í ¥̌fl AD H BD ¿ˇ ÔíˇWˆø ”∑Êúˇ< > (íˇàˇ)
AêÊˆÜ˙ˇ AD = BD <>
D®®Êíˇø 32 AúÎˇæÊflÍ AúˇøFLˇ ÔdíˇLˇ AC ¿ˇ ÔdíˇÁÜˇÊÛ… íˇ¥fl AE H EC ¿ˇ ÔíˇWˆø ”∑Êúˇ

Ô‹ˇØˇ<> AêÊˆÜˇ AE = EC � E, AC ¿ˇ ∑ôøØ Á̌¢Î̌ <> (®˜∑Ê~ÁÜˇ)

{ L1

L2

L3

T1 T2

A

B

C

D P

Q
F

E

(` Á̌Ü ˜̌  3.25)

AX Y

D E

B C

(`ˇÁÜˇ˜  3.26)
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AúÎˇ…Í¡ˇúˇÍ- 3(c)
(Lˇ) ØˇÁμˇÊSˇ

1. úˇÁ∑ß `ˇÁÜˇ˜Ô¿ˇ L1 >> L2 >> L3 >> L4, AD
↔ >> P S

↔ H AB=BC=CD

(a) …Ìúˇø ◊Êúˇ ®Ì¿ˇ~ Lˇ¿ˇ<>
(i) AQ = .... = ....

(ii) PQ = 
1
3  (...)

(iii) EF = 
1
3  (...)

(iv) BQ = 
1
2  (...)

(v) RF = 
1
2  (....)

(b) úˇÁ∑ß‡ˇÁQèÜˇ DNˇÁ ∑ÊúˇZˇ ∑ôø¿Îˇ μÎˇ‡ˇ H vˇÁL˙ˇ DNˇÁ `ˇÁ‹ˇßÊA<>

(i) AQ = 
1
2  AE, (ii) BQ = 

1
2  DF,

(iii) AF =2AQ, (iv) AP = DS,

(v) RE = 
1
2  SF, (vi) 3QE = AF

2. ®Ê…¥ˆ◊ `ˇÁÜˇ˜ 3.28 Ô¿ˇ FG >> DE >> BC FØˇÛ

AB ¿ˇ ∑ôøØˇÁ¢Îˇ D, AD ¿ˇ ∑öØˇÁ¢Îˇ F ����)�6
úˇÁ∑ß AúÎˇ®ÊÜˇSÎ›ÁLÎˇ ◊Á¿ˇ Lˇ¿ˇ<>

(i) AG:GE (ii) AG:GC (iii) GE:EC (iv) AG:AC (v) GE:AC (vi) EC:AC

3. …Ìúˇø◊Êúˇ ®Ì¿ˇ~ Lˇ¿ˇ<>
(a) ÔSÊsÁF `ˇÜÎˇμÎˇˆf¿ˇ ØˇÊ‹Îˇ ∑ÊúˇZˇ¿ˇ ∑öØˇÁ¢ÎˇLÎˇ Lˇ˜∑Êúˇ¥flÔ¿ˇ ÔæÊSLˇÔ‡ˇ, Dåù `ˇÜÎˇμÎˇˆf sÁ.... Ô‹ˇØˇ<>
(b) ÔSÊsÁF AÊflÜˇ`ˇÁÜˇ˜¿ˇ ØˇÊ‹Îˇ∑ÊúˇZˇ¿ˇ ∑öØˇÁ¢ÎˇLÎˇ Lˇ˜∑Êúˇ¥flÔ¿ˇ ÔæÊSLˇÔ‡ˇ, Dåù `ˇÜÎˇμÎˇˆfsÁ... Ô‹ˇØˇ<>
(c) ÔSÊsÁF ØˇSˆ̀ Á̌Ü ˜̌¿ˇ ØˇÊ‹Î̌ ∑ÊúˇZˇ¿ˇ ∑öØ Á̌¢Î̌ LÎ̌  L ˜̌∑Êú ¥̌flÔ¿ˇ ÔæÊSLˇÔ‡ˇ, Dåù `ˇÜÎ̌ μÎ̌ ˆfsÁ ...... Ô‹ˇØˇ<>
(d) LˇÇˇˆíˇ¥fl ®¿ˇÿ¿ˇLÎˇ ”∑ÔLˇÊ~Ô¿ˇ Ôdíˇ Lˇ¿ÎˇêèØˇÊ `ˇÜÎˇμÎˇˆf¿ˇ ØˇÊ‹Îˇ∑ÊúˇZˇ¿ˇ ∑öØˇÁ¢ÎˇLÎˇ Lˇ˜∑Êúˇ¥flÔ¿ˇ

ÔæÊSLˇÔ‡ˇ, Dåù `ˇÜÎˇμÎˇˆfsÁ ...... Ô‹ˇØˇ<>
(e) ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜¿ˇ ØˇÊ‹Îˇ∑ÊúˇZˇ¿ˇ ∑öØˇÁ¢Îˇ LÎˇ Lˇ˜∑Êúˇ¥flÔ¿ˇ ÔæÊSLˇÔ‡ˇ, Dåù `ˇÜÎˇμÎˇˆfsÁ

..... Ô‹ˇØˇ<>

`ˇÁÜˇ˜  3.27

(`ˇÁÜˇ˜  3.28)
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L4
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(Q) ØˇÁμˇÊSˇ
4. FLˇ ”∑ØˇÊ‹Î̌  	 ABC¿ˇ ØˇÊ‹Îˇ∑ÊúˇZˇ¿ˇ ∑öØˇÁ¢Îˇ D, E, H F Ô‹ˇÔ‡ˇ, íˇ…ÊˆAÔæ, 	DEF ”∑ØˇÊ‹Îˇ<>
5. ÔSÊsÁF ÜˇÁ˜μÎˇf¿ˇ ØˇÊ‹Îˇ∑ÊúˇZˇ¿ˇ ∑öØˇÁ¢ÎˇSÎ›ÁLÎˇ ÔæÊSLˇÔ‡ˇ, ÔæDÙ `ˇÊ¿ˇÁÔSÊsÁ ÜˇÁ˜μÎˇf Dåù ‹ÎˇF,

Ô”∑ÊÔúˇ ”Ø ˆ̌”∑<>

6.   `ˇÁÜˇ˜˜ 3.29Ô¿ ABCD FLˇ s˜Ê®ÁfÁfl∑˙<> DC ABII , E, AD ¿ˇ ∑ôøØˇÁ¢Îˇ<>

EF ABII Ô‹ˇÔ‡ˇ, íˇ…ÊˆAÔæ, F, BC ¿ˇ ∑ôøØˇÁ¢Îˇ<>

7. ®Ê…¥ˆ◊ `ˇÁÜˇ˜ 3.30Ô¿ˇ AD �� l FØˇÛ BE �� l,

C, AB ¿ˇ ∑öØˇÁ¢Îˇ Ô‹ˇÔ‡ˇ CD = CE <>

(S) ØˇÁμˇÊS
8. 	 ABC Ô¿ˇ  M H N  AB ØˇÊ‹ÎˇLÎˇ ”∑Üˇ˜ÁQÉ Lˇ¿ˇûˇÁ<> MP H NQ ®˜ÔÜˇøÔLˇ BC ”‹ˇ ”∑Êûˇ¿ˇ

FØˇÛ Ô”∑ÊÔúˇ AC LÎˇ æêÊLˇ˜Ô∑ P H Q ØˇÁ¢ÎˇÔ¿ˇ ÔdíˇLˇ¿ˇûˇÁ<> ®˜∑Ê~Lˇ¿ˇÔæ, P FØˇÛ Q, AC LÎ̌
”∑Üˇ˜ÁQÉ Lˇ¿ˇÁÔØˇ<>

9. 	 ABC Ô¿ˇ M, P H Q æêÊLˇ˜Ô∑ BC , AB H AC ¿ˇ ∑öØˇÁ¢Îˇ FØˇÛ P Q H AM ¿ˇ ÔdíˇØˇÁ¢Îˇ
R <> ®˜∑Ê~ Lˇ¿ˇÔæ, AR = RM, PR = RQ

10. ABCD ”Ê∑Êûˇ¿ Á̌Lˇ ` Á̌Ü ˜̌Ô¿ˇ X H Y æêÊL ˜̌Ô∑ AD H BC ¿ˇ ∑öØ Á̌¢Î̌ <> CX H AY BD, LÎ̌  æêÊL ˜̌Ô∑
P H Q Ô¿ˇ ÔdíˇLˇÔ‡ˇ ®˜∑Ê~ Lˇ¿ˇÔæ, DP = PQ = QB <>

11. 	 ABC Ô¿ˇ AM ∑ö∑Ê¿ˇ ∑öØˇÁ¢Îˇ R <> BR
→ H AC ®¿ˇÿ¿ˇLÎ̌  S ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ÎˇêèÔ‡ˇ, ®˜∑Ê~

Lˇ¿ˇÔæ, AS = 
1
3  AC

12. ABCD ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜Ô¿ˇ BC ¿ˇ ∑öØˇÁ¢Îˇ P <> DP
→ H →

AB ®¿ˇÿ¿ˇLÎ̌  Q ØˇÁ¢ÎˇÔ¿ˇ ÔdíˇLˇÔ‡ˇ ®˜∑Ê~

Lˇ¿ˇÔæ, AQ = 2AB <>

13. 	  ABC Ô¿ˇ CM, AB LÎˇ M ØˇÁ¢ÎˇÔ¿ˇ ”∑íˇ¥ÁQÉ LˇÔ¿ˇ H BQ CM, LÎˇ P ØˇÁ¢ÎˇÔ¿ˇ ”∑íˇ¥ÁQÉ
LˇÔ¿ˇ<> Q, AC D®Ô¿ˇ AØˇ◊ÁÜˇ Ô‹ˇÔ‡ˇ, ®˜∑Ê~ Lˇ¿ˇ Ôæ, AQ = 2QC

D C

E F

A B(`ˇÁÜˇ˜  3.29)

(`ˇÁÜˇ˜  3.30)

A B

D E

C

l
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(`ˇÁÜˇ˜ 3.31)

D P C

A B

Q

R

14. ®˜∑Ê~Lˇ¿ˇ Ôæ, s˜Ê®ÁfÁfl∑˙¿ˇ íÎ̌ B A”∑Êûˇ¿ˇ ØˇÊ‹Î̌ ¿ˇ ∑öØ Á̌¢Î̌  í ¥̌flLÎ̌  ÔæÊSLˇ¿Î̌ êèØˇÊ Ô¿ˇQÊQÉ, ”∑Êûˇ¿ˇ
ØˇÊ‹Îˇ∑ÊúˇZˇ ”‹ˇ ”∑Êûˇ¿ˇ FØˇÛ F‹ˇÊ¿ˇ ÔíˇWˆø, ”∑Êûˇ¿ˇ ØˇÊ‹Îˇ∑ÊúˇZˇ ÔíˇWˆø¿ˇ ”∑ŒÁ¿ˇ AÔïˆLˇ<>

15. 	 ABC Ô¿ˇ �B ”∑ÔLˇÊ~<> AC ¿ˇ ∑öØˇÁ¢Îˇ P Ô‹ˇÔ‡ˇ íˇ…ÊˆAÔæ, PA = PB = PC <>
16. ÔSÊsÁF s˜Ê®ÁfÁfl∑˙¿ˇ LˇÇˇˆíˇ¥fl¿ˇ ∑öØˇÁ¢Îˇ LÎˇ ÔæÊSLˇ¿ÎˇêèØˇÊ Ô¿ˇQÊQÉ, ”∑Êûˇ¿ˇ ØˇÊ‹Îˇ∑ÊúˇZˇ ”‹ˇ

”∑Êûˇ¿ˇ FØˇÛ ”∑Êûˇ¿ˇ ØˇÊ‹Îˇíˇ¥fl¿ˇ ÔíˇWˆø¿ˇ Aûˇ¿ˇ ¿ˇ AÔïˆLˇ<>
17. ®˜∑Ê~ Lˇ¿ˇ Ôæ, ÔLˇÚ~”Á `ˇÜÎˇμÎˇˆf¿ˇ ØˇÊ‹Îˇ∑ÊúˇZˇ¿ˇ ∑öØˇÁ¢Îˇ SÎ›ÁLÎˇ ®æˆøÊflLˇ˜Ô∑ ÔæÊSLˇÔ‡ˇ, Dåù

`ˇÜÎˇμÎˇˆfsÁ FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜<>
18. ®˜∑Ê~ Lˇ¿ˇ Ôæ, AÊflÜˇ` Á̌Ü ˜̌¿ˇ ØˇÊ‹Î̌ ∑ÊúˇZˇ¿ˇ ∑öØ Á̌¢Î̌ SÎ›ÁLÎ̌  ®æˆøÊflL ˜̌Ô∑ ÔæÊSLˇÔ‡ˇ, Dåù `ˇÜÎ̌ μÎ̌ ˆfsÁ

FLˇ ¿ˇ∫” Ô‹ˇØˇ <>
19. ®˜∑Ê~Lˇ¿ˇ Ôæ, ØˇSˆ`ˇÁÜˇ˜¿ˇ ØˇÊ‹Îˇ∑ÊúˇZˇ¿ˇ ∑ôøØˇÁ¢ÎˇSÎ›ÁLÎˇ ®æˆøÊflLˇ˜Ô∑ ÔæÊSLˇÔ‡ˇ, Dåù `ˇÜÎˇμÎˇˆfsÁ

ØˇSˆ`ˇÁÜˇ˜ Ô‹ˇØˇ<>

20. ®Ê…¥ˆ◊ `ˇÁÜˇ˜ 3.31 Ô¿ˇ P H Q æêÊLˇ˜Ô∑ CD H CB ¿ˇ

∑öØˇÁ¢Îˇ æêÊLˇ˜Ô∑ PQ AC, LˇÇˇˆLÎˇ R ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ÎˇêèÔ‡ˇ,

íˇ…ÊˆAÔæ, 4CR = AC< >

>>

>>
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/����@� AöÊfl

Ô‰Üˇ˜≠ˇ¡ˇ
(AREAS)

4.1  D®Lˇ˜∑~ÁLˇÊ (Introduction) :

”¿ˇ¡ˇÔ¿ˇQèLˇ AÊØˇïÔ‰Üˇ˜ H F‹ˇÊ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ”Û®LˇˆÔ¿ˇ ®ÌØˇˆ Ô…˜~ÍÔ¿ˇ AÊÔ‡ˇÊ`ˇúˇÊ Lˇ¿ˇÊæÊBdÁ<>
∑ÊÜˇ˜ FLˇ úˇÁîÁˆŒ AØˇ◊ÊÔ¿ˇ ”¥Üˇ¶ ”¿ˇ¡ˇÔ¿ˇQèLˇ Ô‰Üˇ˜∑ÊúˇZˇ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇSÎ›ÁLˇ ∑öÔ¿ˇ ”Û®Lˇˆ ØˇÁÃflÔ¿ˇ
AÊÔ‡ˇÊ`ˇúˇÊ, F AöÊfl¿ˇ AûˇμÎˇˆNˇ<> ÜÎˇÔ∑∑ÊÔúˇ fÊ~Ád Ôæ, ®˜ÔÜˇøLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ êÊF > Ô‰Üˇ˜≠ˇ¡ˇ
FLˇ ôúˇÊäLˇ ØˇÊ÷Øˇ ”ÛQøÊ æÊ‹ˇÊ Ô‰Üˇ˜  (region)  ”‹ˇ f›ÁÜˇ<> ÜÎˇÔ∑ ∑ö fÊ~Ád, ”¿ˇ¡ˇÔ¿ˇQèLˇ `ˇÁÜˇ˜
FØˇÛ F‹ˇÊ¿ˇ AûˇÔîˆ…¿ˇ ”ÛÔæÊSÔ¿ˇ ”¿ˇ¡ˇÔ¿ˇQèLˇ Ô‰Üˇ˜¿ˇ ”ıŒÁ (Ôæ®¿ˇÁ Üˇ˜ÁμÎˇf H ÜˇÊ‹ˇÊ¿ˇ AûˇÔîˆ…¿ˇ
”ÛÔæÊSÔ¿ˇ Üˇ˜ÁμÎˇfÊLˇÊ¿ˇ Ô‰Üˇ˜¿ˇ ”ıŒÁ<>)

4.2  Üˇ˜ÁμÎˇf FØˇÛ ”Ê∑Êûˇ¿ˇÁLˇÔ‰Üˇ˜¿ˇ DaˇÜˇÊ (Height of a Triangle and a parallelogram):

 (a)  Üˇ˜ÁμÎˇf¿ˇ DaˇÜˇÊ
FLˇ Üˇ˜ÁμÎˇf¿ˇ ÔæÔLˇÚ~”Á ØˇÊ‹ÎˇLÎˇ μÌˇ∑Á ÔúˇB F‹ˇÊ¿ˇ ØˇÁ®¿ˇÍÜˇ ÔLˇÚ~ÁLˇ ØˇÁ¢Îˇ¿Îˇ μÌˇ∑Á ®˜ÜˇÁ ‡ˇ∫ AZˇúˇ

LˇÔ‡ˇ, AZˇÁÜˇ ‡ˇ∫¿ˇ ÔíˇWˆøLÎˇ Üˇ˜ÁμÎˇf¿ˇ DaˇÜˇÊ LÎˇ‹ˇÊæÊF<>
(`ˇÁÜˇ˜  4.1)  Ô¿ˇ � ABC  ¿ˇ ÜˇÁÔúˇÊsÁ DaˇÜˇÊ êÊF<>

BC  ®˜ÜˇÁ AZˇÁÜˇ ‡ˇ∫ AD ; AC  ®˜ÜˇÁ AZˇÁÜˇ ‡ˇ∫ BE

FØˇÛ AB  ®˜ÜˇÁ AZˇÁÜˇ ‡ˇ∫ CF   >
�  ABC  ¿ˇ DaˇÜˇÊÜˇ˜fl  AD, BE  FØˇÛ CF

(b)  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ DaˇÜˇÊ
ÔLˇÚ~”Á FLˇ ”Ê∑Êûˇ¿ Á̌Lˇ Ô‰Ü ˜̌¿ˇ ÔæÔLˇÚ~”Á ØˇÊ‹Î̌ LÎ̌  μÌ̌ ∑Á ∑ÔúˇLˇ¿ Á̌ F‹ˇÊ¿ˇ Ø Á̌®¿ˇÍÜˇ ØˇÊ‹Î̌ ¿ˇ ÔæÔLˇÚ~”Á

ØˇÁ¢Îˇ¿Îˇ F‹ˇÁ μÌˇ∑Á ®˜ÜˇÁ AZˇÁÜˇ ‡ˇ∫¿ˇ ÔíˇWˆøLÎˇ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ DaˇÜˇÊ LÎˇ‹ˇÊæÊF<>

A

D
B C

(` Á̌Ü ˜̌ 4.1)

E
F
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ABCD  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜Ô¿ˇ μÌˇ∑Á BC  FØˇÛ F‹ˇÊ®˜ÜˇÁ AZˇÁÜˇ
AúÎ̌ ¿Ì̌ ® ‡ˇ∫ AM > Ô”‹ˇÁ®¿ˇÁ  ABCD ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ
μÌ̌ ∑Á CD  FØˇÛ F‹ˇÊ®˜ÜˇÁ AZˇÁÜˇ AúÎˇ¿Ìˇ® ‡ˇ∫ AN  >
ÔÜˇ~Î ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ íÎˇBsÁ DaˇÜˇÊ AdÁ<>
F Ô‰Üˇ˜Ô¿ˇ Ô”SÎ›ÁLˇ Ô‹ˇÔ‡ AM FØˇÛ AN >ˇ

4.3  ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊíˇ¥fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ Ô‰Üˇ˜∑ÊúˇZˇ¿ˇ DaˇÜˇÊ :
íÎˇBsÁ Üˇ˜ÁμÎˇf ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊíˇ¥fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ Lˇ‹ˇÁÔ‡ˇ ØÎˇlÁØˇÊLÎˇ Ô‹ˇØˇ Ôæ, Ô”∑ÊúˇZˇ¿ˇ μÌˇ∑Á

FLˇ ”¿ˇ¡ˇÔ¿ˇQÊ D®Ô¿ˇ AØˇ◊ÁÜˇ Ô‹ˇØˇÊ ”ÛÔS ”ÛÔS F∑ÊúˇZˇ¿ˇ …ÍÃˆØˇÁ¢Îˇ A®¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ D®Ô¿ˇ
AØˇ◊ÁÜˇ Ô‹ˇØˇ< >

Ô”‹ Á̌®¿ Á̌ ”Ê∑Êûˇ¿ Á̌Lˇ Ô‰Ü ˜̌∑Êúˇ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊí ¥̌fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ Lˇ‹ Á̌Ô‡ˇ ØÎ̌ lÁØˇÊLÎ̌  Ô‹ˇØˇ Ôæ,
ÔSÊsÁF ”¿ˇ¡ˇÔ¿ˇQÊ D®Ô¿ˇ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜ SÎ›ÁLˇ¿ˇ ÔSÊsÁF Ô‡ˇQÊFÙ ØˇÊ‹Îˇ FØˇÛ A®¿ˇ ”∑Êûˇ¿ˇ
”¿ˇ¡ˇÔ¿ˇQÊ D®Ô¿ˇ Ô‰Üˇ˜ SÎ›ÁLˇ¿ˇ ØˇÁ®¿ˇÍÜˇ ØˇÊ‹ÎˇSÎ›ÁLˇ AØˇ◊ÁÜˇ Ô‹ˇØˇ< >

‡ˇ‰øLˇ¿ˇ (` Á̌Ü ˜̌ 4.3)  AG
↔  H BR

↔  íÎˇBsÁ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ ∑öÔ¿ˇ � ABC  H � DEF  í ¥̌fl

AØˇ◊Êúˇ Lˇ¿ÎˇdûˇÁ ; LˇÊ¿ˇ~ F‹ˇÊ¿ˇ μÌˇ∑Á BC  H EF , BR
↔  D®Ô¿ˇ FØˇÛ Ô”∑ÊúˇZˇ¿ˇ …ÍÃˆ ØˇÁ¢Îˇ  A  H

D  AG
↔  D®Ô¿ˇ AØˇ◊ÁÜˇ< >  AP  H  DQ  æêÊLˇ˜Ô∑ � ABC  H � DEF  íˇ¥fl¿ˇ DaˇÜˇÊ<>  APQD

FLˇ AÊflÜˇÔ‰Üˇ˜ Ô‹ˇÜÎˇ  AP = DQ

 `ˇÁÜˇ˜ 4.4 Ô¿ˇ AS
↔  H BR

↔  íÎˇB ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ ∑öÔ¿ˇ ABCD H PQRS
”Ê∑Êûˇ¿ˇÁLˇÔ‰Üˇ˜ íˇ¥fl AØˇ◊ÁÜˇ<>

 AK H SL æêÊLˇ˜Ô∑, ABCD H PQRS ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜íˇ¥fl¿ˇ DaˇÜˇÊ<>
 AKLS  FLˇ AÊflÜˇÔ‰Ü ˜̌ Ô‹ˇÜÎ̌  AK=SL

Fêè¿Î̌  f~ÊÔ‹ˇ‡ˇÊÔæ, ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ í ¥̌fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ Ô‰Üˇ̃ ∑ÊúˇZˇ¿ˇ DaˇÜˇÊ ®¿ˇÿ¿ˇ
”∑Êúˇ<>

A D

B EP CQ F

A D S

LQCKB R

(` Á̌Ü ˜̌ 4.3) (` Á̌Ü ˜̌ 4.4)

P

A

B C

D

N

M
(` Á̌Ü ˜̌ 4.2)

R

G



[ 77 ]

ØˇÁ®¿ˇÍÜˇ Lˇ˜Ô∑, ÔæÔØˇ íÎˇB ØˇÊ ÜˇÔÜˇÊ@ôèLˇ Üˇ˜ÁμÎˇf ØˇÊ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ DaˇÜˇÊ ”∑Êúˇ ‹ÎˇF
FØˇÛ Ô”∑ÊÔúˇ FLˇ ”¿ˇ¡ˇÔ¿ˇQÊ D®Ô¿ˇ H ÜˇÊ‹ˇÊ¿ˇ FLˇ ®Ê…¥ˆÔ¿ˇ AØˇ◊ÁÜˇ ‹ÎˇAûˇÁ, ÔÜˇÔØˇ Ô”∑ÊÔúˇ
”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊíˇ¥fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ Ô‹ˇÔØˇ< >

ABCD  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜ FØˇÛ � PQR

FLˇ ”¿ˇ¡ˇÔ¿ˇQÊ BR  D®Ô¿ˇ H ÜˇÊ‹ˇÊ¿ˇ
FLˇ ®Ê…¥ˆÔ¿ˇ AØˇ◊ÁÜˇ FØˇÛ DK=PL Ô‹ˇÔ‡ˇ

AP
↔  II BR

↔  Ô‹ˇØˇ<>

LˇÊ¿ˇ~ DK  H PL  ®˜ÔÜˇøLˇ BR  ®˜ÜˇÁ ‡ˇ∫;   S�  DK
↔  II PL

↔  FØˇÛ DK = PL

S DKLP  FLˇ AÊflÜˇÔ‰Üˇ˜< >  DP
↔  II KL

↔   AêÊˆÜ˙ˇ AP
↔  II BR

↔

4.4  ”Øˇˆ”∑ ”¿ˇ¡ˇÔ¿ˇQèLˇ Ô‰Üˇ˜∑ÊúˇZˇ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ :
íÎ̌ BsÁ ”¿ˇ¡ˇÔ¿ ̌QèLˇ Ô‰Ü ˜̌ ”Ø ˆ̌”∑ Ô‹ˇÔ‡ˇ, Ô”∑ÊúˇZˇ¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ ”∑Êúˇ, L Á̌ûÎ̌  Ô‰Ü ˜̌≠ˇ¡ˇ ”∑Êúˇ

Ô‹ˇÔ‡ˇ, Ô”∑ÊÔúˇ ”Øˇˆ”∑ úˇÔ‹ˇÊB ®Ê¿ˇûˇÁ<>
DíˇÊ‹ˇ¿ˇ~ ”¥¿Ìˇ® :  8  Ô”.∑Á. H  3  Ô”.∑Á. íˇÍWˆ ”ù‹ˇÁÜˇ ØˇÊ‹Îˇ ØˇÁ…ÁŒ FØˇÛ  4  Ô”.∑Á. H

6  Ô”.∑Á. íˇÍWˆ ”ù‹ˇÁÜˇ ØˇÊ‹Îˇ ØˇÁ…ÁŒ ®˜ÔÜˇøLˇ AÊflÜˇÔ‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ 24  Øˇ.Ô”.∑Á. Ô‹ˇÔ‡ˇ Ô‹ˇÙ Ô”∑ÊÔúˇ
”Øˇˆ”∑ úÎˇ‹ˇÙûˇÁ<>

D®®Êíˇø - 33

FLˇÊ μÌ̌ ∑Á D®Ô¿ˇ FØˇÛ FLˇÊ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ í ¥̌fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ ”Ê∑Êûˇ¿ Á̌Lˇ Ô‰Ü ˜̌SÎ›ÁLˇ¿ˇ
Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ< > (Parallelograms on the same base and between the same parallels are
equal in area.)

íˇàˇ :  ABCD  H  EFCD  íÎˇBsÁ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜ FLˇÊ μÌˇ∑Á DC  H ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊíˇ¥fl AF
↔

H DC
↔  ∑öÔ¿ˇ AØˇ◊ÁÜˇ< >

®˜Ê∑Ê~ø : ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜  ABCD  H  EFCD  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ< >

®˜∑Ê~ : �� AD
↔  II BC

↔  H AF  Ô”∑ÊúˇZˇ¿ˇ ÔdíˇLˇ T mUEAD = mUFBC  (AúÎ̌ ¿Ì̌ ®)

Ô”‹ Á̌®¿ Á̌ �� ED
↔  II FC

↔  FØˇÛ AF  Ô”∑ÊúˇZˇ¿ˇ ÔdíˇLˇ T  mUAED = mUBFC  (AúÎˇ¿Ìˇ®)

A E B F

D C

(` Á̌Ü ˜̌ 4.6)

B F

D C

EA

(i) (ii)

A D P

B K C Q L R

(` Á̌Ü ˜̌ 4.5)
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� AED  H �� BFC  íˇ¥flÔ¿ˇ
mUEAD = mUFBC

� mUAED = mUBFC
FØˇÛ AD = BC  (”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ ØˇÁ®¿ˇÍÜˇ ØˇÊ‹Îˇ)

S� � AED V � �� BFC (ÔLˇÊ-ØˇÊ-ÔLˇÊ D®®Êíˇø)
S� � AED¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = � BFC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ
S ”∑ÎíˇÊfl Ô‰Üˇ˜  ADCF  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ¿Îˇ F‹ˇÁ íÎˇB Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇLÎˇ μˇÁù μˇÁù μˇÊØˇÔ¿ˇ ØˇÁÔflÊS

LˇÔ‡ˇ, ®ÊBØˇÊ
ADCF ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ – � BFC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = ADCF ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ – � AED ¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ
T ABCD ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ  = EFCD ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ (®˜∑Ê~ÁÜˇ)
AúÎˇ”ÁïÊûˇ  (1) :  FLˇÊ μÌˇ∑Á D®Ô¿ˇ íˇÉÊfl∑Êúˇ FØˇÛ FLˇÊ DaˇÜˇÊ ØˇÁ…ÁŒ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜∑ÊúˇZˇ¿ˇ

Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ > (FLˇÊ DaˇÜˇÊ ØˇÁ…ÁŒ Ô‹ˇÜÎˇ Ô”∑ÊÔúˇ FLˇ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊíˇ¥fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ)
AúÎ̌ ”ÁïÊûˇ -  (2) : FLˇÊ μÌ̌ ∑Á D®Ô¿ˇ FØˇÛ FLˇÊ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊí ¥̌fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ ”Ê∑Êûˇ¿ Á̌Lˇ

Ô‰Üˇ˜ H AÊflÜˇÔ‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ >
 ABCD  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜ H  EFCD

AÊflÜˇÔ‰Üˇ˜ FLˇÊ μÌˇ∑Á DC  D®Ô¿ˇ FØˇÛ ”∑Êûˇ¿ˇ

”¿ˇ¡ˇÔ¿ˇQÊíˇ¥fl EB
↔  H DC

↔  ∑öÔ¿ˇ AØˇ◊ÁÜˇ< >
 EFCD  AÊflÜˇÔ‰Üˇ˜ ∑ö FLˇ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜< >
S� ®ÌØˇˆ D®®Êíˇø AúÎˇæÊflÍ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜  ABCD  H  EFCD  ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ<>

AúÎˇ”ÁïÊûˇ -  (3)

ÔLˇÚ~”Á ”Ê∑Êûˇ¿ Á̌Lˇ Ô‰Ü ˜̌¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ, ÜˇÊ‹ˇÊ¿ˇ μÌ̌ ∑Á¿ˇ Ôí ̌Wˆø H DaˇÜˇÊ¿ˇ SÎ~≠ˇ¡ˇ ”ÛÔS ”∑Êúˇ >
®ÌØˇˆ AúÎˇ”ÁïÊûˇÔ¿ˇ íˇ…ÊˆæÊBdÁ Ôæ,

ABCD ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜≠ˇ¡ˇ =  EFCD  AÊflÜˇÔ‰Ü ˜̌¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ
S�  ABCD ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ  = DC x DE

   = DC x AX  (� DE = AX)
   = μÌˇ∑Á¿ˇ ÔíˇWˆø x DaˇÜˇÊ

(�BE
↔  II DC

↔  FØˇÛ ED  H AX � DμˇÔfl DC  ®˜ÜˇÁ ‡ˇ∫ )

AE F B

CXD
(` Á̌Ü ˜̌ 4.7)

{
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 AúÎˇ”ÁïÊûˇ -  (4)

 ”∑Êúˇ ”∑Êúˇ μÌˇ∑Á FØˇÛ FLˇÊ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊíˇ¥fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜SÎ›ÁLˇ¿ˇ
Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ<>   (� ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = μÌˇ∑Á x  DaˇÜˇÊ)
AúÎˇ”ÁïÊûˇ -  (5)

ÔSÊsÁF Üˇ˜ÁμÎˇf H ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜ FLˇÊ μÌˇ∑Á D®Ô¿ˇ FØˇÛ FLˇÊ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ íˇ¥fl
∑öÔ¿ˇ AØˇ◊ÁÜˇ ( AêÊˆÜ˙ˇ FLˇ DaˇÜˇÊ ØˇÁ…ÁŒ) Ô‹ˇÔ‡ˇ, Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ, ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ¿ˇ
AÔïˆLˇ Ô‹ˇØˇ<>

BC  ®˜ÜˇÁ AD  H XE  ‡ˇ∫ AZˇúˇ Lˇ¿ˇ <>
�� ABC ¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ = 1

2  BC . AD

FØˇÛ ”Ê∑Êûˇ¿ˇÁLˇ  XBCY  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = BC.XE

LˇÁûÎˇ XY
↔  II BC

↔     S� XE = AD

S� �� ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ  = 1
2  BC. XE = 1

2  (”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜  XBCY¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ)
ØˇÁ:íˇ˜ : AúÎ̌ ”ÁïÊûˇ  (2)  ¿Îˇ fÊ~ÁÔd, FLˇÊ μÌˇ∑Á D®Ô¿ˇ FØˇÛ FLˇÊ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊíˇ¥fl ∑öÔ¿ˇ

AØˇ◊ÁÜˇ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜ H AÊflÜˇÔ‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ< >
ÔÜˇ~Î AúÎˇ”ÁïÊûˇ - 5  ¿Îˇ ®ÊBØˇÊ ÔSÊsÁF Üˇ˜ÁμÎˇf FØˇÛ ÔSÊsÁF AÊflÜˇÔ‰Üˇ˜ FLˇÊ μÌˇ∑Á D®Ô¿ˇ AØˇ◊ÁÜˇ

FØˇÛ FLˇ DaˇÜˇÊ ØˇÁ…ÁŒ Ô‹ˇÔ‡ˇ, Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ AÊflÜˇÔ‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ¿ˇ AÔïˆLˇ Ô‹ˇØˇ <>

D®®Êíˇø - 34

FLˇÊ μÌ̌ ∑Á D®Ô¿ˇ FØˇÛ FLˇÊ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊí ¥̌fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ Ü ˜̌ÁμÎ̌ fSÎ›ÁLˇ¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ
”∑Êúˇ<>

(Triangles on the same base and between the same parallels are equal in area.)

íˇàˇ : � ABC  H �� DBC  íˇ¥fl FLˇÊ μÌˇ∑Á BC  D®Ô¿ˇ FØˇÛ FLˇÊ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ AD
↔

H BC
↔   ∑öÔ¿ˇ AØˇ◊ÁÜˇ< >

®˜Ê∑Ê~ø : � ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = � DBC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ
AZˇúˇ : BC  ¿ˇ B H C ØˇÁ¢ÎˇÔ¿ˇ æêÊLˇ˜Ô∑ BX  H CY

‡ˇ∫ AZˇúˇ Lˇ¿ˇ<>
®˜∑Ê~ : XB  H YC  DμˇÔfl BC  ®˜ÜˇÁ ‡ˇ∫ Ô‹ˇÜÎˇ

XBCY  FLˇ AÊflÜˇÔ‰Üˇ˜<  >

X A Y

CDEB

(` Á̌Ü ˜̌ 4.8)

(` Á̌Ü ˜̌ 4.9)

A Y D

CB

X
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� ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ  = 1
2  (AÊflÜˇÔ‰Üˇ˜  XBCY  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ)

FØˇÛ �� DBC  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 1
2  (AÊflÜˇÔ‰Üˇ˜  XBCY ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ)

(FLˇÊ μÌˇ∑Á D®Ô¿ˇ FØˇÛ FLˇÊ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊíˇ¥fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ Ô‹ˇÜÎˇ)
S� � � ABC ¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ  = � DBC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ
AúÎˇ”ÁïÊûˇ :  ”∑Êúˇ ”∑Êúˇ μÌˇ∑Á D®Ô¿ˇ FØˇÛ FLˇÊ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ íˇ¥fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ

AêÊˆÜ˙ˇ ”∑Êúˇ DaˇÜˇÊ ØˇÁ…ÁŒ Üˇ˜ÁμÎˇfSÎ›ÁLˇ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ >

D®®Êíˇø - 35

”∑Êúˇ Ô‰Üˇ̃≠ˇ¡ˇ Ø Á̌…Œ Üˇ̃ÁμÎ̌ f ∑ÊúˇZˇ¿ˇ μÌ̌ ∑Á ”∑Êúˇ Ô‹ˇÔ‡ˇ, Ô”∑ÊúˇZˇ¿ˇ AúÎ̌ ¿Ì̌ ® DaˇÜˇÊ ”∑Êúˇ<>
 ( Triangles with equal areas and equal bases have equal corresponding altitudes)

íˇàˇ : � ABC  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = �� DEF ¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ
íˇàˇ Üˇ˜ÁμÎˇfíˇ¥fl ”∑Êúˇ ”∑Êúˇ μÌˇ∑Á ØˇÁ…ÁŒ AêÊˆÜ˙ˇ BC=EF

®˜Ê∑Ê~ø : Üˇ˜ÁμÎˇfíˇ¥fl¿ˇ DaˇÜˇÊ ”∑Êúˇ<>

AZˇúˇ :  A H D ØˇÁ¢Îˇ¿Îˇ æêÊLˇ˜Ô∑ BC  H EF

   ®˜ÜˇÁ AM H DN  ‡ˇ∫ AZˇúˇ Lˇ¿ˇ< >

®˜∑Ê~ :  AM  H  DN  æêÊLˇ˜Ô∑ �� ABC  H �� DEF  ¿ˇ DaˇÜˇÊ<> Üˇ˜ÁμÎˇf íˇ¥flÔ¿ˇ  BC=EF

S� �� ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 1
2   BC . AM

 FØˇÛ �� DEF ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 1
2   EF . DN

 L Á̌ûÎ̌  �� ABC  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = �� DEF ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ

T 1
2   BC . AM = 1

2   EF . DN T� AM = DN  (� BC = EF)

 AêÊˆÜ˙ˇ �� ABC  H �� DEF  ¿ˇ DaˇÜˇÊíˇ¥fl ”∑Êúˇ >  (®˜∑Ê~ÁÜˇ)
AúÎˇ”ÁïÊûˇ : ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ Üˇ˜ÁμÎˇf ∑ÊúˇZˇ¿ˇ DaˇÜˇÊ ”∑Êúˇ Ô‹ˇÔ‡ˇ Ô”∑ÊúˇZˇ¿ˇ μÌˇ∑Á∑Êúˇ ”∑Êúˇ

ÔíˇWˆø ØˇÁ…ÁŒ Ô‹ˇØˇ<>
D®®Êíˇø - 36

FLˇÊ μÌˇ∑Á D®Ô¿ˇ FØˇÛ ÜˇÊ‹ˇÊ¿ˇ FLˇ ®Ê…¥ˆÔ¿ˇ AØˇ◊ÁÜˇ ”∑Êúˇ Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ Üˇ˜ÁμÎˇf ∑Êúˇ FLˇÊ
”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊíˇ¥fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ<>

 ( If triangles of equal area situated  on the same base and the same side of it
then they lie between same parallels)

A

MB C

D

NE F

(` Á̌Ü ˜̌ 4.10)
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íˇàˇ :  ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ � ABC  H � PBC  íˇ¥fl FLˇÊ μÌˇ∑Á BC  D®Ô¿ˇ FØˇÛ ÜˇÊ‹ˇÊ¿ˇ FLˇ
®Ê…¥ˆÔ¿ˇ AØˇ◊ÁÜˇ<>

®˜Ê∑Ê~ø :  AP
↔  II BC

↔

AZˇúˇ :  A  H  P  ØˇÁ¢Îˇ¿Îˇ BC  ®˜ÜˇÁ æêÊLˇ˜Ô∑
AX  H PY  ‡ˇ∫ AZˇúˇ Lˇ¿ˇ<>

®˜∑Ê~ : AX  H PY  æêÊLˇ˜Ô∑ � ABC  H � PBC  ¿ˇ DaˇÜˇÊ FØˇÛ BC  Dμˇfl¿ˇ ”ÊôÊ¿ˇ~ μÌˇ∑Á<>

S� �� ABC  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 1
2  BC.AX FØˇÛ � PBC  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 1

2  BC . PY

 LˇÁûÎˇ �  ABC  H �  PBC  íˇ¥fl ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ

S 1
2  BC. AX = 1

2  BC.PY T  AX = PY

 ®Îúˇ ˇ AX  H PY   DμˇÔfl BC  ®˜ÜˇÁ ‡ˇ∫ T  AX
↔  II PY

↔

�� AX  H PY  ”∑Êûˇ¿ˇ FØˇÛ ”∑ÔíˇWˆøØˇÁ…ÁŒ > ÔÜˇ~Î AP
↔  II XY

↔

T  AP
↔  II BC

↔ (®̃∑Ê~ÁÜˇ)

4.5 Ô‰Üˇ˜≠ˇ¡ˇ ”∫§ˇÍfl ÔLˇÔÜˇLˇ ”ÁïÊûˇ :
1. Üˇ˜ÁμÎˇf H ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜ (ØˇÊ Ô”‹ˇÁ®¿ˇÁ Ô‰Üˇ˜ - AÊflÜˇÔ‰Üˇ˜, ØˇSˆÔ‰Üˇ˜, ¿ˇ∫”) ∑ÊúˇZˇ¿ˇ

Ô‰Üˇ˜≠ˇ¡ˇ,  Ô”∑ÊúˇZˇ¿ˇ μÌˇ∑Á (ÔSÊsÁF ØˇÊ‹Îˇ) FØˇÛ DaˇÜˇÊ  (Ô”‹ˇÁ ØˇÊ‹ˇÎ¿ˇ ØˇÁ®¿ˇÍÜˇ ÔLˇÚ~ÁLˇ ØˇÁ¢Îˇ¿Îˇ AZˇÁÜˇ
‡ˇ∫) D®Ô¿ˇ úˇÁμˇˆ¿ˇ LˇÔ¿ˇ >

2. F‹ˇÁ Ô‰Üˇ˜∑ÊúˇZˇÔ¿ˇ μÌˇ∑Á¿ˇ ÔíˇWˆø, DaˇÜˇÊ H Ô‰Üˇ˜≠ˇ¡ˇ ∑ö¿Îˇ ÔæÔLˇÚ~”Á íÎˇBsÁ FLˇÊ ØˇÊ ”∑Êúˇ
Ô‹ˇÔ‡ˇ, ÜıˇÜˇÍflsÁ FLˇÊ ØˇÊ ”∑Êúˇ Ô‹ˇØˇ >

3. íÎˇBsÁ Üˇ˜ÁμÎˇf ØˇÊ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜ FLˇÊ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊíˇ¥fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ Ô‹ˇÔ‡ˇ
Ô”∑ÊúˇZˇ¿ˇ DaˇÜˇÊ ”∑Êúˇ FØˇÛ ØˇÁ®¿ˇÍÜˇ Lˇ˜Ô∑, Ô”∑ÊúˇZˇ¿ˇ DaˇÜˇÊ ”∑Êúˇ Ô‹ˇÔ‡ˇ FØˇÛ Ô”∑ÊÔúˇ FLˇ
μÌˇ∑Á¿ˇ FLˇ ®Ê…¥ˆÔ¿ˇ êèÔ‡ˇ Ô”∑ÊÔúˇ FLˇÊ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ ∑öÔ¿ˇ AØˇ◊ÁÜˇ Ô‹ˇÔØˇ >

4. ÔSÊsÁF Ü ˜̌ÁμÎ̌ f H ÔSÊsÁF ”Ê∑Êûˇ¿ Á̌LˇÔ‰Ü ˜̌ (ØˇÊ AÊflÜˇ Ô‰Ü ˜̌) FLˇÊ μÌ̌ ∑Á (ØˇÊ ”∑Êúˇ μÌ̌ ∑Á) D®Ô¿ˇ
AØˇ◊ÁÜˇ FØˇÛ FLˇÊ (ØˇÊ ”∑Êúˇ) DaˇÜˇÊ Ø Á̌…ÁŒ Ô‹ˇÔ‡ˇ Ü ˜̌ÁμÎ̌ f¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ ”Ê∑Êûˇ¿ Á̌Lˇ Ô‰Ü ˜̌ (ØˇÊ AÊflÜˇÔ‰Ü ˜̌)
¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ AÔïˆLˇ Ô‹ˇØˇ >

5. FLˇÊ (ØˇÊ ”∑Êúˇ) μÌˇ∑Á FØˇÛ FLˇÊ (ØˇÊ ”∑Êúˇ) DaˇÜˇÊ ØˇÁ…ÁŒ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜, AÊflÜˇÔ‰Üˇ˜,
¿ˇ∫” H ØˇSˆÔ‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ >

A P

YXB C

(` Á̌Ü ˜̌ 4.11)
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AúÎˇ…Í¡ˇúˇÍ -  4
(Lˇ) - ØˇÁμˇÊS

1.  Üˇ¡ˇ‡ˇÁQèÜˇ `ˇÁÜˇ˜ SÎ›ÁLˇ ∑ö¿Îˇ ÔLˇDÙêèÔ¿ˇ  `ˇÁÜˇ˜ÁÜˇ  (Shaded) Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ AÊflÜˇÔ‰Üˇ˜¿ˇ
Ô‰Üˇ˜≠ˇ¡ˇ¿ˇ AôÊ ?

2.  `ˇÁÜˇ˜  4.13 Ô¿ˇ  ABCD  H  DCEX  íÎˇBsÁ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜,  AB = CF; B  H  X
ØˇÁ¢Îˇ  A  H  E  ¿ˇ ∑öØˇàˇˆÍ Ô‹ˇÔ‡ˇ,

(i)  úˇÁ∑ß‡ˇÁQèÜˇ DNˇÁSÎ›ÁLˇ ∑ö¿Îˇ ÔLˇDÙ SÎ›ÁLˇ vˇÁL˙ˇ DNˇÁ<-
  (a) ABCD  H  DCEX  Ô‰Üˇ˜íˇ¥fl ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ<>
  (b) ABCD  H  CFEX  Ô‰Üˇ˜íˇ¥fl ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ<>
  (c) DCEX  H  EFCB  Ô‰Üˇ˜íˇ¥fl ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ<>
  (d) DCEX  H  CFEX  Ô‰Üˇ˜íˇ¥fl ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ<>

(ii)  úˇÁÔ∑ßÊNˇ DNˇÁ∑ÊúˇZˇÔ¿ˇ μÎˇ‡ˇ êèÔ‡ˇ ”ÛÔ…Êôúˇ Lˇ¿ˇ<>
  (a) � XDC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 1

2
 ABCD  Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ<>

  (b) � XCE ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 1
2

 BCFE  Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ<>
  (c) � BCE  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 1

2
 BCFE  Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ<>

  (d) � CEX  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = � CEF  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ<>
  (e) ABCD  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ =  2 x � CEF  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ<>
  (f) BCEF ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ =  2 x � DCX  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ<>

3.  ®Ê…¥ˆ◊ `ˇÁÜˇ˜Ô¿ˇ

AF
↔  II BG

↔ ,  AB
↔  II DC

↔ ,
BE
↔  II CF

↔  H AC
↔  II DG

↔

 (a)  …Ìúˇø◊Êúˇ ®Ì¿ˇ~ Lˇ¿ˇ :
 (i) ABCD  Ô‰Üˇ˜”‹ˇ ............... H ............. Ô‰Üˇ˜íˇ¥fl¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ<>
 (ii) � ABC  Ô‰Üˇ˜”‹ˇ ..... H ........... Ô‰Üˇ˜íˇ¥fl¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ<>

A X E

FCD

B

(` Á̌Ü ˜̌ 4.13)

A B(i)

D C

A (ii)

D C

B(iii)

D C

A B(iv)

D C

A B(v)

D C

B A

(` Á̌Ü ˜̌ 4.12)

E

E

E
E

12345678901234567890
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12345678901234567890
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12345678901234567890

12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890

12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890

12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890
12345678901234567890

123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901
123456789012345678901

A E D F

CB G

(` Á̌Ü ˜̌ 4.14)
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 (b)  ®˜∑Ê~ Lˇ¿ˇ Ôæ :
 (i) �� ABC  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ  = 1

2
 (ACGD  Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ)

 (ii) �� ACD  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ  = 1
2

 (BCFE  Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ)
 (c) E  æíˇÁ AD  ¿ˇ ∑öØˇÁ¢Îˇ ‹ÎˇF, ÔÜˇÔØˇ úˇÁÔ∑ßÊNˇ Ô‰Üˇ˜∑ÊúˇZˇ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ∑öÔ¿ˇ ”Û®Lˇˆ úˇÁÇˇˆfl Lˇ¿ˇ<>

 (i) �� ABC  H �� BCF (ii) �� AEB  H ”Ê∑Êûˇ¿ˇÁLˇ  ABCD
(iii) �� BCF  H  BCFE  Ô‰Ü ˜̌, (iv) �� DFC  H ”Ê∑Êûˇ¿ˇÁLˇ  BCFE FØˇÛ
(v) �� ABE  H �� DCF.

4.  `ˇÁÜˇ˜  4.15 (i)  H  (ii)  Ô¿ˇ `ˇÁ‹ˇßÁÜˇ AÛ…íˇ¥fl¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ LˇÊ‹ˇËLˇÁ ”∑Êúˇ ?

(Q) - ØˇÁμˇÊS
5. `ˇÁÜˇ˜ 4.16 Ô¿ˇ  ABCD  FLˇ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜; CX W AD , BY W CA

→   FØˇÛ

CZ W BA
→ .  úˇÁ∑ß‡ˇÁQèÜˇ DNˇÁ∑ÊúˇZˇ¿Îˇ ÔLˇDÙ DNˇÁ vˇÁL˙ˇ ? LˇÊ¿ˇ~ íˇ…ÊˆA >

 (i) AD.CX = BZ.CZ

 (ii) AD.CX = CY.BY

 (iii) BZ.CZ = AC.BY

 (iv) BC.CX = AB.CZ

 (v) AB.CZ = 2AC.BY

6. �� ABCÔ¿ˇ BC  H AC ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø æêÊLˇ˜Ô∑ 16 Ô”.∑Á. H 12 Ô”.∑Á. <>
A  ¿Îˇ BC  D®Ô¿ˇ ®ÜˇÁÜˇ ‡ˇ∫¿ˇ ÔíˇWˆø  9  Ô”:∑Á:<>
(i) � ABC  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ◊Á¿ˇ Lˇ¿ˇ<>
(ii) B ¿Îˇ AC  D®Ô¿ˇ ®ÜˇÁÜˇ ‡ˇ∫¿ˇ ÔíˇWˆø úˇÁÇˇˆfl Lˇ¿ˇ<>

7. ABCD  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜Ô¿ˇ AN W BC   FØˇÛ AM W CD

BC = 25  Ô”.∑Á.;   AN = 10  Ô”.∑Á.
 CD = 15  Ô”.∑Á. Ô‹ˇÔ‡ˇ
 (i) AM  ÔLˇÔÜˇ Ô‹ˇØˇ ◊Á¿ˇ Lˇ¿ˇ >
 (ii) �� ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ◊Á¿ˇ Lˇ¿ˇ >
 (iii) �� ADC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ◊Á¿ˇ Lˇ¿ˇ >

(` Á̌Ü ˜̌ 4.16)

Y Z

A

B C

X D

(` Á̌Ü ˜̌ 4.15)(i) (ii)

A

C

D

N

(` Á̌Ü ˜̌ 4.17)

M

B
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8. ` Á̌Ü ˜̌  4.18 Ô¿ˇ  ABCD  FLˇ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜< >
P Q  II AD ,  XY  II AB
®˜∑Ê~ Lˇ¿ˇ Ôæ,
(i) POYB  H  XOQD  Ô‰Üˇ˜íˇ¥fl ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ<>
(ii) AXYB  H  APQD Ô‰Ü ˜̌í ¥̌fl ”∑Ô‰Ü ˜̌≠ˇ¡ˇ Ø Á̌…ÁŒ<>
(iii) PBCQ  H  XYCD  Ô‰Üˇ˜íˇ¥fl ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ<>

9. íˇàˇ ∑Êúˇ AúÎˇæÊflÍ úˇÁ∑ß‡ˇÁQÁÜˇ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜SÎ›ÁLˇ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ úˇÁÇˇˆfl Lˇ¿ˇ- æÊ‹ˇÊ¿ˇ,
 (i)  DaˇÜˇÊ  5  Ô”.∑Á. H μÌˇ∑Á¿ˇ ÔíˇWˆø  10  Ô”.∑Á.,
 (ii)  ÔSÊsÁF ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø  18  ∑Á. H ØˇÁ®¿ˇÍÜˇ ”∑Êûˇ¿ˇ ØˇÊ‹ÎˇvˇÊ¿Îˇ ÜˇÊ‹ˇÊ¿ˇ íÌˇ¿ˇÜˇÊ 7 Ô”:∑Á:<>
 (iii) μÌˇ∑Á¿ˇ ÔíˇWˆø  120  Ôxˇ:∑Á: H ÜˇÊ‹ˇÊ¿ˇ ØˇÁ®¿ˇÍÜˇ FLˇ ÔLˇÚ~ÁLˇ ØˇÁ¢Îˇ¿Îˇ AZˇÁÜˇ ‡ˇ∫  22  Ôxˇ:∑Á:<>

10. ` Á̌Ü ˜̌  4.19  Ô¿ˇ AP W BC , CQ W AB   FØˇÛ  XBCY  FLˇ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜;
úˇÁ∑ß íˇàˇ ∑Êúˇ AúÎˇæÊflÍ � ABC  H  XBCY  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜≠ˇ¡ˇ úˇÁÇˇˆfl Lˇ¿ˇ FØˇÛ
íˇ…ÊˆA Ôæ, �� ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ,  XBCY

”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ¿ˇ AÔïˆLˇ< >
(i) BC = 16  Ô”:∑Á:,  AP = 6  Ô”:∑Á:
(ii) AB = 12  Ô”:∑Á:,  CQ = 8  Ô”:∑Á:<>

(S) - ØˇÁμˇÊS
11. ÔSÊsÁF ØˇSˆÔ‰Ü ˜̌ H ÔSÊsÁF ¿ˇ∫” FLˇÊ μÌ̌ ∑Á D®Ô¿ˇ H ÜˇÊ‹ˇÊ¿ˇ FLˇ ®Ê…¥̂Ô¿ˇ AØˇ◊ÁÜˇ ; Ô”∑ÊúˇZˇ¿ˇ

Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ ; ®˜∑Ê~ Lˇ¿ˇ Ôæ, Ô”∑ÊÔúˇ FLˇ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊíˇ¥fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ<>
12. � ABC ¿ˇ BC  D®¿ˇÁ◊ D F®¿ˇÁ FLˇ ØˇÁ¢Îˇ Ôæ®¿ˇÁLˇÁ BD = 1

2
DC >

®˜∑Ê~ Lˇ¿ˇ Ôæ,  � ABD ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 1
3  x � ABC ¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ >

13. ®˜∑Ê~ Lˇ¿ˇ Ôæ, ÔLˇÚ~”Á Üˇ˜ÁμÎˇf¿ˇ ∑ö∑Ê ÜˇÊ‹ˇÊLÎˇ íÎˇB ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ Üˇ˜ÁμÎˇfÔ¿ˇ ØˇÁμˇNˇ LˇÔ¿ˇ<>
14. ®˜∑Ê~ Lˇ¿ˇ Ôæ, ”Ê∑Êûˇ¿ Á̌Lˇ Ô‰Ü ˜̌¿ˇ ÔSÊsÁF LˇÇ ˆ̌ Ô‰Ü ˜̌sÁLÎ̌  íÎ̌ BÔSÊsÁ ”∑Ô‰Ü ˜̌≠ˇ¡ˇ Ø Á̌…ÁŒ Ü ˜̌ÁμÎ̌ fÔ¿ˇ

Ø Á̌μˇNˇ LˇÔ¿ˇ<>
15. `ˇÁÜˇ˜ 4.20 Ô¿ˇ  ABCD FLˇ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜< > ®˜∑Ê~ Lˇ¿ˇ Ôæ,

(i) ADQP  H  BCQP  Ô‰Üˇ˜íˇ¥fl ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ<>

(ii) �AOD¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ= 1
4 ABCD ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ< >

16. ABCD  FLˇ s˜Ê®ÁfÁfl∑˙ ; F‹ˇÊ¿ˇ AB
↔  II DC

↔ ; ®˜∑Ê~ Lˇ¿ˇ Ôæ,
 (i) � ADC  H � BDC  ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ<>
 (ii) � ADB  H � ACB  ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ<>

X A Y

CB P

Q

(` Á̌Ü ˜̌ 4.18)

(` Á̌Ü ˜̌ 4.19)

P B

CQD

A

O

(` Á̌Ü ˜̌ 4.20)



[ 85 ]

17. � ABC ¿ˇ  E H F æêÊLˇ˜Ô∑ AB  H AC  ¿ˇ ∑öØˇÁ¢Îˇ<>
(i) íˇ…ÊˆAÔæ,  EBCF FLˇ s˜Ê®ÁfÁfl∑˙ >
(ii) � ABC ¿ˇ ���������	 50 
�����
��	 �������	 ������	 ���	 EBCF ��������
���	 ���������
   37.5 
�����
�� �

18. � ABC ¿ˇ  E H F æêÊLˇ˜Ô∑ AB  H AC  ¿ˇ ∑öØˇÁ¢Îˇ<> CE  H BF  ¿ˇ ����
�� !�	 O	 �������
������	 ���	 � OBC��	 ���������	 = AEOF	 "��!�#!�����	 ��������� �

19. ������	��	�$���%	��
�&����'�	Ô������	 '�(����)�	��
�&����'�	�����'!�	 "������$���	�
���������

����*	 ����#!�����	 ����+��	 '���� �

20. Ô‰Üˇ˜≠ˇ¡ˇ ”∫§ˇÍfl D®®Êíˇø ®˜ÔflÊS Lˇ¿ˇÁ ®˜∑Ê~ Lˇ¿ˇ Ôæ,
(i)  Ü ˜̌ÁμÎ̌ f¿ˇˇ ÔLˇÚ~”Á íÎ̌ B ØˇÊ‹Î̌ ¿ˇ ∑öØ Á̌¢Î̌ LÎ̌  ÔæÊS Lˇ¿Î̌ êØˇÊ ”¿ˇ¡ˇÔ¿ˇQÊ Üı̌ ÜˇÍfl ØˇÊ‹Î̌  ”ÛÔS ”∑Êûˇ¿ˇ<>
(ii) s˜Ê®ÁfÁA∑¿ˇ A”∑Êûˇ¿ˇ ØˇÊ‹Î̌ í ¥̌fl¿ˇ ∑öØ Á̌¢Î̌ LÎ̌  ÔæÊS Lˇ¿Î̌ êèØˇÊ ”¿ˇ¡ˇÔ¿ˇQÊ ”∑Êûˇ¿ˇ ØˇÊ‹Î̌ í ¥̌fl ”‹ Á̌Üˇ ”∑Êûˇ¿ˇ<>

21. P, ABCD  ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜¿ˇ FLˇ Aûˇ@◊ ØˇÁ¢Îˇ Ô‹ˇÔ‡ˇ ®˜∑Ê~ Lˇ¿ˇ Ôæ,
�� ABP ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ + �� CDP ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ  = 1

4 ABCD ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ
22. ` Á̌Ü ˜̌  4.21 Ô¿ˇ êèØˇÊ �� ABC Ô¿ˇ AB = AC;

BC  D®¿ˇÁ◊ P  ÔLˇÚ~”Á FLˇ ØˇÁ¢Îˇ< >
PX W AB , PY W AC   H

CQ W AB  Ô‹ˇÔ‡ˇ ®˜∑Ê~ Lˇ¿ˇ Ôæ,  PX + PY = CQ

23. �ABC ”∑ØˇÊ‹Î̌ ;  O  F‹ˇÊ¿ˇ Aûˇ@◊ FLˇ ØˇÁ¢Îˇ ; OX , OY  H OZ  æêÊLˇ˜Ô∑ �¿ˇ
 ØˇÊ‹Îˇ∑ÊúˇZˇ ®˜ÜˇÁ ‡ˇ∫ ; ®˜∑Ê~ Lˇ¿ˇ Ôæ, OX + OY + OZ = Üˇ˜ÁμÎˇf¿ˇ DaˇÜˇÊ >

24.   íˇ…ÊˆA Ôæ, ÔSÊsÁF ¿ˇ∫”˙¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ, F‹ˇÊ¿ˇ LˇÇˇˆíˇ¥fl¿ˇ ÔíˇWˆø¿ˇ SÎ~≠ˇ¡ˇ¿ˇ AÔïˆLˇ >
25.   �� ABC ¿ˇ AD  ∑ö∑Ê D®Ô¿ˇ  X  Ôæ ÔLˇÚ~”Á FLˇ ØˇÁ¢Îˇ Ô‹ˇÔ‡ˇ ®˜∑Ê~ Lˇ¿ˇ Ôæ,

�� ABX  H �� ACX  ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ<>
26. �� ABC ¿ˇ BC ØˇÊ‹Îˇ D®Ô¿ˇ  P  ÔLˇÚ~”Á FLˇ ØˇÁ¢Îˇ ; AP ¿ˇ ∑öØˇÁ¢Îˇ  X  Ô‹ˇÔ‡ˇ,

®˜∑Ê~ Lˇ¿ˇ Ôæ, �� XBC  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 1
2

 (� �� ABC  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ) >
27. ABCD  FLˇ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜ ;  P H Q  æêÊLˇ˜Ô∑ AB  H DC  ¿ˇ ∑öØˇÁ¢Îˇ<>

®˜∑Ê~ Lˇ¿ˇ Ôæ, PBQD  Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ABCD  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ¿ˇ AôÊ<>
28. ®˜∑Ê~ Lˇ¿ˇ Ôæ ÔLˇÚ~”Á Üˇ˜ÁμÎˇf¿ˇ ØˇÊ‹Îˇ∑ÊúˇZˇ¿ˇ ∑öØˇÁ¢Îˇ SÎ›ÁLÎˇ ÔæÊS Lˇ¿ÎˇêØˇÊ Ô¿ˇQÊQÉ Üˇ˜fl

Üˇ˜ÁμÎˇfsÁLÎˇ `ˇÊÔ¿ˇÊsÁ ”∑Êúˇ Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ Üˇ˜ÁμÎˇfÔ¿ˇ ØˇÁμˇNˇ Lˇ¿ˇûˇÁ< >
29. ABCD  `ˇÜÎˇμÎˇˆf¿ˇ AC  H BD  LˇÇ ˆ̌í ¥̌fl ®¿ˇÿ¿ˇLÎ̌   O  ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇûˇÁ;  AO = CO

Ô‹ˇÔ‡ˇ, ®˜∑Ê~ Lˇ¿ˇ Ôæ � ABD  H � BCD  íˇ¥fl ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ<>
30. D, E H F �,�'���
	 � ABC ��	 -	 ��	 
.	 
�� !� �	 ������	 ���	 (i) FDCE %'�	 ��
�&����'�

"�����	 %
�/	 (ii) FDCE ��
�&����'�	 �������	 ���������	 = 1
2
� ABC ��	 ��������� �

A

P

Q

X Y

B C(` Á̌Ü ˜̌ 4.21)
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�� 5.1� �����ABC� "#� ���#	!%� 
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∠ABC �#	!�"#����#	! �����#	! ���F�?%���	��#��#0+
@HypotenuseA�)���'�2���	��� AB �)� BC ����7���� 	��#�
�8���@BaseA�)���'��#���C�@PerpendicularA�#��	1	" ��
����&�
�A��#	!��	�G�BC#���C�"�=�AB#���8���#��	1	" �

L Á̌ûÎ̌  �C ÔLˇÊ~ ®ÊBÙ AB  LÎˇ ‡ˇ∫  H BC  LÎˇ μÌˇ∑Á LÎˇ‹ˇÊæÊF > AêÊˆÜ˙ˇ ”∑ÔLˇÊ~ ØˇøÜˇÍÜˇ Ôæ
ÔLˇÚ~”Á ÔLˇÊ~®ÊBÙ ÜˇÊ‹ˇÊ ”‹ˇÁÜˇ ”Û‡ˇSß ØˇÊ‹ÎˇLÎˇ μÌˇ∑Á H ÔLˇÊ~¿ˇ ”ºÎQÍúˇ ØˇÊ‹ÎˇLÎˇ ‡ˇ∫ LÎˇ‹ˇÊæÊF >

A

B C

h= p b2 2+

p

b
(`ˇÁÜˇ˜ 5.1)
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‡ˇ∫, μÌˇ∑Á H LˇÇˇˆLÎˇ æêÊLˇ˜Ô∑ p, b H h íˇ¥Ê¿ˇÊ ”Ì`ˇÁÜˇ Lˇ¿ˇÊæÊF > ÔÜˇ~Î ®ÁêÊÔSÊ¿ˇÊ”˙Zˇ D®®Êíˇø
AúÎˇ”ÊÔ¿ˇ, AC2 = AB2 + BC2 AêÊˆÜ˙̌  h2 = p2 + b2 >

F‹ˇÁ D®®Êíˇø¿ˇ ØˇÁ®¿ˇÍÜˇ Lˇêú ∑ôø ”Üˇø > AêÊˆÜ˙ˇ ""ÔLˇÚ~”Á Üˇ˜ÁμÎˇf¿ˇ FLˇ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø¿ˇ
ØˇSˆ ÜˇÊ‹ˇÊ¿ˇ Aúˇø íÎˇB ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø¿ˇ ØˇSˆ¿ˇ ”∑ŒÁ ”‹ˇ ”∑Êúˇ Ô‹ˇÔ‡ˇ, Üˇ˜ÁμÎˇfsÁ ”∑ÔLˇÊ~Í >''

AúÎˇ”ÁïÊûˇ :
1.  ÔSÊsÁF AÊflÜˇÔ‰Üˇ˜¿ˇ ®˜ÔÜˇøLˇ ÔLˇÊ~ FLˇ ”∑ÔLˇÊ~; ÔÜˇ~Î F‹ˇÊ¿ˇ ”∑ÔLˇÊ~ ”Û‡ˇSß ØˇÊ‹Îˇíˇ¥fl

a FLˇLˇ H b FLˇLˇ Ô‹ˇÔ‡ˇ, ®˜ÔÜˇøLˇ LˇÇˇˆ¿ˇ ÔíˇWˆø =  a b2 2+  FLˇLˇ
2.  ØˇSˆÔ‰Üˇ˜ ∑ôø ÔSÊsÁF AÊflÜˇÔ‰Üˇ˜ H ®˜ÔÜˇøLˇ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø  ”∑Êúˇ > F‹ˇÊ¿ˇ ØˇÊ‹Îˇ¿ˇ

ÔíˇWˆø a FLˇLˇ Ô‹ˇÔ‡ˇ, ØˇSˆÔ‰Üˇ˜¿ˇ LˇÇˇˆ¿ˇ ÔíˇWˆø = a a a a a2 2 22 2 2+ = = =.  FLˇLˇ
AêÊˆÜ˙ˇ LˇÇˇˆ¿ˇ ÔíˇWˆø = 2  x ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø
3.  ABC ”∑ØˇÊ‹Îˇ Üˇ˜ÁμÎˇf¿ˇ AB = BC = CA = a  FLˇLˇ Ô‹ˇÔ‡ˇ FØˇÛ DaˇÜˇÊ  AD = h FLˇLˇ Ô‹ˇÔ‡ˇ,

h2 = AD2 = AB2 – BD2 = a2 – a a
2

3
4

2 2�
�
�
� =

�� � h =  3
2 a FLˇLˇ

”∑ØˇÊ‹Îˇ Üˇ˜ÁμÎˇf¿ˇ DaˇÜˇÊ= 3
2  x ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø

5.2  ”¿ˇ¡ˇÔ¿ˇQÁLˇ Ô‰Üˇ˜ H F‹ˇÊ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ (Polygonal region and its area) :
®¿ˇÿ¿ˇ¿ˇ AûˇÔíˇˆ…LÎˇ Ôdíˇ Lˇ¿Îˇ úˇ êèØˇÊ ””Í∑ ”ÛQøLˇ ÜˇÁ˜μÎˇfÊLˇÊ¿ˇ Ô‰Üˇ˜¿ˇ ”ÛÔæÊSLÎˇ FLˇ

Øˇ‹ÎˇμÎˇfÊLˇÊ¿ˇ ØˇÊ ”¿ˇ¡ˇÔ¿ˇQÁLˇ Ô‰Üˇ˜ (Polygonal region and its area) LÎˇ‹ˇÊæÊF >  ”¿ˇ¡ˇÔ¿ˇQÁLˇ
Ô‰Üˇ˜ íˇ¥Ê¿ˇÊ AÊØˇï AÛ…¿ˇ ®¿ˇÁ∑Ê~ úˇÁÇˇˆfl Lˇ¿ˇÁØˇÊ¿ˇ AÊØˇ…øLˇÜˇÊ ØˇøØˇ‹ˇÊ¿ˇÁLˇ fÍØˇúˇÔ¿ˇ ���-� �	��
*��H > ”ÊôÊ¿ˇ~ μˇÊØˇÔ¿ˇ F‹ˇÊ FLˇ fsÁ¡ˇ ”∑”øÊ > ÔÜˇ~Î F ”∫§ˇÔ¿ˇ úˇÁ∑ß‡ˇÁQÁÜˇ ”¥ÍLˇÊæˆøsÁLÎˇ S˜‹ˇ~
Lˇ¿ˇÊæÊBdÁ > ”ÎØˇÁôÊ ®ÊBÙ Üˇ˜ÁμÎˇfÊLˇÊ¿ˇ (`ˇÜÎˇμÎˇˆfÊLˇÊ¿ˇ) Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇLÎˇ Üˇ˜ÁμÎˇf (`ˇÜÎˇμÎˇˆf)¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ
∑ö LÎˇ‹ˇÊæÊF >

Ô‰Üˇ˜≠ˇ¡ˇ ”¥ÍLˇÊæˆø  (Area Postulates) :
(a)  ÔSÊsÁF ”¿ˇ¡ˇÔ¿ˇQÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ FLˇ úˇÁîÈŒ ôúˇÊäLˇ ØˇÊ÷Øˇ ”ÛQøÊ >
(b)  íÎˇBsÁ ”Øˇˆ”∑ AÊØˇïÔ‰Üˇ˜ (Üˇ˜ÁμÎˇf)¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ >
(c)  ÔSÊsÁF ”¿ˇ¡ˇÔ¿ˇQÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ F‹ˇÊLÎˇ Svˇúˇ Lˇ¿ÎˇêèØˇÊ Üˇ˜ÁμÎˇf (�1*G.	��� �#I!��

2����� ��J��K2%� ���G9�) �	��� ��
�≠ˇ¡ˇ�� ����� ��� ��	� �
������ "��)*���
� +������� ,� ������
� �-��./� �
FvˇÊ����	�
��
�B�� +��
�� )�
����&����
�/-��	�G� �#�
 �:L�"��8
��2��	 �	 ��" �:L�#�

����?��	� �	�,'# �� #	�!� ��,��	��� ��	(	�� �	�G� " �:L�#�� ����	 � #�	1�� �

(`ˇÁÜˇ˜ 5.2)
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(i) AÊflÜˇÔ‰Üˇ˜¿ˇ ÔíˇWˆø aˇ FLˇLˇ H ®˜◊ b FLˇLˇ Ô‹ˇÔ‡ˇ,
AÊflÜˇÔ‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = ÔíˇWˆø xxxxx ®˜◊= ab ØˇSˆ FLˇLˇ

(ii) ØˇSˆÔ‰Üˇ˜¿ˇ ÔSÊsÁF ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø a FLˇLˇ Ô‹ˇÔ‡ˇ,
ØˇSˆÔ‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = a2 ØˇSˆ FLˇLˇ >

(iii) ÔSÊsÁF Üˇ˜ÁμÎˇf¿ˇ μÌˇ∑Á¿ˇ ÔíˇWˆø b FLˇLˇ H DaˇÜˇÊ h FLˇLˇ Ô‹ˇÔ‡ˇ,

Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 1
2 bh ØˇSˆ FLˇLˇ >

(iv) ”∑ÔLˇÊ~Í Ü ˜̌ÁμÎ̌ f¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ= 1
2

 (”∑ÔLˇÊ~¿ˇ ”Û‡ˇSß ØˇÊ‹Î̌ í ¥̌fl¿ˇ Ôí ̌Wˆø¿ˇ SÎ~≠ˇ¡ˇ)

(v) ”∑ØˇÊ‹Î̌  Üˇ̃ÁμÎ̌ f¿ˇ ØˇÊ‹Î̌ ¿ˇ Ôí ̌Ŵø aˇFLˇLˇ H DaˇÜˇÊ h FLˇLˇ Ô‹ˇÔ‡ˇ, AÊÔ∑ fÊ~Î h = 3
2 a

”∑ØˇÊ‹Îˇ Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ= 1
2 a× 3

2 a= 3
4 a2 ØˇSˆ FLˇLˇ

(�Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 1
2 ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø× DaˇÜˇÊ)

�  ”∑ØˇÊ‹Îˇ Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ  =  3
4 (ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø)2  ØˇSˆ FLˇLˇ >

(vi) AÊÔ∑ fÊ~Î ”∑ØˇÊ‹Îˇ Üˇ˜ÁμÎˇf¿ˇ DaˇÜˇÊ h FLˇLˇ H ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø a FLˇLˇ Ô‹ˇÔ‡ˇ,

h =  3
2 a FLˇLˇ AêÊˆÜ˙ˇ  a = 

2
3
h FLˇLˇ

�  ”∑ØˇÊ‹Îˇ Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 3
4  ( 2

3
h )

2
†  = 1

3 h2 ØˇSˆ FLˇLˇ

(� ”∑ØˇÊ‹Îˇ Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 3
4  × a2 )

�  ”∑ØˇÊ‹Îˇ Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 1
3 (DaˇÜˇÊ)2 ØˇSˆFLˇLˇ >

(vii) � ABC ÔæÔLˇÚ~”Á FLˇ Üˇ̃ÁμÎ̌ f > ∑ÔúˇLˇ¿ˇ BC = a FLˇLˇ,
AC = b FLˇLˇ H AB = c FLˇLˇ > Üˇ˜ÁμÎˇf¿ˇ ®¿ˇÁ”Í∑Ê  2s = a + b + c  >

�ABC ¿ˇ �-��./�= s(s a)(s b)(s c)− − − "������ ��"�	#��Herron0��1���#��	1	" �
"��� �8
���� #����� ��0�+
� ��	�K�� 
	�	� ���� *M� �	7��#� 5���� �NL�� �� �E+�	�� �#�-� "�	#�
����? �
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��(	�#���	 �

$	���	?���4 �����)�	���	5	���4	����K	��	#��"#�� +����#��3���	�50����	����	�����#�

?M+������<���#� �

��3�$������#��ABCD�� 	��"��	�
	#	���:��	R�"�	���2O4+'�AB =60���)����<�BC= 48�� �
"�����
�����
��(	�#���	 ��4 ���� �����<���,���"#��	5	��K� �
��PQ = @60�S�2�Q�4A������P�@60 – 8A���TP�52����� �
QR�P�@48 – 2 Q�4A����P�@48 –8A����P�40 ���� �
�E+�	��ABCD��	�
��
�����
�/-

��P�@60 Q 48A�� +T���P�2880 � +���� �
���>�PQRS��	�
��
�����
�/-

����P�@52�Q�40A � +T����P�2080 � +���� �
���	5	����
�/-�P�ABCD��	�
��
�����
�/-�S�PQRS��	�
��
�����
�/-

P�800 � +���� �
��
��� +������	�G�3���	�50����	�?M+���*�����800�� +������	�G�?M+

P�3���	�50����	�Q�800��P�@ 7
2
�Q�800A ��	�P�2800���	

���	5	���4	����K	��	��	�G�2800���	�?M+���� �

��#
��2�3���� 	��"����#	!%�
����&�����#	!��=� ���	��2;����2O4+'�1�	#����24���T��

)�32���T�����������#	!���#0+��
�����
��C���2O4+'���0+��#� �
���3�$������#	!���=� ���	��2;����2O4+'�24���T���)�32���T�� �
��
����&��#0+���2O4+'�P� 24 322 2+ ���T����P� 1600 ���T���P�40 ��T��
���#�����#	!���#0+��
�����
��C���2O4+'�P�x���T��

����&����
�/-�P� 1

2
�Q�#0+���2O4+'�Q�*M
	�P� 1

2
�Q�40�Q�x�P�20x�� +���T��

���>�
����&����
�/-�P� 1
2
�Q����#	!���=� ���	��2;����2O4+'�� �!/-

����������������P� 1
2
�Q�24�Q�32 � +���T���P 384�� +���T��

��20x = 384 � x = 
384
20

 = 19.2 ��T�� @*E�A

D C

A B
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��#
��2�4��� 	��"����	���
����&�����
'#��	�����2O4+'#��4���T���#�	��2��B�"�	�
��
�/-�24 3 �� +���T���#��1	" ��
����&��*M
	���0+��#� �

���3�$������#�����	���
����&�����
'#��	�����2O4+'�P�a���T�� �

��"�	����
�/-�P� 3
4

2a �� +���T��T �

��,�	���	��� 3
4
�@a – 4A2 =

3
4
�a2 – 24 3 �

3
4
@a – 4A2  = 

3
4
�@a2 – 24 x 4A

� (a – 4)2 = a2 – 96 � a2 – 8a + 16 = a2 – 96 � 8a = 112  � a = 14
��
����&���	�����2O4+'�P�14���T��


����&��*M
	�P� 3
2
�Q��	�����2O4+'�P� 3

2
�Q�14�P�7 3 ���T����@*E�A


��#
��2�5���� 	��"����	���
����&���9U�<��#I!���"#���V����
	�	���	���	�����
�����

�C�
���	�����2O4+'�6���T��B�7���T���)�8���T�������B�
����&����
�/-���0+��#� �

���3�$������#��ABC����	���
����&���O�"#��9U�<���V� ��OP B�OQ �)�OR �1�	#���
BC B�∠ �)�AB��	����
���C �

��OP P�6���T��B�OQ�P 7���T��B�OR P�8���T�� �
���#�����	���
����&���	�����2O4+'�P�a���T��T �

OA �)�OB �)�OC �����#�	1	* ���E+�	��OBC�
����&����
�/-�P� 1
2
�BC�T�OP

=
1
2

 a�Q�6 � +���T�� P�3a�� +���T�� �

��OCA�����
�/-�P� 1
2

 AC . OQ

P� 1
2
�Q�a�Q�7�� +���T���P� 7

2
a �� +���T��

��OAB�����
�/-�P� 1
2

 a�Q�8 = 
1
2

 8a�P�4a � +���T��

��ABC�����
�/-�P���OBC�����
�/-�W���OCA�����
�/-�W���OAB�����
�/-

P�@3a + 
7
2
a

 + 4aA��� +���T���P� 21
2
a �� +���T��T

� 3
4

2a  = 
21
2
a �� +���T��T � a = 14 3

��ABC����	���
����&����
�/-�P� 21
2

a�P��147 3 �� +���T���@*E�A

A

B C

O
R

Q

P
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��#
��2�6���� 	��"�
����&���	�� �:�#���2O4+'�1�	#����15���T��TB�28���T��T�)�41���T��T �
"�	���7��	���*��������%
��#I!�#���V�������
��C���2O4+'���0+��#� �

���3�$���
����&���
+�����%�	�P�s =
15 28 41

2
+ + �P� 84

2
�P�42 ��T��

�	���
�����2O4+'�a���T��B�b���T���)�c���T�������B
a�P�15B�b�P�28�)�c�P�41


����&����
�/-�P� s s a s b s c( )( )( )− − − �P� 42 42 15 42 28 42 41( )( )( )− − −

42 27 14 1x x x �P� 14 3 3 9 14x x x x �P�14 Q 3 Q 3��P�126�� +���T��T �
".	��������	�����2O4+'�P�28���T��
���#��"�	��
������%
��#I!�#���V�����C���2O4+'�P�x���T��

�
!��
����&����
�/-�P� 1
2
Q 28 Q�x = 14x�� +���T��

��14x = 126 � x = 
126
14

 = 9 ��T��

�����0+���C���2O4+'�P�9���T�� @*E�A

��)4��/��2�5 (a)
1.��������,��	���*E��2���X

@iA ��ABC ���	��
������2O4+'�12���T��TB�5���T��T�)�13���T��TB�
����&����
�/-��#�
 Y
@iiA ��ABC ���*M
	�AD�P�12���T��T�)���
�/-�P�96�� +���T��T ���8���BC��#�
 Y
@iiiA ABC����	���
����&����
�/-�25 3 �� +�"## ��"�	���	�����2O4+'��#�
 Y
@ivA ABC����	���
����&����
�/-�25 3 �� +���T��T������"�	��*M
	��#�
 Y
@vA ABC� ���	��� 
����&�� �#I!��� "#� �9U�<� ��V���� �	���	��� ��
�� ���
� �C
���� �2O4+'

3 ��T��TB�4 ��T��T�)�5���T��T������
����& ��*M
	��#�
 Y
@viA � 	��"��	�
��
����� 	��"���-��?	�����#���	���"�	������ 	���� +��
�������!


���	 ���	�
��
���2���������
��	���	�������	
��#�
 Y
@viiA � 	��"��	�
��
����2O4+'�)����<#��3� �!�#��B��H��	�
��
�����
�/-�2E��	�
��
��

��
�/-���#�
� �! Y
@viiiA�� 	��"��	�
��
���� 	��"��	���4������)�#0+���2O4+'�5����� ����
�������
�/-

�#�
 Y
@ixA � 	��"�� +��
����#0+���2O4+'�4���T��T������� +��
�����
�/-��#�
 Y
@xA � 	��"� � +��
�� )� � 	��"� ���	��� 
����&���	���� �2O4+'� ��	� �� ���	��� ��
�/-�

����	
��#�
 Y
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@xiA�"#����#	!%���2;��	���
����&�����
'#���	���	�����2O4+'�4 ��T��T���������#	!���#0+
��
�����
��C���2O4+'��#�
 Y

2.�������?�
���,� �:L�#��*E��2���X
@iA ABCD��	�
��
����BC – AB = 20������)�AB : BC = 4 : 5 ��ABCD��	�
��
��

����%�	��#�
 Y
@iiA ABCD�� +���
������
'#��	�����2O4+'�4 ���T��T���
��#�����
�/-���60�� +���T��T

��
����" ���	�����2O4+'��#�
 Y
@iiiA � 	��"���2;��	���
����&������%�	�18���T��T�������)�"#���	���	�����2O4+'������	
�8 :

5������������
�/-����8�!�#� �
3. � 	��"��	�
��
�����
�/-�"#�� +��
�����
�/-���(	 ��"�	��� 	��"��	�����2O4+'

� +��
����	�����2O4+'�.	���12��������,%�"�=���'��	�����2O4+'�12������#�3�����B
�	�
��
������
�/-���0+��#� �

4. � 	��"�4���$	��#	�<����
�/-�540�� +������"�=�#	�<��*M
	�10����� ��4����2O4+'�)
���<������	
�5 : 4�����B�$�	!����
�/-���0+��#� �

5. � 	��"�� 	+#	��&�����	�	��(	�#���	 ��2������$*:L	 ��"#��	5	��K� ���	5	����
�/-
416�� +�����������&������
�/-���0+��#� �

6. � 	��"����#	!%�
����&���8�����2O4+'�44�����B�"�=���'�2���	�����2O4+'�������88�����
�����"�	����
�/-���0+��#� �

7. �#I!������#	!%�
����&�����#	!��=� ���	��2;����2O4+'�1�	#����45���T��T�)�60���T��T
��������#	!���#0+���
�����
��C���2O4+'���0+��#� �

8. � 	��"����	���
����&�����
'#��	�����2O4+'�2�������NL	��2���"�	����
�/-�6 3�� +
������NL�1	" ��"�	�����
'#��	�����2O4+'���0+��#� �

9. � 	��"����	���
����&�����
'#��	�����2O4+'�2���T��T�#�	��2���
	�	����
�/-�16 3

� +���T��T�#��1	" ��"�	�����
'#��	�����2O4+'���0+��#� �
10. � 	��"����#	!%���2;��	���
����&�����#	!��=� ��� 	��"��	�����2O4+'�96���T��T�����

"�	�����#	!���#0+��
�����
��C���2O4+'���0+��#� �
11. � 	��"����	���
����&����
�/-�� 	��"�� +��
�����
�/-��3.5� �! ��� +	#	����
��

#0+���2O4+'�20�����������
���&������%�	���0+��#� �� 3 1 3
4

≈�
�

�
�

12. � 	��"����	���
����&���9U�<�"#���V����"�	���	���	�����
�����
��C
�������� �!"�1�	#���
3���T��TB�4���T��T�)�5���T��������
����&����
�/-���0+��#� �

13. � 	��"�
����&������%�	�84���T��TR�"�	��� 	��"��	�����2O4+'�30���T��T�)���
�/-�336�� +
��T��T��������'��	��2;����2O4+'���0+��#� �
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14. � 	��"�
����&���	���	�����2O4+'�1�	#����25���T��TB�29���T��T�)�36���T�������B�"�	�
���E���	���*��������%
��#I!�#���V�������
��C���2O4+'���0+��#� �

15. � 	��"�
����&���	���	����2O4+'������	
�3 : 5 : 7�)�����%�	�300����������B�
����&�
��
�/-���0+��#� �

16. � 	��"���2;��	���
����&������%�	�30���T��T�)����
'#���	���	�����2O4+'�12���T��T�����B

����&����
�/-���0+��#� �

5.3  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜ :
&'	��
��� ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜ ”∫§ˇÔ¿ˇ AÊÔ∑ ØˇÁ÷ıÜˇ AÊÔ‡ˇÊ`ˇúˇÊ Lˇ¿ˇÁÔd FØˇÛ Ô‰Üˇ˜ 
� �#��$����

���%�!&� ”∫§ˇÔ¿ˇ føÊ∑ÁÜˇÁLˇ Üˇêø SÎ›ÁLˇ¿ˇ æÎNˇÁ∑Ì¡ˇLˇ ®˜∑Ê~ Lˇ¿ˇ	1	�K� > ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ
AÊÔ‡ˇÊ`ˇúˇÊ ”∑flÔ¿ˇ Ô”SÎ›ÁLˇ ØˇøØˇ‹ıˇÜˇ ‹ÎˇF > Ô”êè∑ö¿Îˇ ÔLˇÔÜˇÊsÁ úˇÁ∑ßÔ¿ˇ ®˜íˇàˇ Ô‹ˇ‡ˇÊ >

ÔæÔLˇÚ~”Á ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ
(i)  ”ºÎQÍúˇ ØˇÊ‹Î̌ SÎ›ÁLˇ ®¿ˇÿ¿ˇ ”Ø ˆ̌”∑;
(ii)  ”ºÎQÍúˇ ÔLˇÊ~∑Êúˇ ®¿ˇÿ¿ˇ ”Øˇˆ”∑;
(iii)  LˇÇˇˆíˇ¥fl ®¿ˇÿ¿ˇLÎˇ ”∑íˇ¥ÁQÉ Lˇ¿ˇûˇÁ;
(iv)  ®˜ÔÜˇøLˇ LˇÇˇˆ ®˜ÜˇÁ ØˇÁ®¿ˇÍÜˇ ÔLˇÚ~ÁLˇ ØˇÁ¢Îˇ¿Îˇ AZˇÁÜˇ ‡ˇ∫íˇ¥fl¿ˇ ÔíˇWˆø ®¿ˇÿ¿ˇ ”∑Êúˇ;
(v)  ®˜ÔÜˇøLˇ LˇÇˇˆ ”Ê∑Êûˇ¿ˇÁLˇÔ‰Üˇ˜LÎˇ íÎˇBsÁ ”Øˇˆ”∑ Üˇ˜ÁμÎˇfÔ¿ˇ ØˇÁμˇNˇ LˇÔ¿ˇ; ÔÜˇ~Î Dåù

Üˇ˜ÁμÎˇfíˇ¥fl¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ FØˇÛ
(vi) LˇÇˇ̂í ¥̌fl ”Ê∑Êûˇ¿ Á̌LˇÔ‰Üˇ̃LÎ̌  ÔæDÙ `ˇÊÔ¿ˇÊsÁ Üˇ̃ÁμÎ̌ fÔ¿ˇ Ø Á̌μˇNˇ Lˇ¿ˇû Á̌ Ô”∑ÊúˇZˇ¿ˇ Ô‰Üˇ̃≠ˇ¡ˇ ®¿ˇÿ¿ˇ

”∑Êúˇ >
D®Ô¿ˇÊNˇ ÜˇêøSÎ›ÁLˇ ”Ê‹ˇÊæøÔ¿ˇ μˇÁù μˇÁù ®¿ˇ◊ÁÜˇÁÔ¿ˇ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ LˇÁ®¿ˇÁ úˇÁÇˇˆfl

Lˇ¿ˇÊæÁØˇ ÜˇÊ‹ˇÊ úˇÁ∑ßÔ¿ˇ AÊÔ‡ˇÊ`ˇúˇÊ Lˇ¿ˇÊæÊBdÁ >

(A) μÌˇ∑Á H DaˇÜˇÊ íˇàˇ êèÔ‡ˇ Ô‰Üˇ˜≠ˇ¡ˇ úˇÁÇˇˆfl :
ABCD  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜Ô¿ˇ BC  μÌˇ∑Á FØˇÛ F‹ˇÁ μÌˇ∑Á ®˜ÜˇÁ A  ØˇÁ¢Îˇ¿Îˇ AM ‡ˇ∫ AZˇúˇ

Lˇ¿ˇÊæÊBdÁ > ÔÜˇ~Î  AM  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ DaˇÜˇÊ AÔs > AC  AZˇúˇ Lˇ¿ˇÊæÊD > Øˇàˇˆ∑Êúˇ ”Ê∑Êûˇ¿ˇÁLˇ
Ô‰Üˇ˜sÁ íÎˇB ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ Üˇ˜ÁμÎˇfÔ¿ˇ ØˇÁμˇNˇ Ô‹ˇ‡ˇÊ >

�� ABCD  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ
= � ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ¿ˇ íÎˇBSÎ~

= 2×( 1
2

BC × AM)= BC × AM = μÌˇ∑Á¿ˇ ÔíˇWˆø × DaˇÜˇÊ
�� ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = μÌˇ∑Á¿ˇ ÔíˇWˆø × DaˇÜˇÊ

B
M

` Á̌Ü ˜̌ 5.5

A D
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(B)  ÔSÊsÁF LˇÇˇˆ¿ˇ ÔíˇWˆø H Ôæ ÔLˇÚ~”Á ”ºÎQÍúˇ ÔLˇÚ~ÁLˇ ØˇÁ¢Îˇ¿Îˇ LˇÇˇˆ®˜ÜˇÁ ‡ˇ∫¿ˇ ÔíˇWˆø íˇàˇ
êèÔ‡ˇ Ô‰Üˇ˜≠ˇ¡ˇ úˇÁÇˇˆfl :

 ABCD  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜Ô¿ˇ AC LˇÇ ˆ̌®˜Ü Á̌ ”ºÎQÍúˇ '()!  D ¿Îˇ DE ‡ˇ∫ s~ÊæÊBdÁ >
� ®˜ÔÜˇøLˇ LˇÇˇˆ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜LÎˇ íÎˇB ”Øˇˆ”∑ Üˇ˜ÁμÎˇfÔ¿ˇ ØˇÁμˇNˇ LˇÔ¿ˇ *
� ABCD  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 2 × ADC Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ

= 2 × 1
2

 AC × DE = AC × DE

= LˇÇˇˆ¿ˇ ÔíˇWˆø × LˇÇˇˆ®˜ÜˇÁ AZˇÁÜˇ ‡ˇ∫¿ˇ ÔíˇWˆø >
� ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ
=  ÔSÊsÁF LˇÇˇˆ¿ˇ ÔíˇWˆø × Ô”‹ˇÁ LˇÇˇˆ ®˜ÜˇÁ

Ôæ ÔLˇÚ~”Á ”ºÎQÍúˇ ÔLˇÚ~ÁLˇ ØˇÁ¢Îˇ¿Îˇ AZˇÁÜˇ ‡ˇ∫¿ˇ ÔíˇWˆø >
(C) íÎˇBsÁ ”ù‹ˇÁÜˇ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø H ÔSÊsÁF LˇÇˇˆ¿ˇ ÔíˇWˆø íˇàˇ êèÔ‡ˇ Ô‰Üˇ˜≠ˇ¡ˇ úˇÁÇˇˆfl :

∑ÔúˇLˇ¿ˇ ABCD ”Ê∑Êûˇ¿ Á̌Lˇ Ô‰Üˇ̃¿ˇ ”ùÁ‹ Á̌Üˇ ØˇÊ‹Î̌ í ¥̌fl AB , BC  H LˇÇˇ̂ AC ¿ˇ Ôí ̌Ŵø íˇàˇ AdÁ >
∑ÔúˇLˇ¿ˇ  AB = c  FLˇLˇ,  BC = a  FLˇLˇ H  AC = b FLˇLˇ >

�� ABC ¿ˇ Aïˆ®¿ˇÁ”Í∑Ê = s = a b c+ +
2

� ABCD ”∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ
= 2 × �ABC ¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ
= 2 s s a s b s c( )( )( )− − −  ØˇSˆ FLˇLˇ >

(D) LˇÇˇˆíˇ¥fl¿ˇ ÔíˇWˆø H ÔSÊsÁF ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø íˇàˇ êèÔ‡ˇ Ô‰Üˇ˜≠ˇ¡ˇ úˇÁÇˇˆfl :
∑ÔúˇLˇ¿ˇ  ABCD  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ AC  H BD  LˇÇˇˆíˇ¥fl FØˇÛ AB  ØˇÊ‹Îˇ íˇàˇ

AdÁ > ∑ÔúˇLˇ¿ˇ LˇÇˇˆíˇ¥fl ®¿ˇÿ¿ˇLÎˇ O ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇûˇÁ >
� LˇÇˇˆíˇ¥fl ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜LÎˇ `ˇÊ¿ˇÁsÁ ���#��$����� +��'�,� ��$�-��.� ØˇÁμˇNˇ Lˇ¿ˇûˇÁ >
ÔÜˇ~Î ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 4 x �� AOB ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ >
∑ÔúˇLˇ¿ˇ  AC = d1 FLˇLˇ, BD = d2 FLˇLˇ H  AB = a  FLˇLˇ >

� AO = 1
2

AC = d1
2 FLˇLˇ FØˇÛ BO = 1

2
BD = d2

2 FLˇLˇ >

� � AOB ¿ˇ Aïˆ®¿ˇÁ”Í∑Ê= s = 
a d d+ +1 2

2 2
2  FLˇLˇ >

ÔÜˇ~Î s s a s d s d( )( )( )− − −1 2
2 2  ”ÌÜˇ˜ ®˜ÔflÊS Lˇ¿ˇÁ

� AOB ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ úˇÁÇˇˆfl Lˇ¿ˇÊæÊB ®Ê¿ˇÁØˇ >
� ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = Ô‰Üˇ˜¿ˇ íÎˇB LˇÇˇˆ¿ L��
+#� H ÔSÊsÁF ØˇÊ‹Îˇ íˇ¥Ê¿ˇÊ SvˇÁÜˇ

Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ¿ˇ `ˇÊ¿ˇÁSÎ~ >

A

(` Á̌Ü ˜̌ 5.6)
B

CD

E

A

(` Á̌Ü ˜̌ 5.7)
B

CD

A

(` Á̌Ü ˜̌ 5.8)
B

CD

O
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(E) ÔSÊsÁF ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø H LˇÇˇˆíˇ¥fl¿ˇ ÔdíˇØˇÁ¢Îˇ¿Îˇ DNˇ ØˇÊ‹Îˇ ®˜ÜˇÁ AZˇÁÜˇ ‡ˇ∫¿ˇ ÔíˇWˆø íˇàˇ
êèÔ‡ˇ Ô‰Üˇ˜≠ˇ¡ˇ úˇÁÇˇˆfl :

 ABCD  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜Ô¿ˇ AC  H BD  LˇÇˇˆ ®¿ˇÿ¿ˇLÎˇ  O  ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇûˇÁ;

FØˇÛ  O  ØˇÁ¢Îˇ¿Îˇ AB  ØˇÊ‹Îˇ ®˜ÜˇÁ OE  ‡ˇ∫ AZˇúˇ Lˇ¿ˇÊæÊBdÁ >
∑ÔúˇLˇ¿ˇ  AB = a  FLˇLˇ H  OE = p  FLˇLˇ >

� � AOB ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 1
2

× μÌˇ∑Á¿ˇ ÔíˇWˆø × DaˇÜˇÊ

= 1
2

× a × p ØˇSˆFLˇLˇ = 1
2

ap ØˇSˆ FLˇLˇ
�� ABCD  ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 4 × � AOB ¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ

= 4 × 1
2

 ap  ØˇSˆ FLˇLˇ = 2ap  ØˇSˆ FLˇLˇ >
� ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = F‹ˇÊ¿ˇ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø H LˇÇˇˆíˇ¥fl¿ˇ Ôdíˇ ØˇÁ¢Îˇ¿Îˇ Fêè ®˜ÜˇÁ

AZˇÁÜˇ ‡ˇ∫¿ˇ ÔíˇWˆø¿ˇ SÎ~≠ˇ¡ˇ¿ˇ íÎˇBSÎ~ >

��#
��2�7

� 	��"�”Ê∑Êûˇ¿ˇÁLˇ� ��
��� � 	��"�#0+�� �2O4+'�4� �:��T��T�5� ��T��T� )�"���#0+��
�� �F�?%�
�#I!�#���V�������
��C���2O4+'�2��:��T��T�4���T��T�����B���
�/-���0+��#� �

���3�$���#0+���2O4+'�P�4��:��T��T�5���T���P�45���T�� �
���
��C���2O4+'�P�2��:��T��T�4���T���P�24���T�� �
��
�/-�P�#0+���2O4+'�Q��C���2O4+'�P�@45�Q�24A�� +���T���P�1080�� +���T��
�����0+����
�/-�P�1080�� +���T�� �


��#
��2�8 :
� 	��"���	�	9��#���
���2�����������
��	�����2O4+'�1�	#����52���T��T�)�56���T��T�"�=

� 	��"�#0+���2O4+'�60���T��T�����B�"�	����
�/-�)�*M
	���0+��#� �
���3�$���2�����������
��	�����2O4+'�)�#0+2;	�	� .�
�
����&��
����	�����2O4+'�1�	#����52

��T��TB�56���T��T�)�60���T��T �
���#��a�P�52 ��T��TB�b�P�56 ��T��T�)�c�P�60����T��T


����&���
+�����%�	�P�s = 
a b c+ +

2
 = 

52 56 60
2

+ +
 = 

168
2

 = 84 ��T��T

�#0+��	�	9��#���
�#��2���������
�/-���,���
����&������Z�#�� �
���	�	9��#���
�����
�/-�P�2�Q�*Z�
����&����
�/-
P�2 s s a s b s c( )( )( )− − − ��P�2 84 84 52 84 56 84 60( )( )( )− − −

O

CD

A B

(`ˇÁÜˇ˜ 5.9)
E
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P�2 84 32 28 24x x x �� +���T��T��P�2 12 7 16 2 7 4 24x x x x x x �� +���T��T
P�2 × 24 × 7 × 8 = 2688�� +���T��T
�1��
���	�	9��#���
���2������	�����2O4+'�52���T��T�)�56���T��T

�����0+��*M
	�P���������������P� 2688
52

��	� 2688
56

���T��T

��+	
3�/0������P� 59
5
13
���T��T��	�48���T��T @*E�A


��#
��2�9 :
� 	��"��	�	9��#���
���#0+2;����2O4+'�1�	#����50���T��T�)�58���T��T�"�=�"�	���8���

�2O4+'�36���T��T�����B�"�	����
�/-�)�*M
	���0+��#� �
���3�$��
ABCD��	�	9��#���
����AC�P�58���T��TB�BD�P�50���T��T�"�=�AB�P�36���T��T �
���#��AC �)�BD �#0+2;����J�#��O���V�����K2�#��K1�� �

�E+�	��AO�P� 1
2 �AC = 

1
2 �x 58 = 29���T��T

�BO�P� 1
2 �BD  = =

1
2 �x 50 = 25 ��T��T�"�=�AB = 36���T��T

���#��a�P�AO = 29 ��T��TB�b�P�BO = 25 ��T��T��)�c�P�AB = 36 ��T��T

�AOB����
+�����%�	�P�s = 
a + b + c

2 �P� 29 + 25 + 36
2 �P�45���T��T

P��AOB ����
�/-�P� s(s- a)(s- b)(s - c) �P� 45(45- 29)(45- 25)(45- 36)

P� 45x16x20x9 �� +���T��T�= 360�� +���T��T
�	�	9��#���
�����
�/-�P�4�Q��AOB�����
�/-�P�4�Q�360�P�1440�� +���T��

���>�*M
	�P�����������������P�1440
36 �P�40���T��T

�����0+����
�/-�1440�� +���T��T�)�*M
	�40���T��T ��@*E�A

��#
��2�10 :

� 	��"��	�	9��#���
���� 	��"��	�����2O4+'�13������"�=���
�/-�336�� +���T ��"�	�
� 	��"�#0+���2O4+'���'�#0+���2O4+'�����	�2�������(�#������#0+2;����2O4+'���0+��#� �

���3�$���ABCD��	�	9��#���
����AB�P�13������ �����#��AC �)�BD �#0+2;����J�#�
O���V�����K2�#�9��"�= AC > BD @$�
��5.10 �2?A

���#��BD�P�2x����� ����AC = (2x + 2) ����
�E+�	��AO = 

1
2

 AC = 
1
2

 (2x + 2) = (x + 1)�����

��
�/-
�8�����2O4+'

O

CD

A B

` Á̌Ü ˜̌ 5.10

��
�/-
�8�����2O4+'
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BO = 
1
2

 BD = 
1
2
�@2xA���T�P�x���T�2+�3���AB�P�13���T

����AOB����
+�����%�	�P�s�P� x x+ + +1 13
2

�P�(x + 7)���T

���AOB�����
�/-�P� s s a s b s c( )( )( )− − −

����������������P� ( ) { ( ) ( ) } { ( ) } ( )x x x x x x+ + − + + − + −7 7 1 7 7 13

����������������P� ( ) ( )x x x x x+ −7 6 7 6 �P� ( )( )x x x+ −7 6 42 �� +�����
���	�9��#���
�����
�/-�P�4�Q��AOB�����
�/-

����������������������P�4 Q� ( )( )x x x+ −7 6 42 �� +�����
��,�	���	���4 Q� ( )( )x x x+ −7 6 42 �P�336�� ( )( )x x x+ −7 6 42 �P�84

� (x + 7) (x – 6) 42 = 84�Q�84 � (x + 7) (x – 6) = 84 Q 2 = 168
� x2 + 7x – 6x – 42 = 168�� x2 + x = 210 � x2 + x – 210 = 0
� (x + 15) (x – 14) = 0�����������x = –15 �	�x = 14

#�9��x = –15� ��!%������G ����
�	=�x = 14�����
� 	��"�#0+���2O4+'�P�2x������P�2�Q�14 = 28������"�=
��'�#0+���2O4+'�P�(2x + 2)������P�28 + 2 = 30 ���� �
��#0+2;����2O4+'�28������)�30����� ��@*E�A


��#
��2�11 :
� 	��"��	�	9��#��
���� 	��"��	�����2O4+'���'�"#��	�����2O4+'�����	�2���T����(�#�"�=

���E����	���	����7����'�(	����2�
���	�����2O4+'.	���2���T��T�#�3 ��"�	����
�/-�140�� +
��T��T�����B�������
��	��2;����2O4+'�)���
���*M
	���0+��#� �

���3�$��ABCD��	�	9��#���
����A���V�������E���	���BC ���
��AE ��C �����#����2�
�
�	�����2O4+'�P�AB = x���T��T ��������E���	�����2O4+'�BC P�(x + 2)���T��T

���E���	���AD �)�BC ��7����'�(	��P�AE = (x – 2)���T��T
��ABCD��	�	9��#��
�����
�/-�P��8�����2O4+'�Q�*M
	�P�BC Q AE
= (x + 2)�( x – 2)�� +���T��T�P�(x2 – 4)�� +���T��T
2E��K���	�	9��#���
�����
�/-�P�140�� +���T��T
��x2 – 4 = 140 � x2 = 144 � x = +12
��x�P�12���T��T
��AB = 12���T��TB�BC = (x + 2)���T��T�P 14���T��T�)

*M
	�AEP�(x – 2)���T��TP 12 – 2 = 10���T��T � @*E�A

A

(`ˇÁÜˇ˜ 5.11)
B

E C

D

x + 2

x – 2
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�$�)�/$��2�5 (b)
1.�������?�
���,��	���*E���=������2�� �

@iA � 	��"��	�	9��#���
����8����� ��� �!"�P�6���T��T)�*M
	P�3���T��TB������"�	�
��
�/-��#�
 Y

@iiA � 	��"��	�	9��#� ��
���#0+��� ��� �!"� P�10� ��T��� )�"�	���F�?%�� �#I!�#���V���
#0+��
�����
��C���2O4+'�P�6���T��T������"�	����
�/-��#�
 Y

@iiiA ABCD��	�9��#���
����AB + BD + AD = 2s�"## � s(s – AB)(s – BD)(s – AD)�P
64�����B��	�	9��#���
�������
�/-��#�
 Y

@ivA � 	��"��	�	9��#���
�����
�/-�96�� +�"##�)�"�	���8�����2O4+'�P�8�"##�����B
#0+2;����K2��V����������
�����
��C���2O4+'��#�
 Y

@vA � 	��"��	�	9��#���
�����
�/-�144�� +�"##�)�"�	��� 	��"�#0+���2O4+'�24
"##�����B�#0+���F�?%���#I!�#���V����#0+��
�����
��C���2O4+'��#�
 Y

2. μÌˇ∑Á¿ˇ ÔíˇWˆø 2.5 Ôxˇ”Á∑Ás¿ˇ H DaˇÜˇÊ  4.8  Ôxˇ”Á∑Ás¿ˇ ØˇÁ…ÁŒ ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ
úˇÁÇˇˆfl Lˇ¿ˇ >

3. ÔLˇÚ~”Á ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ LˇÇˇˆ¿ˇ ÔíˇWˆø  4 Ôxˇ.∑Á.  6  Ô”.∑Á.ˇ FØˇÛ F‹ˇÁ LˇÇˇˆ®˜ÜˇÁ ØˇÁ®¿ˇÍÜˇ
ÔLˇÚ~ÁLˇ ØˇÁ¢Îˇ¿Îˇ AZˇÁÜˇ ‡ˇ∫¿ˇ ÔíˇWˆø  22  Ô”.∑Á.ˇ Ô‹ˇÔ‡ˇ F‹ˇÊ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ úˇÁÇˇˆfl Lˇ¿ˇ >

4. ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ LˇÇˇˆíˇ¥fl¿ˇ ÔíˇWˆø æêÊLˇ˜Ô∑  50  Ô”.∑Á. H  58  Ô”.∑Á.; FØˇÛ
ÔSÊsÁF ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø  36  Ô”.∑Á. Ô‹ˇÔ‡ˇ, F‹ˇÊ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ úˇÁÇˇˆfl Lˇ¿ˇ >

5. ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ íÎˇBsÁ ”ùÁ‹ˇÁÜˇ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø æêÊLˇ˜Ô∑  26 ∑Á. H 28 ∑Á.ˇFØˇÛ
ÔSÊsÁF LˇÇˇˆ¿ˇ ÔíˇWˆø  30 ∑Á.ˇ Ô‹ˇÔ‡ˇ, F‹ˇÊ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ úˇÁÇˇˆfl Lˇ¿ˇ >

6. ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ ÔSÊsÁF ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø  24  Ô”.∑Á. FØˇÛ F‹ˇÁ ØˇÊ‹Îˇ D®Ô¿ˇ LˇÇˇˆíˇ¥fl¿ˇ
ÔdíˇØˇÁ¢Îˇ¿Îˇ ®ÜˇÁÜˇ ‡ˇ∫¿ˇ ÔíˇWˆø  10  Ô”.∑Á. Ô‹ˇÔ‡ˇ, Ô‰Üˇ˜sÁ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ úˇÁÇˇˆfl Lˇ¿ˇ >

7. ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ μÌˇ∑Á¿ˇ ÔíˇWˆø H DaˇÜˇÊ¿ˇ AúÎˇ®ÊÜˇ  2:3 Hˇ Ô‰Üˇ˜≠ˇ¡ˇ  726  ØˇSˆ
Ô”.∑Á. Ô‹ˇÔ‡ˇ, μÌˇ∑Á¿ˇ ÔíˇWˆø H DaˇÜˇÊ úˇÁÇˇˆfl Lˇ¿ˇ >

8. ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ DaˇÜˇÊ μÌˇ∑Á¿ˇ ÔíˇWˆø¿ˇ 3
4

 AÛ… FØˇÛˇ Ô‰Üˇ˜≠ˇ¡ˇ  300  ØˇSˆ∑Ás¿ˇ >
Ô‰Üˇ˜sÁ¿ˇ DaˇÜˇÊ H μÌˇ∑Á¿ˇ ÔíˇWˆø úˇÁÇˇˆfl Lˇ¿ˇ >

9. ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ μÌˇ∑Á¿ˇ ÔíˇWˆø ÜˇÊ'¿ˇ DaˇÜˇÊ AÔ®‰Ê  4  ∑Ás¿ˇ AôèLˇ > Ô‰Üˇ˜¿ˇ
Ô‰Üˇ˜≠ˇ¡ˇ  285  ØˇSˆ∑Ás¿ˇ Ô‹ˇÔ‡ˇ, DaˇÜˇÊ H μÌˇ∑Á¿ˇ ÔíˇWˆø úˇÁÇˇˆfl Lˇ¿ˇ >

10.  ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ  420  ØˇSˆ Ô”.∑Á. H ÔSÊsÁF ÔLˇÚ~ÁLˇ ØˇÁ¢Îˇ¿Îˇ FLˇ LˇÇˇˆ
®˜Ü Á̌ ���
 ‡ˇ∫¿ˇ ÔíˇWˆø  14  Ô”.∑Á. Ô‹ˇÔ‡ˇ, LˇÇˇˆ¿ˇ ÔíˇWˆø úˇÁÇˇˆfl Lˇ¿ˇ >

11.  ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ íÎˇBsÁ ”ùÁ‹ˇÁÜˇ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø H LˇÇˇˆ¿ˇ ÔíˇWˆø æêÊLˇ˜Ô∑  25  ∑Ás¿ˇ,
29  ∑Á. H 36 ∑Á.ˇ > F‹ˇÁ LˇÇˇˆ®˜ÜˇÁ ØˇÁ®¿ˇÍÜˇ ÔLˇÚ~ÁLˇ ØˇÁ¢Îˇ¿Îˇ AZˇÁÜˇ ‡ˇ∫¿ˇ ÔíˇWˆø úˇÁÇˇˆfl Lˇ¿ˇ >
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12.  ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ, ÔSÊsÁF  40  Ô”.∑Á. LˇÇˇˆ ØˇÁ…ÁŒ ØˇSˆÔ‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ
”‹ˇ ”∑Êúˇ > ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ μÌˇ∑Á¿ˇ ÔíˇWˆø  40  Ô”.∑Á. Ô‹ˇÔ‡ˇ, F‹ˇÊ¿ˇ DaˇÜˇÊ úˇÁÇˇˆfl Lˇ¿ˇ >

13.  ÔSÊsÁF ”Ê∑Êûˇ¿ Á̌Lˇ Ô‰Üˇ̃¿ˇ ÔSÊsÁF ØˇÊ‹Î̌ ¿ˇ Ôí ̌Ŵø 13 ∑Ás¿ˇ FØˇÛ Ô‰Üˇ̃≠ˇ¡ˇ 336 ØˇŜ∑Ás¿ˇ > F‹ˇÊ¿ˇ
ÔSÊsÁF LˇÇˇ̂¿ˇ Ôí ̌Ŵø Aúˇø LˇÇˇ̂¿ˇ Ôí ̌Ŵø AÔ®‰Ê 2 ∑Ás¿ˇ AôèLˇ Ô‹ˇÔ‡ˇ, LˇÇˇ̂í ¥̌fl¿ˇ Ôí ̌Ŵø ú Á̌Çˇ̂fl
Lˇ¿ˇ >

14.  ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ ”ùÁ‹ˇÁÜˇ ØˇÊ‹Îˇíˇ¥fl¿ˇ ÔíˇWˆø¿ˇ ”∑ŒÁ  16  Ô”.∑Á. H ÔSÊsÁF LˇÇˇˆ¿ˇ
ÔíˇWˆø 8 Ô”.∑Á. > F‹ˇÊ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ  48  ØˇSˆ Ô”.∑Á. Ô‹ˇÔ‡ˇ, ØˇÊ‹Îˇíˇ¥fl¿ˇ ÔíˇWˆø úˇÁÇˇˆfl Lˇ¿ˇ >

15.  ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ ØˇÊ‹Îˇíˇ¥fl¿ˇ ÔíˇWˆø¿ˇ Aûˇ¿ˇ  8  ∑Ás¿ˇ H ÔSÊsÁF LˇÇˇˆ¿ˇ ÔíˇWˆø  16
∑Ás¿ˇ > F‹ˇÊ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ  192  ØˇSˆ∑Ás¿ˇ Ô‹ˇÔ‡ˇ, ØˇÊ‹Îˇíˇ¥fl¿ˇ ÔíˇWˆø úˇÁÇˇˆfl Lˇ¿ˇ >

16.  ÔSÊsÁF ”Ê∑Êûˇ¿ˇÁLˇ Ô‰Üˇ˜¿ˇ ÔSÊsÁF ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø  10  ∑Ás¿ˇ H ÔSÊsÁF LˇÇˇˆ¿ˇ ÔíˇWˆø  21
∑Ás¿ˇ FØˇÛ F‹ˇÊ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ  168  ØˇSˆ∑Ás¿ˇ > ∑Ás¿ˇLÎˇ  12  sZˇÊ ‹ˇÁ”ÊØˇÔ¿ˇ F‹ˇÊ¿ˇ `ˇÊ¿ˇÁ®ÊQÔ¿ˇ
ÜˇÊ¿ˇ ØˇÊxˇ ÔíˇØˇÊLÎˇ ÔLˇÔÜˇ Qaˇˆ ‡ˇÊSÁØˇ ?
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"##�"�=�*M
	�AE = CF = h "## �
�
"��ABCD���	��&���3����
�/- �
P���ABC�����
�/-�W���ACD�����
�/-

P� 1
2 �AB x CF + 

1
2  CD x AE

P� 1
2 �ah  + 

1
2  bh P� 1

2 �(a+ b) x h

���������	�6
��-��./�E����;
�"�#��B	
���� �!
���&�
���F���,�
=��
����./
7B8�����;
�"�#��B	
���"�G�����9����
�?@"���
H�HI
���� �!�,�
=����>�?@�A

�-��./�$���	��
���	9���	��2;����2O4+'���7��V�#���1	 #�����	���?	?[���2O4+'���	9���	��2;��������

��
+# �

(`ˇÁÜˇ˜ 5.14)
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A B

C

(`ˇÁÜˇ˜ 5.15)
A

E
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���������	�6
��-��./�E�����;
�"�#��B	
���"�G�����9���
�?@"���
H�HI
���� �!�,

=��
����./

��#
��2�18 :

� 	��"���	��&���3����	9���	��2;����2O4+'�1�	#����34���T���)�26���T���"�=�*M
	�14
��T�������B�"�	����
�/-���0+��#� �

���3�$������0+����
�/-�P� 1
2 Q@��	9���	��2;����2O4+'������A�Q�*M
	

������������P� 1
2 Q(34 + 26)Q14�� +���T��T�P�(30Q14)�� +���T��TP�420�� +���T��T�@*E�A


��#
��2�19 :
� 	��"���	��&���3�����	9���	��2;����7��V�#���1	 #�����	���?	?[���2O4+'�42������"�=

"�	����
�/-�924�� +�����������*M
	���0+��#� �
���3�$������#����	��&���3��*M
	�P�h����� �

��	��&���3����
�/-�P����	9���	��2;����7��V�#���1	 #�����	���?	?[���2O4+'�Q�*M
	

�������������P�42h�� +������� 42h = 924 � h = 
924
42  = 22

�����0+��*M
	�P�22 ���� @*E�A


��#
��2�20 :
� 	��"���	��&���3����
�/-�320�� +���T��T ��"�	��� 	��"���	9���	�����2O4+'�17���T��T

"�=�*M
	�)���'���	9���	�����2O4+'������	
�4 : 3������*M
	���0+��#� �
���3�$������#����	9���	��2;����2O4+' a�)�b ��T��T�"�=�*M
	�h ��T��B
�����2E��K��a = 17���T��T �

���#����'���	9���	�����2O4+'�P�3x���T��T�"�=�*M
	�P�4x���T��T

��
�/-�P� 1
2 Qh (a + b) = 

1
2 �Q�4x (17 + 3x) = 2x (17 + 3x)�� +���T��T

��,�	���	���2x (3x + 17) = 320 � x (3x + 17) = 160

� 3x2 + 17x = 160 � 3x2 + 17x – 160 = 0 � 3x2 – 15x + 32x – 160 = 0

� 3x (x – 5) + 32 (x – 5) = 0 � (x – 5) (3x + 32) = 0

� x – 5 = 0 �	�3x + 32 = 0 � x = 5��	�x = 
-32
3 ���x = 5

��*M
	�P�4x = 4�Q�5 = 20���T��T @*E�A
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��#
��2�21 :
� 	��"���	��&���3����	9���	��2;����2O4+'�1�	#����36������)�21����� �����	9���	��2;�

�7���� 	��"���	9���	��2;����
���C�"�=���'��	�����2O4+'�17����������B�"�	����
�/-
��0+��#� �
���3�$���ABCD���	��&���3��AB �)�CD ���	9��"�=�AD B�AB �)�CD ���
���C �

���#��AB P�36 �����)�CD = 21����� ��C���V����AB ���
��CE ��C�����#� �
�E+�	��AE CD�"#��	�
��
� �
��AE = CD = 21���������
!��EB = AB – AE = 36 – 21= 15�����B
BCE����#	!%�
����&���CE = (BC - EB )2 2 �����

����������������������P� 1 -152 27 �P�8 ����
��	��&���3��*M
	�P�8�����

��	��&���3����
�/-�P� 1
2
�Q�*M
	�Q���	9���	��2;����2O4+'������

���������������������P� 1
2
�Q�8�Q�(36 + 21)�P�4�Q�57�P�228�� +����� � @*E�A


��#
��2�22 :
� 	��"���	��&���3����	9���	��2;����2O4+'�1�	#����54���T��T�)�40���T��T ��12�����
'#

���	9���	�����2O4+'�25���T��T���"�B��
���"�	����
�/-���0+��#� �
���3�$���ABCD���	��&���3���AB �)�CD �2�����	9���	���"�=�AD �)�BC ����	9���	�� �

���#��AB�P�54���T��TB�CD = 40���T��T�)�AD = BC�P�25���T��T
���#��CE BAD ������	9��"�=�CF BBE ���
���C ���E+�	��AECD�"#��	�	9��#���
� �
��CE = AD = BC = 25 ��T��T�"�=�AE = CD = 40���T��TB
��EB = AB – AE = 54 – 40 = 14���T��TB
���BCE����BC = CE

�����BCE�"#���2;��	���
����& �
    C���V�����8���EB ���
��CF ��C �

�
!��EF = FB = 
1
2

 EB = 
1
2
�Q�14�P�7���T��T

���BCF����CF = BC BF2 2− �P� 2 72 25 − �P�24���T��T
��	��&���3��*M
	�P�24���T��T

(`ˇÁÜˇ˜ 5.16)
A E

D
C

B

17 ��
21 ��

< - - - - - - - - 3 6 � � - - - - - - - - - >

(`ˇÁÜˇ˜ 5.17)
A F

D C

B

25
��T��T

25
��T��T

E

40 ��T��T

8 ��
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��	��&���3����
�/-�P� 1
2
�Q�*M
	�Q���	9���	��2;����2O4+'������

���������������������P� 1
2
�Q�24 (54 + 40)�� +���T��TP�12�Q�94 = 1128�� +���T��T��@*E�A


��#
��2�23 :
� 	��"���	��&���3����	9���	��2;����2O4+'�1�	#����32������)�18������"�=����	9�

�	��2;����2O4+'�13������)�15����������B�"�	����
�/-���0+��#� �

���3�$���ABCD���	��&���3��AB �)�CD ��	��2;����	�9�� �
���#��AB = 32�����B�CD = 18������"�=�AD = 13������)�BC = 15����� �
C���V����AD ����
���	9����-��?	�AB �#��E���V�����K2#���"�=�C���V����AB ���
��CF

�C�����#�	1	* �
�E+�	��AECD�"#��	�	9��#���
� �
��AE = DC = 18������)�CE = AD = 13�����

EB = AB – AE = 32 – 18 = 14�����
�E+�	���BCE����	��
�����2O4+'�1�	#����13���TB�14���T�)�15���T �

"�	���
+�����%�	�P�s = 
13 +14 +15

2
������P�21����� �

���BCE�����
�/-�P� s s a s b s c( )( )( )− − − �P� 21 21 13 21 14 21 15( )( )( )− − − ��T��T
P� 21x8x7x6 ��T��T�P� 7 x3 x42 2 2 �T��T�P�7 x 3 x 4  = 84 � +�����

���BCE���*M
	�CF�P� �P� 2 84
14
x ������P�12����� �

��	��&���3����
�/-�P� 1
2 �Q�*M
	�Q���	9���	��2;����2O4+'������

���������������������P� 1
2 �Q�12 (32 + 18) = 6 Q�50 = 300 � +����� @*E�A

�$�)�/$��2�5 (d)
1.�������?�
���,� �:�#��*E��2�� �
��@iA � 	��"� ��	��&���3�� ��	9�� �	��2;��� �2O4+'� 3� ��T��T� )� 5� ��T��T �� ���	��� �7��

�'�(	��3���T��T�����B���	��&���3����
�/-��#�
 Y
��@iiA � 	��"���	��&���3����	9���	��2;����2O4+'�������18���T���)���
�/-�36�� +���T��T

����B����	����7������	��'�(	���#�
 Y

(`ˇÁÜˇ˜ 5.18)
A F

D C

B

15 ��T13��T

E

2�Q���
�/-
�8�����2O4+'

18 ��T

13��T

32 ��T
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��@iiiA ABCD���	��&���3���AB II CD ��12��AB = 6���T��TB��'�(	��AE = 4���T��T)���
�/-
28�� +���T��B���" ����
���CD���#�
 Y

��@ivA "#���	��&���3�����	9���	��2;����7��V�#���1	 #�����	���-��?	���2O4+'�8���T��T�)
��
�/-�40�� +���T�������B���	9���	��2;���7������	��'�(	���#�
 Y

��@vA ABCD� ��	��&���3��� AB CDII � )� 2AB = CD �� 12�� ��	9�� �	���	��� �7��� ���	
�'�(	��4���T���)���
�/-�42�� +���T��T���"B��
���CD��#�
 Y

2. (i) � 	��"���	��&���3��*M
	�12���T��T�"�=���
�/-�96�� +���T��T�����B���	9���	��2;��
�2O4+'��������#�
 Y

��@iiA � 	��"���	��&���3����	9���	��2;����2O4+'�1�	#����5������)�7������"�=����	��
�7����'�(	��6����������B���	��&���3����
�/-���0+��#� �

��@iiiA ABCD���	��&���3���AB�)�CD ���J����	9��"�=�AB = 2 CD ��12��"�	��#0+2;�
��J�#��O��V�����K2�#�9�B��
����AOB�)��COD�����
�/-�������	
��#�
����
��0+��#� �

3. � 	��"���	��&���3����
�/-�384�� +���T�� ��12��"�	���	�9���	��2;����2O4+'������	

3 : 5���"B"�=����	����7����'�(	��12���T�����"��
�����2�
����	9���	�����2O4+'
��0+��#� �

4. � 	��"���	��&���3����	9���	��2;����2O4+'�1�	#����58������)�72������"�=�"�	�
*M
	�15����������B���
�/-���0+��#� �

5. � 	��"���	��&���3����	9���	��2;����2O4+'�1�	#����55������)�35������"�=�"�	�
��
�/-�810�� +���T�����B�*M
	���0+��#� �

6. � 	��"���	��&���3��2�����	9���	����7���� 	��#���2O4+'���'.	���20���T��T���,%�)�"��
�	��2;���7����'�(	��25���T��T ����	��&���3����
�/-�1250�� +���T�������B��	��2;��
�2O4+'���0+��#� �

7. � 	��"���	��&���3����	9���	��2;���7����'�(	��30������"�=������2�������2O4+'�
����	
�2 : 3���� ��� 	��#���2O4+'���'.	���10�������(�#�����B���
�/-���0+��#� �

8. � 	��"���	��&���3����
�/-�960�� +����� ��"�	��*M
	�6������)���	9���	��2;��
�2O4+'���9��20����������B���	9���	��2;����2O4+'���0++��#� �

9. � 	��"���	��&���3��"#���	9���	�����2O4+'�44������)���'���	9���	�����2O4+'�*M
	�
��
+# ����	��&���3����
�/-�885�� +����������B�*M
	���0+��#� �

10. � 	��"���	��&���3�����	9���	��2;����7��V�#���K2#�����	���?	?[���2O4+'�39���T�� �
"�����?	?[.	������E����	9���	����28�
	�12���T�������B���
�/-���0+��#� �
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11. � 	��"���	��&���3����	9���	��2;����2O4+'�1�	#����24������)�50������"�=����	��
�7����'�(	��12����� �����	9���	��2;����7��V�#���1	 �#�����	���?	?[���	��&���3#�
�1*G�2�����$
��+�&������Z�#��B����	������
�/-���0+��#� �

12. � 	��"���	��&���3����	9���	��2;����2O4+'�1�	#����35������)�50����� ��"�	�����	9�
�	��2;����7���� 	��"���	9���	���	�����
���C�)���'�����2O4+'�17����������B
��
�/-���0+��#� �

13. � 	��"���	��&���3����
�/-�210�� +���T��T ��"�	�����	9���	��2;���7���� 	��#�
�2O4+'�17���T��T�)���'�����	9���	���	�����
���C ��12��� 	��"���	9���	�����2O4+'
��'.	���8���T��T��(�#���"B��
����	���
���	�����2O4+'���0+��#� �

14. � 	��"���	��&���3��2�����	9���	�����2O4+'�1�	#����54���T��T�)�30���T��T�"�=����
'#
���	9���	�����2O4+'�20���T��T�����B���
�/-���0+��#� �

15. � 	��"���	��&���3�� � 	��"� �#	!������	!�600� ��� ��"�	�����
'#����	9���	���
�2O4+'�16���T��T�"�=���
�/-�336 3 �� +���T��T�����B���	9���	��2;����2O4+'���0+�
#� �

16. � 	��"���	��&���3����
�/-� 550 3 �� +������"�=����
'#����	9���	�����2O4+'�20
���� ��"�	�����E����	9���	����=� ���#	!2;�������	!����
'#�600�����B���	9�
�	��2;����2O4+'���0+��#� �

17. � 	��"���	��&���3��2�����	9���	�����2O4+'�1�	#����42������)�30����� ��"�	�����E�
��	9���	�����=� ���#	!2;�������	!�900�)�450�����B���	��&���3����
�/-���0+�
#� �
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��-��./��
� 	��"�#0+2;	�	�$
��+�&���2��� 	���
�����&������Z���"�"�=�"���2���
����&����
�/-�������

$
���+&����
�/-������	� ����
�/-��CD%��_%#	1+'�����J� �
+������
��-��./�$���	��

7A8�+������
�����������
���� �!��"J���#����������"��
�����K����"�G�
���0���A5�B	

��� �!�7p1�,�p28��>�?@�A��-��./�$���	��

ABCD�*E-�$
���+&��AC �#0+
ABCD�$
���+&����
�/-
�����P��ABC�����
�/-�W��ACD�����
�/-

�����P 1
2 QAC Q�BE Q�W� 1

2 QAC Q�DF�= 1
2 QAC Q(p1 + p2)

��+������
��-��./�E� 1
2 �L����
���� �!�L�A5�B	
���� �!
���&� '
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7B8�
>/��#�%$?"��+������
�"#�M�N����
���� �!�,��?@������"��
�����K����"�G�
���0��
A5�B	
���� �!�7p1�,�p28��>�?@�A��-��./�$���	��

���#��ABCD�"#�*E-���	�����	�$
���+& ���
!��AC �#0+���$
���+&�����U�<���� �
��ABCD�$
���+&����
�/-
P��ADC�����
�/-�S��ABC�����
�/-

P� 1
2  AC x DF – 

1
2  AC x BE = 

1
2  AC (p2 – p1)

��+������
�������������-��
�"#�M�N��#�A��#�
��-��./

E 1
2 L�"#�M�N����
���� �!�L�"��
�����K����"�G�
���?@������0���A5�B	
���� �!
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�����B	��
O
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��P���
�?@�A��-��./�$���	��
���#��ABCD�$
���+&��AC �)�BD �#0+2;����J�#��O���V�������#	!����K2�#�9� �
��ABCD�$
���+&����
�/-�P��ABC�����
�/-�W��ADC�����
�/-

��������P� 1
2 �AC�Q�BO + 

1
2 �AC Q�OD

��������P� 1
2 �AC @BO + OD) P� 1

2 Q�ACQ�BD

��+������
�����B	��
O
����������
��P���
�?@�A
����+������
��-��./�E�����B	
���� �!
����./
���F�� '

7D8�+������
�+�
�"�#�
���� �!�,�����������
���� �!��>�?@�A<��-��./�$���	��
$
���+&���� 	��"�#0+�2;	�	�2�����
����&������!
���	��	" �����
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����&����
�/-���0+�

�`�R�#	�!� .�
�
����&�2;���
�����	�����2O4+'�2E��K� ��"���2���
����&����
�/-������B
$
���+&����
�/-������	����� �

��#
��2�24 :

� 	��"�$
���+&��#0+2;����J�#�����#	!����K2�#�9� ��#0+2;����2O4+'�1�	#����68 ��T��T)
59���T��T������$
���+&����
�/-���0+��#� �
���3�$������0+����
�/-�P� 1

2 �Q�#0+2;����2O4+'�� �!/-

���������������������P� 1
2 �Q�68�Q�59�� +���T��T�P�2006�� +���T��T��������@*E�A
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��2�25 :
� 	��"�$
���+&����
�/-�1210�� +������"�=�"�	��� 	��"�#0+���2O4+'�55����� ��12��*Z

#0+�*����
	�	�������%
��#I!�#���V�2;�������
�� 	��"��C���2O4+'����.	���4�������(�#���"B
�
����C�2�������2O4+'��<���#� �

(`ˇÁÜˇ˜ 5.20)
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���3�$������#��� 	��"��C���2O4+'�P�x������"�=���'��C���2O4+'�P�x + 4�����

$
���+&����
�/-�P� 1
2 �#0+���2O4+'�Q�"���#0+��
�����
��C2;����2O4+'������

�������������������P� 1
2 �Q�55 (x + x + 4)�� +������P�55 (x + 2)�� +����� �

�
"�� 55 (x + 2) = 1210 � x + 2 = 
1210

55 �P 22

� x = 22 – 2 = 20 �����"�=���'���x + 4 = 20 + 4 = 24
���C2;����2O4+'�20������)�24������ � @*E�A


��#
��2�26��
ABCD�$
���+&��AB = 50���T��TB�BC = 80���T��TB�CD = 82���T��T�)�DA = 100���T��T �

AC �#0+���2O4+'�78���T��������$
���+&����
�/-���0+��#� �
���3�$���ABCD�� 	��"�$
���+& �
����2E�AB = 50���T��TB�BC = 80���T��TB�CD = 82���T��TB�DA = 100���T��T�)�#0+�AC = 78���T��T

ABCD�$
���+&�AC �#0+2;	�	��ABC�)��ACD�������Z���	�K� �

�ABC����
+�����%�	�P�s P� 50 + 80 + 78
2 �P�104 ��T��T

���ABC�����
�/-�P� s(s- a)(s- b)(s - c)

P� 104(104 -50)(104 -80)(104 - 78) �� +���T��T
P� 104 x 54 x 24 x 26 �� +���T��TP� 26 x4x9x6x6x42 �� +���T��T
P�(26 x 6 x 4 x 3)�� +���T��TP�1872 � +���T��T

���>��ACD����
+����%�	�P�s�P� 82 +100 + 78
2 ���T��TP�130���T��T

���ACD�����
�/-�P� s(s- a)(s- b)(s - c)

������������������������P� 130(130 - 32)(130-100)(130- 78) �� +���T��T
P� 130 x 48 x 30 x 52 �� +���T��T�P� 13 x 10 x 16 x 3 x 3 x10 x 13 x 4 �� +���T��T
P�(13 x 8 x 3 x 10)�� +���T��T�P�3120�� +���T��T
��ABCD�$
���+&����
�/-�P��ABC�����
�/-�W��ACD�����
�/-
�������������������������������P�(1872 + 3120)�� +���T��T�P�4992 � +���T��T��@*E�A

D

(`ˇÁÜˇ˜ 5.22)

82 ��T��T C

A B

80
��T��T100

��T��T

50 ��T��T

78 ��T��T
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��#
��2�27 :
� 	��"�$
���+&���	���	�����2O4+'��1�	#����5���TB�12���TB�14���T�)�15��� �������2����	���

�9 +
��#	!������	!�900������$
���+&����
�/-���0+��#� �
���3�$���ABCD�$
���+&���AB = 5���TB�BC = 12���TB�CD = 14���TB�AD = 15���T�m B∠ = 900

�ABC�����
�/-�P� 1
2 �Q��8�����2O4+'�Q�*M
	

�������������= 1
2 �Q�5�Q�12�� +T�����P�30�� +����� �

���>�ABC����#	!%�
����&���AC�P� AB BC2 2+
�������������������������������������P� 5 12 2+ 2 �P�13�����
ADC�
����&���	��
�����2O4+'�1�	#����13�����B�14������)�15�����

�4!������(���P s�P�13 14 15
2

42
2

+ + =  = 21�����

���ADC�����
�/-�P�� s(s- a)(s- b)(s - c) P� 21(21 13)(21 14)(21 15)− − −

P� 21 x 8 x 7 x 6 �P� 7 x 3 x 7 x 8 x 2 x 3 ��P�7 x 3 x 4 = 84��� +����
��ABCD�$
���+&����
�/-�P��ABC�����
�/-�W��ADC�����
�/-

�����������������������P�(30 + 84)�� +������P�114�� +����� @*E�A

��#
��2�28 :

ABCD�$
���+&��∠ABC �)�∠ADC ��#	!�2;�����
'#����#	! ��"�	��AB B�BC ��)�CD
�	�����2O4+'�1�	#����39 ��B�52����)�60��������B�$
���+&����
�/-���0+��#� �
���3�$��ABCD�$
���+&���AB = 39���B�BC = 52����"�=CD = 60���TR�m ABC∠ Pm ADC∠ �P 900

ABC����#	!%�
����&����
�/-�P 1
2 �Q�39 Q 52 � +���T�P�1014�� +�����

ABC����#	!%�
����&���AC = AC BC2 2+  = 3 52 29 2+ =13 x 5 = 65���
ADC����#	!%�
����&���AD P� A C2 2C D– P 65 602 2– P 625  = 25���

���ADC�����
�/-�P 1
2 QADQCD =

1
2 Q25Q60 �T��T�P�750 �T��T

��ABCD�$
���+&����
�/-
P �ABC�����
�/-�W��ADC�����
�/-

��������P�(1014 + 750) = 1764�� +�������@*E�A

(`ˇÁÜˇ˜ 5.23)

D

A B

15 ��T
12 ��T

5 ��T

C
14 ��T

D

A B

52 ��T

39 ��T

C

(`ˇÁÜˇ˜ 5.24)

60 ��T
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��#
��2�29 :
ABC����	���
����&�����
'#��	�����2O4+'�50���T��T ��
����&��7���D�"����"#���V���1
m BDC∠  = 900�)�CD : BD = 3 : 4������ABDC�$
���+&����
�/-���0+��#� ��@ 3 1.732= A
���3�$������#��CD = 3x���T��T)�BD = 4x���T��T���
�	=
��BDC���(4x)2 + (3x)2 = 502 � 25x2  = 2500���  x = 10
��BD = 40 ��T��T�)��CD = 30 ��T��T
��BCD����#	!%�
������� � ���&����
�/-�P 1

2 Q40Q30� +���T��T
��������������������������������������P�600�� +���T��T
���>���BC�"#����	���
����&�)�"�	���	�����2O4+'�50���T��T �

����BC�����
�/-�P� 3
4
�@�	�����2O4+'A2�P� 3

4
�(50)2�� +���T��T

���������������P�625 3 � +���T��TP�625 x 1.732�P�1082.5 � +���T��T
��ABDC�$
���+&����
�/-�P���BC�����
�/-�S��BCD�����
�/-
�������������������������������P�(1082.5 – 600)�� +���T��T�P�482.5�� +���T��T��@*E�A

�$�)�/$��2�5 (e)
7��")!���N�/� 3 �
���$�1.732�$��8

1. (a) � 	��"�$
���+&��� 	��"�#0+���2O4+'�25������"�=�"���#0+��
������%
��#I!�#���V�2;���
���
��C2;����2O4+'�13���T��T�)�11���T��������$
���+&����
�/-��#�
 Y

    (b) � 	��"�$
���+&����
�/-�560�� +���T���"�=�#0+��
������%
��#I!�#���V�������
��C2;��
�2O4+'�������28���T��T������#0+���2O4+'��#�
 Y

    (c) � 	��"�$
���+&��#0+�� �2O4+'�36� �����"�=� ��
�/-� 270� � +� ����� ����B�#0+��
�
����%
��#I!�#���V�2;�������
��C2;����2O4+'��������#�
 Y

    (d) ���U�<�#0+���,���� 	��"�$
���+&�����U�<�#0+���2O4+'�36���T��T�"�=�#0+��
������%

�#I!�#���V�������
��C2;����2O4+'�24���T��T� )�16���T��T� �����$
���+&����
�/-
�#�
 Y

    (e) � 	��"�$
���+&��#0+2;����J�#�����#	!����K2�#�9� ��#0+2;����2O4+'�1�	#����24
�����)�15����������B�$
���+&����
�/-��#�
 Y

    (f) � 	��"����U�<�#0+���,���$
���+&��#0+��
������%
��#I!�#���V�2;�������
��C2;����9�
10���T���)���
�/-�180�� +���T�������B�*Z����U�<�#0+���2O4+'��#�
 Y

    (g) � 	��"�$
���+&��#0+2;����J�#�����#	!����K2�#�9� ��12��� 	��"�#0+���2O4+'�32
�����"�=���
�/-�640�� +��������"B��
�����'�#0+���2O4+'��#�
 Y

(` Á̌Ü ˜̌ 5.25)
CB

D

A
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2. � 	��"�$
���+&��#0+���2O4+'�48������"�=�"�	����
�/-�1296� +����� ��"���#0+
*��������%
��#I!�#���V�2;�������
��C�2;����2O4+'������	
�4 : 5�����B��C2;��
�2O4+'���0+��#� �

3T � 	��"�$
���+&��� 	��"�#0+���2O4+'�28������"�=�"�	����
�/-�336�� +����� ��"��
#0+���
������%
��#I!�#���V�������
��C�2;���7���� 	��"���'.	���6�������(�#�����B
�C2;����2O4+'���0+��#� �

4. �#I!���$
���+&��� 	��"�#0+���2O4+'�70���T�� ��"���#0+��
������%
��#I!�#���V�������

�C2;����2O4+'�������2E�#0+���2O4+'�� 3

5 �����B�$
���+&����
�/-���0+��#� �
5. � 	��"�$
���+&����
�/-�192�� +�������"�=�"�	�����U�<�#0+���2O4+'�32����� ��"��

#0+��*��������%
��#I!�#���V����"�	���
�����
��C2;����2O4+'�������26����������B
���	�����2O4+'���0+��#� �

6. � 	��"�$
���+&��#0+2;����J�#�����#	!����K2�#�9� ��$
���+&����
�/-�864�� +
�����)�#0+2;����2O4+'������	
�3 : 4�����B�#0+2;����2O4+'���0+��#� �

7. � 	��"�$
���+&��#0+2;����J�#�����#	!����K2�#�9� ��$
���+&����
�/-�400�� +����� �
12��� 	��"�#0+���2O4+'���'�������	�7��������,%���"B��
���#0+2;����2O4+'���0+��#� �

8. � 	��"�$
���+&��#0+2;����J�#�����#	!����K2�#�9��"�=�"�	����
�/-�90�� +
���� ��12��#0+2;��������28��������"B��
���#0+2;����2O4+'���0+��#� �

9. � 	��"�$
���+&����
�/-�396�� +������"�=�"�	��#0+2;����J�#�����#	!����K2
#�9� ��"�	��� 	��"�#0+�� �2O4+'� ��'�#0+�� �2O4+'��2� �!���8��������,%� ����B
#0+2;����2O4+'���0+��#� �

10. ABCD� $
���+&�� AB BBC BCD BDA � "�=� AC � #0+�� �2O4+'� 1�	#���� 29� ��T��TB
39���T��TB�40���T��TB�36���T��T�"�=�25���T�������B�$
���+&����
�/-���0+��#� �

11. � 	��"�$
���+&��$	���	�����2O4+'�1�	#����15���T��B�36���T��TB�52���T��T�)�65���T��T
"�=������2���	�����9 +
��#	!������	!�900���� ��"�	����
�/-���0+��#� �

12. � 	��"�$
���+&��2������	�����2O4+'�8������)�15������"�=����	�����9 +
��#	!
� 	��"����#	! ��12����'��	���2�������2O4+'����
'#�17���������9�B��
���$
���+&�
��
�/-���0+��#� �

13. � 	��"�$
���+&���	���	�����2O4+'�20���T��TB�20���T��TB�16���T��T�)�12���T���"�=
������	��2;����9 +
��#	!������	!�600�����B���
�/-���0+��#� �

14. $
���+&��AB = BC = 50���T���"�=�m ABC∠  = 600 ; AD = 30���T��T�)�m ADC∠ �P�900

����B�$
���+&����
�/-���0+��#� �
15. ABCD� $
���+&��AB = 36� ��T��TB�BC = 48� ��T��TB�CD = DA = 50� ��T��TB� "�	�

m ABC∠ �P�900�����B�$
���+&����
�/-���0+��#� �
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5.7 � $"Q��7Solids8��
"��1+'9��	����1*G�$�
� �:�#��=�#+����	��	$�	�#��������5��	�
-�#�$�
� ���
!��"��

$�
� �:�#���	���2;��	
��#�@Two DimensionalA�#���	* ��#�9���	���2O�V���&%������1*G�������
��#	���5���2?���� �:�#�2;��	
��#����9� ��?[�"���	#��4���$�	!�@1	�	#��"#���
-A�*���
�?������	��� 	��"��	,;+#��K	:��2�����'��#I!����=,�$�	!���������	��G ��"�����#	���5��1�	
��	B����B��	#aB�� 	�#B��#	�3��
'	2��4��5��@SolidsA���9� ��"����5� �:�#�
���	
��#�@Three
DimensionalA


���	
��#��5���	�G������
����4�/-�)���6
-����
�/-��=�#+����	��	$�	�#�	1	��	" �
�	��� �1*G� 
���	
��#� �5�2;��� �	��	$�	� #���	� �� �:�#� ����� �	�
4�� @CuboidA� )� ��4�
@CubeA�����	�?[��	�
4���*2	��!�)���:��� 	�����4���*2	��! �

".	���*��b?��1	 '��1�$�	!����?	1	����	���	?[#��$�	!������	9��"#���
-�2;	�	
�K2�#�����
-�<��K2���"#��	�
��
��)�����������:��� 	�����
������
-�<��K2���"#�� +
��
����� �

4�	#	���5���&'	��
��
���	
��#���
���	�#��#c�	��	7�����	���d�#�$�
�#����e��	#������#	�!
��
-���4�	#	���5���$�
��������`��������G �
5.8.���	� $�,��� $
� $./�,��RS�/
��-��./��

��	� $����	�
4��K�� 	�����6
-���,���"#�4��5��1	�	�����
'#���6
-�� 	��"�� 	��"
�	�
���
��"�=��F�?%����6
-2;����	9��)���+����	�
��
����9� �

�����@$�
��f�5.26A����������������������������������@$�
��f�5.27A
�	�
4���EF EH GH AE DH BF, , , , , �)�CG�(	�#��#	���12��$�
���#���?	���#�����
-�*���

�?��	��
���"�	��1�����2?	1���
	�	�$�
��f�5.27����2,+�
���	�K� �
$�
��f�5.27 "�	������J���1
�	�
4����� ����6
-����
�/-�P�(bc + ab + bc + ab + ac + ac)�� +�"##
����	�
4����� ����6
-����
�/-�P�2 (ab + bc + ac)�� +�"##
)� �	,; +��6
-�� ��
�/-� �	�G� �� ���6
-�� ��
�/-��� 2����� �8���� ��
�/-� ��	+
3

(ab + ab) = 2ab�#���	23��2�	#����� ��#	�!�"�2����������<�)�*����<���6
- �
����	� $
���)B���RS�/
��-��./�E�2 (a + b) c�"������
$�
��f�5.26����2,�+
���	� $
� $./�E��9���K�����RS�/
��-��./�L���#���RS�/

�����A5����"��"�N���3�

���� �!

H

A B

G

D

FE

C

a
b

c

A B

D C

E F

H G

F E

G H

E

H

a
ac
a

ab

a
ac
a

b  bc b  bc

a

ab

a

c

c

bbb

c c
c

c
c
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���	�
4���4�/-�P�@�2O4+'�x����<�x *M
	A�4��"##
�� $�����4������5�(	����2O4+'�P�a���* ��"�	#��$�
��f�5.28����2,+	1	�K� �
�	�
4���	�G�������
��� ����6
-����
�/-B��	,;+��6
-����
�/-�)
���������4�/-��8
����b = c = a���?���
��4���������RS�/
��-��./�E�6a2�"������<
��)B���RS�/
��-��./�E�4a2�"��������"J
 $./�E�a3� $����
�1+$����12����2O4+'��"##���T��T����25��
���4�/-���4��"###��@��T��TA3��7���?	1	" �

��#
��2�30 :
� 	��"��	�
4����2O4+'B����<�)�*M
	�1�	#����22���T��TB�12���T��T�)�7.5���T��T�����B

"�	���� ����6
-����
�/-B��	,;+���6
-����
�/-���0+��#��"�=��	�
���<���#� �
���3�$���".	����2O4+'�P�a = 22���T��TB����<�P�b = 12���T��T�)�*M
	�P�c = 7.5���T��T
�� ����6
-����
�/-�P�2 (ab + bc + ca) = 2 (22 x 12 + 12 x 7. 5 + 22 x 7.5)�� +���T��T
��������������������������������������������P�2 (264 + 90 + 165) = 2 x 519 = 1038 � +���T��
�	,;+���6
-����
�/-�P�2 (a + b) x c = 2 (22 + 12) x 7.5 = 285�� +���T��T
�	�
��P�a x b x c = �(22 x 12 x 7.5) 4����T��T = 1980 4����T��T
���	�
4����� ����6
-����
�/-�1038���T��TB��	,;+���6
-����
�/-�285���T��T�"�=

���������&�����1980 4����T��T @*E�A

��#
��2�31 :

� 	��"��	�
4����2O4+'B���<�)�*M
	������	
�5 : 3 : 2�"�=�"�	���� ����6
-����
�/-
992�� +���T�������B�"�	��4�/-��<���#� �

���3�$������#���	�
4����2O4+'=�a = 5x���T��TB����<�b = 3x���T��T�)�*M
	�c = 2x���T��T
��"�	���� ����6
-����
�/-�P�2 (ab + bc + ca)�� +���T��T
P�2 (5x x 3x + 3x x 2x + 5x x 2x) = 2 x 31x2 = 62x2�� +���T��T �

��,�	���	���62x2 = 992 � x2 = 
992
62  = 16 � x = 4

�2O4+'�P�5x���T��TP�5 x 4 = 20���T��TB����<�P�3x���T��TP�3 x 4 = 12���T��T
)�*M
	�P�2x���T��TP�2 x 4 = 8���T��T
4�/-�P��2O4+'�x����<��x *M
	�P�(20 x 12 x 8) 4T��T��T = 1920 4T��T��T

���	�
4���4�/-�1920 4T��T��T� � @*E�A

��#
��2�32 :

� 	��"��	�
4����� ����6
-����
�/-�492�� +T�� ��12��"�	���8������
�/-�90�� +T��
"�=�"�	��� 	��"��	,;+���6
-����
�/-�60�� +T��T���"��
���"�	���2O4+'B����<�)�*M
	���0+��#� �

A B

H

C

E

�@$�
��f�5.28A

D

G

F
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���3�$������#���	�
4����2O4+'B����<�)�*M
	�1�	#����a���B�b���B�c���T� ��2E��K���8���
��
�/-�= ab = 90�� +���TB� � 	��"��	,;+� ��6
-����
�/-�= bc = 60 � +T��T� )�"�	���� �
��6
-����
�/-�2 (ab + bc + ca) = 492 � 2 (90 + 60 + ca) = 492 � 150 + ca = 246

�� ca = 96�� +���T
����'��	,;+���6
-����
�/-�ca = 96�� +T��
�E+�	��ab x bc x ca = 90 x 60 x 96 � a2b2c2 = 9 x 6 x 6 x 1600
� abc = (3 x 6 x 4 x 10) = 720;

��a = 
abc
bc  = 

720
60  = 12 ,  b = 

abc
ca  = 

720
96  = 7.5, c = 

abc
ab  = 

720
90  = 8

���	�
4����2O4+'B����<�)�*M
	�1�	#����12���B�7.5����)�8���T ���@*E�A

��#
��2�33 :

� 	��"��#	.�����2O4+'B����<�)�*M
	�1�	#����5���B�4����"�=�3��� ����
��� +�����#����7.50
���	����	�����#	.����#	�<� �:�#��"�=�K	
#���d�� 	��	����#�
�?M+�������0+��#� �
���3�$���".	����2O4+'�a = 5���B����<�b = 4 ���"�=�*M
	�c = 3���

�d����	��	�G����	���
�����
�/-= 2bc+2ca+ ab = 2 x 4 x 3 + 2 x 5 x 3 + 5 x 4 = 74�� +���T
��
��� +���T#��7.50����	����	����74�� +���T�#	�<�)�K	
#���= �#���	#��?M+����

74 x 7.50 = 555 ��	
����555 . 00��= �#���	#��?M+���� � @*E�A
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���	?�#-����/	�#���	��	�G���
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��	����	����440���	�?M+����	 ��#�[���� �%�
	���0+��#� �
���3�$������#����4�	#	���?	�	�#�[����
���	?���2O4+'�P����<�P�*M
	�P�a���

"�	����
���� 	��"���6
-����
�/-�P�a2�� +T��
�1��
����4�	#	��#�[����*����?	�	B�"�	���	g� 	�����6
-��/	�#���	#����� �
"����	g� 	���
-����
�/-�������P�5a2�� +T��
#-����/	�����E���
���T���#����5.50����	����440���	�?M+���	�K� �

��#�[������
����6
-����
�/-�P� 440.00
5.50 �P�80 � +T��T

��,�	���	���5a2 = 80 � a2 = 16 � a = 4 ��T
��#�[��� �%�
	�4��� �@*E�A
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��2�35 :
2����� ��4��� �� �� ��6
-�� ��
�/-�� ����� 1464� � +� ��T��T �� ��4�� 2������ �	���

�2O4+'������	
�5 : 6�����B����
'#��	�����2O4+'���0+��#������
'#��4�/-��<���#� �
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���3�$���� 	��"���4����	�����2O4+'������	
�5 : 6���� ��� 	��"���4����	�����2O4+'
5x���T��T)���'�����	�����2O4+'�6x���T��
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*�����4����� ����6
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�/-�������150x2 + 216x2�� +���T��T� 366x2 � +���T��T
� 366x2  = 1464�� +���T��T�� x2 = 4 � x = 2
����4�2;����	�����2O4+'�5x = 10���T��T�)�6x = 12 ���T��T
�������4���4�/-�= �(10)3 4�T��T��T�P�1000  4T��T��T
2;�
%����4���4�/-�= �(12)3 4�T��T��T�P�1728  4T��T��T
����4�2;���4�/-�1�	#����1000 4T��T��T�)�1728  4T��T��T��������@*E�A
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� 	��"��V����	�#	.��	#a���	�	���	?���2O4+'B����<�)�*M
	�1�	#����30���T��TB�22���T��T
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�
	�	�12��2���T��T���	�	���"B��
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#	.���	�
����0+��#� �
���3�$����	#a�����	�	���	?���2O4+'�30���T��TB����<�22���T��TB�*M
	�12���T��T

���#	.����(� = 2���T��T
� ��
���	?���2O4+'�= 30 – 2 x 2 = 26���T��TB����<�= 22 – 2 x 2 = 18���T��T�"�=

��������*M
	�= 12 – 2 x 2 = 8���T��T
#	.���	�
��P����2	���	#a���	�
��– ��
��/h	��=,���	�
�
���������������P��(30 x 22 x 12 ) 4T���T��T�– �(26x 18 x 8 ) 4T���T��T
���������������P��7920 4T���T��T�– �3744 4T���T��T�P��4176 4T���T��T

�$�)�/$��2�5 (f)
1.�������?�
���,� �:�#��*E��2���X
    (a) � 	��"��	�
4�	#	���5����8�����2O4+'#��*M
	�)�*M
	#���8�����2O4+'�#���"�	���� �

��6
-����
�/-���#�K������E+������#� Y
    (b) #	:+� ��	:+��� ����+
� N	��!�� ����	� "#� ��4�	#�
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'#� �	���6� ��T��T� ����
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�/-��#�
 Y
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�/-��#�
 Y
    (d) � 	��"���4����� ����6
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 Y
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-����
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	��#�
 Y
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4����� ���6
-����
�/-��#�
�Y

    (g) 2�������4����	�
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'#��	�����2O4+'�1�	#����5���T��B�4���T���)�3���T��T ��"��
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-����
�/-��#�
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-����
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�
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���	?��*M
	��#�
 Y
8. � 	��"��	�
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 Y @�8$�	�X��:���2O4+'�P l b h2 2 2+ + A

��������	
(i)����	� $
���� �!<����N�,�
=���9?������a, b ,�c �����#�A<���	� $
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�� AöÊfl

AZˇúˇ
(CONSTRUCTION)

6.1. �����	
����
��������	
����
�	�������	���	����	��� �	�����������	�������	�����	�
��	��
�������	��������

���� �!"���	��#$	����������	�%�&���	��
�!������	'�()	�*+�� �	����������	�%�&�	��#$	��������	
��,����	(+
��
'-��.���	'(�	/	�0��1�2	��3��2	4�����#4���12	��5�
5���6��12	��
1�0������1	7	��&1����1���		
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�8����	�����'�#(�� �
����������	�%�&����	���������	
9�:�	��#$	��5�
5���6��1	7	��
1�0������1	
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�8�������	��5��	��5��	
�� 1�	 ����'�� �

�8��	�;�����	��������	�<��5���	��5�������	�%�&�	��#$	���
�=�	�0��1�	7	��3��1��	
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�8����	�����'�
� �
�>���	����
��	�?���1�	�'	���
��	��5�������	�%�&�	��#$	���@��	��&�������!A=�	����&��
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(i) �D���2	�&��	 ��#	
��8����	��)�	7	���
��	�D���	�����E	����� �
(ii) 	�D���2	�&��	 ��#
��8����	�F���	7	���
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�	�D���	�����E	����� �
(iv) ��5�������	 ��#
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6.2  Üˇ˜ÁμÎˇf AZˇúˇ (Construction of Triangles) :

AZˇúˇ- 1

ÔLˇÚ~”Á Ü ˜̌ÁμÎ̌ f¿ˇ ÔSÊsÁF ØˇÊ‹Î̌ ¿ˇ Ôí ̌Wˆø, Ô”‹ Á̌ ØˇÊ‹Î̌  ”Û‡ˇSß ÔLˇÊ~í ¥̌fl ∑ö¿Î̌  ÔSÊsÁLˇ¿ˇ ®¿ Á̌∑Ê~
H Aúˇø íÎˇBØˇÊ‹Îˇ¿ˇ ÔíˇWˆø¿ˇ ”∑ŒÁ íˇàˇ AdÁ<> Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ<>

( To construct a triangle, given the length of one side, the measure of one of the
angles adjacent to the same side and the sum of the lengths of the other two sides.)

∑ÔúˇLˇ¿ˇ � ABC ¿ˇ BC = a FLˇLˇ, m�ABC=B0, AC+AB = (b+c) FLˇLˇ íˇàˇ AdÁ<>
� ABC AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ< >

Ø Á̌Ô…‚Ã~ :  `ˇÁÜˇ˜ 6.1 ÔíˇQ<> BA
→

 D®Ô¿ˇ D ØˇÁ¢Îˇ úˇÁAÊæÊD Ôæ®¿ˇÁ AD=AC, CD  AZˇúˇ LˇÔ‡ˇ
�CBD ∑Á¡ˇÁØˇ, æÊ‹ˇÊ¿ˇ BD=(b+c)FLˇLˇ: Øˇàˇˆ∑Êúˇ � CBD Ô¿ˇ, BC, BD H   m�CBD íˇàˇ<> ≠ˇ¡ˇÔ¿

B0

C

B A D

R

CB

A

D

R

a

bc

b

(`ˇÁÜˇ˜  6.1) (` Á̌Ü ˜̌  6.2)
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ˇ� CBD  AZˇúˇ Lˇ¿ˇÊæÊB ®Ê¿ˇÁØˇ > � ACD  ”∑íˇ¥ÁØˇÊ‹Îˇ Ô‹ˇÊB êèØˇÊ¿Îˇ CD  ¿ˇ ”∑íˇ¥ÁQÉLˇ ‡ˇ∫
D®Ô¿ˇ A ØˇÁ¢Îˇ ¿ˇ‹ˇÁØˇ<>
AZˇúˇ ®˜~Ê¡ˇÍ:

(i) FLˇ ”¿ˇ¡ˇÔ¿ˇQÊ AZˇúˇ Lˇ¿ˇÁ Ô”êè¿Îˇ a FLˇLˇ ®¿ˇÁ∑ÁÜˇ BC  LˇÊs<>
(ii) BC  D®Ô¿ˇ B ØˇÁ¢ÎˇÔ¿ˇ B0 ®¿ˇÁ∑ÁÜˇ �CBD AZˇúˇ Lˇ¿ˇ<>
(iii) BD

→
 ¿Îˇ (b+c) FLˇLˇ ®¿ˇÁ∑ÁÜˇ BD  LˇÊs > DC † AZˇúˇ Lˇ¿ˇ >

(iv)  Øˇàˇˆ∑Êúˇ DC ��	”∑íˇ¥ÁQÉLˇ ‡ˇ∫ AZˇúˇ Lˇ¿ˇ<> ÜˇÊ‹ˇÊ BD  LÎˇ ÔæDÙ ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇÁØˇ ÜˇÊ‹ˇÊ‹ˇË
Ô‹ˇØˇ A ØˇÁ¢Îˇ<> (LˇÁ∫Ê DC  ¿ˇ C ØˇÁ¢ÎˇÔ¿ˇ m�D = m�DCA  AZˇúˇ Lˇ¿ˇ; CA

→
,  BD LÎˇ ÔæDÙ ØˇÁ¢ÎˇÔ¿ˇ

Ôdíˇ Lˇ¿ˇÁØˇ ÜˇÊ‹ˇÊ ∑ö A ØˇÁ¢Îˇ Ô‹ˇØˇ< >)
(v) AC AZˇúˇ Lˇ¿ˇ >  Øˇàˇˆ∑Êúˇ � ABC DîÁŒ Üˇ˜ÁμÎˇf >

®˜∑Ê~: (ØˇÁÔ…‚Ã~¿Îˇ ®˜∑Ê~ ”ÎÿŒ<>)
AúÎˇ…Í¡ˇúˇÍ - 6(a)

1. �� ABC AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ:
(i) a = 6.5 Ô”.∑Á.,  m�B = 600, b+c = 10 Ô”.∑Á. �
��	b 7	c ��	� �JK��	���	�����	����	 >
(ii) b= 5.5 Ô”.∑Á., m�C= 600, c+a = 10.1 Ô”.∑Á. �
��	 c 7	 a ��	 � �JK��	 ���	 �����	 ����<>
(iii) a = 6 Ô”.∑Á., m�B= 600,  AB + DaˇÜˇÊ AD = 11 Ô”.∑Á.<>
(iv) b = 5.7 Ô”.∑Á., m�C=600,  BC + DaˇÜˇÊ BE = 10.7 Ô”.∑Á.<>
(v) AB = AC, a = 6.2 Ô”.∑Á., AC + DaˇÜˇÊ AD = 10 Ô”.∑Á.<>
(vi) m�B = 900,  AB = BC H AB + AC = 10.3 Ô”.∑Á.<>
(vii) m�B = 900, BC = 5.6 Ô”.∑Á., AB+AC = 10.6 Ô”.∑Á.<>

2. FLˇ ”∑ØˇÊ‹Îˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ ÔSÊsÁF ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø H DaˇÜˇÊ¿ˇ ”∑ŒÁ =  11 Ô”.∑Á.<>

AZˇúˇ- 2

ÔLˇÚ~”Á Ü ˜̌ÁμÎ̌ f¿ˇ ÔSÊsÁF ØˇÊ‹Î̌ ¿ˇ Ôí ̌Wˆø, Ô”‹ Á̌ ØˇÊ‹Î̌  ”Û‡ˇSß ÔSÊsÁF ÔLˇÊ~¿ˇ ®¿ Á̌∑Ê~ H Aúˇø
íÎˇBØˇÊ‹Îˇ¿ˇ ÔíˇWˆø¿ˇ Aûˇ¿ˇ íˇàˇ AdÁ< > Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ< >

(To construct a triangle, given the length of one of the sides, the measure of one
of the angles adjacent to the same side and the difference between the lengths of the other
two sides.)
(I) `ˇÁÜˇ˜ 6.3 Ô¿ˇ AC > AB AêÊˆÜ˙ˇ b > c

∑ÔúˇLˇ¿ˇ �ABC ¿ ˇBC = a FLˇLˇ, m�ABC = B0, AC–AB = (b–c) FLˇLˇ íˇàˇ AdÁ<> �ABC

AZˇúˇ Lˇ¿ Á̌ØˇÊLÎ̌  Ô‹ˇØˇ< >
ØˇÁÔ…‚Ã~ : `ˇÁÜˇ˜ 6.3 ÔíˇQ<> AB

→  D®Ô¿ˇ D ØˇÁ¢Îˇ úˇÁAÊæÊD Ôæ®¿ˇÁ BD = (b–c) FLˇLˇ;
ÔÜˇÔØˇ AD = b FLˇLˇ Ô‹ˇØˇ FØˇÛ � ADCÔ¿ˇ AD = AC Ô‹ˇØˇ  <>
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Øˇàˇˆ∑Êúˇ �BDCÔ¿ˇ  �DBC, �ABC¿ˇ ®¿ Á̌®Ì¿ˇLˇ Ô‹ˇÜÎ̌  F‹ˇÊ¿ˇ
®¿ˇÁ∑Ê~ úˇÁÇˇˆfl ”ªØˇ <> ≠ˇ¡ˇÔ¿ˇ BD, BC H m�DBC jÊÜˇ êèØˇÊ¿Îˇ
�DBC AZˇúˇ Lˇ¿ˇÊæÊB®Ê¿ˇÁØˇ< >
AZˇúˇ ®˜~Ê¡ˇÍ:

(i) FLˇ ”¿ˇ¡ˇÔ¿ˇQÊ AZˇúˇ Lˇ¿ Á̌ Üˇ‹ Ë̌¿Î̌  íˇàˇ a FLˇLˇ Ôí ̌Wˆø Ø Á̌…ÁŒ
BC  LˇÊs >

(ii) BC D®Ô¿ˇ B ØˇÁ¢ÎˇÔ¿ˇ B0 ®¿ˇÁ∑ÁÜˇ ÔLˇÊ~ AZˇúˇ Lˇ¿ˇÁ
ÔæDÙ ¿ˇ…ΩÁ ∑Á¡ˇÁ‡ˇÊ, ÜˇÊ¿ˇ ØˇÁ®¿ˇÍÜˇ ¿ˇ…ΩÁ D®Ô¿ˇ D ØˇÁ¢Îˇ úˇÁA Ôæ®¿ˇÁ
BD = (b – c) FLˇLˇ Ô‹ˇØˇ< >

(iii) CD AZˇúˇ Lˇ¿ˇ<> CD  ¿ˇ ”∑íˇ¥ÁQÉLˇ ‡ˇ∫ AZˇúˇ Lˇ¿ˇ<>

F‹ˇÊ DB
→

 LÎˇ ÔæDÙ ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇÁØˇ, Ô” ØˇÁ¢ÎˇsÁ Ô‹ˇØˇ A ØˇÁ¢Îˇ<>
(iv) AC AZˇúˇ Lˇ¿ˇ<> �ABC DîÁŒ Üˇ˜ÁμÎˇf Ô‹ˇØˇ< >

®˜∑Ê~ : (ØˇÁÔ…‚Ã~¿Îˇ ®˜∑Ê~ ”ÎÿŒ<>)
(II)  `ˇÁÜˇ˜ 6.5 Ô¿ˇ (AB > AC)

∑ÔúˇLˇ¿ˇ � ABCÔ¿ˇ BC = a FLˇLˇ, m�ABC = B0,

 AB–AC = (c–b) FLˇLˇ íˇàˇ AdÁ<> �ABC AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ<>
Ø Á̌Ô…‚Ã~-

`ˇÁÜˇ˜ 6.5 ÔíˇQ<> AB
→

 D®Ô¿ˇ D ØˇÁ¢Îˇ F®¿ˇÁ úˇÁAÊæÊD Ôæ®¿ˇÁ

B

D

C

A

<
(`ˇÁÜˇ˜   6.3)

(`ˇÁÜˇ˜    6.4)

(`ˇÁÜˇ˜    6.5)

< 

>

A

B C

D

<

A

D
B C

< 
>

>

<

>
A

D

B C

AD= AC Ô‹ˇØˇ <> CD  AZˇúˇ LˇÔ‡ˇ BD = AB–AD = AB–AC  Ô‹ˇØˇ< >
AêÊˆÜ˙ˇ BD = (c–b) FLˇLˇ Ô‹ˇØˇ< > FvˇÊÔ¿ˇ � ADC Ô¿ˇ AD = AC

AZˇúˇ ®˜~Ê¡ˇÍ :
`ˇÁÜˇ˜ 6.6 ÔíˇQ<> (i) FLˇ ”¿ˇ¡ˇÔ¿ˇQÊ AZˇúˇ Lˇ¿ˇÁ Üˇ‹ˇË¿Îˇ aFLˇLˇ

®¿ Á̌∑ÁÜˇ BC  LˇÊs<>

(ii) BC  D®Ô¿ˇ B ØˇÁ¢ÎˇÔ¿ ˇB0 ®¿ˇÁ∑ÁÜˇ ÔLˇÊ~ AZˇúˇ Lˇ¿ˇÁ ÔæDÙ
¿ˇ…ΩÁ ∑Á¡ˇÁ‡ˇÊ ÜˇÊ D®Ô¿ˇ BD= (c–b) FLˇLˇ Ôdíˇúˇ Lˇ¿ˇ<>

(iii) CD  AZˇúˇ Lˇ¿ˇ <>
(`ˇÁÜˇ˜  6.6)

(iv) CD ¿ˇ ”∑í ¥̌ÁQÉLˇ ‡ˇ∫ AZˇúˇ Lˇ¿ <̌> ÜˇÊ‹ˇÊ BD
→

 LÎ̌  ÔæDÙ Ø Á̌¢Î̌ Ô¿ˇ Ôdíˇ Lˇ¿ Á̌Øˇ ÜˇÊ‹ˇÊ¿ˇ úˇÊ∑ A í Á̌A<>
(v) † AC  AZˇúˇ Lˇ¿ˇ<> � ABC DîÁŒ Üˇ˜ÁμÎˇf Ô‹ˇØˇ<>

®˜∑Ê~ : (ØˇÁÔ…‚Ã~¿Îˇ ®˜∑Ê~ ”ÎÿŒ<>)
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AúÎˇ…Í¡ˇúˇÍ- 6 (b)

1. � ABC AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ:
(i) a = 6 Ô”.∑Á., m�C = 450, b–c = 1.5 Ô”.∑Á. �
��	b 7	c ��	� �JK��	���	�����	����<>
(ii) AB = 6.2 Ô”.∑Á.,m�B = 450, a–b = 1.3Ô”.∑Á.< �
��	a 7	b ��	� �JK��	���	�����	����<>>
(iii) a = 6.1 Ô”.∑Á., m�C = 750, c–b = 1.4 Ô”.∑Á.�
��	c 7	b ��	� �JK��	���	�����	����<><>
(iv) B = 7 Ô”.∑Á., m�A = 600, a–c = 1.4 Ô”.∑Á.�
��	a 7	c ��	� �JK��	���	�����	����<><>
(v) a = 7 Ô”.∑Á., c–b = 1 Ô”.∑Á. �
��	 m�B = 600 7	b �
��	c ��	� �JK��	���	�����	����<><>

2. FLˇ ”∑ØˇÊ‹Îˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ FLˇ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø – DaˇÜˇÊ = 1 Ô”.∑Á.<>
3. FLˇ ”∑ÔLˇÊ~Í ”∑í ¥̌ÁØˇÊ‹Î̌  Üˇ̃ÁμÎ̌ f AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ LˇÇˇ̂ H FLˇ ”∑Êúˇ ØˇÊ‹Î̌ ¿ˇ Ôí ̌Ŵø¿ˇ Aûˇ¿ˇ = 2 Ô”.∑Á.<>
4. � �� ABC AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ :

(i) AB = AC, AD � BC , BC = 6 Ô”.∑Á. H AB–AD = 1 Ô”.∑Á.<>

(ii) m�B = 900, BC = 6.6 Ô”.∑Á., AC – AB = 2.3 Ô”.∑Á.<>

(iii) AD � BC , a = 6 Ô”.∑Á., m�B=600 H AB–AD=1 Ô”.∑Á.<>
(iv) BE � AC , b = 5.8 Ô”.∑Á., m�A=600 H AB–BE =1 Ô”.∑Á.<>

AZˇúˇ-3
ÔLˇÚ~”Á Ü ˜̌ÁμÎ̌ f¿ˇ ®¿ Á̌”Í∑Ê H íÎ̌ BsÁ ÔLˇÊ~¿ˇ ®¿ Á̌∑Ê~ íˇàˇ AdÁ<> Ü ˜̌ÁμÎ̌ fsÁ AZˇúˇ Lˇ¿ˇØˇÊLÎ̌  Ô‹ˇØˇ<>
(To construct a triangle, given the perimeter and the measures of two angles)

 ∑ÔúˇLˇ¿ˇ, � ABC Ô¿ˇ ®¿ˇÁ”Í∑Ê = (a+b+c) FLˇLˇ, m�B = B0, m�C = C0 íˇàˇ AdÁ<> Üˇ˜ÁμÎˇfsÁ
AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ<> FvˇÊÔ¿ˇ AB , BC  H CA  ØˇÊ‹Îˇ∑ÊúˇZˇ¿ˇ ÔíˇWˆøLÎˇ æêÊLˇ˜Ô∑ c, a H b ¿Ì̌ Ô®
”Ì`ˇÁÜˇ Lˇ¿ˇÊæÊBdÁ< >
Ø Á̌Ô…‚Ã~ :

BC
↔  D®Ô¿ˇ AB = BD H AC = CE ÔúˇB æêÊLˇ˜Ô∑

D H E ØˇÁ¢Îˇ ◊Ê®úˇ LˇÔ‡ˇ, DE = (a+b+c) Ô‹ˇØˇ<>
AD  H A E  AZˇúˇ LˇÔ‡ˇ m�D = 

1
2

B0 FØˇÛ
m�E = 

1
2

C0 Ô‹ˇØˇ< > (LˇÊ¿ˇ~ Lˇ~ ?)
Øˇàˇˆ∑Êúˇ ��ADE Ô¿ˇ DE,  m�D H m� E íˇàˇ >  ≠ˇ¡ˇÔ¿ˇ �� ADE  AZˇúˇ Lˇ¿ˇÊæÊB ®Ê¿ˇÁØˇ< >

��ABD FLˇ ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf<> �� AD  ¿ˇ ”∑íˇ¥ÁQÉLˇ ‡ˇ∫ B ØˇÁ¢ÎˇÔ¿ˇ DE
↔  LÎˇ Ôdíˇ LˇÔ¿ˇ<> Ô”‹ˇÁ®¿ˇÁ

AE  ¿ˇ ”∑íˇ¥ÁQÉLˇ ‡ˇ∫ DE
↔  LÎˇ C ØˇÁ¢ÎˇÔ¿ˇ ÔdíˇLˇÔ¿ˇ<>

B C

A

c b

ED a

(` Á̌Ü ˜̌  6.7)
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AZˇúˇ ®˜~Ê¡ˇÍ :
(i) FLˇ ”¿ˇ¡ˇÔ¿ˇQÊ AZˇúˇ Lˇ¿ˇÁ Üˇ‹ˇË¿Îˇ DE  Ôdíˇúˇ Lˇ¿ˇ

Ôæ®¿ˇÁ DE = (a+b+c) FLˇLˇ Ô‹ˇØˇ<>
(ii) D ØˇÁ¢ÎˇÔ¿ˇ 1

2
B0 ∑Ê®Ô¿ˇ �ADE H E Ø Á̌¢Î̌ Ô¿ˇ

1
2

C0 ∑Ê®Ô¿ˇ �AED AZˇúˇ Lˇ¿ˇ <>

(iii) DA
→

 H EA
→

 ÔæDÙ ØˇÁ¢ÎˇÔ¿ˇ ∑Á¡ˇÁÜˇ Ô‹ˇÔØˇ ÜˇÊ‹ˇÊ‹ˇË A ØˇÁ¢Îˇ Ô‹ˇØˇ< >

(iv) AD  ¿ˇ ”∑íˇ¥ÁQÉLˇ ‡ˇ∫ DE
↔  LÎˇ ÔæDÙ ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇÁØˇ ÜˇÊ‹ˇÊ B Ô‹ˇØˇ > AE  ¿ˇ ”∑íˇ¥ÁQÉLˇ

‡ˇ∫ DE
↔  LÎˇ ÔæDÙ ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇÁØˇ, ÜˇÊ‹ˇÊ C Ô‹ˇØˇ >
(v) AB H AC † AZˇúˇ Lˇ¿ˇ > �ABC Ô‹ˇØˇ DîÁŒ  Üˇ˜ÁμÎˇf<>

®˜∑Ê~ : (ØˇÁÔ…‚Ã~¿Îˇ ®˜∑Ê~ ”ÎÿŒ<>)

AúÎˇ…Í¡ˇúˇÍ- 6 (c)
1. ABC Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ :

(i) a+b+c = 11 Ô”.∑Á., m�B = 600, m�C = 750<>
(ii) a+b+c = 10.5 Ô”.∑Á., m�B = 1050, m�A = 450<>
(iii) m�B = 900, AB = BC  H ®¿ˇÁ”Í∑Ê =12 Ô”.∑Á.<>
(iv) a = b, ®¿ˇÁ”Í∑Ê = 10.7 Ô”.∑Á. H m�A =750 <>
(v) b = c, ®¿ˇÁ”Í∑Ê = 12.5 Ô”.∑Á. H m�A = 300<>

2. FLˇ ”∑ØˇÊ‹Îˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ ®¿ˇÁ”Í∑Ê = 11.3 Ô”.∑Á.<>
3. FLˇ ”∑ÔLˇÊ~Í ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ ®¿ˇÁ”Í∑Ê 11.7 Ô”.∑Á <>

AZˇúˇ -4

ÔLˇÚ~”Á Üˇ̃ÁμÎ̌ f¿ˇ íÎ̌ B ØˇÊ‹Î̌ ¿ˇ Ôí ̌Ŵø H ÔSÊsÁF ÔLˇÊ~¿ˇ ®¿ Á̌∑Ê~ íˇàˇ AdÁ<> Üˇ̃ÁμÎ̌ f AZˇúˇ Lˇ¿ Á̌ØˇÊLÎ̌
Ô‹ˇØˇ<>

( To construct a triangle, given the lengths of two sides and the measure of an angle.)

íÎˇBØˇÊ‹Îˇ¿ˇ ÔíˇWˆø H AûˇSˆÜˇ ÔLˇÊ~ ®¿ˇÁ∑Ê~ íˇàˇ êÊB Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇÁØˇÊ ®˜~Ê¡ˇÍ AŒ∑ Ô…˜~ÍÔ¿ˇ
AÊÔ‡ˇÊ`ˇÁÜˇ Ô‹ˇÊBAdÁ< > FvˇÊÔ¿ˇ íÎˇB ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø H AûˇSˆÜˇ ÔLˇÊ~ μˇÁù Aúˇø ÔLˇÊ~ íˇàˇ êÊB Üˇ˜ÁμÎˇf
AZˇúˇ ®˜~Ê¡ˇÍ AÊÔ‡ˇÊ`ˇúˇÊ Lˇ¿ˇÊæÁØˇ< >

∑ÔúˇLˇ¿ˇ �ABCÔ¿ˇ AB = c FLˇLˇ, BC = a FLˇLˇ, FØˇÛ m�C = C0 íˇàˇ AdÁ<> �ABC AZˇúˇ
Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ< >

(`ˇÁÜˇ˜  6.8)

B C

A

ED <

><

>
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Ø Á̌Ô…‚Ã~ :

`ˇÁÜˇ˜ 6.9 ÔíˇQ<> ∑ÔúˇLˇ¿ˇ BD � AC > BA < BD Ô‹ˇÔ‡ˇ �
ABC AZˇúˇ Lˇ¿ Á̌ØˇÊ ”ªØˇ Ô‹ˇØˇúˇÊ‹ Ë̌< > ®Î~Á BA = BD Ô‹ˇÔ‡ˇ, A H
D ØˇÁ¢Îˇíˇ¥fl ∑Á¡ˇÁæÁÔØˇ FØˇÛ ÔSÊsÁF ∑ÊÜˇ˜ �ABC AZˇúˇ Lˇ¿ Á̌ØˇÊ ”ªØˇ
Ô‹ˇØˇ< > ®Î~Á F‹ˇÊ ”∑ÔLˇÊ~Í Üˇ˜ÁμÎˇf Ô‹ˇØˇ FØˇÛ BC  ÜˇÊ¿ˇ LˇÇˇˆÔ‹ˇØˇ<>
BA>BD Ô‹ˇÔ‡ˇ, íÎˇBsÁ � AZˇúˇ Lˇ¿ˇÊæÊB®Ê¿ˇÁØˇ< >
AZˇúˇˇ ®˜~Ê¡ˇÍ :

(i) FLˇ ”¿ˇ¡ˇÔ¿ˇQÊ AZˇúˇ Lˇ¿ˇÁ Üˇ‹ˇË¿Îˇ a FLˇLˇ ®¿ˇÁ∑ÁÜˇ BC   LˇÊs
H C Ø Á̌¢Î̌ Ô¿ˇ C0 ∑Ê® ØˇÁ…ÁŒ ÔLˇÊ~ AZˇúˇ Lˇ¿ˇ<> `ˇÁÜˇ˜ 6.10 ÔíˇQ<>

(ii) B LÎˇ  ÔLˇ¢ˇ˜Lˇ¿ˇÁ BA = c FLˇLˇ ®¿ˇÁ∑ÁÜˇ ØˇøÊ”Êïˆ ÔúˇB `ˇÊ®
AZˇúˇ Lˇ¿ˇ<> F‹ˇÁ `ˇÊ® †�C ¿ˇ Aúˇø ØˇÊ‹ÎˇLÎˇ æíˇÁ ÿ…ˆLˇÔ¿ˇ, ÿ…ˆLˇ ØˇÁ¢ÎˇÔ¿ˇ
úˇÊ∑ A íˇÁA<>

(`ˇÁÜˇ˜  6.9)

A

(`ˇÁÜˇ˜  6.10)

B C

D

<

A

B C

A'

(iii) A, B  ÔæÊSLˇÔ‡ˇ �ABC ∑Á¡ˇÁØˇ<>
(iv) FvˇÊÔ¿ˇ ‡ˇ‰øLˇ¿ˇ <F‹ˇÁ `ˇÊ®, DNˇ ÔLˇÊ~¿ˇ ØˇÊ‹ÎˇLÎˇ íÎˇBsÁ ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇÁdˇÁ<> Ô” íÎˇB ØˇÁ¢Îˇ¿ˇ

úˇÊ∑ A H A' íˇÁA<> BA  H BA'  AZˇúˇ LˇÔ‡ˇ, æêÊLˇ˜Ô∑ �BCA H  �BCA' ∑Á¡ˇÁØˇ (íÎˇBsÁ Üˇ˜ÁμÎˇf
AZˇúˇ Lˇ¿ˇÁ ÔíˇQÊBØˇÊLÎˇ Ô‹ˇØˇ<>) F‹ˇÊLÎˇ  ""íˇ¥øêˆÔØˇÊôLˇ ®¿ˇÁ◊ÁÜˇÁ'' (Ambiguous case) LˇÎ‹ˇÊæÊF > �8��
����W����	 �����	 ' ��	 AB < BC ���F��	 BA > BD XAC	 �5���	 B 
��T�����	 �%����	 ��UY
 ®˜∑Ê~ : ”ÎÿŒ<>

AúÎˇ…Í¡ˇúˇÍ- 6 (d)
1. �� ABC AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ -

(i) a=3.4 Ô”.∑Á.,m�C=300, c = 4.2 Ô”.∑Á.<> (ii) c=8 Ô”.∑Á.,m�A=600, a=6.9 Ô”.∑Á.<>
(iii) b= 8.5 Ô”.∑Á., m�C=450, c = 6Ô”.∑Á.<> (iv) a=8Ô”.∑Á., m�C=300, c = 4.2 Ô”.∑Á.<>
(v) a=8Ô”.∑Á., m�B=600, b = 7.1  Ô”.∑Á. > (vi) c=8.3 Ô”.∑Á., m�A= 450, a = 6 Ô”.∑Á.<>

6.3 ∑ö∑Ê H Aúˇø AÛ… íˇàˇêèØˇÊ ◊Ô¡ˇ Üˇ˜ÁμÎˇf AZˇúˇ :
AZˇúˇ - 5

ÔLˇÚ~”Á ÜˇÁ˜μÎˇf¿ˇ íˇÎBØˇÊ‹Îˇ¿ˇ ÔíˇWˆø H ÜıˇÜˇÍfl ØˇÊ‹Îˇ ®˜ÜˇÁ ∑ö∑Ê¿ˇ ÔíˇWˆø íˇàˇ AdÁ<> Üˇ˜ÁμÎˇfsÁ
AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ<>

(To construct a triangle, given the lengths of two sides and length of the median
to the third side of it.)

íˇàˇ : �ABC Ô¿ˇ AB = c FLˇLˇ, AC=b FLˇLˇ H AM ∑ö∑Ê¿ˇ ÔíˇWˆø = x FLˇLˇ<> �ABC

AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ< >
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>
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(` Á̌Ü ˜̌  6.12)
N

MB C

(` Á̌Ü ˜̌  6.11)

Ø Á̌Ô…‚Ã~: AM
→

D®Ô¿ˇ FLˇ ØˇÁ¢Îˇ N úˇÁA, Ôæ®¿ˇÁLˇÁ AM = MN Ô‹ˇØˇ< > NC AZˇúˇ Lˇ¿ˇ<> Øˇà ˆ̌∑Êúˇ
�ABM H �MNC ”Øˇˆ”∑ Ô‹ˇØˇ > (LˇÊ¿ˇ~ Lˇ'~ ?)

 ���  AB = NC FØˇÛ  AN  = 2AM Ô‹ˇØˇ< > ≠ˇ¡ˇÔ¿ˇ �ACN ¿ˇ AC , NC H AN ØˇÊ‹Îˇ∑ÊúˇZˇ
Ôí ̌Wˆø fÊ~ÁÔ‹ˇØˇ< >
AZˇúˇ ®˜~Ê¡ˇÍ: (i) ÔLˇÚ~”Á FLˇ ”¿ˇ¡ˇÔ¿ˇQÊ AZˇúˇ Lˇ¿ˇÁ Fêè¿Îˇ AN Ôdíˇúˇ Lˇ¿ˇ Ôæ®¿ˇÁLˇÁ

AN = 2x FLˇLˇ Ô‹ˇØˇ< >
(ii) A LÎˇ ÔLˇ¢ˇ˜ÔúˇB H b FLˇLˇ ( AC ¿ˇ ÔíˇWˆø) ØˇøÊ”Êïˆ ÔúˇB `ˇÊ® LˇÊs; N LÎˇ ÔLˇ¢ˇ˜ Lˇ¿ˇÁ

H NC ¿ˇ ÔíˇWˆø (=AB) c FLˇLˇ ØˇøÊ”Êïˆ ÔúˇB `ˇÊ® LˇÊs<> `ˇÊ®íˇ¥fl¿ˇ ÔdíˇØˇÁ¢Îˇ C Ô‹ˇØˇ< >

(iii) AN ¿ˇ ∑öØˇÁ¢Îˇ M úˇÁ¿Ìˇ®~ Lˇ¿ˇ<> C H M ¿ˇ ”ÛÔæÊfLˇ CM
→

D®Ô¿ˇ B ØˇÁ¢Îˇ úˇÁA Ôæ®¿ˇÁLˇÁ
CM = MB Ô‹ˇØˇ<> �ABC AÊØˇ…øLˇ ÜˇÁ˜μÎˇf< >

®˜∑Ê~ : (ØˇÁÔ…»Ã~¿Îˇ ”ÎÿŒ)

ØˇÁLˇ≈ˇ AZˇúˇ ®˜~Ê¡ˇÍ:
(i) ÔLˇÚ~”Á FLˇ ”¿ˇ¡ˇÔ¿ˇQÊ AZˇúˇ Lˇ¿ Á̌ Ô”êè¿Î̌  AN (∑ö∑Ê¿ˇ Ôí ̌Ŵø¿ˇ íÎ̌ BSÎ~) AÛ… Ôdíˇúˇ Lˇ¿ˇ<>
(ii) A LÎˇ ÔLˇ¢ˇ˜ H b FLˇLˇ ( AC ¿ˇ ÔíˇWˆø) ØˇøÊ”Êïˆ ÔúˇB `ˇÊ® LˇÊs; N LÎˇ ÔLˇ¢ˇ˜ Lˇ¿ˇÁ NC ¿ˇ

ÔíˇWˆø (AB) c FLˇLˇ ØˇøÊ”Êïˆ ÔúˇB `ˇÊ® LˇÊs<> `ˇÊ®íˇ¥fl¿ˇ Ôdíˇ ØˇÁ¢Îˇ C Ô‹ˇØˇ< >
(iii) Ô”‹ˇÁ®¿ˇÁ A LÎˇ ÔLˇ¢ˇ˜ H c FLˇLˇ ( AB ¿ˇ ÔíˇWˆø) ØˇøÊ”Êïˆ ÔúˇB `ˇÊ®LˇÊs; N LÎˇ ÔLˇ¢ˇ˜ Lˇ¿ˇÁ

NB ¿ˇ ÔíˇWˆø AêÊˆÜ˙ˇ b FLˇLˇ ØˇøÊ”Êïˆ ÔúˇB `ˇÊ® LˇÊs > `ˇÊ®íˇ¥fl¿ˇ Ôdíˇ ØˇÁ¢Îˇ, C ®Ê…¥ˆ¿ˇ ØˇÁ®¿ˇÍÜˇ
®Ê…¥ˆÔ¿ˇ ¿ˇ‹ˇÁØˇ<> Ôdíˇ ØˇÁ¢Îˇ B Ô‹ˇØˇ< >

(iv) AB , AC H BC AZˇúˇ Lˇ¿ˇ<> �� ABC DîÁŒ Üˇ˜ÁμÎˇf<>
®˜∑Ê~: BN H CN LÎˇ ÔæÊS LˇÔ‡ˇ ABNC FLˇ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ Ô‹ˇØˇ >

AN H BC LˇÇˇˆíˇ¥fl ®¿ˇÿ¿ˇLÎˇ  ”∑íˇ¥ÁQÉ Lˇ¿ˇÁÔØˇ< >
AêÊˆÜ˙ˇ AM ∑ö∑Ê Ô‹ˇØˇ æÊ‹ˇÊ¿ˇ ÔíˇWˆø, íˇà ÔíˇWˆø ”‹ˇ ”∑Êúˇ Ô‹ˇØˇ< >
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AZˇúˇ - 6

ÔLˇÚ~”Á Ü ˜̌ÁμÎ̌ f¿ˇ ÔSÊsÁF ØˇÊ‹Î̌ ¿ˇ Ôí ̌Wˆø, Ô”‹ Á̌ ØˇÊ‹Î̌  ”Û‡ˇSß ÔLˇÊ~í ¥̌fl ∑ö¿Î̌  ÔSÊsÁLˇ¿ˇ ®¿ Á̌∑Ê~
H íˇàˇ ØˇÊ‹Îˇ μˇÁù Aúˇø FLˇ ØˇÊ‹Îˇ ®˜ÜˇÁ ∑ö∑Ê¿ˇ ÔíˇWˆø íˇàˇ AdÁ<> Üˇ˜ÁμÎˇfsÁ AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ< >

(To construct a triangle, given the length of one side, the measure of one
of the angles adjacent to it and the length of the median drawn to one of the other
two sides.)

íˇàˇ : ∑ÔúˇLˇ¿ˇ �ABC Ô¿ˇ AB = c FLˇLˇ, m�BAC= A0 : ∑ö∑Ê AM ¿ˇ ÔíˇWˆø=x FLˇLˇ<>

ØˇÁÔ…‚Ã~ : AM LÎˇ M íˇÁSÔ¿ˇ N ®æˆøûˇ ØˇfiÊA, Ôæ®¿ˇÁLˇÁ AM=MN Ô‹ˇØˇ<> N H C LÎˇ ÔæÊSLˇ¿ˇ<>
Øˇàˇˆ∑Êúˇ �ABM H �MNC ”Øˇˆ”∑ Ô‹ˇØˇ<> (LˇÊ¿ˇ~ Lˇ'~<?)<

� CN = AB FØˇÛ m�BAM = m�MNC <> ≠ˇ¡ˇÔ¿ˇ BA >> NC ; AC ÔdíˇLˇ Ê

ÔÜˇ~Î m�BAC + m�ACN = 1800 ØˇÊ m�ACN= (1800 – A)0

Øˇàˇˆ∑Êúˇ �ACN Ô¿ˇ¸
NC = AB = c FLˇLˇ, AN = 2AM =2x FLˇLˇ, m�ACN = (180 – A)0

AZˇúˇ ®˜~Ê¡ˇÍ:
(i) ÔLˇÚ~”Á FLˇ ”¿ˇ¡ˇÔ¿ˇQÊ ÔúˇB Ô”êè¿Îˇ NC Ôdíˇúˇ Lˇ¿ˇ Ôæ®¿ˇÁLˇÁ NC = c FLˇLˇ Ô‹ˇØˇ< >

NC ¿ˇ C ØˇÁ¢ÎˇÔ¿ˇ (180–A)0 ÔLˇÊ~ AZˇúˇ Lˇ¿ˇ<> N ØˇÁ¢ÎˇLÎˇ ÔLˇ¢ˇ˜Lˇ¿ˇÁ H 2x FLˇLˇ ØˇøÊ”Êïˆ ÔúˇB `ˇÊ®
LˇÊs<> F‹ˇÊ C ØˇÁ¢ÎˇÔ¿ˇ AZˇÁÜˇ ¿ˇ…ΩÁLÎˇ A ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿Îˇ<> �ANC AZˇÁÜˇ Ô‹ˇ‡ˇÊ<>

AN ¿ˇ ∑öØˇÁ¢Îˇ M úˇÁÇˇˆfl Lˇ¿ˇ<> CM
→

AZˇúˇ Lˇ¿ˇ<> M LÎˇ ÔLˇ¢ˇ˜ Lˇ¿ˇÁ CM ”‹ˇ ”∑Êúˇ ØˇøÊ”Êïˆ

ØˇÁ…ÁŒ `ˇÊ® LˇÊs<> F‹ˇÁ `ˇÊ® ÔæDÙvˇÁ CM
→

LÎˇ Ôdíˇ Lˇ¿ˇÁØˇ ÜˇÊ‹ˇÊ B Ô‹ˇØˇ<> AB AZˇúˇ Lˇ¿ˇ �ABC ∑Á¡ˇÁØˇ<>

(i) (ii)(`ˇÁÜˇ˜  6.13)
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ØˇÁLˇ≈ˇ AZˇúˇ ®˜~Ê¡ˇÍ:
(i) úˇÁîÈŒ ÔíˇWˆø ØˇÁ…ÁŒ AB AZˇúˇ Lˇ¿ˇ <>
(ii) A ØˇÁ¢ÎˇÔ¿ˇ íˇàˇ ®¿ˇÁ∑Ê~ ØˇÁ…ÁŒ �XAB AZˇúˇ Lˇ¿ˇ< >

(iii) AB ¿ˇ ∑öØˇÁ¢Îˇ N `ˇÁ‹ˇßs Lˇ¿ˇ FØˇÛ N ØˇÁ¢ÎˇÔ¿ˇ AX
→

”‹ˇ

”∑Êûˇ¿ˇ Lˇ¿ˇÁˇ NY
→

AZˇúˇ Lˇ¿ˇ<>

(iv) A ØˇÁ¢ÎˇLÎˇ ÔLˇ¢ˇ˜Lˇ¿ˇÁ AM (íˇàˇ ∑ö∑Ê¿ˇ ÔíˇWˆø) ØˇøÊ”Êïˆ ®¿ˇÁ∑ÁÜˇ `ˇÊ®, NY
→

LÎˇ M ØˇÁ¢ÎˇÔ¿ˇ
Ôdíˇ Lˇ¿Îˇ<>

(v) BM
→

, AX
→

LÎˇ C ØˇÁ¢ÎˇÔ¿ˇ ÔdíˇLˇ¿Îˇ<> Øˇàˇˆ∑Êúˇ �ABC DîÁŒ Üˇ˜ÁμÎˇf<>
®˜∑Ê~: AB ¿ˇ ∑öØˇÁ¢Îˇ 'N'

NM >> AC Ô‹ˇÜÎ̌  M, BC ¿ˇ ∑öØˇÁ¢Îˇ Ô‹ˇØˇ< >  AêÊˆÜ˙ˇ AM , �ABC ¿ˇ ∑ö∑Ê Ô‹ˇØˇ< >

AúÎˇ…Í¡ˇúˇÍ¸ 6 (e)
1. �ABC Ô¿ˇ a = 6.0 Ô”.∑Á., AX ∑ö∑Ê¿ˇ Ôí ̌Ŵø= 5.6 Ô”.∑Á. H m�B=600; Üˇ̃ÁμÎ̌ fsÁ AZˇúˇ Lˇ¿ˇ<>
2. �ABC Ô¿ˇ AB = 7.5 Ô”.∑Á., AC= 6.5 Ô”.∑Á. FØˇÛ ∑ö∑Ê AX ¿ˇ Ôí ̌Ŵø = 6 Ô”.∑Á.<> Ü Á̃̌μÎ̌ fsÁ AZˇúˇ

Lˇ¿ˇ<>
3. �ABC Ô¿ˇ m�A=600, AX ∑ö∑Ê¿ˇ Ôí ̌Ŵø= 4.5 Ô”.∑Á., AB=6 Ô”.∑Á.; Ü Á̃̌μÎ̌ fsÁ AZˇúˇ Lˇ¿ˇ<>
4. �ABC Ô¿ˇ AB=6.5 Ô”.∑Á., BY ∑ö∑Ê¿ˇ Ôí ̌Ŵø=6 Ô”.∑Á., BC=7 Ô”.∑Á.; Üˇ̃ÁμÎ̌ fsÁ AZˇúˇ Lˇ¿ˇ<>
5. �ABC Ô¿ˇ c = 6.5Ô”.∑Á., CZ ∑ö∑Ê¿ˇ Ôí ̌Ŵø=5.0 Ô”.∑Á., a= 5.5 Ô”.∑Á.; Üˇ̃ÁμÎ̌ fsÁ AZˇúˇ Lˇ¿ˇ<>
6. �ABC Ô¿ˇ AB = BC = 4Ô”.∑Á., ∑ö∑Ê AX ¿ˇ Ôí ̌Ŵø = 3 Ô”.∑Á.; Üˇ̃ÁμÎ̌ fsÁ AZˇúˇ Lˇ¿ˇ<>
7. �ABC Ô¿ˇ AB = 5 Ô”.∑Á., AC = 5.4 Ô”.∑Á. H ∑ö∑Ê AX ¿ˇ Ôí ̌Ŵø = 3.5 Ô”.∑Á.<> Üˇ̃ÁμÎ̌ fsÁ AZˇúˇ Lˇ¿ˇ<>
8. �ABC Ô¿ˇ a = 9 Ô”.∑Á., m�B = 750, AX ∑ö∑Ê¿ˇ Ôí ̌Ŵø = 8Ô”.∑Á.; Üˇ̃ÁμÎ̌ fsÁ AZˇúˇ Lˇ¿ˇ<>
9. �ABCÔ¿ˇ DaˇÜˇÊ = 4.5 Ô”.∑Á., AX ∑ö∑Ê¿ˇ Ôí ̌Ŵø=5 Ô”.∑Á., AB=6 Ô”.∑Á.; Üˇ̃ÁμÎ̌ fsÁ AZˇúˇ Lˇ¿ˇ<>
10. ��ABC Ô¿ˇ DaˇÜˇÊ AD=6.6 Ô”.∑Á., m�B=600, AX ∑ö∑Ê¿ˇ Ôí ̌Ŵø = 7 Ô”.∑Á.; Üˇ̃ÁμÎ̌ fsÁ AZˇúˇ Lˇ¿ˇ<>
6.4 `ˇÜÎˇμˇˆÎf AZˇúˇ (Construction of Quadrilaterals) :

ÔLˇÚ~”Á `ˇÜÎˇμˇˆÎf¿ˇ `ˇÊÔ¿ˇÊsÁ ØˇÊ‹Îˇ, `ˇÊÔ¿ˇÊsÁ ÔLˇÊ~ H íÎˇBsÁ LˇÇˇˆ êÊF<> Ô”∑ÊúˇZˇ ∑öÔ¿ˇ ÔLˇÔÜˇLˇ
”∫§ˇ êèØˇÊ¿Îˇ `ˇÜÎˇμˇˆÎf¿ˇ íˇ…sÁ AÛ… ∑ö¿Îˇ ®ÊosÁ AÛ… úˇÁ¿ˇÔ®‰ AÔs< > ÔÜˇ~Î `ˇÜÎˇμˇˆÎf AZˇúˇ ®ÊBÙ 5 sÁ
úˇÁ¿ˇÔ®‰ AÛ…¿ˇ ∑Ê® f~ÊêèØˇÊ AÊØˇ…øLˇ FØˇÛ Ô”êè¿Îˇ LˇÇˇˆ H ØˇÊ‹Îˇ∑ÊúˇZˇ ∑ö¿ˇÎˇ AûˇÜˇ@ íÎˇBsÁ¿ˇ ÔíˇWˆø
íˇàˇ êèØˇÊ AÊØˇ…øLˇ< > DíˇÊ‹ˇ¿ˇ~ ”¥¿Îˇ®, `ˇÊ¿ˇÁØˇÊ‹Îˇ¿ˇ ÔíˇWˆø H FL ˇÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ ØˇÊ `ˇÊ¿ˇÁØˇÊ‹Îˇ¿ˇ ÔíˇWˆø
H LˇÇˇˆ íˇàˇ êèÔ‡ˇ `ˇÜÎˇμˇˆÎf AZˇúˇ ”ªØˇ<> ®ÌØˇˆ Ô…˜~ÍÔ¿ˇ ÜÎˇÔ∑∑ÊÔúˇ `ˇÜÎˇμÎˇˆf AZˇúˇ ”‹ˇ ”Î®¿ˇÁ`ˇÁÜˇ<> ØˇÁμˇÁù
Üˇêø ”∫¡ˇÁÜˇ `ˇÜÎˇμˇˆÎf AZˇúˇ Lˇ¿ˇÁd > Øˇàˇˆ∑Êúˇ AÊD ÔLˇÔÜˇLˇ `ˇÜÎˇμˇˆÎf AZˇúˇ ”‹ˇ ”Î®¿ˇÁ`ˇÁÜˇ Ô‹ˇØˇÊ<>

A BN

X
Y>

>

M

(`ˇÁÜˇ˜  6.14)
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AZˇúˇ - 7
 ÔLˇÚ~”Á `ˇÜÎ̌ μ ˆ̌Îf¿ˇ `ˇÊ¿ Á̌ØˇÊ‹Î̌ ¿ˇ Ôí ̌Wˆø H ÔSÊsÁF ÔLˇÊ~¿ˇ ®¿ Á̌∑Ê~ íˇàˇ AdÁ, `ˇÜÎ̌ μ ˆ̌ÎfsÁ AZˇúˇ

Lˇ¿ Á̌ØˇÊLÎ̌  Ô‹ˇØˇ<>
( To construct a quadrilateral, given the lengths of four sides and the measure of

one angle.)
ABCD `ˇÜÎˇμˇˆÎf¿ˇ AB = a FLˇLˇ, BC = b FLˇLˇ, CD = c FLˇLˇ, DA = d FLˇLˇ FØˇÛ m�A

=� �0 íˇàˇ AdÁ, `ˇÜÎˇμˇÎˆfsÁ AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ< >
Ø Á̌Ô…‚Ã~ :

BD LˇÇˇˆ ÔæÊSLˇÔ‡ˇ ABCD `ˇÜÎˇμˇˆÎfsÁ � ABD H �� BDC Ô¿ˇ Ø Á̌μˇNˇ
Ô‹ˇØˇ<> Øˇàˇˆ∑Êúˇ �ABDÔ¿ˇ AB, AD H AB , AD ¿ˇ AûˇSˆÜˇ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~
íˇàˇ Ô‹ˇÜÎ̌  Ü ˜̌ÁμÎ̌ fsÁ AZˇúˇ Lˇ¿ Á̌Ô‹ˇØˇ<> �BDC Ô¿ˇ BC H CD íˇàˇ AdÁ FØˇÛ �ABD

AZˇúˇ ®Ô¿ˇ BD f~Ê®›ÁØˇ <> ÔÜˇ~Î �BDC ØˇÊ‹ÎˇÜˇ˜fl¿ˇ ÔíˇWˆø f~Ê®›ÁØˇÊ ÔæÊSÎÙ
Üˇ˜ÁμÎˇfsÁ AZˇúˇ LˇÔ‡ˇ `ˇÜÎˇμˇˆÎf¿ˇ AZˇúˇ ”∏ÌÇˇˆ Ô‹ˇØˇ<>
AZˇúˇ ®˜~Ê¡ˇÍ :

(i) a FLˇLˇ ®¿ˇÁ∑ÁÜˇ AB  AZˇúˇ Lˇ¿ˇÁ, A ØˇÁ¢ÎˇÔ¿ˇ �0

∑Ê®Ô¿ˇ �BAD  AZˇúˇ Lˇ¿ˇ >
(ii) B H D LÎˇ ÔLˇ¢ˇ˜Lˇ¿ˇÁ æêÊLˇ˜Ô∑ b H c ®¿ˇÁ∑ÁÜˇ ØˇøÊ”Êïˆ
   ÔúˇB BD  ¿  ̌ A -®Ê…¥¿̂  ̌ Ø Á̌®¿ˇÍÜ  ̌ ®Ê…¥Ô̂¿  ̌ íÎ̌BsÁ ˇ̀Ê® AZˇú  ̌ Lˇ¿ˇ

  H C  Ô”∑ÊúˇZˇ¿  ̌ ÔdíˇØ Á̌¢Î̌  Ô‹ˇD<>
(iii) BC  H CD  AZˇúˇ Lˇ¿ˇ <> Øˇàˇˆ∑Êúˇ ABCD DîÁŒ `ˇÜÎˇμˇˆÎf Ô‹ˇØˇ <>

®˜∑Ê~: (ØˇÁÔ…‚Ã~¿Îˇ ÿŒ)
D®Ô¿ˇÊNˇ AZˇúˇ ®˜~Ê¡ˇÍ ØˇøØˇ‹ˇÊ¿ˇ Lˇ¿ˇÁ úˇÁ∑ß AZˇúˇ∑Êúˇ Lˇ¿ˇÁÔ‹ˇØˇ <>
(i) ÔLˇÚ~”Á ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜¿ˇ íÎˇB ”ùÁ‹ˇÁÜˇ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø H Ô”íˇ¥fl¿ˇ AûˇSˆÜˇ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~

íˇàˇAdÁ <> ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜sÁ AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ <>
”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜¿ˇ ØˇÁ®¿ˇÍÜˇ ØˇÊ‹Îˇ∑ÊúˇZˇ¿ˇ ÔíˇWˆø ”∑Êúˇ <> ÔÜˇ~Î DNˇ `ˇÁÜˇ˜sÁ¿ˇ `ˇÊÔ¿ˇÊsÁ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø

H ÔSÊsÁF ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ f~ÊÔ‹ˇØˇÊ ÔæÊSÙÎ AZˇúˇ-7 AúÎˇæÊflÍ ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜sÁ AZˇúˇ Lˇ¿ˇÁÔ‹ˇØˇ <>
(ii) ÔLˇÚ~”Á AÊflÜˇ` Á̌Ü ˜̌¿ˇ íÎ̌ BsÁ ”ùÁ‹ Á̌Üˇ ØˇÊ‹Î̌ ¿ˇ Ôí ̌Wˆø íˇàˇ AdÁ <> AÊflÜˇ ` Á̌Ü ˜̌sÁ AZˇúˇ Lˇ¿ Á̌ØˇÊLÎ̌  Ô‹ˇØˇ<>

AÊflÜˇ `ˇÁÜˇ˜¿ˇ ØˇÁ®¿ˇÍÜˇ ØˇÊ‹Îˇ∑ÊúˇZˇ¿ˇ ÔíˇWˆø ”∑Êúˇ H ®˜ÔÜˇøLˇ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ 900 <> ÔÜˇ~Î
AZˇúˇ -7 AúÎˇ”ÊÔ¿ˇ AÊflÜˇ`ˇÁÜˇ˜sÁ AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ <>

(iii)  ÔLˇÚ~”Á ¿ˇ∫”˙¿ˇ ÔSÊsÁF ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø H ÔSÊsÁF ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ íˇà ˇAdÁ <> ¿ˇ∫”˙sÁ
AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ <> ÔLˇÚ~”Á ¿ˇ∫”˙¿ˇ ”∑÷ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø ”∑Êúˇ Ô‹ˇÜÎˇ íˇàˇ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø¿Îˇ 4 sÁ ØˇÊ‹Îˇ¿ˇ
ÔíˇWˆø fÊ~ÁÔ‹ˇØˇ H F‹ˇÊ¿ˇ ÔSÊsÁF ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ íˇàˇ AdÁ <> ÔÜˇ~Î AZˇúˇ -7 AúÎˇ”ÊÔ¿ˇ ¿ˇ∫”˙sÁ AZˇÁÜˇ
Ô‹ˇØˇ <>

>

>

D
C

A B X

c

a

b
d

�0

(` Á̌Ü ˜̌  6.15 (ii))

(` Á̌Ü ˜̌  6.15 (i))

D
C

A B

c

a

bd

�0



[ 132 ]

AúÎˇ…Í¡ˇúˇÍ - 6(f)

1. ABCD `ˇÜÎˇμÎˇˆf AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ -
(i) AB = 2.7 Ô”.∑Á., BC =3.5 Ô”.∑Á., CD=6 Ô”.∑Á., DA=4 Ô”.∑Á. FØˇÛ m�B = 900

(ii) AB=7.3 Ô”.∑Á., BC = 6.9 Ô”.∑Á., CD =5.8 Ô”.∑Á., DA =8.2 Ô”.∑Á. H m�C=450

2. ABCD ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ -
AB = 6Ô”.∑Á., BC = 4Ô”.∑Á. FØˇÛ m�ABC =750

3. FLˇ ¿ˇ∫”˙ AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ ÔSÊsÁF ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ 1200 H FLˇ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø 5 Ô”.∑Á.<>
4. FLˇ ØˇSˆ`ˇÁÜˇ˜ AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ-

(i) ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø 3.5 Ô”.∑Á. <>  (ii) ®¿ˇÁ”Í∑Ê = 16 Ô”.∑Á. <>
5. ABCD AÊflÜˇ`ˇÁÜˇ˜ AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ -

(i) AB= 6 Ô”.∑Á. H AD = 4 Ô”.∑Á.<> (ii) AC = 6.5  Ô”.∑Á. H  AB = 5.2  Ô”.∑Á. <>

AZˇúˇ - 8
 ÔLˇÚ~”Á `ˇÜÎˇμÎˇˆf¿ˇ `ˇÊ¿ˇÁØˇÊ‹Îˇ¿ˇ ÔíˇWˆø H ÔSÊsÁF LˇÇˇˆ¿ˇ ÔíˇWˆø íˇàˇ AdÁ< > `ˇÜÎˇμˇˆÎfsÁ AZˇúˇ

Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ <>
(To construct a quadrilateral, given the lengths of four sides and length of one

diagonal.)

∑ÔúˇLˇ¿ˇ ABCD `ˇÜÎ̌ μ ˆ̌Îf¿ˇ AB = a FLˇLˇ, BC = b FLˇLˇ, CD = c FLˇLˇ, DA = d FLˇLˇ
H BD  LˇÇˇˆ¿ˇ ÔíˇWˆø = e  FLˇLˇ íˇàˇ AdÁ <> `ˇÜÎˇμˇˆÎfsÁ AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ <>

Ø Á̌Ô…‚Ã~ :

ABCD  `ˇÜÎ̌ μ ˆ̌Îf¿ˇ BD  LˇÇˇˆˇ AZˇúˇ LˇÔ‡ˇ `ˇÜÎˇμˇˆÎfsÁ �ABD H �BCD  Üˇ˜ÁμÎˇfíˇ¥flÔ¿ˇ ØˇÁμˇNˇ ‹ÎˇF <>
�ABD Ô¿ˇ  AB, BD H  DA  íˇàˇ Ô‹ˇÜÎˇ Üˇ˜ÁμÎˇfsÁ AZˇúˇ Lˇ¿ˇÁÔ‹ˇØˇ <> Ô”‹ˇÁ®¿ˇÁ �BCD Ô¿ˇ  BC, CD

H BD íˇàˇ Ô‹ˇÜÎˇ Üˇ˜ÁμÎˇfsÁ AZˇúˇ LˇÔ‡ˇ `ˇÜÎˇμˇˆÎf¿ˇ AZˇúˇ ”∏ÌÇˇˆ Ô‹ˇØˇ <>

`ˇÁÜˇ˜  6.16 `ˇÁÜˇ˜  6.17
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AZˇúˇ ®˜~Ê¡ˇÍ :

(i) AX
→

 AZˇúˇ Lˇ¿ˇÁ Ô”êè¿Îˇ a FLˇLˇ ÔíˇWˆø ØˇÁ…ÁŒ AB  Ôdíˇúˇ Lˇ¿ˇ <> (`ˇÁÜˇ˜  6.16 ÔíˇQ)

(ii) A H B LÎˇ ÔLˇ¢ˇ˜ Lˇ¿ˇÁ æêÊLˇ˜Ô∑ d H e ØˇøÊ”Êïˆ ÔúˇB AB  ¿ˇ FLˇ ®Ê…¥ˆÔ¿ˇ íÎˇBsÁ `ˇÊ® AZˇúˇ
Lˇ¿ˇ FØˇÛ Ô”∑ÊÔúˇ ®¿ˇÿ¿ˇLÎˇ D  ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇûÎˇ >  AD  H BD  AZˇúˇ Lˇ¿ˇ <>

(iii) ®Î~Á B H D  ØˇÁ¢ÎˇLÎˇ ÔLˇ¢ˇ˜Lˇ¿ˇÁ æêÊLˇ˜Ô∑ b H  c  ®¿ˇÁ∑Ê~ ØˇøÊ”Êïˆ ÔúˇB íÎˇBsÁ `ˇÊ® AZˇúˇ
Lˇ¿ˇ FØˇÛ Ô”∑ÊÔúˇ BD  ¿ˇ FLˇ ®Ê…¥ˆÔ¿ˇ C  ØˇÁ¢ÎˇÔ¿ˇ H A®¿ˇ ®Ê…¥ˆÔ¿ˇ C' ØˇÁ¢ÎˇÔ¿ˇ ®¿ˇÿ¿ˇLÎˇ Ôdíˇ Lˇ¿ˇûÎˇ<>
BC , DC , BC' H DC'  AZˇúˇ Lˇ¿ˇ <>

(iv) Øˇàˇˆ∑Êúˇ ABCD  ØˇÊ ABC'D ®˜ÔÜˇøLˇsÁ DîÁŒ `ˇÜÎˇμˇˆÎf Ô‹ˇØˇ <> ABCD `ˇÜÎˇμˇˆÎfsÁ Dàˇ¡ˇ `ˇÜÎˇμÎˇˆf
Ô‹ˇDêè‡ˇÊ ÔØˇÔ¡ˇ  ABC'D  `ˇÜÎˇμˇˆÎfsÁ Dàˇ¡ˇ `ˇÜÎˇμˇˆÎf úÎˇÔ‹ˇÙ <>

∑ûˇØˇø : F Ô‰Üˇ˜Ô¿ˇ ”ÊôÊ¿ˇ~Üˇ@ AÊÔ∑ ABCD `ˇÜÎˇμˇˆÎf AZˇúˇ Lˇ¿ˇÁêÊD <> æíˇÁ ÔSÊsÁF Dàˇ¡ˇ
`ˇÜÎˇμˇˆÎf AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ íˇÁAÊæÊF, ÔÜˇÔØˇ B H D  LÎˇ ÔLˇ¢ˇ˜ Lˇ¿ˇÁ æêÊLˇ˜Ô∑ b H c  ®¿ˇÁ∑Ê~ ØˇøÊ”Êïˆ
ÔúˇB BD  ¿ˇ ÔæDÙ ®Ê…¥ˆÔ¿ˇ A  AØˇ◊ÁÜˇ ÜˇÊ‹ˇÊ¿ˇ ØˇÁ®¿ˇÍÜˇ ®Ê…¥ˆÔ¿ˇ `ˇÊ®íˇ¥fl AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ FØˇÛ
Ô”∑ÊÔúˇ ®¿ˇÿ¿ˇLÎˇ ÔæDÙ ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇÁÔØˇ ÜˇÊ‹ˇÊ C  Ô‹ˇØˇ <>

úˇÁ∑ß AZˇúˇsÁ AZˇúˇ - 8 ¿ˇ AúÎˇ¿Îˇ® Ô‹ˇØˇ :
ÔLˇÚ~”Á ˇ̀ÜÎ̌ μˇ̂fÔ¿ˇ Ü Á̌ÔúˇÊsÁ ØˇÊ‹Î̌ ¿ˇ Ôí ̌Wˆø H íÎ̌ BsÁ LˇÇˇ̂¿ˇ Ôí ̌Ŵø íˇàˇ AdÁ <> ˇ̀ÜÎ̌ μˇ̂ÎfsÁ AZˇúˇ Lˇ¿ Á̌ØˇÊLÎ̌

Ô‹ˇØˇ <>
(To construct a qudrilateral, given the lengths of three sides and length of two

diagonals.)

 ∑ÔúˇLˇ¿ˇ ABCD `ˇÜÎˇμˇˆÎfÔ¿ˇ AB= a FLˇLˇ, BC = b FLˇLˇ, CD = c FLˇLˇ, AC= x FLˇL
H BD = y FLˇLˇ íˇàˇ AdÁ > `ˇÜÎˇμÎˇˆfsÁˇ AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ <> (`ˇÁÜˇ˜.6.17 ÔíˇQ <>)

ABCD `ˇÜÎˇμˇˆÎf¿ˇ LˇÇˇˆ AC  H BD  íˇ¥Ê¿ˇÊ æêÊLˇ˜Ô∑ � ABC H �BCD SvˇÁÜˇ ‹ÎˇAûˇÁ <> F‹ˇÁ
Üˇ˜ÁμÎˇfíˇ¥fl¿ˇ ”∑÷ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø íˇàˇ êèØˇÊ¿Îˇ Üˇ˜ÁμÎˇfíˇ¥fl AZˇÁÜˇ Ô‹ˇÊB®Ê¿ˇÁØˇ <> Ô…ÃÔ¿ˇ A H D  ÔæÊSLˇÔ‡ˇ
AÊØˇ…øLˇ `ˇÜÎˇμˇˆÎf ABCD ∑Á¡ˇÁØˇ <>

AúÎˇ…Í¡ˇúˇÍ - 6(g)
1. ABCD `ˇÜÎˇμˇˆÎf AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ -

(i) AB = 3 Ô”.∑Á., BC = 3.8 Ô”.∑Á.,  CD = 4.1 Ô”.∑Á., AD= 3.4 Ô”.∑Á. H AC =4.9 Ô”.∑Á.<>
(ii) AB= 3.2 Ô”.∑Á., BC= 6.5 Ô”.∑Á., CD= 4.7 Ô”.∑Á., AC =.5.8 Ô”.∑Á. H BD = 4.1 Ô”.∑Á.<>
(iii) AB = 8.2 Ô”.∑Á., AD = 7.4 Ô”.∑Á., BC =5 Ô”.∑Á.,AC =8.4 Ô”.∑Á. H BD = 9  Ô”.∑Á. <>

2.  FLˇ ¿ˇ∫”˙ AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ FLˇ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø 6 Ô”.∑Á H FLˇ LˇÇˇˆ¿ˇ ÔíˇWˆø 8  Ô”.∑Á. <>



[ 134 ]

3. ABCD  ”Ê∑Êûˇ¿ˇÁLˇ `ˇÁÜˇ˜ AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ-
(i) AB = 3.7 Ô”.∑Á., BC = 4 Ô”.∑Á. H AC = 6.1 Ô”.∑Á. <>
(ii) AB = 6  Ô”.∑Á.,  AC = 6  Ô”.∑Á. H  BD = 8Ô”.∑Á. <>
4.  FLˇ ¿ˇ∫”˙ AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ ÔSÊsÁF LˇÇˇˆ¿ˇ ÔíˇWˆø 4  Ô”.∑Á. H F‹ˇÊ¿ˇ ”ºÎQÍúˇ ÔLˇÊ~¿ˇ

®¿ˇÁ∑Ê~ 600 <>
5. FLˇ ØˇSˆ`ˇÁÜˇ˜ AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ LˇÇˇˆ¿ˇ ÔíˇWˆø 5 Ô”.∑Á.<>
6. FLˇ ¿ˇ∫”˙ AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ LˇÇˇˆíˇ¥fl¿ˇ ÔíˇWˆø 5.6 Ô”.∑Á. H 7.4 Ô”.∑Á. <>

AZˇúˇ - 9
ÔLˇÚ~”Á `ˇÜÎˇμˇˆÎf¿ˇ íÎˇBsÁ ”ùÁ‹ˇÁÜˇ ØˇÊ‹Îˇ¿ˇ ÔíˇWˆø H ÜˇÁÔúˇÊsÁ ÔLˇÊ~¿ˇ ®¿ˇÁ∑Ê~ íˇàˇ AdÁ <>

`ˇÜÎˇμˇˆÎfsÁ AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ <>
(To construct a quadrilateral, given the lengths of two adjacent sides and measures

of three angles.)

(a)  ∑ÔúˇLˇ¿ˇ ABCD `ˇÜÎˇμˇˆÎf¿ˇ AB = a FLˇLˇ, BC=b FLˇLˇ FØˇÛ m�A, m�B H  m�C íˇàˇ
AdÁ <> `ˇÜÎˇμˇˆÎfsÁ AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ <>
ØˇÁÔ…‚Ã~ H AZˇúˇ ®˜~Ê¡ˇÍ :

  (a)  (i) a FLˇLˇ ®¿ Á̌∑ÁÜ Á̌ AB  AZˇúˇ Lˇ¿ Á̌
 B Ø Á̌¢Î̌ Ô¿ˇ m�B  ®¿ Á̌∑ÁÜˇ ÔLˇÊ~ AZˇúˇ Lˇ¿ˇ >

(ii) BY
→

ØˇÊ‹Î̌ ¿Î̌  b FLˇLˇ ÔdíˇLˇÔ‡ˇ `ˇÜÎˇμˇˆÎf¿ˇ C ÔLˇÚ~ÁLˇ ØˇÁ¢Îˇ ∑Á¡ˇÁØˇ <>

(iii) AB  ¿ ˇA ØˇÁ¢ÎˇÔ¿ˇ H C-®Ê…¥ˆÔ¿ˇ m�A ®¿ˇÁ∑Ê~ ØˇÁ…ÁŒ ÔLˇÊ~ H BC  ¿ˇ C ØˇÁ¢ÎˇÔ¿ˇ H A

-  ®Ê…¥̂Ô¿ˇ m�C ®¿ˇÁ∑Ê~ ØˇÁ…ÁŒ ÔLˇÊ~ AZˇúˇ LˇÔ‡ˇ Ô”∑ÊúˇZˇ¿ˇ ØˇÊ‹Îˇ∑Êúˇ ÔæDÙ ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇÁÔØˇ
ÜˇÊ‹ˇÊ Ô‹ˇØˇ D H DîÁŒ `ˇÜÎˇμˇˆÎf ABCD ∑Á¡ˇÁØˇ <>
  (b) æíˇÁ AB, BC, m�B, m�C H m�D íˇàˇ êÊF ÔÜˇÔØˇ m�A +m�B+m�C+m�D=3600 Ô‹ˇÜÎ̌
m�A úˇÁÇˇˆfl Lˇ¿ˇÁÔ‹ˇØˇ FØˇÛ ÜˇåÔ¿ˇ D®Ô¿ˇÊNˇ ®˜~Ê¡ˇÍ AúÎˇ”ÊÔ¿ˇ ABCD `ˇÜÎˇμˇˆÎf AZˇÁÜˇ Ô‹ˇØˇ<>

AúÎˇ…Í¡ˇúˇÍ - 6(h)
1. ABCD `ˇÜÎˇμˇˆÎf AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ-

(i) AB =4 Ô”.∑Á., BC=3 Ô”.∑Á., m�A=450, m�B=1200 H m�C = 600<>
(ii) AB= 7 Ô”.∑Á., BC = 6 Ô”.∑Á., m�B =900, m�C = 600 H m�D = 1200 <>
(iii) AB=5.2 Ô”.∑Á., BC=3.9 Ô”.∑Á., AD=4.2 Ô”.∑Á., m�A=1200 H m�B =900 <>
(iv) AB = 2.5 Ô”.∑Á., BC = 3.7 Ô”.∑Á., CD = 4 Ô”.∑Á., m�B =1200 H m�C =900 >
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2. ABCD s˜Ê®ÁfÁfl∑˙ AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ AB  <>> CD , AB =8 Ô”.∑Á., BC =6  Ô”.∑Á.,
CD = 4 Ô”.∑Á. H m�B = 600 <>

3. ABCD `ˇÜÎˇμˇˆÎf AZˇúˇ Lˇ¿ˇ æÊ‹ˇ¿ˇ AB = 6 Ô”.∑Á., BC = 5.5 Ô”.∑Á.,  AC = 6.4 Ô”.∑Á.,
BD = 7.1 Ô”.∑Á., m�DBC =300 <>

4. ABCD `ˇÜÎˇμÎˇˆf AZˇúˇ Lˇ¿ˇ æÊ‹ˇ¿ˇ AB = 5.5 Ô”.∑Á., m�B = 600, BC = 6 Ô”.∑Á,
m� ACD = 300, m�BAD = 1050

5. ABCD `ˇÜÎˇμˇˆÎfÔ¿ˇ ( BP AC DQ AC⊥ ⊥, ) AC = 6.7  Ô”.∑Á., AB = 5 Ô”.∑Á.,
CD = 5.3 Ô”.∑Á.,  BP = 4.8 Ô”.∑Á., DQ = 5 Ô”.∑Á.  `ˇÜÎˇˆμÎˇfsÁ AZˇúˇ Lˇ¿ˇ >

6. ABCD s˜Ê®ÁfÁfl∑˙ AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ AB  <>> CD ,   AB = 6  Ô”.∑Á., BC= 4.5 Ô”.∑Á.,
CD = 9  Ô”.∑Á., DA= 5 Ô”.∑Á. <>

7. ABCD `ˇÜÎˇμˇˆÎfˇ AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ AB = CD = 4.5  Ô”.∑Á., BC = 9 Ô”.∑Á.,
AD  <>> BC ,  BC = 2 AD

6.5  ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ Üˇ˜ÁμÎˇf AZˇúˇ:
Ô‰Üˇ˜≠ˇ¡ˇ ”∫§ˇÍfl D®®Êíˇø ”∫§ˇÔ¿ˇ ÜÎˇÔ∑ �D
����� ®|ˇÁd <> Ô” ”∑÷¿ˇ ®˜ÔflÊSÊäLˇ íˇÁS ”‹ˇÁÜˇ

FvˇÊÔ¿ˇ ®¿ˇÁ`ˇÁÜˇ Ô‹ˇØˇÊ <>
FLˇÊ μÌˇ∑Á D®Ô¿ˇ AØˇ◊ÁÜˇ FØˇÛ ”∑Êúˇ DaˇÜˇÊ ØˇÁ…ÁŒ (AêˆÊÜ˙ˇ FLˇÊ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊíˇ¥fl ∑öÔ¿ˇ

AØˇ◊ÁÜˇ) Ü ˜̌ÁμÎ̌ fSÎ›ÁLˇ¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ ”∑Êúˇ > F‹ Á̌ ú Á̌fl∑ ØˇøØˇ‹ˇÊ¿ˇ Lˇ¿ Á̌ AÊÔ∑ ÔLˇÚ~”Á íˇàˇ Ü ˜̌ÁμÎ̌ f ØˇÊ `ˇÜÎ̌ ˆμÎ̌ f¿ˇ
Ô‰Üˇ˜≠ˇ¡ˇ ”Ô]ˇ ”∑Êúˇ Lˇ¿ˇÁ FLˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇÁ®Ê¿ˇÁÁØˇÊ >

AZˇúˇ -10

ÔLˇÚ~”Á íˇàˇ Üˇ˜ÁμÎˇf ”‹ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ <>
(To draw an isosceles triangle equal in area to a given triangle.)

� ABC  ÔSÊsÁF íˇàˇ Üˇ˜ÁμÎˇf <> F‹ˇÊ¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ
Ô‹ˇØˇ<>

ØˇÁÔ…‚Ã~ :  A  ØˇÁ¢Îˇ ∑öÔíˇB BC  ”‹ˇ ”∑Êûˇ¿ˇ Lˇ¿ˇÁ AZ
↔

 ”¿ˇ¡ˇÔ¿ˇQÊ AZˇúˇ Lˇ¿ˇ <> AZ
↔

 D®¿ˇÁ◊
D Ôæ ÔLˇÚ~”Á ØˇÁ¢Îˇ Ô‹ˇÔ‡ˇ � ABC H � DBC Ô‰Üˇ˜≠ˇ¡ˇ ”∑Êúˇ Ô‹ˇØˇ, LˇÊ¿ˇ~ Ô”∑ÊÔúˇ FLˇÊ μÌˇ∑Á BC
D®Ô¿ˇ H FLˇÊ ”∑Êûˇ¿ˇ Ô¿ˇQÊ ∑öÔ¿ˇ AØˇ◊ÁÜˇ <> Øˇàˇˆ∑Êúˇ � DBC  FLˇ ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf Ô‹ˇØˇÊ ®ÊBÙ
D  ØˇÁ¢Îˇ sÁ BC  ¿ˇ ”∑íˇ¥ÁQÉLˇ ‡ˇ∫ D®Ô¿ˇ AØˇ◊ÁÜˇ Ô‹ˇØˇÊ AÊØˇ…øLˇ <> ÔÜˇ~Î BC  ¿ˇ ”∑íˇ¥ÁQÉLˇ ‡ˇ∫

AZ
↔

 LÎˇ ÔæDÙ ØˇÁ¢ÎˇÔ¿ˇ ÔdíˇLˇÔ¿ˇ ÜˇÊ‹ˇÊ D  ØˇÁ¢Îˇ Ô‹ˇØˇ H �DBC AÊØˇ…øLˇ Ü ˜̌ÁμÎ̌ f Ô‹ˇØˇ <>
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(iv) DB H DC  AZˇúˇ Lˇ¿ˇ > � DBC AÊØˇ…øLˇ ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf >

®˜∑Ê~ : DX
↔

, BC ¿ˇ ”∑íˇ¥ÁQÉLˇ ‡ˇ∫. � DB = DC, AêÊˆÜ˙ˇ �� DBC  FLˇ ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf >

®Î~Á  �  AZ
↔

II BC FØˇÛ �ABC  H �DBC  FLˇ μÌˇ∑Á BC D®Ô¿ˇ FØˇÛ FLˇÊ ”∑Êûˇ¿ˇ
”¿ˇ¡ˇÔ¿ˇQÊ AZ

↔
H BC ∑öÔ¿ˇ AØˇ◊ÁÜˇ >

�� �� DBC  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = �� ABC  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ >

∑ûˇØˇø :  (i)  F‹ˇÁ AZˇúˇÔ¿ˇ BC  LÎˇ μÌˇ∑Á ÔúˇB ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇÊæÊBdÁ > †AB  ØˇÊ
AC LÎˇ μÌˇ∑Á ÔúˇB ∑ö AÊØˇ…øLˇ ”∑íˇ¥ÁØˇÊ‹Îˇ �� AZˇúˇ Lˇ¿ˇÊæÊB®Ê¿ˇÁØˇ >

 (ii)  ”∑íˇ¥ÁØˇÊ‹Îˇ �¿ˇ μÌˇ∑ÁLÎˇ A®¿ˇÁØˇàˇÈÜˇ ¿ˇQÁ DaˇÜˇÊLÎˇ  2  SÎ~ ØˇÊ  3  SÎ~ BÜˇøÊíˇÁ ÔúˇB ∑Ì¡ˇ
Üˇ˜ÁμÎˇf¿ˇ Ô”ÜˇÁLˇÁ SÎ~ Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf∑Êúˇ AZˇúˇ Lˇ¿ˇÊæÊB®ÊÔ¿ˇ >

AZˇúˇ - 11
íˇàˇ Üˇ˜ÁμÎˇf ”‹ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ ”∑ÔLˇÊ~Í Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇÊæÁØˇ >
(To draw a right angled triangle equal in area to a given triangle.)

Ø Á̌Ô…»Ã~ :

BC  ”‹ˇ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ AY
↔

 D®¿ˇÁ◊ Ôæ ÔLˇÚ~”Á ØˇÁ¢Îˇ  D  Ô‹ˇÔ‡ˇ �DBC  H �ABC¿ˇ
Ô‰Ü ˜̌≠ˇ¡ˇ ”∑Êúˇ > �DBC  FLˇ ”∑ÔLˇÊ~Í Üˇ˜ÁμÎˇf Ô‹ˇØˇÊ®ÊBÙ  D  ØˇÁ¢ÎˇsÁ,  B LˇÁ∫Ê  C  vˇÊÔ¿ˇ BC D®Ô¿ˇ
AZˇÁÜˇ ”∑ÔLˇÊ~ ”Û‡ˇSß ØˇÊ‹Îˇ D®Ô¿ˇ AØˇ◊ÁÜˇ Ô‹ˇØˇÊ AÊØˇ…øLˇ > ÔÜˇ~Î BC ”‹ˇ  B  (L Á̌∫Ê C)  vˇÊÔ¿ˇ

AZˇÁÜˇ ‡ˇ∫ AY
↔

 LÎˇ ÔæDÙ ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ LˇÔ¿ˇ ÜˇÊ‹ˇÊ  D  ØˇÁ¢Îˇ Ô‹ˇØˇ H �DBC  DîÁŒ Üˇ˜ÁμÎˇf Ô‹ˇØˇ >

B

A Y

Z

C

X

AZˇúˇ ®˜~Ê¡ˇÍ :

(i) �ABC  AZˇúˇ Lˇ¿ˇ >
(ii)  ÜˇÜ˙ˇ®Ô¿ˇ  A  ØˇÁ¢Îˇ ∑öÔíˇB BC  ”ÛÔS ”∑Êûˇ¿ˇ

Lˇ¿ Á̌ AZ
↔

AZˇúˇ Lˇ¿ˇ >
(iii) BC ¿ˇ ”∑íˇ¥ÁQÉLˇ ‡ˇ∫ XY

↔
AZˇúˇ Lˇ¿ˇ >

ÜˇÊ‹ˇÊ AZ
↔

LÎ̌   D  ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿Îˇ >

D

(` Á̌Ü ˜̌  6.19)
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AZˇúˇ ®˜~Ê¡ˇÍ :
(i) �ABC  AZˇúˇ Lˇ¿ˇ >

(ii) A Ø Á̌¢Î̌  ∑ö ÔíˇB BC ”‹ˇ ”∑Êûˇ¿ˇ X Y
↔ AZˇúˇ Lˇ¿ˇ >

(iii) B  vˇÊÔ¿ˇ BC  ®˜Ü Á̌ BP  ‡ˇ∫ AZˇúˇ Lˇ¿ˇ >

F‹ˇÊ XY
↔

 LÎ̌   D  ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿Îˇ >
(iv)  DC  AZˇúˇ Lˇ¿ˇ > �DBC  DîÁŒ Üˇ˜ÁμÎˇf >

®˜∑Ê~ : AZˇúˇ AúÎˇ”ÊÔ¿ˇ �DBC  FLˇ ”∑ÔLˇÊ~ > ®Î~Á �ABC  H �DBC  FLˇ μÌˇ∑Á BC

D®Ô¿ˇ FØˇÛ FLˇ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ BC H XY
↔

∑öÔ¿ˇ AØˇ◊ÁÜˇ Ô‹ˇÊBêèØˇÊ¿ Î ˇ
�DBC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = �ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ >

∑ûˇØˇø - �ABC ¿ˇ íÎˇBSÎ~ Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ ”∑ÔLˇÊ~Í Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇÔ‡ˇ, ÜˇÊ‹ˇÊ¿ˇ
DaˇÜˇÊ  EB = 2DB  ÔúˇB  EC  AZˇúˇ LˇÔ‡ˇ �EBC¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ =  2 × �ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ Ô‹ˇØˇ >

AZˇúˇ - 12
FLˇ íˇàˇ Üˇ̃ÁμÎ̌ f¿ˇ μÌ̌ ∑Á¿ˇ Ôí ̌Ŵø ®¿ Á̌Øˇàˇ̂úˇ Lˇ¿ Á̌ ”∑Ô‰Üˇ̃≠ˇ¡ˇ Ø Á̌…ÁŒ Aúˇø FLˇ Üˇ̃ÁμÎ̌ f AZˇúˇ Lˇ¿ Á̌ØˇÊLÎ̌

Ô‹ˇØˇ >
(To construct a triangle in to another triangle of equal area by changing the length

of the base)
 ØˇÁÔ…»Ã~ H AZˇúˇ ®˜~Ê¡ˇÍ :

�� ABC  ¿ˇ BC
→

 D®¿ˇÁ◊  D  F®¿ˇÁ FLˇ ØˇÁ¢Îˇ
Ôæ®¿ˇÁLˇÁ  B-C-D  > FvˇÊÔ¿ˇ  BD > BC >
AÊ∑LÎˇ BD  D®Ô¿ˇ �A'BD  AZˇúˇ Lˇ¿ Á̌ØˇÊLÎ̌  Ô‹ˇØˇ,
æÊ‹ˇÊ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ �ABC ¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ”‹ˇ ”∑Êúˇ Ô‹ˇØˇ >
Øˇàˇˆ∑Êúˇ úÌˇÜˇúˇ Üˇ˜ÁμÎˇfsÁ �ABC ¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ Ô‹ˇØˇÊLÎˇ Ô‹ˇÔ‡ˇ,  A'  ØˇÁ¢Îˇ¿ˇ AØˇ◊ÁÜˇÁ úˇÁÇˇˆfl

Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ >
(i)  AD  AZˇúˇ Lˇ¿ˇ >
(ii) C  Ø Á̌¢Î̌ Ô¿ˇ AD ”‹ˇ ”∑Êûˇ¿ˇ AZˇúˇ Lˇ¿ Á̌ CA'  AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ AB LÎ̌   A'  Ø Á̌¢Î̌ Ô¿ˇ Ôdíˇ Lˇ¿ Á̌Øˇ >
(iii) A D' AZˇúˇ Lˇ¿ˇ > Øˇàˇˆ∑Êúˇ � A'BD ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ íˇàˇ � ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ”‹ˇ ”∑Êúˇ Ô‹ˇØˇ >

®˜∑Ê~ : � AA'C  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = �A'CD  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ
(� Üˇ˜ÁμÎˇfíˇ¥fl A C' FLˇ μÌˇ∑Á ØˇÁ…ÁŒ FØˇÛ AD  H A C'  ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊ ∑öÔ¿ˇ AØˇ◊ÁÜˇ)

B DC
(` Á̌Ü ˜̌  6.21)

A

< >

P
D

X Y

CB

A'

>

(` Á̌Ü ˜̌  6.20)

>

A



[ 138 ]

Dμˇfl ®Ê…¥ˆÔ¿ˇ �A'BC  ÔæÊS LˇÔ‡ˇ ®ÊBØˇÊ, � ABC  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = �A'BD  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ >
íˇ˜ŒØˇø : �ABC  ¿ˇ BC  D®¿ˇÁ◊  D  F®¿ˇÁ FLˇ ØˇÁ¢Îˇ ÔúˇB ®Ê¿ˇÁØˇÊ Ôæ®¿ˇÁLˇÁ  B-D-C  Ô‹ˇØˇ >

FvˇÊÔ¿ˇ  BD < BC  Ô‹ˇØˇ >
Øˇàˇˆ∑Êúˇ BD D®Ô¿ˇ �ABC  ¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ �A'BD  AZˇúˇ Lˇ¿ˇÁ®Ê¿ˇÁØˇÊ >

AZˇúˇ - 13

 FLˇ íˇàˇ `ˇÜÎˇμÎˇˆf¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ >
 (To draw a triangle equal in area to a given quadrilateral.)

ABCD  FLˇ íˇàˇ `ˇÜÎ̌ μÎ̌ f̂ > F‹ˇÊ¿ˇ ”∑Ô‰Üˇ̃≠ˇ¡ˇ Ø Á̌…ÁŒ FLˇ Üˇ̃ÁμÎ̌ f AZˇúˇ Lˇ¿ Á̌ØˇÊLÎ̌  Ô‹ˇØˇ >

AZˇúˇ ®˜~Ê¡ˇÍ : (i) AC  LˇÇˇˆ AZˇúˇ Lˇ¿ˇ >

(ii) D  Ø Á̌¢Î̌  ÔíˇB AC  ”∑Êûˇ¿ˇ Lˇ¿ Á̌ X Y
↔ AZˇúˇ

    Lˇ¿ˇ > ÜˇÊ‹ˇÊ BC
→

LÎˇ  E  ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿Îˇ >
(iii) A, E  LÎˇ ÔæÊSLˇ¿ˇ >
(iv) �ABE  AÊØˇ…øLˇ Ü ˜̌ÁμÎ̌ f >

®˜∑Ê~ : AZˇúˇ AúÎˇæÊflÍ AC  >> XY
↔

,   �ACD

H �ACE  FLˇÊ μÌˇ∑Á AC  D®Ô¿ˇ FØˇÛ AC  H XY
↔

”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊíˇ¥fl ∑öÔ¿ˇ AØˇ◊ÁÜˇ,
��� ACD ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = �ACE ¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ
Dμˇfl ®Ê…¥ˆÔ¿ˇ �ABC  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ÔæÊSLˇÔ‡ˇ,

�ACD  H �PBC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ¿ˇ ”∑ŒÁ = �ACE

H �ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ¿ˇ ”∑ŒÁ AêÊˆÜ˙ˇ, `ˇÜÎˇμÎˇˆf
ABCD ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = �ABE  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ >

íˇ˜ŒØˇø : BD  LˇÇˇˆ AZˇúˇ Lˇ¿ˇÁ ∑ö AÊØˇ…øLˇ
Ü ˜̌ÁμÎ̌ f AZˇúˇ Lˇ¿ Á̌Ô‹ˇØˇ >

(`ˇÁÜˇ˜  6.22)

(`ˇÁÜˇ˜  6.23)

<

>

>
>

C
D

O

B A

P

Y

AB

C

D

EX

ØˇÁLˇ≈ˇ ®˜~Ê¡ˇÍ :

(i) LˇÇˇˆ CA H BD  AZˇúˇ Lˇ¿ˇ H ÔdíˇØˇÁ¢Îˇ¿ˇ úˇÊ∑ íˇÁA O BD
→

 AZˇúˇ Lˇ¿ˇ >(`ˇÁÜˇ˜ 6.23 ÔíˇQ)

(ii) D  LÎˇ ÔLˇ¢ˇ˜ ÔúˇB  BO ØˇøÊ”Êï̂Ø Á̌…ÁŒ `ˇÊ® AZˇúˇ Lˇ¿ˇ FØˇÛ ÔæDÙ Ø Á̌¢Î̌ Ô¿ˇ DNˇ `ˇÊ® BD
→

LÎ̌  Ôdíˇ
Lˇ¿ Á̌Øˇ ÜˇÊ¿ˇ úˇÊ∑ í Á̌A P > (iii) PC  H PA  AZˇúˇ Lˇ¿ˇ > (iv) Øˇàˇˆ∑Êúˇ AÊØˇ…øLˇ Üˇ˜ÁμÎˇf Ô‹ˇDdÁ �PCA >
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®˜∑Ê~ : �� BOC  FØˇÛ �� DPC  ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ
� � μÌˇ∑Á  BO=DP  FØˇÛ Dμˇfl ”∑DaˇÜˇÊ ØˇÁ…ÁŒ
Ô”‹ Á̌®¿ Á̌ �BOA  FØˇÛ �DPA  ”∑Ô‰Ü ˜̌≠ˇ¡ˇ Ø Á̌…ÁŒ�

� �CDA, �BOC  H �BOA  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ¿ˇ ”∑ŒÁ = �CDA, �DPC  H �DPA  ¿ˇ
Ô‰Ü ˜̌≠ˇ¡ˇ¿ˇ ”∑ŒÁ � `ˇÜÎˇμÎˇˆf  ABCD  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = � PCA  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ >

AúÎˇ…Í¡ˇúˇÍ - 6(i)

1. �ABC  AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ  BC= 5.8  Ô”.∑Á.,  m�B = 600  H AD ‡ˇ∫¿ˇ ÔíˇWˆø = 4.2

Ô”.∑Á. > F‹ˇÊ¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ >
 2. �ABC  AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ  BC=5.4  Ô”.∑Á.  m�B=600, m�A=750  > F‹ˇÊ¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ

ØˇÁ…ÁŒ ”∑ÔLˇÊ~Í Üˇ˜ ÁμÎˇf AZˇúˇ Lˇ¿ˇ > μÌˇ∑Á BD ¿ˇ ÔíˇWˆø  6.3  Ô”.∑Á. ÔúˇB
(Ôæ®¿ˇÁLˇÁ  B-C-D) BD  D®Ô¿ˇ �ABC  ¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ �A'BD  AZˇúˇ Lˇ¿ˇ >

 3. �ABC  AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ  A  ¿Îˇ BC  ®˜ÜˇÁ AZˇÁÜˇ ‡ˇ∫¿ˇ ÔíˇWˆø  6.7  Ô”.∑Á.,  m�B=600

H  m�C=450 > F‹ˇÊ¿ˇ AÔïˆLˇ Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ >

 4. �ABC  Ô¿ˇ  m�B=600, AX  ‡ˇ∫¿ˇ ÔíˇWˆø  4.9  Ô”.∑Á. H  m�A=450;  Üˇ˜ÁμÎˇfsÁ AZˇúˇLˇ¿ˇÁ
ÜˇÊ¿ˇ íÎˇBSÎ~ Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ >

 5. �ABC  Ô¿ˇ  BC=6.5  Ô”.∑Á.,  b+c=10  Ô”.∑Á. H m�B = 600  > Üˇ˜ÁμÎˇfsÁ AZˇúˇ Lˇ¿ˇÁ F‹ˇÊ¿ˇ
íÎˇBSÎ~ Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ ”∑ÔLˇÊ~Í Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ >

 6. �ABC  AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ  m�A = 600, a = 7 Ô”.∑Á. H b – c = 4 Ô”.∑Á.> F‹ˇÊ¿ˇ AÔïˆLˇ
Ô‰Üˇ˜≠ˇ¡ˇØˇÁ…ÁŒ FLˇ ”∑ÔLˇÊ~Í Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ >

 7. � ABC  AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ  AC – AB = 2  Ô”.∑Á., m�B = 600 FØˇÛ  BC = 7 Ô”.∑Á. > F‹ˇÊ¿ˇ
Ô‰Üˇ˜≠ˇ¡ˇ¿ˇ íÎˇBSÎ~ Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ ÔSÊsÁF ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ >

 8. �ABC  ¿ˇ  BC = 5.4  Ô”.∑Á.,  b + c = 8.7  Ô”.∑Á. H  m�A = 600  > Ü ˜̌ÁμÎ̌ fsÁ AZˇúˇ Lˇ¿ Á̌
F‹ˇÊ¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ >

 9. �ABC  ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf¿ˇ μÌˇ∑Á BC  H  A  ØˇÁ¢Îˇ¿Îˇ BC  ®˜ÜˇÁ ‡ˇ∫ AD  >  † BC=5.6 Ô”.∑Á. H
AC – AD =3 Ô”.∑Á. ÔúˇB � ABC AZˇúˇ Lˇ¿ˇ FØˇÛ F‹ˇÊ¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ ”∑ÔLˇÊ~Í
Ü ˜̌ÁμÎ̌ f AZˇúˇ Lˇ¿ˇ >

 10.  ÔSÊsÁF ”∑ÔLˇÊ~Í ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf¿ˇ ®¿ˇÁ”Í∑Ê  12  Ô”.∑Á. > Üˇ˜ÁμÎˇfsÁ AZˇúˇ Lˇ¿ˇÁ ÜˇÊ‹ˇÊ¿ˇ ”∑ÔLˇÊ~
”Û‡ˇSß Ôæ ÔLˇÚ~”Á ØˇÊ‹Îˇ D®Ô¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ ÔSÊsÁF ”∑íˇ¥ÁØˇÊ‹Îˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ >
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11. ABCD  `ˇÜÎˇμÎˇˆf AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ  AB = 5  Ô”.∑Á.,  AC = 7.2  Ô”.∑Á.,  AD= 6  Ô”.∑Á.,
BC=6.2  Ô”.∑Á. H  CD=5.4  Ô”.∑Á. > F‹ˇÊ¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ >

12. ABCD  `ˇÜÎˇμÎˇˆf AZˇúˇ Lˇ¿ˇ Ôæ®¿ˇÁ  AB=5Ô”.∑Á.,  BC =7 Ô”.∑Á., CD=9 Ô”.∑Á.,  DA=10

Ô”.∑Á. FØˇÛ m�ABC=1200  >
 (i)  `ˇÜÎˇμÎˇˆf¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ �PBC  AZˇúˇ Lˇ¿ˇ >
 (ii)  D®Ô¿ˇÊNˇ ∑Ê® ÔúˇB `ˇÜÎˇμÎˇˆf¿ˇ μˇÁù FLˇ `ˇÁÜˇ˜ AZˇúˇ Lˇ¿ˇ H ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ �BDP

 AZˇúˇ Lˇ¿ˇ > (”Ì`ˇúˇÊ: AZˇúˇ- 11  Ô¿ˇ êèØˇÊ ØˇÁ®≈ˇ ®˜~Ê¡ˇÍ ®˜ÔflÊS Lˇ¿ˇ >)

6.6  Üˇ˜ÁμÎˇf¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ AÊflÜˇÔ‰Üˇ˜ AZˇúˇ :
AÊÔ∑ fÊ~Î Ôæ FLˇÊ μÌˇ∑Á FØˇÛ FLˇÊ ”∑Êûˇ¿ˇ ”¿ˇ¡ˇÔ¿ˇQÊíˇ¥fl ∑öÔ¿ˇ ÔSÊsÁF AÊflÜˇÔ‰Üˇ˜ AØˇ◊ÁÜˇ

Ô‹ˇÔ‡ˇ Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ AÊflÜˇÔ‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ¿ˇ AÔïˆLˇ Ô‹ˇØˇ >

ÔSÊsÁF AÊflÜˇÔ‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = μÌˇ∑Á¿ˇ ÔíˇWˆø  ×  DaˇÜˇÊ

ÔÜˇ~Î Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = 1
2

× μÌˇ∑Á¿ˇ ÔíˇWˆø  ×  DaˇÜˇÊ

Ü ˜̌ÁμÎ̌ f¿ˇ ”∑Ô‰Ü ˜̌≠ˇ¡ˇ Ø Á̌…ÁŒ AÊflÜˇÔ‰Ü ˜̌¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ= ( 1
2

×Ü ˜̌ÁμÎ̌ f¿ˇ μÌ̌ ∑Á¿ˇ Ôí ̌Wˆø)× Ü ˜̌ÁμÎ̌ f¿ˇ DaˇÜˇÊ

= Üˇ˜ÁμÎˇf¿ˇ μÌˇ∑Á¿ˇ ÔíˇWˆø × ( 1
2

× Üˇ˜ÁμÎˇf¿ˇ DaˇÜˇÊ)
F~Î ÔLˇÚ~”Á Üˇ˜ÁμÎˇf¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ AÊflÜˇÔ‰Üˇ˜ AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇÔ‡ˇ-
(Lˇ) Üˇ˜ÁμÎˇf¿ˇ μÌˇ∑Á (AêÊˆÜ˙ˇ ÔSÊsÁF ØˇÊ‹Îˇ) ”ÛÔS ”∑Êúˇ μÌˇ∑Á ØˇÁ…ÁŒ H Üˇ˜ÁμÎˇf¿ˇ DaˇÜˇÊ¿ˇ AôÊDaˇÜˇÊ

ØˇÁ…ÁŒ AÊflÜˇÔ‰Üˇ˜ AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ > AêØˇÊ
(Q) Üˇ˜ÁμÎˇf¿ˇ μÌˇ∑Á¿ˇ ÔíˇWˆø¿ˇ AÔïˆLˇ ®¿ˇÁ∑Ê~ μÌˇ∑Á ØˇÁ…ÁŒ FØˇÛ ÜˇÊ¿ˇ DaˇÜˇÊ ”ÛÔS ”∑Êúˇ DaˇÜˇÊ

Ø Á̌…ÁŒ AÊflÜˇÔ‰Ü ˜̌ AZˇúˇ Lˇ¿ Á̌ØˇÊLÎ̌  Ô‹ˇØˇ >

AZˇúˇ - 14

ÔLˇÚ~”Á íˇàˇ Üˇ˜ÁμÎˇf ”‹ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ AÊflÜˇÔ‰Üˇ˜ AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ >
(To draw a rectangle equal in area to a given triangle.)

� ABC  FLˇ íˇàˇ Üˇ˜ÁμÎˇf > F‹ˇÊ¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ AÊflÜˇÔ‰Üˇ˜ AZˇúˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ >
AZˇúˇ ®˜~Ê¡ˇÍ  (1) :

(i) …ÍÃˆØˇÁ¢Îˇ  A  ¿Îˇ BC μÌˇ∑Á ®˜ÜˇÁ AD  ‡ˇ∫ (DaˇÜˇÊ) sÊ~ > AD ¿ˇ ”∑íˇ¥ÁQÉLˇ ‡ˇ∫ XY
↔

AZˇúˇ
Lˇ¿ˇ >

(ii) B  vˇÊÔ¿ˇ BC  ®˜ÜˇÁ BP
→

 ‡ˇ∫ DÔàˇÊ¡ˇúˇ Lˇ¿ˇ > ÜˇÊ‹ˇÊ XY
↔

LÎ̌  P ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿Îˇ >
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(iii) X Y
↔ ¿Îˇ BC ¿ˇ ÔíˇWˆø ”ÛÔS ”∑Êúˇ Lˇ¿ˇÁ  PQ  AÛ…

Ôdíˇúˇ Lˇ¿ˇ >  Q, C  LÎˇ ÔæÊSLˇ¿ˇ >
PQCQ  AÊØˇ…øLˇ AÊflÜˇÔ‰Üˇ˜, æÊ‹ˇÊ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ �ABC

Üˇ˜ÁμÎˇf¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ”ÛÔS ”∑Êúˇ >
®˜∑Ê~ :  PBCQ  AÊflÜˇÔ‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ

= BC × PB = BC × MD [� PB = MD]

= BC × 
1
2

 AD =
1
2

×BC × AD = �ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ

”Ì`ˇúˇÊ :  (i) AB  H AC ¿ˇ ∑öØˇÁ¢Îˇ úˇÁÇˇˆfl Lˇ¿ˇ > Ô”∑ÊúˇZÎˇ ÔæÊSLˇ¿ˇÁ X Y
↔ ”¿ˇ¡ˇÔ¿ˇQÊ ∑ö

AZˇúˇ Lˇ¿ˇÊæÊB®ÊÔ¿ˇ >

 (ii) AD ¿ˇ ‡ˇ∫ ”∑íˇ¥ÁQÉLˇ XY
↔

 AZˇúˇ Lˇ¿ˇÁ FØˇÛ  B  H  C  ØˇÁ¢Îˇ¿Îˇ BC  ®˜ÜˇÁ ‡ˇ∫ AZˇúˇ
Lˇ¿ˇÁ ∑ö F‹ˇÁ AZˇúˇ Lˇ¿ˇÊæÊB®ÊÔ¿ˇ >

AZˇúˇ ®˜~Ê¡ˇÍ  (2) :

BC ¿ˇ ”∑íˇ¥ÁQÉLˇ ‡ˇ∫ XY
↔

 AZˇúˇ Lˇ¿ˇ; ÜˇÊ‹ˇÊ BC  LÎ̌   Q  ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿Îˇ >  A  ∑öÔíˇB
BC  ”Ô]ˇ ”∑Êûˇ¿ˇ Lˇ¿ˇÁ AE

↔
 AZˇúˇ Lˇ¿ˇ; ÜˇÊ‹ˇÊ XY  LÎˇ  P  ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿Îˇ > AE

↔
¿Îˇ  QC  ”Ô]ˇ

”∑Êúˇ Lˇ¿ˇÁ PZ  AÛ… Ôdíˇúˇ Lˇ¿ˇ >

< >

>

>

A

PX Y

B C

M

D

>

< >

<
>> >A P

E

B CD Q

> >A

B CD

P Q< >

(` Á̌Ü ˜̌  6.24)

Q

PQCZ  AÊØˇ…øLˇ AÊflÜˇÔ‰Üˇ˜, æÊ‹ˇÊ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ �ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ”Ô]ˇ ”∑Êúˇ >
`ˇÁÜˇ˜ 6.25(i)LÎˇ ÔíˇQ >
®˜∑Ê~ :  PQCZ  AÊflÜˇÔ‰Ü ˜̌¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ =QC × PQ = 

1
2

 BC × AD (�PQ = AD)

= �ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ
 ∑ûˇØˇø : F‹ˇÁ AZˇúˇÔ¿ˇ  PQCZ  AÊflÜˇÔ‰Üˇ˜¿ˇ μÌˇ∑Á¿ˇ ÔíˇWˆø = �ABC ¿ˇ μÌˇ∑Á¿ˇ ÔíˇWˆø¿ˇ AÔïˆLˇ
FØˇÛ PQCZ AÊflÜˇÔ‰Üˇ˜¿ˇ DaˇÜˇÊ = � ABC  ¿ˇ DaˇÜˇÊ [PQCZ  AÊflÜˇÔ‰Ü ˜̌¿ˇ Ô‰Ü ˜̌≠ˇ¡ˇ= QC.PQ

=
1
2

 BC.PQ = 
1
2

 BC.AD =  �� ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ]

(` Á̌Ü ˜̌  6.25)
(i) (ii)

Z

X

Y
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AúÎˇ”ÁïÊûˇ : íˇàˇ Üˇ˜ÁμÎˇf¿ˇ μÌˇ∑Á H DaˇÜˇÊ ”Ô]ˇ æêÊLˇ˜Ô∑ ”∑Êúˇ μÌˇ∑Á H DaˇÜˇÊ ÔúˇB íˇàˇ Üˇ˜ÁμÎˇf¿ˇ
íÎˇBSÎ~ Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ AÊflÜˇÔ‰Üˇ˜ AZˇúˇ Lˇ¿ˇÊæÊB®ÊÔ¿ˇ >

[`ˇÁÜˇ˜ 6.25 (ii)] Ô¿ˇ  PBCQ  AÊflÜˇÔ‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ, �ABC  ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ¿ˇ íÎˇBSÎ~ >
 [� PBCQ  AÊflÜˇÔ‰Üˇ˜¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ = BC × BP = BC × AD

 = 2(
1
2

 BC × AD) = 2 × �ABC ¿ˇ Ô‰Üˇ˜≠ˇ¡ˇ ]

AúÎˇ…Í¡ˇúˇÍ - 6 (j)
1. �ABC  AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ  AB = 8  Ô”.∑Á.,  AC = 4  Ô”.∑Á.  H  BC = 6  Ô”.∑Á. >

BC D®Ô¿ˇ Üˇ˜ÁμÎˇf¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ AÊflÜˇÔ‰Üˇ˜ AZˇúˇ Lˇ¿ˇ >
 2. �ABC¿ˇ  AB = 5  Ô”.∑Á.,  AC = 4  Ô”.∑Á.,  m�A = 600,  Üˇ˜ÁμÎˇfsÁ AZˇúˇ Lˇ¿ˇÁ BC

D®Ô¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…Áœ FLˇ AÊflÜˇÔ‰Üˇ˜ AZˇúˇ Lˇ¿ˇ >
 3. �ABC  AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ  a+b+c = 8.5  Ô”.∑Á.,  m�B = 600  FØˇÛ  m�C = 900 >

F‹ˇÊ¿ˇ íÎˇBSÎ~ Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ AÊflÜˇÔ‰Üˇ˜ AZˇúˇ Lˇ¿ˇ >
 4. �ABC  AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ  AB–AC = 1.5  Ô”.∑Á.,  BC = 6.3  Ô”.∑Á.,  m�B = 450 >

F‹ˇÊ¿ˇ ”∑Ô‰Üˇ˜≠ˇ¡ˇ ØˇÁ…ÁŒ FLˇ AÊflÜˇÔ‰Üˇ˜ AZˇúˇ Lˇ¿ˇ >

AZˇúˇ - 15
6.7 Ô¿ˇQÊQÉ ØˇÁμˇÊfúˇ:

ÔLˇÚ~”Á íˇàˇ Ô¿ˇQÊQÉLÎˇ ÔLˇÔÜˇLˇ ”Øˇˆ”∑ AÛ…Ô¿ˇ ØˇÁμˇNˇ Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ< >
(To divide a given line-segment into any number of congruent parts.)

AB FLˇ úˇÁîÈŒ Ô¿ˇQÊQÉ<> F‹ˇÊLÎˇ ÔLˇÔÜˇLˇ AÛ…Ô¿ˇ (∑ÔúˇLˇ¿ˇ 5 sÁ ”Øˇˆ”∑ AÛ…Ô¿ˇ) ØˇÁμˇNˇ
Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇØˇ <>

®˜ê∑ AZˇúˇ ®˜~Ê¡ˇÍ:

(i) A ØˇÁ¢ÎˇÔ¿ˇ AB ”‹ˇ Ôæ ÔLˇÚ~”Á ”Ì‰ΩÔLˇÊ~ Lˇ¿ÎˇêèØˇÊ AC
→

¿ˇ…ΩÁ sÊ~<>

(ii) AC
→

¿Îˇ ÔLˇÚ~”Á  úˇÁîÈŒ ÔíˇWˆø  ØˇÁ…ÁŒ 5sÁ ”Ø ˆ̌”∑ AÛ… AP P P P P P P1 1 2 2 3 3 4, , , H
P P4 5 ÔdíˇLˇÔ‡ˇ [A LÎˇ ÔLˇ¢ˇ˜ ÔúˇB FLˇ úˇÁîÈŒ ØˇøÊ”Êïˆ ØˇÁ…ÁŒ `ˇÊ® AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ AC LÎˇ P1 ØˇÁ¢ÎˇÔ¿ˇ
ÔdíˇLˇ¿Îˇ<> ®Îúˇ ˇ P1 ØˇÁ¢ÎˇLÎˇ ÔLˇ¢ˇ˜ ÔúˇB ®ÌØˇˆØˇøÊ”Êïˆ ØˇÁ…ÁŒ Aúˇø FLˇ `ˇÊ® LˇÊs æÊ‹ˇÊ AC LÎˇ P2 ØˇÁ¢ÎˇÔ¿ˇ
Ôdíˇ Lˇ¿Îˇ<> F‹ˇÁ®¿ˇÁ Lˇ˜∑Êúˇ¥flÔ¿ˇ P3, P4 H P5 ØˇÁ¢Îˇ∑Êúˇ úˇÁÇˇˆfl Lˇ¿ˇ<>]
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®˜∑Ê~: P Q1 1 , P Q2 2 , P Q3 3 H P Q4 4 , P B5 ®¿ˇÿ¿ˇ ”∑Êûˇ¿ˇ FØˇÛ AB H AC ÔdíˇLˇíˇ¥fl ∑ö¿Îˇ
AC D®Ô¿ˇ ”∑Êúˇ ÔíˇWˆø¿ˇ ÔdíˇÊÛ…∑Êúˇ AZˇÁÜˇ, F~Î ÔdíˇLˇ AB D®¿ˇÁ◊ ÔdíˇÊÛ…∑Êúˇ ∑ö ”∑Êúˇ
ÔíˇWˆø ØˇÁ…ÁŒ Ô‹ˇØˇ<> AêÊˆÜ˙ˇ AQ1=Q1Q2 = Q2Q3=Q3Q4=Q4B

AúÎˇ”ÁïÊûˇ : AB Ô¿ˇQÊQÉÔ¿ˇ Q ØˇÁ¢Îˇ ”Û◊Ê®úˇ Lˇ¿ˇÁ AQ H BQ LÎ̌  m : n AúÎ̌ ®ÊÜˇ Ø Á̌…ÁŒ

Lˇ¿ˇÁØˇÊLÎˇ Ô‹ˇÔ‡ˇ AC
→

D®Ô¿ˇ m+n ”ÛQøLˇ ØˇÁ¢Îˇ¿ˇ P1, P2, P(m+n) ÔúˇB (`ˇÁÜˇ˜ 6.26 ÔíˇQ) P(m+n) H
B ¿ˇ ”ÛÔæÊfLˇ Ô¿ˇQÊQÉ AZˇúˇ Lˇ¿ˇÊæÁØˇ FØˇÛ ÔLˇØˇ¡ˇ Pm Ø Á̌¢Î̌  ∑öÔíˇB D®Ô¿ˇÊNˇ Ô¿ˇQÊQÉ ”‹ˇ ”∑Êûˇ¿ˇ
FLˇ Ô¿ˇQÊ AZˇúˇ Lˇ¿ˇÊæÁØˇ< >

F‹ˇÁ Ô¿ˇQÊ H AB ¿ˇ Ôdíˇ ØˇÁ¢Îˇ ‹ˇË Ô‹ˇØˇ Q >

íˇ¥ÁÜˇÍfl AZˇúˇ ®˜~Ê¡ˇÍ:
( AB FLˇ úˇÁîÈŒ Ô¿ˇQÊQÉ > F‹ˇÊLÎˇ ÔLˇÔÜˇLˇ ”Øˇˆ”∑
AÛ…Ô¿ˇ (∑ÔúˇLˇ¿ˇ 3sÁ ”Øˇˆ”∑ AÛ…Ô¿ˇ)

Ø Á̌μˇNˇ Lˇ¿ Á̌ØˇÊLÎ̌  Ô‹ˇØˇ > )

(i) AB Ô¿ˇQÊQÉ ¿ˇ A H B ØˇÁ¢ÎˇÔ¿ˇ íÎˇBsÁ ”∑Êúˇ ®¿ˇÁ∑Ê~ ØˇÁ…ÁŒ ÔLˇÊ~ æêÊLˇ˜Ô∑ �XAB FØˇÛ
�YBA AZˇúˇ Lˇ¿ˇ<>

(ii) AX
→

¿Îˇ ÔLˇÚ~”Á úˇÁîÈŒ ÔíˇWˆø ØˇÁÃÁŒ íÎˇBsÁ ”Øˇˆ”∑ AÛ… AP1 H P P1 2 ÔdíˇLˇ¿ˇˇ > (A LÎ̌

ÔLˇ¢ˇ˜ ÔúˇB FLˇ úˇÁîÈŒ ØˇøÊ”Êïˆ ØˇÁ…ÁŒ `ˇÊ® AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ AX
→

LÎˇ P1 ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿Îˇ<> ®Îúˇ ˇ P1

ØˇÁ¢ÎˇLÎˇ  ÔLˇ¢ˇ˜Lˇ¿ˇÁ ®ÌØˇˆØˇøÊ”Êïˆ ØˇÁ…ÁŒ Aúˇø FLˇ `ˇÊ® LˇÊs; æÊ‹ˇÊ AX
→

LÎ̌  P2 Ô¿ˇ ÔdíˇLˇ¿Îˇ<>)

>

A
Q1

Q2 Q3
Q4

B

P3

P4

P5

C

P1

P2

(` Á̌Ü ˜̌  6.26)

A B

P1

X

Y <

>
P2

M N

Q2

Q1

(` Á̌Ü ˜̌  6.27)

(iii) P5 H B LÎˇ ÔæÊSLˇ¿ˇ<>

(iv) P4, P3, P2 H P1 ØˇÁ¢Îˇ ∑öÔíˇB P B5 ”‹ˇ ”∑Êûˇ¿ˇ
Lˇ¿ Á̌ æêÊL ˜̌Ô∑ P Q P Q P Q4 4 3 3 2 2, ,  H P Q1 1  Ô¿ˇQÊQÉSÎ›ÁLˇ sÊ~
FØˇÛ Ô”∑ÊÔúˇ AB LÎˇ æêÊLˇ˜Ô∑ Q4,Q3,Q2 H Q1 ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ
Lˇ¿ˇÁÔØˇ > DNˇ ØˇÁ¢Îˇ∑ÊúˇZˇ íˇ¥Ê¿ˇÊ AB , ®Êo ”Øˇˆ”∑μˇÊSÔ¿ˇ ØˇÁμˇNˇ
Ô‹ˇ‡ˇÊ<>

AêÊˆÜ˙ˇ  AQ Q Q Q Q Q Q Q B1 1 2 2 3 3 4 4≅ ≅ ≅ ≅  >
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F‹ˇÁ®¿ˇÁ Lˇ˜∑Êúˇ¥flÔ¿ˇ FLˇÊôèLˇ ”Øˇˆ”∑ AÛ…Ô¿ˇ ØˇÁμˇNˇ Lˇ¿ˇÁ ®Ê¿ˇÁØˇ<>

(iii) ®ÌØˇˆ ®˜~Ê¡ˇÍ AúÎˇ”¿ˇ~Ô¿ˇ BY
→

D®Ô¿ ˇQ1 H Q2 ØˇÁ¢Îˇ `ˇÁ‹ˇßs Lˇ¿ˇ Ôæ®¿ˇÁLˇÁ, AP1=BQ1=BQ2

Ô‹ˇØˇ<>
(iv) Øˇàˇˆ∑Êúˇ P Q2 1 FØˇÛ PQ1 2 AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ AB LÎˇ æêÊLˇ˜Ô∑ M H N ØˇÁ¢ÎˇÔ¿ˇ Ôdíˇ Lˇ¿ˇÁØˇ<>
FvˇÊÔ¿ˇ AB sÁ ”∑Êúˇ ÜˇÁúˇÁ ”Øˇˆ”∑ μˇÊSÔ¿ˇ ØˇÁμˇNˇ Ô‹ˇ‡ˇÊ<>
Ô”‹ˇÁ®¿ˇÁ ÔSÊsÁF Ô¿ˇQÊQÉLÎˇ ÔæÔLˇÚ~”Á ”ÛQøLˇ ”Øˇˆ”∑ μˇÊSÔ¿ˇ ®¿ˇÁ~Üˇ Lˇ¿ˇÁ Ô‹ˇØˇ<> F‹ˇÊ¿ˇ

®˜∑Ê~ ÜÎˇÔ∑ ®¿ˇØˇàˇÍˆ Ô…˜~ÍÔ¿ˇ ®fiÁØˇ<>
∑ûˇØˇø¸ AB Ô¿ˇQÊQÉLÎˇ ”∑íˇ¥ÁQÉ Lˇ¿ˇÁ 2 sÁ ”Øˇˆ”∑ AÛ…Ô¿ˇ ®¿ˇÁ~Üˇ Lˇ‡ˇÊ®Ô¿ˇ ®˜ÜˇÁ AÛ…LÎˇ

®Îúˇ ˇ ”∑íˇ¥ÁQÉLˇÔ‡ˇ AB Ô¿ˇQÊQÉ 4 sÁ ”Øˇˆ”∑ AÛ…Ô¿ˇ ®¿ˇÁ~Üˇ Ô‹ˇØˇ<> Ô”‹ˇÁ®¿ˇÁ 4 ”Ø ˆ̌”∑ AÛ…¿Î̌
®˜ÔÜˇøLˇLÎˇ-”∑íˇ¥ÁQÉ LˇÔ‡ˇ AB Ô∑Ês 8 sÁ ”Øˇˆ”∑ AÛ…Ô¿ˇ ®¿ˇÁ~Üˇ Ô‹ˇØˇ<>

AúÎˇ…Í¡ˇúˇÍ¸ 6 (k)

1. 11 Ô”.∑Á. ÔíˇWˆø ØˇÁ…ÁŒ AB Ô¿ˇQÊQÉ sÊ~Á ÜˇÊLÎˇ 5 sÁ ”Øˇˆ”∑ AÛ…Ô¿ˇ ØˇÁμˇNˇ Lˇ¿ˇ<>
2. 10 Ô”.∑Á. ÔíˇWˆø ØˇÁ…ÁŒ AB Ô¿ˇQÊQÉ sÊ~Á X ØˇÁ¢ÎˇÔ¿ˇ F®¿ˇÁ μˇÊÔØˇ íÎˇBQÉ Lˇ¿ˇ Ôæ®¿ˇÁLˇÁ,

AX=2BX Ô‹ˇØˇ<>
3. 8 Ô”.∑Á. ÔíˇWˆø ØˇÁ…ÁŒ FLˇ Ô¿ˇQÊQÉ AB AZˇúˇ Lˇ¿ˇÁ F‹ˇÊ D®Ô¿ˇ C ØˇÁ¢Îˇ `ˇÁ‹ˇßs Lˇ¿ˇ Ôæ®¿ˇÁLˇÁ,

AC : CB= 2 : 1 Ô‹ˇØˇ<>
4. 12.5 Ô”.∑Á. ®¿ˇÁ”Í∑Ê ØˇÁ…ÁŒ FLˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ ØˇÊ‹Îˇ∑ÊúˇZˇ¿ˇ ÔíˇWˆø¿ˇ AúÎˇ®ÊÜˇ 2 :

3 : 4 Ô‹ˇØˇ<>
5. ÔSÊsÁF ”∑ØˇÊ‹Îˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ æÊ‹ˇÊ¿ˇ ®¿ˇÁ”Í∑Ê 13.5 Ô”.∑Á.<>

(13.5 Ô”.∑Á. Ô¿ˇQÊQÉLÎˇ ÜˇÁÔúˇÊsÁ ”Øˇˆ”∑ AÛ…Ô¿ˇ ØˇÁμˇNˇ Lˇ¿ˇÁ AÊØˇ…øLˇ Üˇ˜ÁμÎˇf AZˇúˇ Lˇ¿ˇ >)

6. 9 Ô”.∑Á. Ô¿ˇQÊQÉ AZˇúˇ �����	 �8��	 ������P���	 3	 ��`��̀ ���	 ���	 �����	 �&�#	 2 1
3 2

2 2 2 3
2

, + �������.���	 ����$	 
��T��	  �Z����	 �D?����	 ����.����	 &���D���	 ���� �

X�D?�&��	 /	 AB = BC = CD = 3 ��`��̀ 	 7	 AD  �B�	 ������P	 �8����	 CD ���	 ����5��P�
����	 7	 B G�����	 BE = 3 ��`��̀ 	 ��U	 �%�&�	 ����	 #���� ��Y
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�9� AöÊfl

�������	
�����
(TRIGONOMETRY)

7.1 :�����
���	� (Introduction)� �

��������	
�����(Trigonometry) �
�������������������	�������
�� ����������	
��������������������
������
�������������������� ��
���������	�����;����Hipparchus (140 B.C.) ��������	
����������������������� �!� �
"	���#� Bertholomaus Pitisces �$�%�� ����
�&���� ���
� ��������	
����� "�'�� ��(����� ������ �!� �
"	������������)���*�������������	
����������+�"�����,�����-�.� ��/0�����1�23�������(Height and Distance)
����3��	� 4���� ���������5#���(Astronomy)���� ��������	
������� ���-�� ���+�"� �6� �

7.2 �������	
�������� �����	��� (Trigonometrical Ratios)� �


�������� � ABC �"�7�4� �
����	&� �����-��� 8(������ 7.19� 1� �ABC � �
����	� �� 4:�����
�BAC 1��BCA ��������� �"�7�4� �"�7�4� �3;<����	 �� 
�������� 4� �-�� �=���>	��� �"�7�4� ����	
�BCA�-�����?����
����!��(������������� �����;�����m�BCA��-��@��"�&�
������� ����!����!�*���� �
8�� 4��� "�&�A�� �;��� 1� 4����-�� ‘� 7�’� ����!��� �B�=�4 �9

8(������ 7.19

AC �-�� ��C��� (hypotenuse)D� �BCA� ��� ��!�"E� ����-�� BC �-�� �3�
�
(base) 1� �BCA��� �F-*&��� ����-�� AB ��-� !�G� (perpendicular)
�-����=�4 �� ���;����� BC= b, AB = p 1� AC = h �!�*�=�?��4 �
p, b 1�h �-���=���>	���2-�?�"�7������-�����D�������	���4�����������	
������
��-����� ���
-2��+�6���"�7����������	
���������-������=��H�sine, cosine,
tangent, cotangent, secant� 1� cosecant �6,�� �� ��;�I� ������
4"-%���-�sin 8��?�A�9D�cos 8���A9D�tan 87��A�9, cot 8��7A9, sec 8���A�9
1 cosec 8�������A�9� ����!��� �!�*�=�4 �� ����	� ���� sin, cos� ?����2��
��������� 4��� 4��� ���J5K� ��-������-�� �3(��?� ����,�� �� 4���� ��������	
������
��-�����"-%������ ��#��-�� ���
E���� 2����"!��� H

�

A

B C

hp

b
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sin �� =  = p
h

cos �� =  = b
h

tan �� =  = p
b

cot �� =   = 
b
p

sec �� =  = h
b

cosec �� =  = 
h
p

�<���� (i) ���
� =2��� �BCA� ��� ����
�	�-�� �� ��� ���?� �CAB� ��� ����
�	�-�� �� ���?���,�
������D� AB =� �3�
���� �2�LM�� = b� 1� BC = !�G��� �2�LM��� = p� ����?��,�� �

(ii) sin �, cos �, tan �, cot �, sec � 1� cosec � ��������	
������� ��-�����"-%���� ����-�� AB ,

BC 1 CA ��� �2�LM��� /����� ��������� ����,��� �����N� 4
����� �����.�� �O���� ����	��� ����
�	� /����� ��������
����,�� �

/2������	� �P�3��� sin �� =
AB
AC 4���� AC � /����Q� A/ ���R-��-�

A B BC/ / � � ����!�� �� ABC � 1� �� A/B/C � 2�P+� �2���� 4���
AB
AC

A B
A C

/ /

/� = sin �� �� 
����� AB � A/B/� 4���� AC � A/C �

7.3 �������	
�������� �����	��
������ ������ �=��	� �>���
(Relations among trigonometrial ratios)� �

(a) ����������� �?����� (Reciprocal Relations)� � sin �, cos � ��2����� ��#��-�� ���
� �2�*-�6
�=� sin �� ��-�����7�� cosec �� ��-�������D� cos �� ��-�����7�� sec �� ��-�������� 4���� tan �� ��-�����7�
cot �� ��-�������� �-�������
&� (reciprocal) �

�=����-� sin �� x cosec �� =
p
h

h
p

x  = 1

 cos �� x  sec �� = b
h

h
b

x  = 1 .....(2)

 tan �� x  cot �� =
p
b

b
p

x  = 1

���4�� sin �� =
1

cosec � 4���� cosec �� =
1

sin �

cos �� =
1

sec � � 4����  sec ��  = 
1

cos� .....(3)

tan �� =
1

cot � � 4����  cot ��  = 
1

tan �

8(������ 7.29

�

A

B C

A/

B/

.....(1)}

}
}
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ABC �
����	&� �����-������ AB2 + BC2 = AC2� �����A�� 8(������ 7.1���9
p2 + b2= h2 .......(4)

4���� �-���������	�
	��	��� :��	����(Pythagoras Theorem)�84����-�� ���
�������� �S+��
�������9

�����"�����A� /���2��� � 8�GT�� (4)9� ��� ����+�������  sin �, cos � ?����2��� ��-�����"-%���

S���� ������)� ���������� �O���� �����U�� �����=�?������� �
(b) ��
�� �?����� (Square Relations)� �

�� 4��� ����	��� ����
�	� ����!�� 8�0� �� �!�*�� �����.�� �� �!�*�=�/6�9
sin �� x sin �� = (sin �)2 �-�� sin2 � ����!��� �!�*�=�4 �

(i) sin2 �� + cos2 �� = 1
(ii) sec2 �� – tan2 �� = 1 .....(5)
(iii) cosec2 �� – cot2 �� = 1

���	
� �� 8(������ 7.19
(i) ���
���P�� = sin2 �� + cos2 �� = (sin �)2  + (cos �)2

     = p
h

b
h

�
��
�
�� 	 ���

�
��

2 2

= p b
h

2 2

2
	 = h

h

2

2  =1 = 2�;�	���P� 8�GT�� (4) ���+�"� �����9

8��
�	���9

(ii) ���
���P��  = sec2 �� – tan2 �� = h
b

p
b

�
��
�
�� 
 ���

�
��

2 2

= h p
b

2 2

2

  = p + b p

b

2 2 2

2

 = b

b

2

2  = 1� = 2�;�	���P� 8��
�	���9

(ii) ���
���P�� = cosec2 �� – cot2 �� =
h
p

b
p

�
��
�
��



�
��
�
��

2 2

    = 
h – b

p

2 2

2  = 
p + b – b

p

2 2 2

2  = 
p
p

2

2  = 1 = 2�;�	���P� 8��
�	���9

/����� !��*���� �3���� (i)D� (ii)� 1� (iii)� �-�� 4���� �-VK� �=D
sin2 �� = 1 – cos2 � 4���� cos2 �� = 1 – sin2 ��
sec2 �� = 1 + tan2 �� 4���� tan2 �� = sec2 �� – 1,
cosec2 �� = 1 + cot2 �� 4���� cot2 �� = cosec2 �� – 1 �

(c) ��	
�����	� �?����� (Quotient Relations)� �

� tan �� =
sin
cos

�
� 4���� cot �� =

cos
sin

�
� � ........(6)

sin ��= p
h 4����cos ��= b

h ����?��O����869���
�	������=�?������� ��8�������(�K������ �9

}
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A

B C

12
��W
�W

5 ��W
�W

:��	@���
� �� 1:

cos �� = 3
5 � ����!�� sin �, tan �, cot �, sec � 1� cosec ���� 
3!��� ���C��+� ���� �

��	�	��� �

cos �� = b
h � ���4��� ���E��-�=�+&� b

h  = 3
5 � ���G�� b

3
h
5

� � = k � 8
�������9
�� b = 3k,  h = 5k

�-������� p = h b2 2
  = (5k) (3k)2 2
  = 16k2  = 4k   �

���	- sin �� = � p
h   = 4k

5k  = 4
5 ,

tan �� = p
b  = 4k

3k
4
3

� ,  cot �� =
b
p  = 3k

4k  = 3
4 ,

sec �� = h
b  = 5k

3k  = 5
3 4���� cosec �� =

h
p  = 5k

4k  = 5
4 �

�����A�� ��
	���� �� sin �� = 1 1 9
25


 � 
cos2�  = 4
5 ,

tan �� =
sin
cos

�
�

= 4
3 ,  cot �� =

1
tan �  = 3

4 ,

sec �� =
1

cos�  = 5
3 4��� cosec �� =

1
sin �  = 5

4

:��	@���
� �� 2 :
�� ABC ���� 1� m�B= 900 1� AB=12 ��W
�W� 4���� BC=5 ��W
�W
����!�� cosec2C– tanA ��� 
3!��� ���C��+� ���� �

��	�	��� �

AC= AB BC 12 5 1692 2 2 2	 � 	 � = 13,
�����A�� AC = 13 ��W
�W� �

�� cosec C = 
AC
AB

13
12

� � 4���� tan A = 
BC
AB

5
12

�

4���� cosec2 C – tan A = 
13
12

5
12

169
144

5
12

169 – 60
144

109
144

�
��
�
�� 
 � 
 � �

2

� 8/X���9

:��	@���
� �� 3 :

=2�� cot �� =
a
b �������

a cos – bsin
a cos + bsin

� �
� � � ��� 
3!��� ���C��+� ���� �

��	�	��� �� � cot � = 
a
b 
�

cos
sin

�
� � ��

a
b

8(������ H� 7.39
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�����A�� cos
a

sin
b

� �� = k� 8
�������9� � �� cos � = ak � 1� � sin � = bk;

a cos – bsin
a cos + bsin

� �
� � =

a  ak –  b  bk
a  ak +  b  bk

k(a b )
k(a b )

2 2

2 2
x x
x x

� 

	  = 

a b
a b

2 2

2 2


	

�

�� cot �� = a
b ����!�� 2�X�� ����������7���� 
3!��� a b

a b

2 2

2 2


	

� 8/X���9

�����A�� ��
	���� ��
a cos – bsin
a cos + bsin

� �
� � =

a cos b sin
sin

a cos b sin
sin

a cos
sin

b sin
sin

a cos
sin

b sin
sin

� �
�

� �
�

�
�

�
�

�
�

�
�

–

	 �



	
� (� sin � � 0)

             = 
a cot b
a cot b

a a
b

– b

a a
b

+ b

a
b

b

a
b

b

2

2
�
�

–
	

� �



	

x

x
 = 

a b
b

a b
b

2 2

2 2




	
 =

a b
a b

2 2

2 2


	

8/X���9

:��	@���
� �� 4 :

sec �� =
13
5 ����!�� ��
�	� ����� �=D�

2sin – 3cos
4sin – 9cos

� �
� � � = 3

��	�	��� �� sec �� =
13
5 
� cos �� =

5
13 � �� �-������

sin �� = 1 1 5
13

2


 � 
 ���
�
��cos2� =

13 5 12
13

2 2 2

2

 � �

13
12
132 ;

�� 2sin – 3cos
4sin – 9cos

2   –  3  

4   –  9  

� �
� �

� � 


x x

x x

12
13

5
13

12
13

5
13

24 15
13

48 45
13

–

=
9
3 = 3 =2�;�	���P� 8��
�	���9

7.4 ������ �������	
�������� ������� (Simple Trigonometrical Indentities)� �
� ��� �=���>	��� 
3!��� ��?Y� ���
E!��*���� �3���"-%���� ����� �7,�� �

sin �� x cosec �� = 1, sin2 �� + cos2 �� = 1,
cos �� x sec �� = 1, sec2 �� – tan2 �� = 1,
tan �� x cot � = 1, cosec2 �� – cot2 �� = 1 �
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���4��� 4� ��������7�� �3���� �"�7�4� �"�7�4� ����2� �� 
����� ��������	
������� ��-������ sin ���cos �� ?����2���-�
���?� ������� ����2���� ":���� �Z�� �� ������ ����2�"-%������ ��
�	� ��������� ��?Y� 4���� �3���"-%������ ���+�"
�����G���� ���������-�� ��% �� ������ ����2����� 2-�?7�� ���P�� ��4 �� =��H���
���P�� (L.H.S)� 1
2�;�	���P� (R.H.S) �� ����2�7���� ��
�	� ��?Y� ��
�-�� ���
���P��-�� ����Z� ������ 2�;�	���P����� ���G�
2�;�	���P��-�� ����Z� ������ ���
���P����� ���G�� ���
���P�� 1� 2�;�	���P��-�� ���.�&����	� ������ 4��� ��[���	
����������� ���\�����-�� �%���4 �

����2�"-%������ ��
�	� ��!������.�� ���
E!��*���� ��&�"	������ �3���� ���� ����2�� =��� ]
(a � b)2 = a2 + b2 � 2ab,

(a � b)3 = a3 �� 3a2b + 3ab2 � b3 = a3 �� b3 �� 3ab (a � b),

a2 – b2 = (a +b) (a – b)

a3 � b3 = (a � b) (a2 �  ab + b2) = (a � b)3 �  3ab ( a � b)
?����2��������+�"���������������-�=�+&������=�?��4 ��8����2�������8� 7�9��������X���� 8��!�Â ��9D
�� 8���7�9� 4���� �� 8"�
�9� ��2��� "�&�A�� �;��� 
S� ����������� ����?��4 �9

:��	@���
� �� 5 :
��
�	� ����� �=D (i) sin6 �� + cos6 �� + 3 sin2 �� . cos2 � = 1

(ii) tan4 �� + tan2 �� = sec4 �� – sec2 �
��	�	��� �� (i) ���
���P� = sin6 �� + cos6 �� + 3sin2 �� . cos2 �

= sin6 �� + cos6 �� + 3sin2 �� . cos2 �� x (1)
= (sin2 �)3 +  (cos2 �)3 + 3 sin2 � .cos2 �� (sin2 � +cos2 �)

��sin2 � 	 cos2 �� = 1�
= (sin2 � +cos2 �)3  = 13 � �� 1 = 2�;�	���P�� 8��
�	���9

(ii) ���
���P� = tan4 ��+ tan2 ���=  tan2 ���tan2 ��	 1���� tan2 ��(1+tan2 �)
= tan2 �� �� sec2 � ��sec2 � � 1 + tan2 ��

� � � 2�;�	���P�� =� sec4 �� – sec2 �
=  sec2 �� �sec2 �� – 1�
=  sec2 �� tan2 � ��sec2 � � – 1= tan2 ��

� � � �� ���
���P�� = 2�;�	���P�� � 8��
�	���9

:��	@���
� �� 6 : ��
�	� ����� �=D (i) (sec �� – cos ��� �cosec �� – sin �� = 
1

tan cot� �	

      (ii) 
1
1



	

cos
cos

�
� = cosec �� – cot �
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��	�	��� �� (i) ���
���P� = (sec �� – cos ��� �cosec �� – sin ��

=
1 1

cos
cos

sin
sin

�
�

�
�


�
��

�
��



�
��

�
�� =

1 1
 
cos
cos

sin
sin

2 2�
�

�
�

x

� ��1–cos2 � � = sin2 �� 4���� 1–sin2 � � = cos2 ��

= �
sin
cos

cos
sin

2 2�
�

�
�

x = � sin � � cos �� �

� � � 2�;�	���P�� =�
1

tan cot� �	  = 
1

sin
cos

cos
sin

sin cos
sin cos2 2�

�
�
�

� �
� �	

�
	
.

=
sin cos� �.

1 ��sin2 � � + cos2 �� = 1�

�� sin �� �� � cos �
�� ���
���P��  = 2�;�	���P� 8��
�	���9

(ii) ���
���P�=
1
1



	

cos
cos

�
� =

( )( )
( )( )
1 1
1 1


 

	 


cos cos
cos cos

� �
� �

8!��� 1 �����-� (1–cos �)�2�P����"-	��� �����9

  = 
( ) ( )1
1

12 2




� 
cos
cos

cos
sin2 2

�
�

�
� � ��sin2 � � + cos2 �� = 1�

  = 
1 – cos

sin sin
cos
sin

�
� �

�
�

� 
1

  = cosec �� – cot �� = 2�;�	���P�� � � 8��
�	���9
:��	@���
� �� 7 :

��
�	� ����� �=D (i)
secA secB
tanA tanB

tanB tanA
secA +  secB



	

	 

= 0,

(ii)
tan

tan
cosec

sec cosec sin cos

2

2

2

2 2 2 21
1�

�
�

� � � �

	



�



�

��	�	��� �� (i) ���
���P� =
secA secB
tanA tanB

tanB tanA
secA +  secB



	

	 


=
(secA secB)(secA secB) + (tanA tanB)(tanB tanA)

(tanA tanB)(secA secB)

 	 	

	 	
–

=
sec A sec B + tan B tan A

(tanA tanB)(secA secB)

2 2 2 2

	 	

–
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=
(sec A tan A) – (sec B tan B

(tanA tanB)(secA secB)

2 2 2 2

	 	

– )

=
1 1–

(tanA tanB)(secA secB)	 	 ��sec2 � � – tan2 �� = 1�

�� �
0

(tanA tanB)(secA secB)	 	 �� ��  = 2�;�	���P�� � 8��
�	���9

(ii) ���
���P� =
tan

tan
cosec

sec cosec

2

2

2

2 21
�

�
�

� �

	




     = 

sin
cos

sin
cos

sin

cos sin

2

2

2

2

2

2 21

1

1 1

�
�

�
�

�

� �

	



 = 

sin
cos

sin cos
cos

sin
sin cos
sin cos

2

2

2 2

2

2

2 2

2 2

1�
�

� �
�

�
� �
� �



	



.

     = sin
sin cos

cos
sin cos

2

2 2

2

2 2
�

� �
�

� �

	




     =
sin cos
sin cos sin cos

2 2

2 2 2 2
1� �

� � � �
	



�



 = 2�;�	���P�� 8��
�	���9

������������ - 7 (a)
 ��!� �����	


1. ��T���&� 
S�-�� :���A�� /X���7�� ���6�� �3���Q���� �3��	� ����� �
(i) sin ��x�cot ��= ............................... [cos �, tan �, sec �]
(ii) cos ��x�tan ��= ............................... [sin �, cosec �, cot �]
(iii) sin �� x� sec �� x� cot �� = ............................... [tan �, cosec �, 1]
(iv) cos �� x� cosec �� x� tan �� = ............................... [1, cot �, sec �]

(v) tan �� = 1 ����!� tan �� +� cot �� = ........................ [1, 2, sin �� . cos �]

(vi) tan2 �� 	� cot2 �� – (cosec2 �� +� sec2 ��� = .................... [1, –1, –2]

(vii) ABC �
����	& � ���� m�B = 900 1
AB = 3, BC = 4 ����!� sinC= ....................

3
5

, ,4
5

1�
	


�
�


(viii) ABC �
����	& � ���� m�B = 900 1
AB = 5, BC = 12 ����!� cosA= .................... 1 12

13
, ,5

13
�
	


�
�
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(ix) sin x = .......... [ 1 1 1 12 2− − − −cos , cos , cos , cosx x x x ]

(x) sec x = ..........   [ 1 1 1 12 2 2− − + +tan , tan , tan , tanx x x x ]

2. ���
E� ���E"-%������ /X���� ��2����� ���� �
(i) sin � �-�� cot �� ���� ������� ���� �
(ii) cos � �-�� tan �� ���� ������� ���� �
(iii) cosec � �-�� sec �� ���� ������� ���� �
(iv) sec � �-�� cosec �� ���� ������� ���� �

3. ���
E� ���E"-%������ /X���� ��2����� ���� �

(i) sin �� = 3
5 ����!�� cos �� x cot �� ��� 
���� ������ _

(ii) cos �� = 4
5 ����!�� sin �� x tan �� ��� 
���� ������ _

(iii) tan �� = 5
12 ����!�� cot �� x cosec �� ��� 
���� ������ _

(iv) cot �� = 5
12 ����!�� tan �� x sec �� ��� 
���� ������ _

 "!� �����	

4. cosec �� = 2 ����!�D� ����� ��\�"�7�� ��-�������� 
3!��� ������� _
5. tan �� = 1 ����!�D� ����� ��\�"�7�� ��-�������� 
3!��� ������� _
6. cot �� = 3 ����!�D� ����� ��\�"�7�� ��-�������� 
3!��� ������� _
7. �� ABC ���� m�A = 900, AB = 20 ��W
�W� 1� AC = 21� ��W
�W� ����!�D

sin B, cos C� 1� tan B ��� 
3!��� ����3��	� ���� �
8. cos �� = 3

5 ����!�D� (sin �� – cos �) ÷ (2 tan �) ��� 
3!��� ����3��	� ���� �
9. cos �� = 40

41 ����!�D� tan � ÷ (1– tan2 �) ��� 
3!��� ����3��	� ���� �
10. tan �� = a

b ����!�D� (cos �� 	� sin �) ÷ (cos �� – sin �) ��� 
3!��� ����3��	� ���� �
11. tan �� = 3 1

3 1


	

����!�D� sin �� 	� cos �� ��� 
3!��� ����3��	� ���� �

12. sin �� =
m

m n2 2	 ����!�D� tan �� ��� 
3!��� ����3��	� ���� �

13. sinA � = 1
2 ����!�D� cot A + 

sinA
cosA1 	

� ��� 
3!��� ����3��	� ���� �

14. �  ABC ����m�C = 900, BC = 20 ��W
�W�1�tanB = 1
4 ����!�D�AC 1�AB�����3��	����� �
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!� �����	

����B#��"���� ������
�������� ���	
� ���� C � 815 �-�� 36 �=��,�9

15. (sin � 	 cos ���� = 1 + 2 sin � � cos � 16.
1

cosec cot� �
 �= cosec � 	 cot �

17.
tan

sec

2

1
�

� 	 � = sec � – 1 18.
cosA

1 sinA
1 sinA

cosA

� 	

19. cot �� 	� tan �� �� cosec �� x� sec � 20. cos4 �� – 2cos2 �� 	� 1� �� sin4 �

21. cos4 �� – sin4 �� � �� 1 – 2sin2 � 22.
1

1 sin
1

1 + sin

	

� � = 2sec2 �

23.
1 – tan
1 tan

3 �
�
 = sec2 �� 	� tan � 24.

2 tan
1 tan2

�
�	 = 2sin �� �� cos �

25. 2 12cos
cot tan

�
� �






= sin �� �� cos � 26.
sin

1 cos
sin

1 cos

2 2�
�

�
�	

	

  = 2

27.
1
1

1
1

	



	 

	

sin
sin

sin
sin

�
�

�
�  – 4tan2� = 2 28.

1
1

1
1	

	
	tan cot2 2� � = 1

29.
1

1
1

1	
	

	cos sec2 2� � = 1 30.
1
1

1
1

	



	 

	

sin
sin

sin
sin

�
�

�
�  = 2 sec �

31.
cosecA

cosecA 1
cosecA

cosecA 1

	

	
= 2 sec2A 32. cot2 �� � –

1
sin2 � +1 = 0

33. secA (1 + sinA) (secA – tanA) = 1
34. (cosec � – sin � ) (sec � – cos �) (tan � + cot �) = 1

35.
1
1

	 sin
sin

�
�–  = (sec �� + tan �)2

36. tan2A . sec2B –  sec2A . tan2B = tan2A – tan2B

37. tan � + sin � = m 1� tan � – sin �� = n� ����!�� ��
�	� ����� �=� m2 – n2 = 4 mn

[�3(����� H� 
���	� 1� �^�@��	� ���!�� tan � = 1
2 (m+n)� 1� sin � = 1

2 (m – n)]

38. x = a sin �� 1� y = b tan �� ����!�� ��
�	� ����� �=� a
x

b
y

2

2

2

2
 = 1

[�3(����� H� a
x � = cosec �,

b
y = cot � ]

39. x = a cos �+ b sin �� 1� y = a sin ��– b cos �� ����!�� ��
�	� ����� �=� x2+y2 = a2+b2

40. =2�� sin �� + sin2 �� =1 �-�4D� �������� ��
�	� ����� �=� cos2 �� + cos4 �� = 1
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7.5 �������
	D�� ���E;F� ���	
��� �������	
�������� �����	��
� (Trigonometrical ratios of some particular angles) �
��= 300, 450 1�600 ����!�� ��������	
������� ��-������ sin �, cos ��?����2����� 
3!��� �������� ����3�����
����?� �������� ��X��
���� ���
� �2�* ��� �

��= 300, 450 �� � 
�������� ABC 4��� �
����-�� �����-��� 1� 4������ ��������� ����-���� �2�LM��� x 4���� �
A ���R-��-�� BC ������ AD !�G� �`�� ���� �� �� ABC ���� AB = BC = CA 4���� �����-����� ��������
����	��� ����
�	� 600 �

4:������ BD = x
2 a4����� 4���

AD =  AB BD x x
4

3x
4

x2 2
2 2


 � 
 � �2 3
2

ABD �
����	& �����-������ m�B = 600� 1� m�BAD = 300� �
ABD �
����	&� �����-�����

sin 300 = 
BD
AB

x
2
x

1
2

� � D cos 300 = 
AD
AB

x 3
2
x

3
2

� � D

tan 300 = 
sin30
cos30

1
2
3

1
3

0

0 � �

2

D cot 300 = 
1

tan30
30 � D

sec 300 = 1
cos30 30 � 2 D cosec 300 = 

1
sin300 � 2 � � �

���������� ABD �
����	&� �����-������ m�B = 600� �� �-������

sin 600 = 
AD
AB

x 3
2
x

3
2

� � D cos 600 = 
BD
AB

x
2
x

1
2

� � D

tan 600 = 
sin60
cos60

3
2
1 3

0

0 � �

2

D cot 600 = 
1

tan60 30 � 1
D

sec 600 = 
1

cos600 � 2 D cosec 600 = 
1

sin600 � 2
3

� �

�� = 450�
�������� ABC 4�� �
����	&� �
2�P�����-�� �����-�� 1 m�B= 900

4:������ m�A = m�C = 450, AB = BC = x 4����� ����!�D
AC = x x2 2	 4����� = x 2 4����

8(������ H� 7.4)

A

B CD

300

600

8(������ H� 14.5)

A

B C
450

x

x
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�C ��� ��������	
������� ��-������ "-%��-�� ����!�D

sin 450 = AB
AC

x
x 2

1
2

� � D cos 450 = 
BC
AC

x
x 2

1
2

� � D

tan 450 =  sin45
cos45

0

0 � 1 D cot 450 = 
1

tan450 � 1 D

sec 450 = 1
cos450 � 2 D cosec 450 = 1

sin450 � 2 �

4�������J5K�����	
���`����������	
���������-��������
3!��"-%��-��
������*�����/(�����1�4����
3!��"-%���
���
EQ� ����	&���� 2����"!�� �

sin cos tan cot sec cosec

    300 1
2

3
2

1
3 3

2
3 2

� � � 450 1
2

1
2 1 1 2 2

    600 3
2

1
2 3

1
3 2

2
3

4���� ����	&�-�� ���
� �2�*-�6� �=D
sin300 = cos600, tan300 = cot600, sec300 = cosec600, sin600 = cos300, tan600 = cot300,
sec600 = cosec300, sin450 = cos450, tan 450 = cot450 a4���� sec450= cosec 450

:��	@���
� �� 8 :
4
3 cot2300 + 4 sin2600 + 2 cosec2450 + 4

3 tan2600 ��� 
3!��� ����3��	�� ���� �

��	�	��� � 4
3 cot2300 + 4 sin2600 + 2 cosec2450 + 4

3 tan2600

   = 4
3 3

2
� � + 4 

3
2

2�
��
�
��  + 2 2

2
� �  + 4

3 3
2

� �

   = 4
3 x 3 + 4 x 3

4  + 2 x 2 + 4
3 x 3 =  4 + 3 + 4 + 4 = 15 � 8/X���9

:��	@���
� �� 9 :
� = 300 ���?� ���
E!��*���� /���2�P+��� �������� ���&;�� ���� �

(i)  sin (2�) = 2 sin �.cos �
(ii)  cos (2�) = cos2 � – sin2 �

��	�	��� � (i)� ���
���P�� = � sin (2�) = sin (2 x 300) = sin 600 = 3
2

� � 2�;�	���P�� = 2 sin �.cos � = 2 x sin 300 x cos 300= 2 x 1
2  x 3

2
= 3

2
� � �-������� /���7�� ����� ��7 �

�������	
�������
�����	�����	
��

�����	
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� � � (ii)� ���
���P�� = cos (2�) = cos (2 x 300) = cos 600 = 1
2 ,

� 2�;�	���P�� = cos2 � – sin2 � = cos2300  – sin2300

� � � �=
3

2
1
2

3
4

1
4

2
4

1
2

2 2�
��
�
��


 ���
�
�� � 
 � � ; ���4��� 4���� /���7�� 
S� ����� ��7 �

:��	@���
� �� 10 :
��
�	� ����� �=D� sin 600.cos 300 + cos 600.sin 300 = tan 450

��	�	��� �� (i)� ���
���P�� = sin 600 . cos 300 + cos 600 . sin 300

= 3
2

 . 3
2

 + 1
2 . 1

2 = 3
4

1
4

4
4

1	 � �

� 2�;�	���P�� =  tan 450 = 1 8��
�	���9
������������ - 7 (b)

 ��!� �����	

1. ��T���&� 
S�-�� :���A�� /X���7�� ���6�� �3���Q���� �3��	� ����� �

(i) sin 300 �= ...............................
1
2

1
2

3
2

, ,
�
	



�
�



(ii) sin 450� x� cos 450� = .................... 2 1 1
2

, ,�
	


�
�


(iii) tan 300 x tan 600 �=.................... 3 1 3, ,

(iv) sec 600 x sin 300 � =.................... 1 1
4

1
2

, ,�
	


�
�


(v) cosec 450 x sec 450 � =.................... [1, 2, 3]
(vi) 2cos 600 – 1=.................... [0, 1, 2]
(vii) 3 tan 300 x cot 600 � – 2 =.................... [–1, 0, 1]
(viii) sec 450 x cosec 450 � – 2 =.................... [–1, 0, 1]

2. � = 300 ���?� ���
E!��*���� /���
���`���� �������� ���&;�� ���� �
(i)  sin � x cos � = 1

2  sin (2�) (ii)  sin2 � + cos2 � = 1
(iii)  sec2 � – tan2 � = 1 (iv) cosec2 � – cot2 � = 1
(v) cos2 � – sin2 � = 1– 2sin2 �

 "!� �����	

3. � = 300, 450 1� 600� ���?� ���
E!��*���� /���
���`���� �������� ���&;�� ���� �

(i)  tan � x cosec � = sec � (ii)  cot � x sec � = cosec �
(iii) tan � + cot � = sec � � cosec � (iv) cos2� x cosec� +sin � = cosec �
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4. ���
E!��*���� ����������"-%������ 
3!��� ����3��	� ���� �
(i) sin600 . cos 300 + cos 600 . sin 300

(ii) cos 600 . cos 450 – sin 600 . sin 450

(iii) 4 cos3600 – 3cos 600

(iv) 4 cos2 600 + 4 sin2 450 – sin2 300

(v) (cosec2450 + sec2300) (sin2300 + 4 cot2450 – sec2600)

(vi)
sin30 cos45 – tan60
cot30 sin45 cos60

0 0 0

0 0 0
	

 


(vii)
4

cot 30
1

sin 602 0 2 0	  – cos2 450 – tan2 450

(viii)
tan 60 cos 45 + 3sec 30 + 6cos 30

cosec30 sec60 cot 45

2 0 2 0 2 0 2 0

0 0 2 0
	

	 	
4

(ix)
tan 45

cosec30
sec60
cot 45

2sin 30
tan 45

0

0

0

0

0

0	 


(x)
sin 60 + cos 45 + tan 30
cos 60 sin 45 cot

2 0 2 0 2 0

2 0 2 0 2 0	 	 30

 
!� �����	

5. =2��� �� = 600� 1� �� = 300� �-�4D� ������� ���
E!��*���� /���"-%������ �������� ���&;�� ���� �

(i)  sin(�� –� �) = sin �� . cos� –  cos � . sin �
(ii)  cos(�� –� �) = cos �� . cos� +  sin � . sin �

(iii)  tan (�� –� �) =
tan tan

1 + tan tan
� �

� �



.

6. ��
�	� ����� H
(i) sin450.cos 600.cos300 + cos450.sin 600.sin 300 = sin450.sin 600

(ii) cos600 = 1 – 2sin2300 = 2 cos2300 –1

(iii) tan600 =
2 tan 30

1 – tan 30

0

2 0    (iv) 
cot 60 cot 30
cot 30 – cot 60

0 0

0 0
. 	 �1 3

(v)
tan 45 tan 30

1 – tan 45 . tan 30

0 0

0 0
	 � 	2 3   (vi) cot300+

1
30cosec +cot300 0 = cosec300

(vii)
1

45
1 450

sec – tan 45
sin

cos450 0 0� 	
  (viii) 

cot
sin

cot
sin2 0 2 0

2 0 2 030
60

60
30

– = cot2300 – cot2600
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:$����	��	
��������	�1 (a)

1. (i) ��#������&��� �2�� ���.����*�D� �
��.�D� ���R-�
��#�� �����K� �2�� H� ���*�*b��� 
S���R-�D� Q����`�D� 23������D� ���<�D� ���*�*b

2. 8��9� ���*�D� 8*9� ���*�D� 8"9� 2-�?7�� 1� �"�7�4� 8M9� ���.����*�� 8c�9� �"�7�4
8(�9� 3� 869� 6 8�9� 6

3. (i) AC
→  (ii) AC

←→  (iii) AC (iv) AB
→ ���� AC

→ � (v) AB (vi) BC

(vii) {B} (viii) AB (ix) BC
4. 8;  5. 2; 6. 8��9� C 8*9 R,� 8"9� –6 1� 3,� 8M9� 5 1� 16,� 8c�9� 5

7. 2 7�D� 3 1� 7

��������	�1 (b)
2. (i) 2, (ii) 1, (iii) ���*�D� (iv) 0, 3. (i) (ii) (iii) (v) 1 (vi)
4.(i) 1800, (ii) �BOD, (iii) (y – x). (iv) 1500, 5.(i) 300, (ii) 1260,
 (iii) 300, (iv) 800, 1000, (v) 800, (vi) 750, 1050, (vii) 150

6.(��) 36,  (*) 44, (") 45, 7. 30, 60, 120, 8. 84, 21, 48

��������	�1 (c)
2. m�3 = m�2 = m�7 = m�6 = 650, m�1 = m�4 = m�8 = m�5 = 1150

3. m�x = m�z = m�P = 600, m�q = m�r = m�s = 1200

4. m�a = 750, m�b = 1300, m�c = 1300, m�d = 750

5. x0 = 1320, y0 = 480, z0 = 1320,  6. x0 = 750, y0 = 500

7. (i) x0 = y0,  (ii) a0 + b0 = 1800,  10.(i) 600, 1200, (ii) 450, 1350, (iii) 720, 1080,
12. 800

��������	�1 (d)
1. ����� ���� 	� (a), (b), (c), (d) (e) 
��� (h)� 
����� ����� ��� �
2. (a) 600, (b) 1550, (c) 500, (d) 1800, (e) 300, (f) 600, (g) 300, (h) 1200

3. (i) 600, (ii) 750, (iii) 400, (iv) 780, (v) 550, (vi) 1000, (vii) 630, 8. m�a = 750

��������	�2 (a)
1. (i) (c) AB = PQ, AC = PR, m�A = m�P,
  (ii) (a) m�A = m�D, m�B = m�E.., AB = DF (iii) (d) m�ABC = m�DEF ( iv )

(d) AB = PQ, m�A = m�P, m�B = m�Q (v) (b) 3 : 1
2. (ii), (iv), (v), (vi), 3. 400, 4, 900
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��������	�2 (b)
1. (a) BC AC,  (b) AC (c) AC (d) BC  (e) AB > AC > BC
2. (a) �����X��� (b) ;-2������ (c) ;-2������ (d)  �����X���� (e) ;-2������

��������	�3 (a)
1. (i) 3600, (ii) 5400, (iii) 3600, (iv) 1200, (v) 8, (vi) 12,

  (vii) 10, (viii) 400, (ix) 2n – 4
n x 900, (x) 360

n

0

2. (i) 480, 720, 960, 1440, (ii) 720, 1080, (iii) 162, (iv) 5, (v) 100, (vi) 10800, 3600,
  (vii) 720, 1080,  3. 360, 720, 720, 5. 12,  6. 8 � 10, 7. 6

��������	�3 (b)
1. a, c, e, i, j, l - ����� ����� 
����� ����� ��� �� 2. (i) 450, (ii) 300, (iii) 580, (iv) 1300

3. (a)� ��������� (b)� �������� ��� (c)� ��������� (d)� ! �"#��� ������ (e)� ��������� (f)� �������
  (g)� 
��������� (h)� 
��������� 4. (i) 800, (ii) 900, (iii) 1200, (iv) 1080, (v) 800, 1000

��������	�3 (c)
1. (a) (i) QE, EF, (ii) AF, (iii) AF, (iv) CE, (v) CE

   (b) (ii) � (iii) ����� ����� 
����� ����� ��� �
2. (i) 1:1, (ii) 1:3, (iii) 1:2, (iv) 1:4, (v) 1:3, (vi) 1:2

3. (a) !� "#��� ������ (b)� #$!��� (c)� ��������� (d)� 
��������� (e)� !� "#��� ����
��������	�4

1. (i), (ii) 
��� (iv) 6. (i) 72 �%&!% �%�� (ii) 12 &!% �%�� 9. (i) 50 �%&!% �%�� (ii) 126
�%&!% �%�� (iii) 26400 �%&!% �%�� 10. (i) 48 �%&!% �%�� 96 �%&!% �%�� (ii) 48 �%&!% �%�
96 �%&!% �%

��������	�5 (a)
1. (i) 30 ����&!% �% (ii) 16 &!% �% (iii) 10 
�� (iv) 5 3 &!% �%�(v) 12 &!% �% (vi) �$	��!'�(� 2 :1 (vii)
9��) (viii) 12 ���� �% (ix) 8 ����&!% �% (x) 4: 3  (xi) 2 2 &!% �%��2. (i) 360  �% (ii) 5.5 &!% �% (iii) 12 ���
&!% �%, 3. 144 ����� ��#��4. 180 ����&!% �%�5. 2500 ���� �%��6. 726 ���� �%��7. 36 &!% �%��8. 5  ��#�
9. 12 &!% �%��10. 48 2 &!% �%��11. 120  �%��12. 48 3 &!% �%��13. 5 &!% �%���7 &!% �%��14. 20

&!% �%��15. 1500 3  �%��12. 9 15 ����&!% �%
��������	�5 (b)

1. (i) 18 ����&!% �% (ii) 60 �%&!% �% (iii) 16 ����
�� (iv) 6 
����(v) 6 
����2. 12 ����&*%!�% �% 3. 10.12
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����&*%!�% �%��� 1012 ����&!% �%, 4. 1440 �����&!% �%��5. 336 ���� �%�6. 480 ����&!% �%��7.�+ �%33&!% �%�
�,��%22 &!% �%��8. �,���15  �%���+ ��20 �%��9. �,���15  �%���+ ��19 �%��10. 30 &!% �%��11. 10  �%��12.
20 &!% �%��13. 28  �%���30  �%��14. 6 &!% �%���10 &!% �%��15. 12  �%�20  �%��16. 648 �-�

��������	�5 (c)
1. (i) 16  �% (ii) 14 &!% �% (iii) 13  �% (iv) 24 ����&!% �%��(v) 96 ����&!% �%��2. 96 ����&!% �% 3. 120 ���
 �%��4. 12 �&!% �%���24�&!% �%��5. 252 ����&!% �%��6.

2
5 ��7. 1 : 1,  8. 28  �%���20 �%���9. 1536 �%&!% �%�

160 &!% �%��10. 120  �%��61  �%��11. 240 &!% �%��12. 51  �%���34  �%��13. 68 &!% �%��14. 10  �%���120

�% �%��15. 240 �%&!% �%��16. 216 �% �%��17. 80  �%�18  �%��18. 8  �%��8 3� �%�32 3����� �%
��������	�5 (d)

1. (i)12 �%&!% �% (ii) 4 &!% �% (iii) 8 &!% �%(iv) 5 &!% �%��(v) 14 &!% �%��2.(i)16 &!% �%��(ii) 36 �%&!% �%�
(iii) 4 :1,� 3. 24 &!% �%��4. 975 ���� �%��5. 18  �%��6. 40 &!% �%��60 &!% �%��7. 750 �%&!% �%��8. 170  �%�
150 �%�9.  30  �%��10. 936 �%&!% �%��11. 261 �% �%��183 �% �%�12. 340 �% �%��13. 10 &!% �%��18
&!% �%��15 &!% �%��14. 672 �%&!% �%��15. 50 &!% �%�34 &!% �%��16. 65  �%��45� �%�17. 432��% �%

��������	�5 (e)
1. (a) 300 �%&!% �% (b) 40 &!% �% (c) 15  �% (d) 144 �% �%��(e) 180 �% �%��(f) 36 &!%% �%��(g) 40
&!% �%��2. 24  �%��30  �%��3. 9  �%��15 �%�� 3. 9  �%�15  �%��4. 1470 �%&!% �%��5. 19  �%�7  �%��6. 36 �%�
48  �%��7. 25  �%��32  �%��8. 18  �%��10  �%��9. 18  �%��44  �%��10.  828 �%&!% �%��11. 1284 �%&!% �%�
12. 185.13 �% �%��13. 269.2 �%&!% �%��14. 1682.5 �%&!% �%��15. 2064 �%&!% �%

��������	�5 (f)
1. (a) .�/� (b) 180 �%&!% �% (c) 330 �%&!% �% (d) 6  �%�� (e) 14  �%�� (f) 14a2 ����
���� (g) 2:1,
(h) 6 &!% �%,  (i) 7 ��),  (j) 1:9, (k) 4  �%, (l) 1280 0% �%, (m) 3 &!% �%,  2. (a) 31250� (b) 125%,
(c) 4500 0% �% (d) ½  �%��(e) (i) 18 �%&!% �%��(ii) 1:3,   3.(i) 392 ���� �%��(ii) 200 ���� �%��(iii) 480
0% �%� 4. 648 ���� �%� 5. 456 �-���6. 176 �% �%��7. 6 &!% �%��8. 3168 �% �%���25920 0% �%, 9. 16  �%�
14 �%��10.  470 �-���11. 1000 0%&!% �%��12. 40  �%��13. 20 &!% �%��15 &!% �%�14. 405000 0%&!% �%�
���40.5 0% �%� 15. 20 2  �%��16. 236 �% �%��17. 6  �%��6  �%��18. 6  �%

������������ %� 7 (a)

1. (i) cos ��� (ii) sin ��� (iii) 1, (iv) 1,  (v) 2, (vi)–2, (vii)  
3
5 , (viii) 5

13

2. (i) 
1

1 + cot2� , (ii) 
1

1 + tan2� , (iii) 
sec

sec2

�

� – 1 , (iv) 
cosec

cosec2

�

� – 1

3. (i) 16
15 , (ii) 9

20 , (iii) 156
25 , (iv) 156

25



[ 162 ]

4. sin �� �cos �� � ��
1
2    tan �� = cot �� = 1, sec � = 2

5. sin �� �cos �� � ��
1
2 ,  sec �� = cosec �� = 2 , cot � = 1

6. sin �� �� 1
2 ,  cosec �� = 2, cos �� = 3

2
, sec � = 

2
3 , tan � = 

1
3

7. 21
29 , 21

29 1� 21
20   8. 3

4 0 ,  9. 360
1519 ,  10. a + b

b – a ,

11. 3
2

, 12. m
n ,   13. 2,   14. 5 ��W
�W� 5 17 ��W
�W

������������ %� 7 (b)

1. (i) 1
2 �� (ii) 1

2 �� (iii) 1, (iv) 1,  (v) 2, (vi) 0, (vii)  –1, (viii) 0

4. (i) 1�� (ii) 1 – 3
22

�� (iii) –1, (iv) 11
4 ,  (v) 5

6 , (vi) –1, (vii)
7
6 , (viii) 27

10 ,

(ix) 3
2 ,  (x) 19

45


